10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Derek A Kuns	G. V. BACON'S ADDITION W 1/2 OF	Street Sweeping - Comm	nercial/Art	1.07	65.00	\$69.55	34-29-22-11-0003
1756 Minnehaha Ave E	LOT 5 E 5 FT OF LOT 7 AND ALL OF LOT 6 BLK 2	Alley Sweeping		0.12	65.00	\$7.80	
St Paul MN 55106-4924	LOT OBER 2	Citywide Street Lighting	5	0.59	65.00	\$38.35	
*1756 MINNEHAHA AVE E *Ward: 7		*** Owner and Taxpaye	er ***			\$115.70	
*Pending as of: 8/21/2020			Total Assessm	ent:	=	\$115.70	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$115.70	
	G. V. BACON'S ADDITION E 20 FT OF	Street Sweeping - Comm					
Iris P Rohrer	LOT 8 AND EX E 5 FT LOT 7 BLK 2	Alley Sweeping	norotan i iri	0.12	54.00	\$6.48	34-29-22-11-0004
1750 Minnehaha Ave E		Citywide Street Lighting	ŗ	0.59	53.00	\$31.27	
St Paul MN 55106-4924		,	•			\$94.46	
*1750 MINNEHAHA AVE E		*** Owner and Taxpaye	er ***			Ψ24.40	
*Ward: 7			Total Assessm			\$94.46	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$94.46	
Patricia A Steele Tr	G. V. BACON'S ADDITION EX E 20 FT	Street Sweeping - Comm	nercial/Art	1.07		<u>\$66.34</u>	34-29-22-11-0005
3514 Goodwin Ave N	LOT 8 AND ALL OF LOT 9 BLK 2	Alley Sweeping		0.12	62.00	\$7.44	34-27-22-11-0003
Oakdale MN 55128-3947		Citywide Street Lighting	5	0.59	62.00	\$36.58	
*1744 MINNEHAHA AVE E						\$110.36	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$110.36	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$110.36	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
T & M Properties Llc 814 White Bear Ave N Ste 1 St Paul MN 55106-4317	G. V. BACON'S ADDITION LOTS 10 AND LOT 11 BLK 2	Street Sweeping - Comn Alley Sweeping Citywide Street Lighting		1.07 0.12 0.59	79.00 79.00 79.00	\$84.53 \$9.48 \$46.61	34-29-22-11-0006
*1736 MINNEHAHA AVE E *Ward: 7		*** Owner and Taxpaye	er ***		<del></del>	\$140.62	
*Pending as of: 8/21/2020			Total Assess			\$140.62	
			This Payment Current Year Current Year	Principal:		\$0.00 \$0.00 \$0.00	
			Payoff Amo			\$140.62	
	G. V. BACON'S ADDITION LOT 17 BLK	Street Sweeping - Reside	ential Stree				<u> </u>
6470 Jamaca Ave N Stillwater MN 55082-9342	2	Alley Sweeping Citywide Street Lighting	g	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
*1725 BEECH ST *Ward: 7		*** Owner and Taxpaye	er ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
Timothy C Rand	G. V. BACON'S ADDITION LOT 18 BLK	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-22-11-0012
1729 Beech St	2	Alley Sweeping Citywide Street Lighting	~	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
St Paul MN 55106-4912		Citywide Street Lighting	g	0.39	40.00		
*1729 BEECH ST *Ward: 7		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assess	ment:	<del></del>	\$44.80	
			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
Brian Moore Loretta Soderberg 1749 Beech St	G. V. BACON'S ADDITION LOT 23 BLK 2	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-11-0016
St Paul MN 55106-4912 *1749 BEECH ST		*** Owner and Taxpayer	r ***		_	\$44.80	
*Ward: 7 *Pending as of: 8/21/2020			Total Assessi		-	\$44.80	
			This Paymen Current Year	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$44.80</b>	
Leah Rose Vanbramer	G. V. BACON'S ADDITION LOT 25 BLK	Street Sweeping - Reside	ential Stree		40.00	<u>\$16.40</u>	
1755 Beech St St Paul MN 55106	2	Alley Sweeping Citywide Street Lighting	ŗ	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
*1755 BEECH ST		*** Owner and Taxpayer			_	\$44.80	
*Ward: 7 *Pending as of: 8/21/2020							
1 chang as of. 6/21/2020			Total Assessi			\$44.80	
			This Paymen Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	
Bradley S Aleman Jr	G. V. BACON'S ADDITION LOT 26 BLK	Street Sweeping - Reside	ential Stree				
Lindsey M Aleman	2	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-11-0017
1761 Beech St		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55106-4912					_	\$44.80	
*1761 BEECH ST		*** Owner and Taxpayer	r ***				
*Ward: 7			Total Assessi	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	ISP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
John A Hayes 1399 Burke Ave W Roseville MN 55113-5803	G. V. BACON'S ADDITION W 5 FT OF LOT 28 AND ALL OF LOT 27 BLK 2	Street Sweeping - Resider Alley Sweeping Citywide Street Lighting	ntial Stree	0.41 0.12 0.59	45.00 45.00 45.00	\$18.45 \$5.40 \$26.55	34-29-22-11-0020
*1765 BEECH ST *Ward: 7		*** Owner and Taxpayer	***		_	\$50.40	
*Pending as of: 8/21/2020			Γotal Assessment: Γhis Payment:		•	\$50.40 \$0.00	
		(	Current Year Princ Current Year Interd	_		\$0.00 \$0.00	
			Payoff Amount:	CSt.		\$50.40	
	G. V. BACON'S ADDITION W 1/2 OF	Street Sweeping - Resider	ntial Stree	0.41	54.00	<u>\$22.14</u>	34-29-22-11-0021
April B Thao 1769 Beech St	LOT 29 AND E 35 FT OF LOT 28 BLK 2	Alley Sweeping Citywide Street Lighting		0.12 0.59	54.00 54.00	\$6.48 \$31.86	
St Paul MN 55106 *1769 BEECH ST		*** Owner and Taxpayer	***		_	\$60.48	
*Ward: 7 *Pending as of: 8/21/2020			Γotal Assessment: Γhis Payment:		•	\$60.48 \$0.00	
		(	Current Year Princ Current Year Interd	_	\$0.00 \$0.00		
			Payoff Amount:	CSI.		\$60.48	
Theng Vang	G. V. BACON'S ADDITION LOT 3 BLK	Street Sweeping - Resider	ntial Stree	0.41	40.00	<u>\$16.40</u>	
1770 Beech St St Paul MN 55106-4913	3	Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60	
*1770 BEECH ST *Ward: 7		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020		Total Assessment:			\$44.80		
		(	Гhis Payment: Current Year Princ	_		\$0.00 \$0.00	
			Current Year Interce Payoff Amount:	est:		\$0.00 <b>\$44.80</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	G. V. BACON'S ADDITION W 1/2 OF	Street Sweeping - Residen	ntial Stree	0.41	60.00	\$24.60	34-29-22-11-0030
1746 Beech St	LOT 8 AND ALL OF LOT 9 BLK 3	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55106-4913		Citywide Street Lighting		0.59	60.00	\$35.40	
*1746 BEECH ST *Ward: 7		*** Owner and Taxpayer	axpaver ***			\$67.20	
*Pending as of: 8/21/2020			Γotal Assessment:	:		\$67.20	
		T	This Payment:			\$0.00	
		C	Current Year Princ	cipal:		\$0.00	
		C	Current Year Inter	rest:		\$0.00	
		P	Payoff Amount:			\$67.20	
	G. V. BACON'S ADDITION E 1/2 OF	Street Sweeping - Residen	 ntial Stree	0.41		<u>\$24.60</u>	<u> </u>
1740 Beech St	LOT 11 AND ALL OF LOT 10 BLK 3	Alley Sweeping		0.12	60.00	\$7.20	34-27-22-11-0031
St Paul MN 55106-4913		Citywide Street Lighting		0.59	60.00	\$35.40	
*1740 BEECH ST						\$67.20	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessment:	:		\$67.20	
			This Payment:				
		C	Current Year Princ	cipal:		\$0.00	
		C	Current Year Inter	rest:		\$0.00	
		P	Payoff Amount:			\$67.20	
 Emily J Bauer	G. V. BACON'S ADDITION LOT 16 BLK	Street Sweeping - Residen		0.41		\$32.39	<u> </u>
1721 Margaret St	3	Alley Sweeping		0.12	38.00	\$4.56	34-27-22-11-0030
St Paul MN 55106-4905		Citywide Street Lighting		0.59	79.00	\$46.61	
*1721 MARGARET ST					_	\$83.56	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Total Assessment:		-	\$83.56	
		T	This Payment:			\$0.00	
		C	Current Year Princ	cipal:		\$0.00	
			Current Year Inter	rest:		\$0.00	
		P	Payoff Amount:			\$83.56	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 6	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Cynthia J Somerville	G. V. BACON'S ADDITION LOT 18 BLK	Street Sweeping - Resident		40.00	\$16.40	34-29-22-11-0038	
1729 Margaret St	3	Alley Sweeping	0.12	40.00	\$4.80		
St Paul MN 55106-4905		Citywide Street Lighting	0.59	40.00	\$23.60		
*1729 MARGARET ST *Ward: 7		*** Owner and Taxpayer *	***		\$44.80		
*Pending as of: 8/21/2020		To	otal Assessment:		\$44.80		
		TI	his Payment:		\$0.00		
		Cı	urrent Year Principal:		\$0.00		
			urrent Year Interest:		\$0.00		
		Pa	ayoff Amount:		\$44.80		
Decide M Cala	G. V. BACON'S ADDITION EX W 15	Street Sweeping - Resident	ial Stree 0.41				
Patrick M Cole 1747 Margaret St	FT;LOT 22 & W 1/2 OF LOT 23 BLK 3	Alley Sweeping	0.41	49.00	\$5.88	34-29-22-11-0042	
St Paul MN 55106-4905		Citywide Street Lighting	0.59	49.00	\$28.91		
*1747 MARGARET ST		,		_	\$54.88		
*Ward: 7		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		To	\$54.88				
		Tl	his Payment:	\$0.00			
		Ct	urrent Year Principal:	\$0.00			
		Ct	urrent Year Interest:	\$0.00			
		Pa	ayoff Amount:	\$54.88			
	G. V. BACON'S ADDITION SUBJ TO ST;	Street Sweeping - Commer					
Urbanski Rentals Llc 1477 Selby Ave	LOT 30 BLK 3	Street Sweeping - Resident		18.50	\$7.59	34-29-22-11-0048	
St Paul MN 55104-6331		Alley Sweeping	0.12	37.00	\$4.44		
*1777 MARGARET ST		Citywide Street Lighting	0.59	78.50	\$46.32		
*Ward: 7				_	\$122.55		
*Pending as of: 8/21/2020		*** Owner and Taxpayer *	***				
			otal Assessment:		\$122.55		
			his Payment:		\$0.00		
			urrent Year Principal:		\$0.00		
			urrent Year Interest:		\$0.00		
		Pa	ayoff Amount:		\$122.55		

10:02:50 11/16/2020	Public Improvement Assessment Roll by		· ·		5 Manager: LM	Page 7
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Ra</u>	te Quantity	Charge Amts	Property ID
T & M Properties Llc	G. V. BACON'S ADDITION SUBJ TO ST;	Street Sweeping - Commer			\$64.20	34-29-22-11-0049
814 White Bear Ave N Ste 1	LOT 1 BLK 8	Street Sweeping - Resident			\$8.00	
St Paul MN 55106-4317		Alley Sweeping	0.1		\$4.68	
*1778 MARGARET ST		Citywide Street Lighting	0.5	79.50	\$46.91	
*Ward: 7				_	\$123.79	
*Pending as of: 8/21/2020		*** Owner and Taxpayer *	***			
		To	otal Assessment:		\$123.79	
		TI	his Payment:		\$0.00	
		C	urrent Year Principal:		\$0.00	
		C	urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$123.79	
	G. V. BACON'S ADDITION E 10 FT OF	Street Sweeping - Resident	tial Stree 0.4	11 50.00	\$20.50	34-29-22-11-0052
1760 Margaret St	LOT 6 AND ALL OF LOT 5 BLK 8	Alley Sweeping	0.1	50.00	\$6.00	
St Paul MN 55106-4906		Citywide Street Lighting	0.5	59 50.00	\$29.50	
*1760 MARGARET ST				=	\$56.00	
*Ward: 7		*** Owner and Taxpayer *	***			
*Pending as of: 8/21/2020		To	otal Assessment:	-	\$56.00	
		TI	his Payment:		\$0.00	
		C	urrent Year Principal:		\$0.00	
		C	urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$56.00	
Craig M Atkinson	G. V. BACON'S ADDITION W 30 FT OF	Street Sweeping - Resident			\$36.08	34-29-22-11-0053
Diana L Atkinson	LOT 6 E 1/2 OF LOT 8 AND ALL OF LOT 7 BLK 8	Alley Sweeping	0.1		\$10.68	
1752 Margaret St		Citywide Street Lighting	0.5	88.00	\$51.92	
St Paul MN 55106-4906					\$98.68	
*1752 MARGARET ST		*** Owner and Taxpayer *	***			
*Ward: 7		To	otal Assessment:		\$98.68	
*Pending as of: 8/21/2020		TI	his Payment:		\$0.00	
		C	urrent Year Principal:		\$0.00	
			urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$98.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	MSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Lawrence J Kiser	G. V. BACON'S ADDITION LOT 10 BLK	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-22-11-0055
Gale A Kiser	8	Alley Sweeping		0.12	40.00	\$4.80	
1742 Margaret St		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55106-4906					<del></del>	\$44.80	
*1742 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		_ 1	Γotal Assessment	:		\$44.80	
Pending as of: 8/21/2020		7	Γhis Payment:			\$0.00	
		(	Current Year Prin	cipal:		\$0.00	
		(	Current Year Inte	rest:		\$0.00	
		1	Payoff Amount:			\$44.80	
James E Stevens	G. V. BACON'S ADDITION LOT 12 BLK	Street Sweeping - Resider	ntial Stree	0.41			
Bonnie J Stevens	8	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-11-0037
1734 Margaret St		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55106-4906					_	\$44.80	
*1734 MARGARET ST		*** Owner and Taxpayer	***			<b>4.1.0</b> 0	
*Ward: 7		_ 	Total Assessment	:	-	\$44.80	
*Pending as of: 8/21/2020		7	Γhis Payment:			\$0.00	
		(	Current Year Prin	cipal:		\$0.00	
		(	Current Year Inter	rest:		\$0.00	
		1	Payoff Amount:				
	G V DAGOVIS ADDITION F 40 FT OF	Stand San Jin Davids					
Randi Joy Winter	G. V. BACON'S ADDITION E 20 FT OF LOT 17 AND W 28 FT OF LOT 18 BLK	Street Sweeping - Resider Alley Sweeping	nuai Stree	0.41 0.12	47.00 47.00	\$19.27 \$5.64	34-29-22-11-0062
1683 Larpenteur Ave W	8	Citywide Street Lighting		0.12	47.00	\$27.73	
Falcon Hgts MN 55113-5704		Citywide Succi Lighting		0.57	<del></del>		
*1725 6TH ST E *Ward: 7		*** Owner and Taxpayer	***			\$52.64	
*Pending as of: 8/21/2020			Γotal Assessment		<del></del>	\$52.64	
			Γotal Assessment This Payment:	•		\$0.00	
			Current Year Prin	cinal:		\$0.00	
			Current Year Inte	-		\$0.00	
			Payoff Amount:			\$52.64	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kenneth John Schauer	G. V. BACON'S ADDITION W 1/2 OF	Street Sweeping - Reside	ential Stree	0.41	60.00	\$24.60	34-29-22-11-0066
Rebecca Kay Schauer	LOT 23 AND ALL OF LOT 22 BLK 8	Alley Sweeping		0.12	60.00	\$7.20	
1743 6th St E		Citywide Street Lighting		0.59	60.00	\$35.40	
St Paul MN 55106-4931						\$67.20	
*1743 6TH ST E		*** Owner and Taxpayer	r *** 				
*Ward: 7		,	Total Assessmen	nt:		\$67.20	
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount	: <b>:</b>		\$67.20	
E O D Enterprises Llc	G. V. BACON'S ADDITION LOT 26 BLK	Street Sweeping - Reside	ential Stree	0.41			
506 Lexington Pkwy N	8	Alley Sweeping		0.12	40.00	\$4.80	0.2,2211000
St Paul MN 55104-2509		Citywide Street Lighting		0.59	40.00	\$23.60	
*1761 6TH ST E					<del></del>	\$44.80	
*Ward: 7		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		;	Total Assessmen	nt:	-	\$44.80	
		•	This Payment:			\$0.00	
		•	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	: <b>:</b>		\$44.80	
	G. V. BACON'S ADDITION LOT 27 BLK	Street Sweeping - Reside	ential Stree	0.41	39.00		<u> </u>
1765 6th St E	8	Alley Sweeping		0.12	39.00	\$4.68	34-27-22-11-0070
St Paul MN 55106-4931		Citywide Street Lighting		0.59	39.00	\$23.01	
*1765 6TH ST E						\$43.68	
*Ward: 7		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		;	Total Assessmen	nt:	•	\$43.68	
		,	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
		•	Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 10
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Kimberly K Steele	G. V. BACON'S ADDITION LOT 29 BLK	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-22-11-0072
1771 6th St E	8	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4931		Citywide Street Lighting		0.59	40.00	\$23.60	
*1771 6TH ST E *Ward: 7		*** Owner and Taxpayer	. ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assessmer	nt:	-	\$44.80	
		Т	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		F	Payoff Amount	:		\$44.80	
Lori J Erichsen	G. V. BACON'S ADDITION SUBJ TO ST;	Street Sweeping - Comme	ercial/Art	——————————————————————————————————————			
1770 6th St E	N 1/2 OF LOTS 1 THRU LOT 3 BLK 9	Street Sweeping - Residen		0.41	59.50	\$24.40	34-27-22-11-00/4
St Paul MN 55106-4932		Citywide Street Lighting		0.59	90.00	\$53.11	
*1770 6TH ST E						\$110.15	
*Ward: 7		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020			Total Assessmer	nt:		\$110.15	
		Т	This Payment:			\$0.00	
		(	incipal:		\$0.00		
		(	Current Year Int	terest:		\$0.00	
		I	Payoff Amount	:		\$110.15	
Nicholas Krier	G. V. BACON'S ADDITION SUBJ TO ST;	Street Sweeping - Comme	ercial/Art	—			
Judy Carey	S 1/2 OF LOTS 1 THRU LOT 3 BLK 9	Alley Sweeping		0.12	119.00	\$14.28	34-29-22-11-00/3
621 White Bear Ave N		Citywide Street Lighting		0.59	60.00	\$35.40	
St Paul MN 55106-4311						\$113.88	
*621 WHITE BEAR AVE N		*** Owner and Taxpayer	. ***				
*Ward: 7			Total Assessmer	nt:	-	\$113.88	
*Pending as of: 8/21/2020		Γ	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		F	Payoff Amount	:		\$113.88	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
— — — — — — — Patrick E Daly	G. V. BACON'S ADDITION EX W 27 FT	Street Sweeping - Reside	ntial Stree	0.41	53.00	\$21.73	34-29-22-11-0077
Carol Sue Daly	LOT 6 AND ALL OF LOT 5 BLK 9	Alley Sweeping		0.12	53.00	\$6.36	
1760 6th St E		Citywide Street Lighting		0.59	53.00	\$31.27	
St Paul MN 55106-4932					<del></del>	\$59.36	
*1760 6TH ST E		*** Owner and Taxpayer	***				
*Ward: 7		-	Total Assessmen	nt:		\$59.36	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	terest:		\$0.00	
		1	Payoff Amount	::		\$59.36	
	G. V. BACON'S ADDITION W 27 FT OF	Street Sweeping - Reside	ntial Stree	0.41		<u>\$23.37</u>	
1754 6th St E	LOT 6 AND EX W 13 FT LOT 7 BLK 9	Alley Sweeping		0.12	57.00	\$6.84	34-27-22-11-00/0
St Paul MN 55106-4932		Citywide Street Lighting		0.59	57.00	\$33.63	
*1754 6TH ST E					_	\$63.84	
*Ward: 7		*** Owner and Taxpayer	***			******	
*Pending as of: 8/21/2020		-	Total Assessmen	nt:	-	\$63.84	
		•	This Payment:			\$0.00	
		Current Year Principal:				\$0.00	
		(	Current Year Interest:				
		1	Payoff Amount	: <b>:</b>		\$63.84	
	G. V. BACON'S ADDITION E 10 FT OF	Street Sweeping - Resider	ntial Stree	0.41		\$20.50	
Yazmin Ruiz Castillo	LOT 10 AND ALL OF LOT 9 BLK 9	Alley Sweeping		0.12	50.00	\$6.00	3 <del>4</del> -47-44-11-0000
1742 6th St E		Citywide Street Lighting		0.59	50.00	\$29.50	
St Paul MN 55106-4932					=	\$56.00	
*1742 6TH ST E		*** Owner and Taxpayer	***			Ψ2 0.00	
*Ward: 7		-	Total Assessmen	nt:	-	\$56.00	
*Pending as of: 8/21/2020		•	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
		•	Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date		Project: 2020SMSP Resolution #:		Assmt: 200025	5 Manager: LM	Page 12
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	G. V. BACON'S ADDITION E 20 FT OF	Street Sweeping - Reside	ential Stree	0.41	50.00	\$20.50	34-29-22-11-0081
1738 6th St E	LOT 11 AND EX E 10 FT LOT 10 BLK	Alley Sweeping		0.12	50.00	\$6.00	
St Paul MN 55106-4932	9	Citywide Street Lighting	5	0.59	50.00	\$29.50	
*1738 6TH ST E *Ward: 7		*** Owner and Taxpayer	r ***		_	\$56.00	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$56.00	
			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amour	nt:		\$56.00	
	G. V. BACON'S ADDITION EX E 30 FT	Street Sweeping - Reside		0.41			
Thai Yang 1730 6th St E	LOT 12 AND ALL OF LOT 13 BLK 9	Alley Sweeping	chilai Succ	0.41	50.00	\$6.00	34-29-22-11-0083
St Paul MN 55106-4932		Citywide Street Lighting	ř	0.59	50.00	\$29.50	
*1730 6TH ST E		, <u></u> gg	,		_	\$56.00	
*Ward: 7		*** Owner and Taxpayer	r ***			\$30.00	
*Pending as of: 8/21/2020			Total Assessm	ent:	=	\$56.00	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$56.00	
	G. V. BACON'S ADDITION LOT 14 BLK	Street Sweeping - Reside		0.41			
Melinda N Vang	G. V. BACON'S ADDITION LOT 14 BLK	Alley Sweeping - Reside	enuai Strec	0.41	40.00	\$4.80	34-29-22-11-0084
1726 6th St E St Paul MN 55106-4932		Citywide Street Lighting	r	0.12	40.00	\$23.60	
*1726 6TH ST E		eng mae en eu Eigning	,	0.00		\$44.80	
*Ward: 7		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ent:	<del></del>	\$44.80	
			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amour	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	MSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	G. V. BACON'S ADDITION LOT 15 BLK	Street Sweeping - Residen	ntial Stree	0.41	79.00	\$32.39	34-29-22-11-0085
Laura L Huerta	9	Alley Sweeping		0.12	36.00	\$4.32	
1722 6th Ave E		Citywide Street Lighting		0.59	79.00	\$46.61	
St Paul MN 55106-4932						\$83.32	
*1722 6TH ST E		*** Owner and Taxpayer '	***				
*Ward: 7		T	Total Assessment	\$83.32			
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Prin	cipal:	\$0.00		
		C	Current Year Interest:				
		P	Payoff Amount:			\$83.32	
	G. V. BACON'S ADDITION LOT 16 BLK	Street Sweeping - Residen	ntial Stree	0.41			
1719 5th St E	9	Alley Sweeping		0.12	36.00	\$4.32	34-27-22-11-0000
St Paul MN 55106-5429		Citywide Street Lighting		0.59	78.00	\$46.02	
*1719 5TH ST E					_	\$82.32	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessment	:	-	\$82.32	
		T	This Payment:			\$0.00	
		C	Current Year Prin	cipal:		\$0.00	
		C	Current Year Inte	rest:		\$0.00	
		P	Payoff Amount:			\$82.32	
	G. V. BACON'S ADDITION E 10 FT OF	Street Sweeping - Residen		0.41	80.00		
1749 5th St E	LOT 21 AND EX E 10 FT LOT 23 AND	Alley Sweeping	iliai Sirce	0.12	80.00	\$9.60	34-29-22-11-0090
St Paul MN 55106-5429	ALL OF LOT 22 BLK 9	Citywide Street Lighting		0.59	80.00	\$47.20	
*1749 5TH ST E		, 88			=	\$89.60	
*Ward: 7		*** Owner and Taxpayer '	***			\$69.00	
*Pending as of: 8/21/2020			Total Assessment			\$89.60	
			This Payment:	•		\$0.00	
			Current Year Prin	cinal:		\$0.00	
			Current Year Inte	_		\$0.00	
			Payoff Amount:			\$89.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	OSMSP	Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	]	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
James Allen Peterson	G. V. BACON'S ADDITION E 10 FT OF	Street Sweeping - Reside	ential Stree	0.41	60.00	\$24.60	
1755 5th St E	LOT 23 AND EX E 30 FT LOT 25 AND	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55106-5429	ALL OF LOT 24 BLK 9	Citywide Street Lighting	3	0.59	60.00	\$35.40	
*1755 5TH ST E					<del></del>	\$67.20	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$67.20	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$67.20	
	G. V. BACON'S ADDITION E 30 FT OF	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1761 5 St E	LOT 25 AND EX E 10 FT LOT 26 BLK	Alley Sweeping		0.12	60.00	\$7.20	34-27-22-11-0072
St Paul MN 55106-5429	9	Citywide Street Lighting	3	0.59	60.00	\$35.40	
*1761 5TH ST E					=	\$67.20	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$67.20	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$67.20	
	G. V. BACON'S ADDITION E 10 FT OF	Street Sweeping - Reside	ontial Strac	0.41			
Mary C Kitchell	LOT 26 AND ALL OF LOT 27 BLK 9	Alley Sweeping - Reside	ential Stree	0.41	50.00	\$6.00	34-29-22-11-0093
1765 5th St E St Paul MN 55106-5429		Citywide Street Lighting	y.	0.59	50.00	\$29.50	
*1765 5TH ST E		,	>		_	\$56.00	
*Ward: 7		*** Owner and Taxpaye	er ***			\$30.00	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$56.00	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	_		\$0.00	
			Payoff Amoun			\$56.00	

\*\*\*ESCROW\*\*\*

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	Quantity	Charge Amts	Property ID
Na Thao	G. V. BACON'S ADDITION LOT 4 BLK	Street Sweeping - Comme	ercial/Art	1.07	40.00	\$42.80	34-29-22-11-0099
1541 Ivy Ave E	1	Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60	
St Paul MN 55106-2227		Citywide Street Lighting		0.39	40.00		
*1706 MINNEHAHA AVE E *Ward: 7		*** Owner and Taxpayer	***			\$71.20	
*Pending as of: 8/21/2020			Γotal Assessmen	nt:		\$71.20	
			This Payment:			\$0.00	
			Current Year Pri	-		\$0.00	
			Current Year Into			\$0.00	
		P	Payoff Amount:	•		\$71.20	
	G. V. BACON'S ADDITION LOT 5 BLK	Street Sweeping - Comme	ercial/Art	1.07	39.00	\$41.73	
1700 Minnehaha Ave E	1	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4920		Citywide Street Lighting		0.59	39.00	\$23.01	
*1700 MINNEHAHA AVE E *Ward: 7		*** Owner and Taxpayer	***			\$69.42	
*Pending as of: 8/21/2020		Total Assessment: This Payment:				\$69.42	
						\$0.00	
		C	Current Year Pri	ncipal:		\$0.00	
		C	Current Year Into	erest:		\$0.00	
		P	Payoff Amount:	:		\$69.42	
	G. V. BACON'S ADDITION LOT 9 BLK	Street Sweeping - Comme	ercial/Art			<del></del>	<u> </u>
1686 Minnehaha Ave E	1	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-11-0104
St Paul MN 55106-4920		Citywide Street Lighting		0.59	40.00	\$23.60	
*1686 MINNEHAHA AVE E					<del></del>	\$71.20	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Γotal Assessmen	nt:		\$71.20	
			This Payment:			\$0.00	
			Current Year Pri	-		\$0.00	
			Current Year Into			\$0.00	
		P	Payoff Amount:	:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 17
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Kevin J Pluff	G. V. BACON'S ADDITION LOT 10 BLK	Street Sweeping - Comm	ercial/Art	1.07	40.00	\$42.80	34-29-22-11-0105
Gwen T Pluff	1	Alley Sweeping		0.12	40.00	\$4.80	
1682 Minnehaha Ave E		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55106-4920						\$71.20	
*1682 MINNEHAHA AVE E		*** Owner and Taxpayer	r ***				
*Ward: 7		,	Total Assessme	ent:	\$71.20		
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
		(	Current Year Principal:				
		(	Current Year Interest:			\$0.00	
		1	Payoff Amoun	nt:		\$71.20	
	G. V. BACON'S ADDITION LOT 11 BLK	Street Sweeping - Comm	ercial/Art	1.07			<u> </u>
1678 E Minnehaha Ave	1	Alley Sweeping	.010100011110	0.12	40.00	\$4.80	34-29-22-11-0100
St Paul MN 55106-4920		Citywide Street Lighting		0.59	40.00	\$23.60	
*1678 MINNEHAHA AVE E		, ,				\$71.20	
*Ward: 7		*** Owner and Taxpayer					
*Pending as of: 8/21/2020		;	Total Assessme	\$71.20			
		,	This Payment:	\$0.00			
		•	Current Year P	\$0.00			
		•	Current Year Interest:			\$0.00	
		1	Payoff Amoun	\$71.20			
			- <del> </del>				
Eric Montero	G. V. BACON'S ADDITION LOT 15 BLK	Street Sweeping - Comm Street Sweeping - Reside		1.07 0.41	20.00 61.50	\$21.40 \$25.22	34-29-22-11-0110
1662 Minnehaha Ave E		Alley Sweeping	illiai SilCC	0.12	40.00	\$4.80	
St Paul MN 55106-4920		Citywide Street Lighting		0.59	81.50	\$48.09	
*1662 MINNEHAHA AVE E		, 6 6			_	\$99.51	
*Ward: 7 *Pending as of: 8/21/2020		*** Owner and Taxpayer	r ***			\$99.31	
		;	Total Assessme	ent:	-	\$99.51	
		,	This Payment:			\$0.00	
		•	Current Year P	rincipal:		\$0.00	
		•	Current Year I	nterest:		\$0.00	
		1	Payoff Amoun	ıt:		\$99.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 18
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
John G Fuller 704 Kennard St St Paul MN 55106-4916	G. V. BACON'S ADDITION LOTS 16 AND LOT 17 BLK 1	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	101.00 79.00 101.00	\$41.42 \$9.48 \$59.60	34-29-22-11-0111
* <b>704 KENNARD ST</b> *Ward: 7	*** Owner and Tax		er ***		_	\$110.50	
*Pending as of: 8/21/2020			Total Assessi		-	\$110.50 \$0.00	
			Current Year Current Year	Principal:		\$0.00 \$0.00 \$0.00	
			Payoff Amou			\$110.50	
John W Mobley 3672 Canary Way	G. V. BACON'S ADDITION LOT 24 BLK	Street Sweeping - Resid Alley Sweeping	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-22-11-0116
Eagan MN 55123-2221		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1693 BEECH ST *Ward: 7		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessi		-	\$44.80	
			This Paymen Current Year			\$0.00 \$0.00	
			Current Year	_		\$0.00	
			Payoff Amou			\$44.80	
	G. V. BACON'S ADDITION LOT 26 BLK	Street Sweeping - Resid	ential Stree	0.41		<u>\$16.40</u>	
1699 Beech St	1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4910		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1699 BEECH ST *Ward: 7		*** Owner and Taxpaye	or ***			\$44.80	
*Pending as of: 8/21/2020		owner and ranpaye				£44.00	
			Total Assessi This Paymen			\$44.80 \$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 19
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Henry Chavez	G. V. BACON'S ADDITION LOT 2 BLK	Street Sweeping - Reside	ential Stree	0.41	39.00	\$15.99	34-29-22-11-0123
1712 Beech St	4	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4911		Citywide Street Lighting	3	0.59	39.00	\$23.01	
*1712 BEECH ST						\$43.68	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$43.68	
			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$43.68	
	C V PACONIC ADDITION EV W 20 FT	Street Syspenia a Decid				<u> </u>	
Zaw Moe Awng Tin	G. V. BACON'S ADDITION EX W 20 FT LOT 5 & ALL OF LOT 4 BLK 4	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	60.00 60.00	\$24.60 \$7.20	34-29-22-11-0125
Wei Wei Tin 1704 Beech St		Citywide Street Lighting	)	0.12	60.00	\$35.40	
St Paul MN 55106-4911		ony what shoet Eighting	>	0.00		\$67.20	
*1704 BEECH ST		*** Owner and Taxpaye	er ***			\$67.20	
*Ward: 7		o wher and rampay e					
*Pending as of: 8/21/2020			Total Assess			\$67.20	
1 chang as of. 0/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$67.20	
Ahmed Omar Hasan	G. V. BACON'S ADDITION W 20 FT OF	Street Sweeping - Reside	 ential Streε	0.41		\$24.60	34-29-22-11-0126
1698 Beech St	LOT 5 AND ALL OF LOT 6 BLK 4	Alley Sweeping		0.12	60.00	\$7.20	0 1 - 2 - 2 - 2 - 2 - 2
St Paul MN 55106-4910		Citywide Street Lighting	3	0.59	60.00	\$35.40	
*1698 BEECH ST					<del></del>	\$67.20	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	=	\$67.20	
			This Paymen	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$67.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020Si Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 20
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Marjorie A Handrahan	G. V. BACON'S ADDITION LOT 7 BLK	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-22-11-0127
1692 Beech St	4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4911		Citywide Street Lighting		0.59	40.00	\$23.60	
*1692 BEECH ST *Ward: 7		*** Owner and Taxpayer	r and Taxpaver ***				
*Pending as of: 8/21/2020		<del>-</del>	Total Assessment	t:	-	\$44.80	
		1	This Payment:			\$0.00	
			Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	rest:		\$0.00	
		1	Payoff Amount:			\$44.80	
Jay Jeanetta	G. V. BACON'S ADDITION LOT 8 BLK	Street Sweeping - Resider	ntial Stree	0.41	40.00	<u>\$16.40</u>	
1507 County Road B E	4	Alley Sweeping	244	0.12	40.00	\$4.80	34-29-22-11-0128
Maplewood MN 55109-3503		Citywide Street Lighting		0.59	40.00	\$23.60	
*1688 BEECH ST					_	\$44.80	
*Ward: 7		*** Owner and Taxpayer	. ***			φσ	
*Pending as of: 8/21/2020		_ 1	Total Assessment	t:		\$44.80	
		7	This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$44.80	
	G. V. BACON'S ADDITION LOT 10 BLK	Street Sweeping - Resider	ntial Stree	0.41		<u>\$16.40</u>	<u> </u>
1680 Beech St	4	Alley Sweeping	244	0.12	40.00	\$4.80	34-29-22-11-0130
St Paul MN 55106-4911		Citywide Street Lighting		0.59	40.00	\$23.60	
*1680 BEECH ST					_	\$44.80	
*Ward: 7		*** Owner and Taxpayer	. ***			<b>*</b> 1 2	
*Pending as of: 8/21/2020		_ 1	Total Assessment	t:		\$44.80	
			This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
			Current Year Inte	erest:		\$0.00	
		I	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	<u> Init Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
	G. V. BACON'S ADDITION E 10 FT OF	Street Sweeping - Reside	ntial Stree	0.41	48.00	\$19.68	34-29-22-11-0131
C/O Terence C Derosier	LOT 12 AND ALL OF LOT 11 BLK 4	Alley Sweeping		0.12	49.00	\$5.88	
10596 83rd St N		Citywide Street Lighting		0.59	9 48.00	\$28.32	
Stillwater MN 55082-8341 *1676 BEECH ST		*** Owner and Taxpayer	***			\$53.88	
*Ward: 7		;	Total Assessmen	nt:		\$53.88	
*Pending as of: 8/21/2020		,	This Payment:		\$0.00		
			Current Year Pr	incipal:		\$0.00	
			Current Year Interest:			\$0.00	
		]	Payoff Amount	<b>:</b>		\$53.88	
	G. V. BACON'S ADDITION EX E 10 FT	Street Sweeping - Reside	ntial Stree		50.00	\$20.50	
1670 Beech St	LOT 12 AND EX W 20 FT LOT 13 BLK	Alley Sweeping		0.12	50.00	\$6.00	34-27-22-11-0132
St Paul MN 55106-4911	4	Citywide Street Lighting		0.59	50.00	\$29.50	
*1670 BEECH ST					_	\$56.00	
*Ward: 7		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		;	Total Assessme	nt:		\$56.00	
		,	This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amount	t <b>:</b>		\$56.00	
	G. V. BACON'S ADDITION LOT 15 BLK	Street Sweeping - Reside	ential Stree	0.41		\$32.60	<u> </u>
1660 Beech St	4	Alley Sweeping		0.12	39.00	\$4.68	34-2/-22-11-0134
St Paul MN 55106-4911		Citywide Street Lighting		0.59	79.50	\$46.91	
*1660 BEECH ST						\$84.19	
*Ward: 7		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		;	Total Assessmen	nt:		\$84.19	
			This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year In	terest:		\$0.00	
			Payoff Amount	t <b>:</b>		\$84.19	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 22
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Gregory John Loun 1673 Margaret St St Paul MN 55106-4903	G. V. BACON'S ADDITION LOT 19 BLK	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-11-0138
<b>*1673 MARGARET ST</b> *Ward: 7	*** Owner and Taxpa		er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assess		-	\$44.80	
			This Paymen			\$0.00	
			Current Year Current Year	•		\$0.00 \$0.00	
			Payoff Amo			\$44.80	
Bruce M Nelson	G. V. BACON'S ADDITION LOTS 20 AND LOT 21 BLK 4	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	79.00 79.00	\$32.39 \$9.48	34-29-22-11-0139
Lee Ann L Nelson 1679 Margaret St		Citywide Street Lighting	r	0.12	79.00	\$46.61	
St Paul MN 55106-4903		enj wide surev zigining	>	0.05		\$88.48	
*1679 MARGARET ST		*** Owner and Taxpaye	er ***			φ00. <del>1</del> 0	
*Ward: 7			Total Assess	ment:		\$88.48	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$88.48	
Gregory J Pogreba	G. V. BACON'S ADDITION LOT 23 BLK	Street Sweeping - Reside	ential Stree				34-29-22-11-0141
Mary P Drusch	4	Alley Sweeping		0.12	40.00	\$4.80	2 - 2 - 2 - 2 - 2 - 2
1689 Margaret St		Citywide Street Lighting	3	0.59	40.00	\$23.60	
St Paul MN 55106-4903						\$44.80	
*1689 MARGARET ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 23
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Lauren Rose Belland 1697 Margaret St St Paul MN 55106-4903	G. V. BACON'S ADDITION LOT 25 BLK	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-11-0143
<b>*1697 MARGARET ST</b> *Ward: 7	*** Owner and Taxpa		er ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assess			\$44.80	
			This Payment Current Year	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amo			\$0.00 <b>\$44.80</b>	
	G. V. BACON'S ADDITION LOT 27 BLK	Street Sweeping - Reside	ential Stree	0.41	40.00	<u> </u>	
1705 Margaret St St Paul MN 55106-4903	4	Alley Sweeping Citywide Street Lighting	g	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
*1705 MARGARET ST		*** Owner and Taxpaye				\$44.80	
*Ward: 7 *Pending as of: 8/21/2020					<u> </u>		
1 chang as of. 6/21/2020			Total Assess This Paymen			\$44.80 \$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	
Laurie Lehmann	G. V. BACON'S ADDITION LOTS 29	Street Sweeping - Reside	ential Stree		99.50	<u>\$40.80</u>	
1713 Margaret St	AND LOT 30 BLK 4	Alley Sweeping		0.12	79.00	\$9.48	
St Paul MN 55106-4903		Citywide Street Lighting	g	0.59	99.50	\$58.71	
*1713 MARGARET ST						\$108.99	
*Ward: 7		*** Owner and Taxpaye	er *** 				
*Pending as of: 8/21/2020			Total Assess	ment:		\$108.99	
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$108.99	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 24
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Kahn Ali Clark	G. V. BACON'S ADDITION LOT 9 BLK	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	34-29-22-11-0156
1686 Margaret St	7	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4904		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1686 MARGARET ST					<del></del>	\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
	G. V. BACON'S ADDITION LOT 11 BLK	Street Sweeping - Resid	antial Strac				
Ralph R Bobo 1678 Margaret St	7	Alley Sweeping - Kesia	ciitiai Stict	0.41	39.00	\$4.68	34-29-22-11-0158
St Paul MN 55106-4904		Citywide Street Lighting	2	0.59	39.00	\$23.01	
*1678 MARGARET ST		, ,	2		_	\$43.68	
*Ward: 7		*** Owner and Taxpaye	er ***			\$ <del>4</del> 5.06	
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$43.68	
			This Paymer	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$43.68	
	G. V. BACON'S ADDITION LOT 14 BLK	Street Sweening Decid					
Louise E Ohr	G. V. BACON'S ADDITION LOT 14 BEK	Street Sweeping - Resident Alley Sweeping	ential Stree	0.41	40.00	\$16.40 \$4.80	34-29-22-11-0161
1664 Margaret St St Paul MN 55106-4904		Citywide Street Lighting	or	0.12	40.00	\$23.60	
*1664 MARGARET ST		City wide Street Eighting	>	0.57	=	\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assess	ment·	-	\$44.80	
			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		oject: 2020SMSP esolution #:	Assmt: 200025	Manager: LM	Page 25
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
City Of St Paul Parks And Recreation 25 4th St W Suite 1000	G. V. BACON'S ADDITION VAC ALLEY IN BLK 10 AND VAC 6TH ST BET AND LOTS 16 THRU 30 BLK 7 AND LOTS 1 THRU LOT 30 BLK 10	Street Sweeping - Residentia Alley Sweeping Citywide Street Lighting	0.41 0.12 0.59	1,486.00 599.00 1,486.00	\$609.26 \$71.88 \$876.74	34-29-22-11-0163 ***EXEMPT***
St Paul MN 55102-1692 *1675 5TH ST E		*** Owner and Taxpayer **	*		\$1,557.88	
*Ward: 7 *Pending as of: 8/21/2020		Thi Cur Cur	al Assessment: s Payment: rrent Year Principal: rrent Year Interest: roff Amount:		\$1,557.88 \$0.00 \$0.00 \$0.00 \$1,557.88	
Stacy K Cruze 1775 Beech St St Paul MN 55106-4912 *1775 BEECH ST	G. V. BACON'S ADDITION SUBJ TO ST; LOT 30 AND E 1/2 OF LOT 29 BLK 2	Street Sweeping - Commerc Street Sweeping - Residentia Alley Sweeping Citywide Street Lighting		61.00 25.50 51.00 86.50	\$65.27 \$10.46 \$6.12 \$51.04	34-29-22-11-0167
*Ward: 7 *Pending as of: 8/21/2020		White Bear/Beech to Reaney	7 ASL 0.78	122.00	\$95.16 \$228.05	
1 chaing as 61. 6/21/2020		*** Owner and Taxpayer **	*			
		Tot Thi Cur Cur <b>Pay</b>	\$228.05 \$0.00 \$0.00 \$0.00 \$228.05			
Mn Assistance Council Veterans 1000 University Ave W Ste 10 St Paul MN 55104-4747 *1654 MINNEHAHA AVE E *Ward: 7 *Pending as of: 8/21/2020	WEED AND HALLE'S ADDITION LOTS 1 & LOT 2 BLK 1	Thi Cur Cur	0.41 0.12 0.59	80.00 125.00 78.00 205.00	\$85.60 \$51.25 \$9.36 \$120.95 \$267.16 \$0.00 \$0.00 \$0.00 \$267.16	34-29-22-12-0001

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 20
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
	WEED AND HALLE'S ADDITION W	Street Sweeping - Comn	nercial/Art	1.07	52.00	\$55.64	34-29-22-12-0003
Brynn Schlegel	30 FT OF LOT 4 AND E 1/2 OF LOT 5 BLK 1	Alley Sweeping Citywide Street Lighting		0.12	51.00	\$6.12	
1644 Minnehaha Ave E	544 Minnehaha Ave E		3	0.59	52.00	\$30.68	
St Paul MN 55106-4918						\$92.44	
*1644 MINNEHAHA AVE E		*** Owner and Taxpaye	er ***		_		
*Ward: 7			Total Assessn	nent:		\$92.44	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$92.44	
	WEED AND HALLE'S ADDITION W	Street Sweeping - Comn	nercial/Art	1.07		<del>\$64.20</del>	
1616 Minnehaha Ave E	1/2 OF LOT 10 AND ALL OF LOT 11	Alley Sweeping		0.12	60.00	\$7.20	J4-2)-22-12-000)
BLK 1 t Paul MN 55106-4918	BLK 1	Citywide Street Lighting	3	0.59	60.00	\$35.40	
*1616 MINNEHAHA AVE E					_	\$106.80	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020		Total Assessment:				\$106.80	
			This Payment	: <b>:</b>		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Interest:				
			Payoff Amou	int:		\$106.80	
Hector D Rodas Flores	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Reside	ential Stree				
1627 Beech St	22 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-12-0017
St Paul MN 55105-4908		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1627 BEECH ST					=	\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***			4	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80	
			This Payment			\$0.00	
			-			\$0.00	
			Current Year Principal: Current Year Interest:				
			Payoff Amou			\$0.00 <b>\$44.80</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 27
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Michelle L Salter Carter 1633 Beech St St Paul MN 55106-4908	WEED AND HALLE'S ADDITION LOT 24 BLK 1	Street Sweeping - Residence Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-12-0021
*1633 BEECH ST *Ward: 7		*** Owner and Taxpaye	er ***		=	\$44.80	
*Pending as of: 8/21/2020			Total Assess			\$44.80	
			This Payment Current Year	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amo			\$0.00 <b>\$44.80</b>	
	WEED AND HALLE'S ADDITION	Street Sweeping - Reside	 ential Streε				— — — — — — — — — — — — — — — — — — —
1647 Beech St St Paul MN 55106-4908	LOTS 27 & LOT 28 BLK 1	Alley Sweeping Citywide Street Lighting	3	0.12 0.59	80.00 80.00	\$9.60 \$47.20	
*1647 BEECH ST *Ward: 7		*** Owner and Taxpaye	er ***		_	\$89.60	
*Pending as of: 8/21/2020		Total Assessment:				\$89.60	
			This Payment: Current Year Principal:			\$0.00 \$0.00	
			Current Year Interest: Payoff Amount:			\$0.00 <b>\$89.60</b>	
Dannette M Helmbolt	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Reside	 ential Streε		80.50		
Duane E Helmbolt 1658 Beech St	1 BLK 4	Alley Sweeping Citywide Street Lighting		0.12 0.59	39.00 80.50	\$4.68 \$47.50	34-2)-22-12-0020
St Paul MN 55106-4909					_	\$85.19	
*1658 BEECH ST *Ward: 7		*** Owner and Taxpaye			-		
*Pending as of: 8/21/2020			Total Assess This Paymen			\$85.19 \$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$85.19	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 28
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Fastproperty Solutions Llc 8362 Tamarack Village Suite 119-234	WEED AND HALLE'S ADDITION LOT 2 BLK 4	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-12-0027
Woodbury MN 55125-3392 *1654 BEECH ST *Ward: 7		*** Owner and Taxpaye	-	0.57		\$44.80	
*Pending as of: 8/21/2020		1 7	Total Assess	ment:		\$44.80	
			This Paymen	it:		\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amor	unt:		\$44.80	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-22-12-0029
1642 Beech St	5 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4909		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1642 BEECH ST						\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resid	lential Stree			<u>\$16.40</u> —	34-29-22-12-0030
1638 Beech St	6 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4909		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1638 BEECH ST					==	\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 29
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
— — — — — — — — Mai Koua Yang	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-22-12-0031
1634 Beech St	7 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4909		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1634 BEECH ST *Ward: 7		*** Owner and Taxpayer			\$44.80		
*Pending as of: 8/21/2020		;	Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
		1	Current Year Pr	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$44.80	
	WEED AND HALLE'S ADDITION SUBJ	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
C/O Terence C Derosier	TO SEWER ESMT LOT 11 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-12-0034
10596 83rd St N		Citywide Street Lighting	;	0.59	40.00	\$23.60	
Stillwater MN 55082-8341					_	\$44.80	
*1618 BEECH ST		*** Owner and Taxpayer	r ***			******	
*Ward: 7			Total Assessment: This Payment:				
*Pending as of: 8/21/2020							
			Current Year Pr	_		\$0.00	
		Current Year Interest:				\$0.00	
			Payoff Amoun	t:		\$44.80	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
Porfirio Alamilla	12 BLK 4	Alley Sweeping	2 2 .	0.12	40.00	\$4.80	34-29-22-12-0033
1614 Beech St		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55106-4909					_	\$44.80	
*1614 BEECH ST		*** Owner and Taxpayer	r ***			******	
*Ward: 7			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		1	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 30
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mnsf T2 Spe Llc	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resider	idential Stree 0.41		40.00	\$16.40	34-29-22-12-0041
6836 Morrison Blvd Unit 320	19 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
Charlotte NC 28211-4399		Citywide Street Lighting		0.59	40.00	\$23.60	
*1611 MARGARET ST *Ward: 7		*** Owner and Taxpayer	. ***			\$44.80	
*Pending as of: 8/21/2020		<u>-</u> 1	Total Assessme	nt:		\$44.80	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
		(	Current Year In	iterest:		\$0.00	
		1	Payoff Amount	t:		\$44.80	
None Her	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resider	ntial Stree	0.41	40.00		
Neng Her 1615 Margaret St	20 BLK 4	Alley Sweeping	illiai Silcc	0.41	40.00	\$4.80	34-29-22-12-0042
St Paul MN 55106-4901		Citywide Street Lighting		0.59	40.00	\$23.60	
*1615 MARGARET ST		, , ,			_	\$44.80	
*Ward: 7		*** Owner and Taxpayer	***			φττ.ου	
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
		7	This Payment: Current Year Principal:				
		(					
		Current Year Interest:				\$0.00	
		1	Payoff Amount	t:		\$44.80	
Thomas C Kachelmyer	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resider	ntial Stree	0.41			
1619 Margaret St	21 BLK 4	Alley Sweeping	ilitai Sirce	0.12	40.00	\$4.80	34-29-22-12-0043
St Paul MN 55106-4901		Citywide Street Lighting		0.59	40.00	\$23.60	
*1619 MARGARET ST					_	\$44.80	
*Ward: 7		*** Owner and Taxpayer	***			<b>\$1.1100</b>	
*Pending as of: 8/21/2020		- 1	Total Assessment:			\$44.80	
			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
		Ì	Payoff Amount	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 31
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Aaron Halverson 1627 Margaret St St Paul MN 55106-4901	WEED AND HALLE'S ADDITION LOT 23 BLK 4	1 8		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-12-0045
<b>*1627 MARGARET ST</b> *Ward: 7		*** Owner and Taxpayo	er ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assess		-	\$44.80	
			This Paymer	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amo			\$0.00 <b>\$44.80</b>	
Kent Benjamin Themmes	WEED AND HALLE'S ADDITION EX	Street Sweeping - Resid	lential Stree	0.41	95.00	\$38.95	
Jamie Marie Themmes 1655 Margaret St	BLK 4	Alley Sweeping Citywide Street Lighting	g	0.12 0.59	68.00 95.00	\$8.16 \$56.05	
St Paul MN 55106-4901 *1655 MARGARET ST		*** Owner and Taxpayo	er ***		_	\$103.16	
*Ward: 7 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:		\$103.16 \$0.00 \$0.00 \$0.00 \$103.16		
Dorri Vu 1709 96th Ave Hammond WI 54015-5051	G. V. BACON'S ADDITION LOT 3 BLK	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	42.00 41.00 42.00	\$17.22 \$4.92 \$24.78	34-29-22-12-0052
*1650 MARGARET ST *Ward: 7		*** Owner and Taxpayo	er ***		_	\$46.92	
*Ward: / *Pending as of: 8/21/2020		Simol and Taxpayo	Total Assess	ment:		\$46.92	
			This Paymer Current Year			\$0.00 \$0.00	
			Current Year Payoff Amo			\$0.00 <b>\$46.92</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 32
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Beth E Bolton Dezwen E Bolton 1640 Margaret St	G. V. BACON'S ADDITION LOT 5 BLK	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-12-0054
St Paul MN 55106-4902 *1640 MARGARET ST		*** Owner and Taxpaye	er ***			\$44.80	
*Ward: 7			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Payoff Amo			\$0.00 <b>\$44.80</b>	
Wah Doh Lar Paw 1634 Margaret St St Paul MN 55106-4902 *1634 MARGARET ST *Ward: 7 *Pending as of: 8/21/2020	G. V. BACON'S ADDITION LOT 7 BLK	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting *** Owner and Taxpaye	<b>3</b>	nt: Principal: Interest:	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60 \$44.80 \$0.00 \$0.00 \$0.00 \$44.80	34-29-22-12-0056
Patrick A Howard Mary E Howard 1622 Margaret St St Paul MN 55106-4902 *1622 MARGARET ST *Ward: 7	G. V. BACON'S ADDITION LOT 10 BLK	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting *** Owner and Taxpaye	3	0.41 0.12 0.59	39.00 40.00 39.00	\$15.99 \$4.80 \$23.01 \$43.80	34-29-22-12-0059
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$43.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 33
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Christina Epperson	G. V. BACON'S ADDITION LOT 15 BLK	Street Sweeping - Residen	ntial Stree	0.41	80.50	\$33.01	34-29-22-12-0063
1600 Margaret St	6	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4902		Citywide Street Lighting		0.59	80.50	\$47.50	
*1600 MARGARET ST						\$85.19	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Γotal Assessm	nent:		\$85.19	
			This Payment:			\$0.00	
			Current Year l	-		\$0.00	
			Current Year l			\$0.00	
		P	Payoff Amou	nt:		\$85.19	
	G. V. BACON'S ADDITION E 1/2 OF	Street Sweeping - Residen		0.41		<u>\$24.60</u>	<u> </u>
See Lee	LOT 24 AND ALL OF LOT 25 BLK 6	Alley Sweeping Residen	iliai Sirec	0.12	60.00	\$7.20	34-29-22-12-00/0
9700 235th St N		Citywide Street Lighting		0.59	60.00	\$35.40	
Forest Lake MN 55025-8204					=	\$67.20	
*1633 6TH ST E		*** Owner and Taxpayer	***	\$67.20			
*Ward: 7		Total Assessment: This Payment: Current Year Principal:				\$67.20	
*Pending as of: 8/21/2020						\$0.00	
						\$0.00	
		C	Current Year l	nterest:		\$0.00	
		P	Payoff Amou	nt:		\$67.20	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Comme	ercial/Art				<u> </u>
1588 Minnehaha Ave E	3 BLK 2	Citywide Street Lighting		0.59	40.00	\$23.60	34-29-22-12-00/0
St Paul MN 55106-4928					=	\$66.40	
*1588 MINNEHAHA AVE E		*** Owner and Taxpayer ***				φου.το	
*Ward: 7			Total Assessment:			\$66.40	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year l	Principal:		\$0.00	
		C	Current Year l	nterest:		\$0.00	
		P	Payoff Amou	nt:		\$66.40	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	Ratification Date: Resolution #:		Assmt: 200025	Manager: LM	Page 34	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Lisa Williams	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	34-29-22-12-0083
1554 Minnehaha Ave E	12 BLK 2	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55106-4928					_	\$66.40	
*1554 MINNEHAHA AVE E	AHA AVE E  *** Owner and Taxpayer ***						
*Ward: 7			Total Assessi	ment:		\$66.40	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$66.40	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Com	— — — – mercial/Art				34-29-22-12-0086
12200 Upper Heather Ave N	15 BLK 2	Street Sweeping - Resid		0.41	62.50	\$25.63	012/22/12/0000
Hugo MN 55038-9394		Citywide Street Lightin	ıg	0.59	82.50	\$48.68	
*1540 MINNEHAHA AVE E					<del></del>	\$95.71	
*Ward: 7		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020		Total Assessment:				\$95.71	
			This Payment:				
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$95.71	
	WEED AND HALLE'S ADDITION W	Street Sweeping - Resid	dential Stree				<u> </u>
1541 Beech St	1/2 OF LOT 17 AND ALL OF LOT 16	Citywide Street Lightin		0.59	91.50	\$53.99	34-2)-22-12-0007
St Paul MN 55106-4929	BLK 2				_	\$91.51	
*1541 BEECH ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessi	ment:	\$91.51		
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amou	unt:		\$91.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by				Manager: LM	Page 35
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Ra</u>	te Quantity	Charge Amts	Property ID
Michael J Pigg	WEED AND HALLE'S ADDITION W	Street Sweeping - Resident			\$24.60	34-29-22-12-0094
1575 Beech St	1/2 OF LOT 26 & ALL OF LOT 25 BLK 2	Citywide Street Lighting	0.:	59 60.00	\$35.40	
St Paul MN 55106-4929		*** 0 1 T *	**		\$60.00	
*1575 BEECH ST *Ward: 7		*** Owner and Taxpayer *	~ ~			
*Ward: / *Pending as of: 8/21/2020			otal Assessment:		\$60.00	
1 chaing as of. 6/21/2020			nis Payment:		\$0.00	
			ırrent Year Principal	:	\$0.00	
			arrent Year Interest:		\$0.00	
		Pa	nyoff Amount:		\$60.00	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Residenti	ial Stree 0.4	41 80.50		34-29-22-12-0098
1598 Beech St	1 BLK 3	Alley Sweeping	0.	12 39.00	\$4.68	
St Paul MN 55106-4930		Citywide Street Lighting	0.:	59 80.50	\$47.50	
*1598 BEECH ST				_	\$85.19	
*Ward: 7		*** Owner and Taxpayer *				
*Pending as of: 8/21/2020		To	otal Assessment:		\$85.19	
		Th	nis Payment:	\$0.00		
		Cu	ırrent Year Principal	\$0.00		
			arrent Year Interest:	\$0.00		
		Pa	nyoff Amount:		\$85.19	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Residenti		41 — — — — —		<u> </u>
6457 Blaine Ave	2 BLK 3	Alley Sweeping	0.	12 40.00	\$4.80	0.27 22 12 0077
Inver Grove Heights MN 55076-1909		Citywide Street Lighting	0	59 40.00	\$23.60	
*1594 BEECH ST				=	\$44.80	
*Ward: 7		*** Owner and Taxpayer *				
*Pending as of: 8/21/2020		Total Assessment:			\$44.80	
		Th	nis Payment:		\$0.00	
		Cu	ırrent Year Principal	:	\$0.00	
			Current Year Interest:			
		Pa	yoff Amount:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 36
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Kou Xiong 1582 Beech St St Paul MN 55106-4930	WEED AND HALLE'S ADDITION LOTS 5 AND LOT 6 BLK 3	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	80.00 80.00 80.00	\$32.80 \$9.60 \$47.20	34-29-22-12-0101
*1582 BEECH ST		***	de de de		<del></del>	\$89.60	
*Ward: 7		*** Owner and Taxpayo	er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$89.60	
			This Paymen			\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$89.60	
Larissa Schaar	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resid	lential Stree	0.41			34-29-22-12-0103
Dorothy Flaherty	9 BLK 3	Alley Sweeping		0.12	42.00	\$5.04	0.12/22/12/01/00
1564 Beech St		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55106-4930					==	\$45.04	
*1564 BEECH ST		*** Owner and Taxpayo	er ***				
*Ward: 7			Total Assessi	ment:	-	\$45.04	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
		Payoff Amount:				\$45.04	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resid	lential Stree			<u>\$16.40</u>	<u> </u>
1544 Beech St	14 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	0.2722120107
St Paul MN 55106-4930		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1544 BEECH ST					_	\$44.80	
*Ward: 7		*** Owner and Taxpayo	er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$44.80	
			This Paymen			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Shawn D Labarre	WEED AND HALLE'S ADDITION	Street Sweeping - Reside	ential Stree	0.41	80.00	\$32.80	34-29-22-12-0110
1551 Margaret St	LOTS 18 AND LOT 19 BLK 3	Alley Sweeping		0.12	80.00	\$9.60	
St Paul MN 55106-4925		Citywide Street Lighting	;	0.59	80.00	\$47.20	
*1551 MARGARET ST *Ward: 7		*** Owner and Taxpayer	r ***		_	\$89.60	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$89.60	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou			\$89.60	
Pamela L Jones	WEED AND HALLE'S ADDITION EX E 30 FT LOT 21 AND ALL OF LOT 20	Street Sweeping - Reside	ential Stree	0.41 0.12	50.00 50.00	\$20.50 \$6.00	34-29-22-12-0111
1557 Margaret St	BLK 3	Alley Sweeping Citywide Street Lighting		0.12	50.00	\$6.00 \$29.50	
St Paul MN 55106-4925		Citywide Street Lighting	•	0.39	30.00		
*1557 MARGARET ST *Ward: 7		*** Owner and Taxpayer	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2020		Total Assessment:				\$56.00	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amou	nt:		\$56.00	
Amanda K Ryan	WEED AND HALLE'S ADDITION E 30 FT OF LOT 21 AND ALL OF LOT 22	Street Sweeping - Reside	ential Stree	0.41	70.00	\$28.70	34-29-22-12-0112
1563 Margaret St	BLK 3	Alley Sweeping Citywide Street Lighting		0.12 0.59	70.00 70.00	\$8.40 \$41.30	
St Paul MN 55106-4925		Citywide Street Lighting	,	0.39	70.00		
*1563 MARGARET ST		*** 0 1 T	***			\$78.40	
*Ward: 7		*** Owner and Taxpayer			_		
*Pending as of: 8/21/2020			Total Assessm	nent:		\$78.40	
			This Payment			\$0.00 \$0.00	
			Current Year Principal:				
			Current Year Interest:			\$0.00	
			Payoff Amou	nt:		\$78.40	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 38
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Bph 2 Llc	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Reside	ential Stree	0.41	39.00	\$15.99	34-29-22-12-0113
55 W 39th St Rm 806	23 BLK 3	Alley Sweeping		0.12	39.00	\$4.68	
New York NY 10018-0548		Citywide Street Lighting	5	0.59	39.00	\$23.01	
*1569 MARGARET ST *Ward: 7		*** Owner and Taxpaye	r ***			\$43.68	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$43.68	
			This Payment:			\$0.00	
			Current Year 1			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$43.68	
	WEED AND HALL ES A DOUTION W	Street Sweeping - Reside		0.41			
Trung Hoang	WEED AND HALLE'S ADDITION W 1/2 OF LOT 26 AND ALL OF LOT 25	Alley Sweeping	ciitiai Stict	0.41	60.00	\$7.20	34-29-22-12-0115
10435 Raleigh Rd Woodbury MN 55129-4202	BLK 3	Citywide Street Lighting	ŗ	0.59	60.00	\$35.40	
*1579 MARGARET ST		,	,		_	\$67.20	
*Ward: 7		*** Owner and Taxpaye	er ***			\$07.20	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$67.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$67.20	
	WEED AND HALL ES A DIVERNIE 1/2	Street Sweeping - Reside		0.41			
Ania Angel Gonzalez	WEED AND HALLE'S ADDITION E 1/2 OF LOT 26 AND ALL OF LOT 27 BLK	Alley Sweeping - Reside	ential Street	0.41	60.00	\$7.20	34-29-22-12-0116
1585 Margaret St St Paul MN 55106-4925	3	Citywide Street Lighting	ŗ	0.59	60.00	\$35.40	
*1585 MARGARET ST		,	,	****	_	\$67.20	
*Ward: 7		*** Owner and Taxpaye	r ***			\$67.20	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$67.20	
			This Payment	:		\$0.00	
		Current Year Principal:			\$0.00		
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$67.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 39
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Thaying Xiong	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resid	lential Stree	0.41	80.50	\$33.01	34-29-22-12-0119
1597 Margaret St	30 BLK 3	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4925		Citywide Street Lighting	g	0.59	80.50	\$47.50	
*1597 MARGARET ST					<del></del>	\$85.19	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$85.19	
			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$85.19	
	G. V. BACON'S ADDITION LOT 2 BLK	Street Sweeping - Resid					
1592 Margaret St	5	Alley Sweeping	ichilai Sirce	0.12	40.00	\$4.80	34-29-22-12-0121
St Paul MN 55106-4926		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1592 MARGARET ST		, , ,	C		<u> </u>	\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***			ψ11.00	
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
		Church Court D 11				<u> </u>	
Joseph J Korman Iii	G. V. BACON'S ADDITION E 1/2 OF LOT 4 AND ALL OF LOT 3 BLK 5	Street Sweeping - Resid Alley Sweeping	lential Stree	0.41 0.12	60.00 60.00	\$24.60 \$7.20	34-29-22-12-0122
1588 Margaret St		Citywide Street Lighting	σ	0.12	60.00	\$35.40	
St Paul MN 55106-4926		City wide Street Lighting	5	0.57			
*1588 MARGARET ST *Ward: 7		*** Owner and Taxpayo	er ***			\$67.20	
*Pending as of: 8/21/2020		- ···			-	\$67.20	
Č			Total Assess This Paymer			\$67.20 \$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo			\$67.20	
						~~/· <b>=</b> 0	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 40
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	Quantity	Charge Amts	Property ID
Xeng Khang	G. V. BACON'S ADDITION EX W 5 FT;	Street Sweeping - Reside	ential Stree	0.41	55.00	\$22.55	34-29-22-12-0123
1580 Margaret St	LOT 5 & THE W 1/2 OF LOT 4 BLK 5	Alley Sweeping		0.12	55.00	\$6.60	
St Paul MN 55106-4926		Citywide Street Lighting	g	0.59	55.00	\$32.45	
*1580 MARGARET ST *Ward: 7		*** Owner and Taxpaye	r ***		_	\$61.60	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$61.60	
			This Payment:	•		\$0.00	
			Current Year 1			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$61.60	
	G. V. BACON'S ADDITION LOT 7 BLK	Street Sweeping - Reside		0.41			
Marlon Barnes Katrina Barnes	5	Alley Sweeping	ciitiai Strec	0.12	40.00	\$4.80	34-29-22-12-0125
1574 Margaret St		Citywide Street Lighting	Ţ	0.59	40.00	\$23.60	
St Paul MN 55106-4926		, ,	,		=	\$44.80	
*1574 MARGARET ST		*** Owner and Taxpaye	er ***			\$ <del>11</del> .60	
*Ward: 7			Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
		Current Year Principal:				\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	C V D CONIG ADDITION BY WAS FIT	Street Systeming Decid		<del>-</del>		<u> </u>	
Constance Doyle Polk	G. V. BACON'S ADDITION EX W 20 FT LOT 10 AND ALL OF LOT 9 BLK 5	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	60.00 60.00	\$24.60 \$7.20	34-29-22-12-0127
1564 Margaret St St Paul MN 55106-4926		Citywide Street Lighting	r	0.12	60.00	\$35.40	
*1564 MARGARET ST		on, whe show Eighting	,	0.00		\$67.20	
*Ward: 7		*** Owner and Taxpaye	er ***			\$67.20	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$67.20	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$67.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020Si Resolution #:	MSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Amanda K Seebacher	G. V. BACON'S ADDITION W 20 FT OF	Street Sweeping - Resider	ntial Stree	0.41	60.00	\$24.60	34-29-22-12-0128
Cole J Cruz	LOT 10 AND ALL OF LOT 11 BLK 5	Alley Sweeping		0.12	60.00	\$7.20	
1558 Margaret St		Citywide Street Lighting		0.59	60.00	\$35.40	
St Paul MN 55106-4926 * <b>1558 MARGARET ST</b>		*** Owner and Taxpayer	***			\$67.20	
*Ward: 7		-	Total Assessment	t:		\$67.20	
*Pending as of: 8/21/2020		-	This Payment:			\$0.00	
		(	Current Year Prir	ncipal:	\$0.00		
		(	Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$67.20	
Patrick C Rohrich	G. V. BACON'S ADDITION W 20 FT OF	Street Sweeping - Residen	ntial Stree	0.41	90.50		
Lori A Rohrich	LOT 14 AND ALL OF LOT 15 BLK 5	Alley Sweeping		0.12	59.00	\$7.08	34-27-22-12-0131
1542 Margaret St		Citywide Street Lighting		0.59	90.50	\$53.40	
St Paul MN 55106-4926					=	\$97.59	
*1542 MARGARET ST		*** Owner and Taxpayer	***			· 	
*Ward: 7		-	Total Assessment	t:	-	\$97.59	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$97.59	
	G. V. BACON'S ADDITION E 30 FT OF	Street Sweeping - Residen	ntial Stree	0.41			<u> </u>
1571 6th St E	LOT 23 AND W 25 FT OF LOT 24 BLK	Alley Sweeping		0.12	55.00	\$6.60	34-29-22-12-0137
St Paul MN 55106-4829	5	Citywide Street Lighting		0.59	55.00	\$32.45	
*1571 6TH ST E					_	\$61.60	
*Ward: 7		*** Owner and Taxpayer	***			400.00	
*Pending as of: 8/21/2020			Total Assessment	t:	-	\$61.60	
			This Payment:			\$0.00	
			Current Year Prir	-		\$0.00	
			Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$61.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20: Resolution #		Assmt: 200025	Manager: LM	Page 42	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Scott A Gonderzik	G. V. BACON'S ADDITION EX E 25 FT	Street Sweeping - Reside	ential Stree	0.41	55.00	\$22.55	34-29-22-12-0139	
1583 6th St E	LOT 27 AND ALL OF LOT 26 BLK 5	Alley Sweeping		0.12	55.00	\$6.60		
St Paul MN 55106-4829		Citywide Street Lighting		0.59	55.00	\$32.45		
*1583 6TH ST E					_	\$61.60		
*Ward: 7		*** Owner and Taxpayer	r ***					
*Pending as of: 8/21/2020		;	Total Assessr	nent:	-	\$61.60		
			This Payment	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	ınt:		\$61.60		
Laila M Omar	G. V. BACON'S ADDITION E 25 FT OF	Street Sweeping - Reside	ential Stree	0.41	55.00	\$22.55	34-29-22-12-0140	
Farhaan D Kediye	LOT 27 AND EX E 10 FT LOT 28 BLK	Alley Sweeping		0.12	55.00	\$6.60	0.129 22 12 0110	
1587 6th St E	5	Citywide Street Lighting		0.59	55.00	\$32.45		
St Paul MN 55106-4829					=	\$61.60		
*1587 6TH ST E		*** Owner and Taxpayer	r ***					
*Ward: 7		,	Total Assessr	nent:		\$61.60		
*Pending as of: 8/21/2020			This Payment	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$61.60		
Brandon Battee	G. V. BACON'S ADDITION LOT 1 BLK	Street Sweeping - Reside		0.41	80.50	\$33.01	34-29-22-12-0143	
1656 6th St E	11	Citywide Street Lighting		0.59	80.50	\$47.50		
St Paul MN 55106-4934						\$80.51		
*1658 6TH ST E		*** Owner and Taxpayer	r ***					
*Ward: 7			Total Assessr	ment:		\$80.51		
*Pending as of: 8/21/2020			This Payment	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	ınt:		\$80.51		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mai C Yang	G. V. BACON'S ADDITION LOT 2 BLK	Street Sweeping - Res	idential Stree	0.41	38.00	\$15.58	34-29-22-12-0144
Roderick Vang	11	Citywide Street Lighti	ng	0.59	38.00	\$22.42	
1652 6th St E					<del></del>	\$38.00	
St Paul MN 55106-4934		*** Owner and Taxpa	yer ***				
*1652 6TH ST E			Total Assess	ment:	-	\$38.00	
Ward: 7			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$38.00	
	G. V. BACON'S ADDITION EX W 15 FT	Street Sweeping - Res	idential Stree		53.00	<del></del>	
Cha Her	LOT 5 AND W 28 FT OF LOT 4 BLK 11	Citywide Street Lighti	ng	0.59	53.00	\$31.27	012/22 12 0110
640 6th St E					=	\$53.00	
t Paul MN 55106-4934		*** Owner and Taxpa	yer ***				
1640 6TH ST E			Total Assess	ment:	-	\$53.00	
Ward: 7			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020		Current Year Principal:				\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$53.00	
	G. V. BACON'S ADDITION E 20 FT OF	Street Sweeping - Res	idential Stree				
Lykia Yang	LOT 8 AND ALL OF LOT 7 BLK 11	Citywide Street Lighti		0.59	60.00	\$35.40	34-27-22-12-0140
628 6th St E					=	\$60.00	
t Paul MN 55106-4934		*** Owner and Taxpa	yer ***				
1628 6TH ST E			Total Assess	ment·	-	\$60.00	
Ward: 7			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amo	unt:		\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 44
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Davi Touy C/O Sarah Touy	G. V. BACON'S ADDITION W 15 FT OF LOT 11 AND EX W 30 FT LOT 13 AND ALL OF LOT 12 BLK 11	Street Sweeping - Residence Citywide Street Lightin		0.41 0.59	65.00 65.00	\$26.65 \$38.35	34-29-22-12-0151
1614 6th St E St Paul MN 55106-4934		*** Owner and Taxpay	/er ***			\$65.00	
*1614 6TH ST E *Ward: 7			Total Assessme		-	\$65.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
<u> </u>			Current Year P Current Year In	_		\$0.00 \$0.00	
			Payoff Amour			\$65.00	
Jennifer Madson	G. V. BACON'S ADDITION E 30 FT OF	Street Sweeping - Resid	— — — — dential Stree	0.41		\$23.78	
Scott Madson	LOT 14 AND W 30 FT OF LOT 13 BLK	Citywide Street Lightin		0.59	58.00	\$34.22	34-2)-22-12-0132
1608 6th St	11				_	\$58.00	
St Paul MN 55106-4934		*** Owner and Taxpay	/er ***				
*1608 6TH ST E			Total Assessm	ent:		\$58.00	
*Ward: 7 *Pending as of: 8/21/2020			This Payment:			\$0.00	
Fending as 01. 8/21/2020			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	it:		\$58.00	
Christina R Harding	G. V. BACON'S ADDITION LOT 27 BLK	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	
1643 5th St E	11	Citywide Street Lightin	ng	0.59	40.00	\$23.60	,
St Paul MN 55106-5408 *1643 5TH ST E		*** Owner and Taxpay	ver ***		_	\$40.00	
*Ward: 7		1 3	Total Assessm		-	\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$40.00 \$0.00	
			Current Year P			\$0.00	
			Current Year I	•		\$0.00	
			Payoff Amour	ıt:		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 45
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Christopher P Kieffer	WEED AND HALLE'S ADDITION E 1/2	Street Sweeping - Comm	mercial/Art	1.07	60.00	\$64.20	34-29-22-12-0165
1622 Minnehaha Ave E	OF LOT 10 BLK 1 AND ALL OF LOT 9 BLK 1	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55106-4918	BER I	Citywide Street Lighting	g	0.59	60.00	\$35.40	
<b>*1622 MINNEHAHA AVE E</b> *Ward: 7		*** Owner and Taxpaye	er ***			\$106.80	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$106.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$106.80	
	WEED AND HALLE'S ADDITION E 1/2	Street Sweeping - Resid	ential Stree	0.41			<u> </u>
1641 Margaret St	OF LOT 25 AND ALL OF LOT 26 BLK 4	Alley Sweeping		0.12	60.00	\$7.20	34-27-22-12-01/1
St Paul MN 55106-4901		Citywide Street Lighting	g	0.59	60.00	\$35.40	
*1641 MARGARET ST						\$67.20	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$67.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.20	
	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Resid	 ential Stree				
Heidi K Schneider	27 BLK 4	Alley Sweeping	onnar Street	0.12	40.00	\$4.80	34-29-22-12-01/2
1645 Margaret St		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55106-4901					_	\$44.80	
*1645 MARGARET ST		*** Owner and Taxpaye	er ***			*	
*Ward: 7			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020s Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Yeng Chang	WEED AND HALLE'S ADDITION LOT	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-22-12-0174
1639 Beech St	26 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4908		Citywide Street Lighting		0.59	40.00	\$23.60	
*1639 BEECH ST *Ward: 7		*** Owner and Taxpayer	. ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessme	nt:	-	\$44.80	
		Т	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:	\$0.00		
		(	Current Year In	terest:		\$0.00	
		F	Payoff Amount	t:		\$44.80	
	WEED AND HALLE'S ADDITION EX	Street Sweeping - Residen	ntial Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
4448 Cosette Ln N	THE E 3 FT OF THE S 15 FT; LOT 4 BLK	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-12-0170
Hugo MN 55038-4436	3	Citywide Street Lighting		0.59	40.00	\$23.60	
*1586 BEECH ST						\$44.80	
*Ward: 7		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		T	Total Assessment:			\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		F	Payoff Amount	t:		\$44.80	
 Misha Hang	Lot 9 Blk 4	Street Sweeping - Residen	ntial Stree	0.41			
1622 Beech St		Alley Sweeping		0.12	40.00	\$4.80	34-27-22-12-0177
St Paul MN 55106-4909		Citywide Street Lighting		0.59	40.00	\$23.60	
*0 BEECH ST					_	\$44.80	
*Ward: 7		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		<u>-</u> Т	Total Assessme	nt:		\$44.80	
		Γ	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		F	Payoff Amount	t <b>:</b>		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
 Misha Hang	Lot 10 Blk 4	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-22-12-0178
1622 Beech St		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-4909		Citywide Street Lighting		0.59	40.00	\$23.60	
*1622 BEECH ST *Ward: 7		*** Owner and Taxpayer	naver ***			\$44.80	
*Pending as of: 8/21/2020		 1	Total Assessmer	nt:		\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	erest:		\$0.00	
		1	Payoff Amount:	:		\$44.80	
	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Resider	ntial Stree		<del> 87.00</del>	\$35.67	34-29-22-13-0001
Sarah A Guy	LEE'S SUBURBAN HOMES E 10 FT OF	Alley Sweeping		0.12	48.00	\$5.76	34-27-22-13-0001
1656 5th St E	LOT 2 AND ALL OF LOT 1	Citywide Street Lighting		0.59	87.00	\$51.33	
St Paul MN 55106-5433						\$92.76	
*1656 5TH ST E		*** Owner and Taxpayer	. ***				
*Ward: 7		7	Total Assessmer	nt:		\$92.76	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
		(	Current Year Int	erest:		\$0.00	
		1	Payoff Amount:	:		\$92.76	
	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Resider	ntial Stree	0.41	50.00	\$20.50	34-29-22-13-0002
800 Spring Hill Ct	LEE'S SUBURBAN HOMES E 20 FT OF	Alley Sweeping		0.12	50.00	\$6.00	34-29-22-13-0002
Woodbury MN 55125-3732	LOT 3 AND EX E 10 FT LOT 2	Citywide Street Lighting		0.59	50.00	\$29.50	
*1652 5TH ST E					_	\$56.00	
*Ward: 7		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020			Total Assessmer	nt:		\$56.00	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Int			\$0.00	
		1	Payoff Amount:	:		\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Gregory J Gauster	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Reside	ential Stree	0.41	50.00	\$20.50	34-29-22-13-0004
2976 Frederick Pkwy	LEE'S SUBURBAN HOMES W 10 FT OF	Alley Sweeping		0.12	50.00	\$6.00	
St Paul MN 55109-1422	LOT 4 AND ALL OF LOT 5	Citywide Street Lighting		0.59	50.00	\$29.50	
*1640 5TH ST E					<del></del>	\$56.00	
*Ward: 7		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$56.00	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$56.00	
Mark S Henthorne	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1636 5th St E	LEE'S SUBURBAN HOMES LOT 6	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-13-0003
St Paul MN 55106-5433		Citywide Street Lighting	:	0.59	40.00	\$23.60	
*1636 5TH ST E						\$44.80	
*Ward: 7		*** Owner and Taxpaye	r ***			,	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$44.80	
		This Payment:				\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	DIETZIS SURDIVISION OF LOT 10 OF	Street Sweeping - Reside					
Billie Lor	DIETZ'S SUBDIVISION OF LOT 10 OF LEE'S SUBURBAN HOMES W 1/2 OF	Alley Sweeping - Reside	muai Sirec	0.41 0.12	60.00	\$7.20	34-29-22-13-0007
1624 5th St E St Paul MN 55106-5433	LOT 8 AND ALL OF LOT 9	Citywide Street Lighting		0.12	60.00	\$35.40	
		City wide Street Eighting		0.57		\$67.20	
*1624 5TH ST E *Ward: 7		*** Owner and Taxpaye	r ***			\$67.20	
*Pending as of: 8/21/2020		• •	Total Assessme	ent·		\$67.20	
			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun			\$67.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 49
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Sa Lah Phang Naw Wee Htoo 1620 5th St E	DIETZ'S SUBDIVISION OF LOT 10 OF LEE'S SUBURBAN HOMES LOT 10	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-13-0008
St Paul MN 55106-5433 *1620 5TH ST E		*** Owner and Taxpay	er ***		_	\$44.80	
*Ward: 7			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Resid	dential Stree	0.41	92.50	\$37.93	34-29-22-13-0014
Constance Chua Lee LEE'S SUBURBAN HOMES W 1/2 OF LOT 17 AND ALL OF LOT 16	Alley Sweeping		0.12	60.00	\$7.20		
1601 4th St E	EOT I/ AND ALL OF EOT IO	Citywide Street Lightin	g	0.59	92.50	\$54.58	
St Paul MN 55106-5405 * <b>1601 4TH ST E</b>		*** Owner and Taxpay	or ***			\$99.71	
		Owner and Taxpay					
*Ward: 7			Total Assess			\$99.71	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year Principal: Current Year Interest:			\$0.00	
						\$0.00	
			Payoff Amo	unt:		\$99.71	
Samuel Ramos Jr	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Resid			50.00	\$20.50	34-29-22-13-0015
Lucy M Ramos	LEE'S SUBURBAN HOMES E 1/2 OF LOT 17 AND EX E 10 FT LOT 18	Alley Sweeping		0.12	50.00	\$6.00	
1609 4th St E	EGT IV MAD EXE TOTT EGT TO	Citywide Street Lightin	ıg	0.59	50.00	\$29.50	
St Paul MN 55106-5405						\$56.00	
*1605 4TH ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	ment:		\$56.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 5
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Alicia Menchaca	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Reside	ential Stree	0.41	35.00	\$14.35	34-29-22-13-0018
1623 4th St E	LEE'S SUBURBAN HOMES EX E 2 FT LOT 22	Alley Sweeping		0.12	35.00	\$4.20	
St Paul MN 55106-5405	LO1 22	Citywide Street Lighting	;	0.59	35.00	\$20.65	
*1623 4TH ST E					_	\$39.20	
*Ward: 7		*** Owner and Taxpaye	r *** 				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$39.20	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$39.20	
	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Reside	ential Stree				
8606 Timberwood Rd	LEE'S SUBURBAN HOMES LOT 25	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-13-0021
Woodbury MN 55125-7621		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1637 4TH ST E						\$44.80	
*Ward: 7		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessment:			\$44.80	
		This Payment:				\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$44.80	
	DISTRICTION VICTOR AND ADDRESS OF THE PROPERTY	Street Sweeping Decid				<u>\$16.40</u>	
Kong Kou Her	DIETZ'S SUBDIVISION OF LOT 10 OF LEE'S SUBURBAN HOMES LOT 28	Street Sweeping - Reside Alley Sweeping	enual Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-22-13-0023
Veena Yang 1649 4th St E		Citywide Street Lighting	ř	0.12	40.00	\$23.60	
St Paul MN 55106-5405		enj mae su eet zignung	,	0.00		\$44.80	
*1649 4TH ST E		*** Owner and Taxpaye	r ***			\$44.80	
*Ward: 7			Total Assessme	ent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 5	
Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
	LEE'S SUBURBAN HOMES SUBJ TO	Street Sweeping - Reside	ential Stree	0.41	52.00	\$21.32	34-29-22-13-0027	
Landon Duban	4TH ST THE W 53 FT OF E 105 6/10 FT OF PART N OF ALLEY OF LOT 11	Alley Sweeping		0.12	52.00	\$6.24		
705 3rd St W	OF TAKE IVOLABLE FOR EOF IT	Citywide Street Lighting	7	0.59	52.00	\$30.68		
Hastings MN 55033-1129						\$58.24		
*1648 4TH ST E		*** Owner and Taxpaye	er ***					
Ward: 7			Total Assessme	ent:		\$58.24		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year Principal: Current Year Interest:			\$0.00		
						\$0.00		
			Payoff Amoun	nt:		\$58.24		
	LEE'S SUBURBAN HOMES SUBJ TO	Street Sweeping - Reside	ential Stree	0.41	41.00	<del></del>	<u> </u>	
Bao Thao	4TH ST THE W 41 FT OF E 197 6/10 FT	Alley Sweeping		0.12	48.00	\$5.76	012) 22 10 002)	
640 4th St E	OF PART N OF ALLEY OF LOT 11 ALSO S 19 3/10 FT OF W 7 FT OF E 156	Citywide Street Lighting	3	0.59	41.00	\$24.19		
St Paul MN 55106-5406	6/10 FT OF PART N OF ALLEY OF SD					\$46.76		
*1640 4TH ST E	LOT 11	*** Owner and Taxpaye	er ***					
*Ward: 7			Total Assessme	ent:	-	\$46.76		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
			Current Year In	nterest:		\$0.00		
			Payoff Amoun	nt:		\$46.76		
	SPIEGLER'S ADDITION LOT   BLK   1	Street Sweeping - Reside	ential Stree	0.41		\$20.50	<u> </u>	
Mary Jo Syring		Alley Sweeping		0.12	50.00	\$6.00	34-27-22-13-0030	
1636 4th St E		Citywide Street Lighting	5	0.59	50.00	\$29.50		
St Paul MN 55106-5406					_	\$56.00		
*1636 4TH ST E		*** Owner and Taxpaye	er ***			•		
*Ward: 7			Total Assessme	ent:	-	\$56.00		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
			Current Year In	nterest:		\$0.00		
			Payoff Amoun	ıt:		\$56.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 52
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Joanna M Chang Xiong 1610 4th Ave E St Paul MN 55106-5406	SPIEGLER'S ADDITION LOT 6 BLK 1	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	50.00 50.00 50.00	\$20.50 \$6.00 \$29.50	34-29-22-13-0035
*1610 4TH ST E *Ward: 7		*** Owner and Taxpaye	er ***		_	\$56.00	
*Pending as of: 8/21/2020			Total Assessi			\$56.00 \$0.00	
			Current Year Current Year	Principal:		\$0.00 \$0.00 \$0.00	
			Payoff Amou			\$56.00	
	SPIEGLER'S ADDITION LOT 7 BLK 1	Street Sweeping - Resid	ential Streε				34-29-22-13-0036
1606 4th St E St Paul MN 55106-5406		Alley Sweeping Citywide Street Lighting	g	0.12 0.59	50.00 50.00	\$6.00 \$29.50	
*1606 4TH ST E  *Ward: 7		*** Owner and Taxpaye	er ***		_	\$56.00	
*Pending as of: 8/21/2020			Total Assessi	ment:	-	\$56.00	
			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
		Current Year Interest:			\$0.00		
			Payoff Amou	unt:		\$56.00	
Donna M Carpenter	FRED KALMEN ADDITION LOT 10 BLK 1	Street Sweeping - Resid	ential Stree	0.41	50.00	\$20.50	34-29-22-13-0040
1611 Fremont Ave	DLK I	Alley Sweeping Citywide Street Lighting	~	0.12 0.59	50.00 50.00	\$6.00 \$29.50	
St Paul MN 55106-5411		Citywide Sileet Lighting	g	0.39	30.00	\$56.00	
* <b>1611 FREMONT AVE</b> *Ward: 7		*** Owner and Taxpaye	er ***			\$30.00	
*Pending as of: 8/21/2020			Total Assessi	ment:	-	\$56.00	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	Property ID
Erika Torres	FRED KALMEN ADDITION LOT 8	Street Sweeping - Residen	ntial Stree	0.41	50.00	\$20.50	34-29-22-13-0042
Efrain Rodriquez	BLK 1	Alley Sweeping		0.12	50.00	\$6.00	
1621 Fremont Ave		Citywide Street Lighting		0.59	50.00	\$29.50	
St Paul MN 55106-5411						\$56.00	
*1621 FREMONT AVE		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessment:			\$56.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Princip	\$0.00			
		C	Current Year Interes	st:		\$0.00	
		P	Payoff Amount:			\$56.00	
	FRED KALMEN ADDITION LOT 5	Street Sweeping - Residen	 ntial Stree	0.41			34-29-22-13-0045
1635 Fremont Ave	BLK 1	Alley Sweeping		0.12	50.00	\$6.00	012/22 10 0010
St Paul MN 55106-5411		Citywide Street Lighting		0.59	50.00	\$29.50	
*1635 FREMONT AVE					_	\$56.00	
*Ward: 7		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		T	Total Assessment:			\$56.00	
		T	This Payment:			\$0.00	
		C	Current Year Princip	pal:		\$0.00	
		C	Current Year Interes	st:		\$0.00	
		P	Payoff Amount:			\$56.00	
Maggie M Lorenz	FRED KALMEN ADDITION LOT 2	Street Sweeping - Residen	ıtial Stree	0.41		\$20.50	<u> </u>
1651 Fremont Ave	BLK 1	Alley Sweeping		0.12	50.00	\$6.00	012/22 10 00 10
St Paul MN 55106-5411		Citywide Street Lighting		0.59	50.00	\$29.50	
*1651 FREMONT AVE						\$56.00	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Total Assessment:		<u>-</u>	\$56.00	
		T	This Payment:			\$0.00	
			Current Year Princip	pal:		\$0.00	
		C	Current Year Interes	st:		\$0.00	
		P	Payoff Amount:			\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2020SMSP Ratification Date: Resolution #:			Assmt: 200025	Manager: LM	Page 54	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Nkaujnub Vang Xiong 1657 Fremont Ave St Paul MN 55106-5411	FRED KALMEN ADDITION LOT 1 BLK 1	Street Sweeping - Resident Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	87.00 48.00 87.00	\$35.67 \$5.76 \$51.33	34-29-22-13-0049
*1657 FREMONT AVE *Ward: 7		*** Owner and Taxpaye	er ***			\$92.76	
*Pending as of: 8/21/2020			Total Assessm This Payment: Current Year I Current Year I Payoff Amount	Principal:		\$92.76 \$0.00 \$0.00 \$0.00 \$92.76	
Federal National Mortgage Assoc C/O Granite Parl Vii 5600 Granite Pky Plano TX 75024-4126 *1652 FREMONT AVE *Ward: 7 *Pending as of: 8/21/2020	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES N 60 FT OF LOTS 1 2 AND LOT 3 BLK 6	Street Sweeping - Residence Citywide Street Lighting  *** Owner and Taxpaye	5	Principal:	90.50	\$37.11 \$53.40 \$90.51 \$90.51 \$0.00 \$0.00 \$0.00 \$90.51	34-29-22-13-0050
Bmk Managers Llc 1845 Stinson Blvd Minneapolis MN 55418-4824 *533 KENNARD ST *Ward: 7 *Pending as of: 8/21/2020	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES N 1/2 OF VAC ALLEY ADJ AND EX N 60 FT LOTS 1 2 AND LOT 3 BLK 6	Street Sweeping - Reside Citywide Street Lighting  *** Owner and Taxpaye	5	Principal:	69.00 69.00	\$28.29 \$40.71 \$69.00 \$69.00 \$0.00 \$0.00 \$0.00 \$69.00	34-29-22-13-0051

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Tara I Nepple	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resi		0.41	46.00	\$18.86	34-29-22-13-0052
1644 Fremont Ave	STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES N	Citywide Street Lightin	ng	0.59	46.00	\$27.14	
St Paul MN 55106-5412	1/2 OF VAC ALLEY ADJ AND EX W 32	and a second	also also also			\$46.00	
*1644 FREMONT AVE	FT LOT 5 AND ALL LOT 4 BLK 6	*** Owner and Taxpay	yer *** 				
*Ward: 7			Total Assessme	ent:		\$46.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$46.00	
 My Ka Ying Yang	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resi	dential Stree	0.41	47.00	<u>\$19.27</u>	34-29-22-13-0053
1640 Fremont Ave	STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES N	Citywide Street Lightin	ng	0.59	47.00	\$27.73	
St Paul MN 55106-5412	1/2 OF VAC ALLEY ADJ AND EX W 24				<del></del>	\$47.00	
*1640 FREMONT AVE	FT LOT 6 AND W 32 FT OF LOT 5 BLK	*** Owner and Taxpay	yer ***				
*Ward: 7	v		Total Assessme	ent:	-	\$47.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$47.00	
 Margaret Anne Pillar	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resi	dential Stree	0.41	50.00	\$20.50	
Brian Michael Pillar Sr	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lightin		0.59	50.00	\$29.50	012/22 10 0031
1636 Fremont Ave	12, 13 OF LEE'S SUBURBAN HOMES N 1/2 OF VAC ALLEY ADJ AND E 24 FT				<del></del>	\$50.00	
St Paul MN 55106-5412	OF LOT 7 AND W 24 FT OF LOT 6 BLK	*** Owner and Taxpay	yer ***				
*1636 FREMONT AVE	6		Total Assessme	ent:	-	\$50.00	
*Ward: 7			This Payment:	· · · · · · · · · · · · · · · · · · ·		\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun	ıt:		\$50.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2020SMSP Ratification Date: Resolution #:			Assmt: 200025	Manager: LM	Page 56	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jesse Volker	HEINEMANN, MCCONVILLE AND	Street Sweeping - Reside		0.41	48.00	\$19.68	34-29-22-13-0058
Kelly Volker	STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES N	Citywide Street Lighting	5	0.59	48.00	\$28.32	
1616 Fremont Ave	1/2 OF VAC ALLEY ADJ AND W 32 FT	*** 0 1 T	***			\$48.00	
St Paul MN 55106-5412 * <b>1616 FREMONT AVE</b>	OF LOT 11 AND EX W 24 FT LOT 12 BLK 6	*** Owner and Taxpaye					
*Ward: 7			Total Assessm			\$48.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
1 chang as of. 6/21/2020			Current Year I	-		\$0.00	
			Current Year l Payoff Amou			\$0.00 <b>\$48.00</b>	
Vang Lor Yang Mai Yang 1601 3rd St E St Paul MN 55106-5401 *1601 3RD ST E *Ward: 7 *Pending as of: 8/21/2020	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES SUBJ TO ST THE S 1/2 OF VAC ALLEY ADJ AND W 1/2 OF LOT 17 AND ALL OF LOT 16 BLK 6		ential Stree	: Principal: Interest:	31.50 61.50 93.00	\$33.71 \$25.22 \$54.88 \$113.81 \$0.00 \$0.00 \$0.00 \$113.81	34-29-22-13-0062
Brandon J Olson 1643 3rd St E St Paul MN 55106-5401 *1643 3RD ST E *Ward: 7 *Panding as of: 8/21/2020	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES SUBJ TO ST THE S 1/2 OF VAC ALLEY ADJ LOT 27 AND E 1/2 OF LOT 26 BLK	Street Sweeping - Comm Citywide Street Lighting *** Owner and Taxpaye	5	1.07 0.59	60.00	\$64.20 \$35.40 \$99.60	34-29-22-13-0069
*Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$99.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 57
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u> 1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Shannon M Murphy Troy D Murphy	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES	Street Sweeping - Comr Citywide Street Lighting		1.07	50.00 50.00	\$53.50 \$29.50	34-29-22-13-0074
1648 3rd St E St Paul MN 55106-5402	EX ST THE FOL W 1/2 OF LOT 3 AND EX W 10 FT LOT 4 BLK 5	*** Owner and Taxpaye	er ***		\$83.00		
*1648 3RD ST E			Total Assessme	ent:	-	\$83.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In	iterest:		\$0.00	
			Payoff Amoun	t:		\$83.00	
Marisela R Martinez	HEINEMANN, MCCONVILLE AND	Street Sweeping - Comr	margial/Art	1.07	70.00		
1616 3rd St E	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lighting		0.59	70.00	\$41.30	34-29-22-13-0078
St Paul MN 55106-5402	12, 13 OF LEE'S SUBURBAN HOMES SUBJ TO ST THE E 30 FT OF LOT 12	enj wide succe Eignan	5	0.00		\$116.20	
*1616 3RD ST E	AND ALL OF LOT 11 BLK 5	*** Owner and Taxpaye	er ***			\$110.20	
*Ward: 7			Total Assessme	ent:		\$116.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$116.20	
Jesus Tehozol Poncce	HEINEMANN, MCCONVILLE AND	Street Sweeping - Comr	mercial/Art	1.07			<u> </u>
Fabiola Garcia Herrera	STIERLE'S SUBDIVISION OF LOTS 2,	Street Sweeping - Resid		0.41	57.00	\$23.37	34-29-22-13-0000
1600 3rd St E	12, 13 OF LEE'S SUBURBAN HOMES SUBJ TO 3RD ST THE FOL EX E 20 FT	Citywide Street Lighting	g	0.59	88.00	\$51.92	
St Paul MN 55106-5402	LOT 14 AND ALL OF LOT 15 BLK 5				_	\$108.46	
*1600 3RD ST E		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$108.46	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$108.46	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		020SMSP #:	Assmt: 200025	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kasia Lor	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resi	idential Stree	0.41	87.00	\$35.67	34-29-22-13-0081
1599 Conway St	STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES W	Citywide Street Lighti	ng	0.59	87.00	\$51.33	
St Paul MN 55106-5925	10 FT OF LOT 17 AND ALL OF LOT 16					\$87.00	
*1599 CONWAY ST	BLK 5	*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	sment:	-	\$87.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$87.00	
	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resi	idential Streε				<u> </u>
8806 Rainer Bay	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lighti	ng	0.59	50.00	\$29.50	0 1 27 22 20 1102
Woodbury MN 55125-3540	12, 13 OF LEE'S SUBURBAN HOMES EX W 10 FT LOT 17 AND THE W 20 FT				_	\$50.00	
*1603 CONWAY ST	OF LOT 18 BLK 5	*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	sment:	•	\$50.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$50.00	
	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resi	idential Stree				
1613 Conway St	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lighti		0.59	50.00	\$29.50	34-27-22-13-0004
St Paul MN 55106-5925	12, 13 OF LEE'S SUBURBAN HOMES EX W 3O FT LOT 19 AND ALL OF LOT				=	\$50.00	
*1613 CONWAY ST	20 BLK 5	*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	sment:	<del>-</del>	\$50.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$50.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 59
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	1	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Tony Lysongtseng 1619 Conway St	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES W	Street Sweeping - Residence Citywide Street Lighting		0.41 0.59	50.00 50.00	\$20.50 \$29.50	34-29-22-13-0085
St Paul MN 55106-5925	10 FT OF LOT 22 AND ALL OF LOT 21				_	\$50.00	
*1619 CONWAY ST	BLK 5	*** Owner and Taxpaye	er *** 				
*Ward: 7			Total Assessme	ent:		\$50.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	it:		\$50.00	
	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resident	lential Stree	0.41		\$21.32	34-29-22-13-0088
Matthew A Marrin	STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES	Citywide Street Lighting	g	0.59	52.00	\$30.68	
641 Huber Dr	EX W 30 FT LOT 24 AND ALL OF LOT					\$52.00	
Mendota Heights MN 55120-1916	25 BLK 5	*** Owner and Taxpaye	er ***				
*1637 CONWAY ST			Total Assessme	ent:		\$52.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$52.00	
	HEINEMANN, MCCONVILLE AND	Street Sweeping - Resid					——————————————————————————————————————
1641 Conway St	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lighting		0.59	80.00	\$47.20	34-29-22-13-0089
St Paul MN 55106-5925	12, 13 OF LEE'S SUBURBAN HOMES LOTS 26 AND LOT 27 BLK 5				=	\$80.00	
*1641 CONWAY ST	EGIS ZOTAND EGI 27 BER S	*** Owner and Taxpaye	er ***			\$00.00	
*Ward: 7			Total Assessme	ent:	-	\$80.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$80.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 60
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Scott Thury 1649 Conway St	HEINEMANN, MCCONVILLE AND STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES W	Street Sweeping - Res Citywide Street Lighti		0.41 0.59	60.00	\$24.60 \$35.40	34-29-22-13-0090
St Paul MN 55106-5925 *1649 CONWAY ST	1/2 OF LOT 29 AND ALL OF LOT 28 BLK 5	*** Owner and Taxpa	yer ***			\$60.00	
*Ward: 7			Total Assessi	ment:		\$60.00	
*Pending as of: 8/21/2020			This Paymen	it:		\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$60.00	
Deborah J Vruno	HEINEMANN, MCCONVILLE AND	Street Sweeping - Con		1.07	57.00	\$60.99	34-29-22-13-0094
1582 3rd St E	STIERLE'S SUBDIVISION OF LOTS 2, 12, 13 OF LEE'S SUBURBAN HOMES	Citywide Street Lighti	ing	0.59	57.00	\$33.63	
St Paul MN 55106-5434 *1582 3RD ST E	SUBJ TO ST THE FOL ALL OF LOT 1 & PART OF LOT 2 BLK 16 OF G V BACONS ADD LYING E OF A L 177 FT	*** Owner and Taxpa	ıyer ***			\$94.62	
*Ward: 7	BROOKS ADD ETING E OF A ETA TI		Total Assessi	ment:	_	\$94.62	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$94.62	
	G. V. BACON'S ADDITION SUBJ TO ST	Street Sweeping - Cor	 nmercial/Art		——————————————————————————————————————		
Maria E Vega	THE FOL; COM ON S LINE OF E THIRD ST 235 FT W OF W LINE OF GERMAIN	Citywide Street Lighti	ing	0.59	75.00	\$44.25	
1570 3rd St E St Paul MN 55106-5434	ST FOR POINT OF BEG TH CONT W ON SD ST FOR 75 FT MOL TH S PAR TO	*** Owner and Taxpa	ıyer ***		<del>-</del>	\$124.50	
*1570 3RD ST E	GERMAIN ST TO ALLEY TH E ON SD		Total Assessi	ment:	<del>-</del>	\$124.50	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$124.50	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 61
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Santiago E Rodriquez Tamara L Rodriquez	G. V. BACON'S ADDITION SUBJ TO ST W 10 FT OF LOT 5 AND ALL OF LOT 6 BLK 16	Street Sweeping - Comm Citywide Street Lighting		1.07 0.59	50.00	\$53.50 \$29.50	34-29-22-13-0097
1566 3rd St E St Paul MN 55106-5434		*** Owner and Taxpaye	er ***			\$83.00	
*1566 3RD ST E		Owner and Taxpaye					
*Ward: 7			Total Assessm			\$83.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
g a said			Current Year	-		\$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$83.00</b>	
Myrna Abrego Victor Abrego 1558 3rd St E St Paul MN 55106-5434 *1558 3RD ST E *Ward: 7 *Pending as of: 8/21/2020	G. V. BACON'S ADDITION EX N 10 FT FOR ST LOT 8 BLK 16	Street Sweeping - Comm Citywide Street Lighting *** Owner and Taxpayo	g	: Principal: Interest:	40.00	\$42.80 \$23.60 \$66.40 \$66.40 \$0.00 \$0.00 \$0.00 \$66.40	34-29-22-13-0099
Doua Xiong Bee Yang 1554 3 St E St Paul MN 55106-5434 *1554 3RD ST E *Ward: 7 *Pending as of: 8/21/2020	G. V. BACON'S ADDITION EX N 10 FT FOR ST LOT 9 BLK 16	Street Sweeping - Comm Citywide Street Lighting *** Owner and Taxpayo	g	: Principal: Interest:	40.00	\$42.80 \$23.60 \$66.40 \$66.40 \$0.00 \$0.00 \$0.00 \$66.40	34-29-22-13-0100

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dary Ek	G. V. BACON'S ADDITION SUBJ TO STS THE E 1/2 OF LOT 12 AND ALL OF	Street Sweeping - Com		1.07	60.00	\$64.20	34-29-22-13-0102
Sunsary Keo	LOT 11 BLK 16	Citywide Street Lightin	ng	0.59	60.00	\$35.40	
1544 3rd St E St Paul MN 55106-5434		*** Owner and Taxpay	ver ***			\$99.60	
*1540 3RD ST E		Owner and Taxpa					
*Ward: 7			Total Assessm			\$99.60	
*Pending as of: 8/21/2020			This Payment			\$0.00	
1 mang as 611 0,21,2020			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$99.60	
	G. V. BACON'S ADDITION SUBJ TO STS	Street Sweeping - Com		1.07	50.00	\$53.50	34-29-22-13-0103
1538 3rd St E	THE E 1/2 OF HAZELWOOD ST VAC ACCRUING AND W 1/2 OF LOT 12	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
St Paul MN 55106-5434	BLK 16					\$83.00	
*1538 3RD ST E		*** Owner and Taxpay	yer ***		_		
*Ward: 7			Total Assessm	nent:		\$83.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$83.00	
	G. V. BACON'S ADDITION E 1/2 OF		idential Stree	0.41			
Khang Pha	VAC HAZELWOOD ST ACCRUING	Citywide Street Lightin		0.59	70.00	\$41.30	012/22 10 0101
1539 Conway St	AND LOT 13 BLK 16					\$70.00	
St Paul MN 55106-5923		*** Owner and Taxpay	yer ***				
*1539 CONWAY ST			Total Assessm	nent:		\$70.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year 1			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$70.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 63
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Teresa L Steiner	G. V. BACON'S ADDITION E 1/2 OF	Street Sweeping - Reside		0.41	60.00	\$24.60	34-29-22-13-0108
Jeff P Steiner	LOT 17 AND ALL OF LOT 18 BLK 16	Citywide Street Lighting	5	0.59	60.00	\$35.40	
1561 Conway St		*** 0 1 T	***			\$60.00	
St Paul MN 55106-5923		*** Owner and Taxpaye					
*1561 CONWAY ST *Ward: 7			Total Assessn	ment:		\$60.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
1 chaing as 01. 6/21/2020			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$60.00	
Marinn Krang	G. V. BACON'S ADDITION W 1/2 OF	Street Sweeping - Reside	ential Streε	0.41	60.00	\$24.60	
1567 Conway St	LOT 2O AND ALL OF LOT 19 BLK 16	Citywide Street Lighting	Ţ	0.59	60.00	\$35.40	
St Paul MN 55106-5923						\$60.00	
*1567 CONWAY ST		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessn	nent:		\$60.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$60.00	
Samantha R Harold	DIETZ'S SUBDIVISION OF LOT 10 OF	Street Sweeping - Reside	ential Streε	0.41	47.00	\$19.27	
Sydney A Bugler	LEE'S SUBURBAN HOMES EX THE WLY 33.31 FT; LOT 26 AND ALL OF	Alley Sweeping		0.12	47.00	\$5.64	
1512 29th St	LOT 27	Citywide Street Lighting	5	0.59	47.00	\$27.73	
Des Moines IA 50311-2923		debit O 1TD	ale ale ale			\$52.64	
*1641 4TH ST E		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessn			\$52.64	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$52.64	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kimberly D Lam Vang	G. V. BACON'S ADDITION EX W 30 FT;	Street Sweeping - Resi	idential Stree	0.41	70.00	\$28.70	34-29-22-13-0120
1555 Conway St	LOT 15 & W 1/2 OF LOT 17 & ALL OF LOT 16 BLK 16	Citywide Street Lightin	ng	0.59	70.00	\$41.30	
St Paul MN 55106-5923						\$70.00	
*1555 CONWAY ST		*** Owner and Taxpa	yer ***				
Ward: 7			Total Assessm	ent:		\$70.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$70.00	
	HEINEMANN, MCCONVILLE AND	Street Sweeping - Con	nmercial/Art	1.07	67.00	<del></del>	34-29-22-13-0121
636 3rd St E	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lightin	ng	0.59	67.00	\$39.53	
t Paul MN 55106-5402	12, 13 OF LEE'S SUBURBAN HOMES EX E 13 FT; LOT 7 & ALL OF LOT 8					\$111.22	
1636 3RD ST E	BLK 5	*** Owner and Taxpa	yer ***				
Ward: 7			Total Assessm	ent:		\$111.22	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$111.22	
 Amir I Ibrahim	HEINEMANN, MCCONVILLE AND	Street Sweeping - Com	mercial/Art	1.07			<u> </u>
Lewda Abdellah Anayir	STIERLE'S SUBDIVISION OF LOTS 2,	Citywide Street Lightin	ng	0.59	57.00	\$33.63	0.29 22 10 0122
640 3rd St E	12, 13 OF LEE'S SUBURBAN HOMES E 13 FT OF LOT 7 & ALL OF LOT 6 BLK 5					\$94.62	
t Paul MN 55106-5402		*** Owner and Taxpa	yer ***				
1640 3RD ST E			Total Assessm	ent:	-	\$94.62	
Ward: 7			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year F			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	ıt:		\$94.62	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	LOTS 28, 29 & 30 BLOCK 6	Street Sweeping - Com	mercial/Art	1.07	58.00	\$62.06	34-29-22-13-0123
517 Kennard St		Street Sweeping - Resi		0.41	61.00	\$25.01	
St Paul MN 55106-5431		Citywide Street Lightin	ng	0.59	119.00	\$70.21	
*517 KENNARD ST						\$157.28	
*Ward: 7		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assessn	nent:		\$157.28	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$157.28	
Ezekiel J Nelson	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S	Street Sweeping - Com		1.07	63.50	\$67.95	34-29-22-14-0001
593 White Bear Ave N	SUBURBAN HOMES SUBJ TO ST THE E	Street Sweeping - Resi	dential Stree	0.41	28.50	\$11.69	
St Paul MN 55106-6021	1/2 OF LOT 2 & ALL OF LOT 1 BLK 1	Alley Sweeping		0.12	57.00	\$6.84	
*593 WHITE BEAR AVE N		Citywide Street Lightin	ng	0.59	92.00	\$54.29	
*Ward: 7						\$140.77	
Pending as of: 8/21/2020		*** Owner and Taxpay	yer ***				
			Total Assessn	nent:		\$140.77	
			This Payment	:		\$0.00	
			Current Year	\$0.00			
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$140.77	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resi	dential Stree				<u> </u>
Zaira I Rivera	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Alley Sweeping		0.12	40.00	\$4.80	J4-47-44-14-VVV4
570 Dorland Rd S	SUBURBAN HOMES LOT 5 BLK 1	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55119-6780		,	Č			\$44.80	
*1760 5TH ST E		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 7			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			•			\$0.00	
			Current Year Principal: Current Year Interest:				
			Current Year	Interest:		\$0.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 66
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
Derek N Burr 1754 5th St E St Paul MN 55106-5430	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES LOTS 6 AND LOT 7 BLK 1	Street Sweeping - Resident Alley Sweeping Citywide Street Lighting	0.41 0.12 0.59	80.00 80.00 80.00	\$32.80 \$9.60 \$47.20	34-29-22-14-0005
*1754 5TH ST E *Ward: 7		*** Owner and Taxpayer *	***		\$89.60	
*Pending as of: 8/21/2020			otal Assessment:	-	\$89.60	
			his Payment: urrent Year Principal:		\$0.00 \$0.00	
			urrent Year Interest:		\$0.00	
			ayoff Amount:		\$89.60	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resident	tial Stree 0.41		\$32.80	
1748 5th St E	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Alley Sweeping	0.12	80.00	\$9.60	34-27-22-14-0000
St Paul MN 55106-5430	SUBURBAN HOMES LOTS 8 AND LOT 9 BLK 1	Citywide Street Lighting	0.59	80.00	\$47.20	
*1748 5TH ST E				<u>=</u>	\$89.60	
*Ward: 7		*** Owner and Taxpayer *	***			
*Pending as of: 8/21/2020		To	otal Assessment:	-	\$89.60	
		TI	his Payment:		\$0.00	
			urrent Year Principal:		\$0.00	
			urrent Year Interest:		\$0.00	
		P:	ayoff Amount:		\$89.60	
Deanna M Pedersen	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resident	tial Stree 0.41		<u>\$16.40</u>	34-29-22-14-0008
William Pedersen	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES W 1/2 OF LOT 11	Alley Sweeping	0.12	40.00	\$4.80	
28040 Nathan Ln	AND E 1/2 OF LOT 12 BLK 1	Citywide Street Lighting	0.59	40.00	\$23.60	
Lindstrom MN 55045-5639					\$44.80	
*1736 5TH ST E		*** Owner and Taxpayer *	***			
*Ward: 7			otal Assessment:		\$44.80	
*Pending as of: 8/21/2020			his Payment:		\$0.00	
			urrent Year Principal:		\$0.00	
			urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Jeremy V Jacobs 1730 5th St E	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES W 1/2 OF LOT 12	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	39.00 39.00 39.00	\$15.99 \$4.68 \$23.01	34-29-22-14-0009
St Paul MN 55106-5430 * <b>1730 5TH ST E</b> *Ward: 7	AND E 1/2 OF LOT 13 BLK 1	*** Owner and Taxpaye		0.37	=	\$43.68	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$43.68	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$43.68	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Reside	ential Stree	0.41	48.00	\$19.68	34-29-22-14-0013
1725 4th St E	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES W 15 FT OF LOT	Alley Sweeping		0.12	48.00	\$5.76	
St Paul MN 55106-5427	18 AND E 33 FT OF LOT 17 BLK 1	Citywide Street Lighting	7	0.59	48.00	\$28.32	
*1725 4TH ST E						\$53.76	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$53.76	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$53.76	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Reside	ential Stree	0.41	60.00		34-29-22-14-0015
Susan Vang	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Alley Sweeping		0.12	60.00	\$7.20	0.2,221.0010
1737 4th St E	SUBURBAN HOMES W 1/2 OF LOT 21 AND ALL OF LOT 20 BLK 1	Citywide Street Lighting	5	0.59	60.00	\$35.40	
St Paul MN 55106-5427					<del>==</del>	\$67.20	
*1737 4TH ST E		*** Owner and Taxpayer	er ***				
*Ward: 7			Total Assessme	ent:		\$67.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$67.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020S Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 68
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Adam E Krueger 1745 4th St E St Paul MN 55106-5427	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES E 1/2 OF LOT 21	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	68.00 68.00 68.00	\$27.88 \$8.16 \$40.12	34-29-22-14-0016
*1745 4TH ST E *Ward: 7	W 8 FT OF LOT 23 AND ALL OF LOT 22 BLK 1	*** Owner and Taxpayer			_	\$76.16	
*Pending as of: 8/21/2020		•	Total Assessmen	t:		\$76.16	
			This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
			Current Year Inte	erest:		\$0.00	
			Payoff Amount:			\$76.16	
Amy Thow Saykao	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Reside	ential Stree	0.41	46.00	<u>\$18.86</u>	34-29-22-14-0017
1751 4th St E	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES W 16 FT OF LOT	Alley Sweeping		0.12	46.00	\$5.52	
St Paul MN 55106-5427	24 AND EX W 8 FT LOT 23 BLK 1	Citywide Street Lighting	5	0.59	46.00	\$27.14	
*1751 4TH ST E						\$51.52	
*Ward: 7		*** Owner and Taxpayer	r *** 		_		
*Pending as of: 8/21/2020			Total Assessmen	t:	-	\$51.52	
			This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
			Current Year Inte	erest:		\$0.00	
			Payoff Amount:			\$51.52	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Reside	ential Stree	——————————————————————————————————————			<u>34-29-22-14-0020</u>
Kathryn M Pruden	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES EX W 32 FT LOT	Alley Sweeping		0.12	48.00	\$5.76	
1765 4th St E	26 AND ALL OF LOT 27 BLK 1	Citywide Street Lighting	5	0.59	48.00	\$28.32	
St Paul MN 55106-5427					<del></del>	\$53.76	
*1765 4TH ST E		*** Owner and Taxpayer	r ***				
*Ward: 7		•	Total Assessmen	t:		\$53.76	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
			Current Year Interest:				
			Payoff Amount:			\$53.76	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 69
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Andrea L Hutchinson 1769 4th St E St Paul MN 55106-5427	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES W 1/2 OF LOT 29 AND ALL OF LOT 28 BLK 1	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	60.00 60.00 60.00	\$24.60 \$7.20 \$35.40	34-29-22-14-0021
*1769 4TH ST E *Ward: 7		*** Owner and Taxpay	er ***			\$67.20	
*Pending as of: 8/21/2020		1 3	Total Assess	ment:		\$67.20	
			This Paymer			\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$67.20	
Benjamin J Mccabe	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S	Street Sweeping - Com		1.07	63.50	\$67.95	34-29-22-14-0022
575 White Bear Ave N	SUBURBAN HOMES SUBJ TO ST THE E	Street Sweeping - Resid	dential Stree	0.41	28.50	\$11.69	
St Paul MN 55106-6021	1/2 OF LOT 29 & ALL OF LOT 30 BLK	Alley Sweeping Citywide Street Lightin	100	0.12 0.59	57.00 92.00	\$6.84 \$54.29	
*575 WHITE BEAR AVE N	1	Citywide Street Lightin	ig	0.39	92.00		
*Ward: 7 *Pending as of: 8/21/2020		*** Owner and Taxpay	er ***			\$140.77	
			Total Assess	ment:	-	\$140.77	
			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$140.77	
	HEINEMANN CHIDLY AND CHIEDI PIC	Street Sweeping - Resid	— — — -				
Trent Peterson 3867 Paradise Cv N	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S	Citywide Street Lightin		0.41	60.00	\$24.60 \$35.40	34-29-22-14-0027
Stillwater MN 55082-7618	SUBURBAN HOMES W 1/2 OF LOT 6	City wide Street Eightin	5	0.57	=	·	
*1754 4TH ST E	AND ALL OF LOT 7 BLK 2	*** Owner and Taxpay	er ***			\$60.00	
*Ward: 7			Total Assess	ment:	-	\$60.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 70
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Stacy Anderson	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid		0.41	60.00	\$24.60	34-29-22-14-0029
Ross Vanness	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES E 1/2 OF LOT 11	Citywide Street Lightin	g	0.59	60.00	\$35.40	
1740 4th St E	AND ALL OF LOT 10 BLK 2					\$60.00	
St Paul MN 55106-5428		*** Owner and Taxpay	er ***		_		
*1738 4TH ST E			Total Assessme	ent:		\$60.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$60.00	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid	— — — — lential Stree	0.41			34-29-22-14-0030
1732 4th St E	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Citywide Street Lightin		0.59	60.00	\$35.40	212722110000
St Paul MN 55106-5428	SUBURBAN HOMES W 1/2 OF LOT 11 AND ALL OF LOT 12 BLK 2					\$60.00	
*1732 4TH ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessme	ent:		\$60.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$60.00	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid	 lential Stree	0.41			<u> </u>
C/O Bruce Johnson	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Citywide Street Lightin		0.59	40.00	\$23.60	34-27-22-14-0031
180 Mounds Blvd	SUBURBAN HOMES LOT 13 BLK 2					\$40.00	
St Paul MN 55106-6231		*** Owner and Taxpay	er ***			4.0.00	
*1730 4TH ST E			Total Assessme	ent:		\$40.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amoun			\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 7
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	1	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Bph 1 Llc 55 W 39th St Rm 806	HEINEMANN, SHIRK AND STIERLE'S SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES LOT 14 BLK 2	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	40.00 40.00	\$16.40 \$23.60	34-29-22-14-0032
New York NY 10018-0548	SEBERBAN NOMES EOF TYBER 2					\$40.00	
*1726 4TH ST E		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	it:		\$40.00	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Reside	– — — — ential Stree	0.41			
Wa M Vang	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES LOTS 16 AND	Citywide Street Lighting	g	0.59	103.00	\$60.78	
548 Flandrau St	LOT 17 BLK 2				<del></del>	\$103.02	
St Paul MN 55106-5438		*** Owner and Taxpaye	er ***				
*548 FLANDRAU ST			Total Assessme	ent:	-	\$103.02	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$103.02	
Taria M Newsom	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Reside	– — — — ential Stree				
1729 Fremont Ave	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Citywide Street Lighting		0.59	40.00	\$23.60	34-29-22-14-0033
St Paul MN 55106-5435	SUBURBAN HOMES LOT 18 BLK 2	, ,	•		=	\$40.00	
*1729 FREMONT AVE		*** Owner and Taxpaye	er ***			ψ 10.00	
*Ward: 7			Total Assessme	ent:		\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Nathan M Janaszak	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	34-29-22-14-0037
Michael P Janaszak	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES W 1/2 OF LOT 21	Citywide Street Lightin	ng	0.59	60.00	\$35.40	
1737 Fremont Ave	AND ALL OF LOT 20 BLK 2					\$60.00	
St Paul MN 55106-5437		*** Owner and Taxpay	/er ***				
*1737 FREMONT AVE			Total Assessme	ent:		\$60.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$60.00	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid	— — — — dential Stree	0.41			
1743 Fremont Ave	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Citywide Street Lightin	ng	0.59	60.00	\$35.40	0.29 22 1.0000
St Paul MN 55106-5435	SUBURBAN HOMES E 1/2 OF LOT 21 AND ALL OF LOT 22 BLK 2					\$60.00	
*1743 FREMONT AVE		*** Owner and Taxpay	/er ***				
*Ward: 7			Total Assessme	ent:		\$60.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$60.00	
	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid	— — — — dential Stree	0.41			
Valeria M Munoz	SUBD'N OF LOTS 18 AND 19 OF LEE'S	Citywide Street Lightin		0.59	40.00	\$23.60	34-27-22-14-0037
1747 Fremont Ave	SUBURBAN HOMES LOT 23 BLK 2					\$40.00	
St Paul MN 55106-5435		*** Owner and Taxpay	/er ***				
*1747 FREMONT AVE			Total Assessme	ent:	-	\$40.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	ıt:		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:			Assmt: 200025	Manager: LM	Page 73
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
James E Swartwood	HEINEMANN, SHIRK AND STIERLE'S	Street Sweeping - Resid		0.41	80.00	\$32.80	34-29-22-14-0042
5537 Dupont Ave S	SUBD'N OF LOTS 18 AND 19 OF LEE'S SUBURBAN HOMES LOTS 27 & LOT	Citywide Street Lighting	g	0.59	80.00	\$47.20	
Minneapolis MN 55419-1647 *1765 FREMONT AVE	28 BLK 2	*** Owner and Taxpaye	or ***			\$80.00	
*Ward: 7		Owner and Taxpaye					
*Pending as of: 8/21/2020			Total Assessr			\$80.00	
			This Payment Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$80.00	
St Pascal Baylon Church	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Comm	mercial/Art	1.07	853.00	\$912.71	34-29-22-14-0046
1757 Conway St	PAUL SUBJ TO STS & VAC ALLEY IN & ALL OF BLK 4	Street Sweeping - Resident		0.41	852.00	\$349.32	
St Paul MN 55106-5426	& ALL OF BER 4	Citywide Street Lighting	g	0.59	1,705.00	\$1,005.95	
*1757 CONWAY ST		*** 0 1 T	***			\$2,267.98	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr			\$2,267.98	
			This Payment			\$0.00	
			Current Year Current Year	_		\$0.00 \$0.00	
			Payoff Amou			\$0.00 \$2,267.98	
			1 ayon 7 mot			ψ <u>2,20</u> 7.20	
	TAYLOR'S SUBDIVISION OF LOT 17	Street Sweeping - Resid		0.41	<u> 48.00</u>		34-29-22-14-0050
1704 5th St E	LEE'S SUBURBAN HOMES ST. PAUL	Alley Sweeping		0.12	47.00	\$5.64	012/22 11 0030
St Paul MN 55106-5409	MINN. EX W 35 FT LOT 5 AND ALL OF LOT 4	Citywide Street Lighting	g	0.59	48.00	\$28.32	
*1704 5TH ST E						\$53.64	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$53.64	
		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$53.64	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 74
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Nicholas J Sandquist	TAYLOR'S SUBDIVISION OF LOT 17	Street Sweeping - Reside	ential Stree	0.41	45.00	\$18.45	34-29-22-14-0054
1688 5th St E	LEE'S SUBURBAN HOMES ST. PAUL MINN. EX E 20 FT LOT 8 AND EX W 15	Alley Sweeping		0.12	45.00	\$5.40	
St Paul MN 55106-5409	FT LOT 9	Citywide Street Lighting	g	0.59	45.00	\$26.55	
*1688 5TH ST E						\$50.40	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:		\$50.40	
			This Payment	:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$50.40	
Ma Concepcion Cerrito Rodriguez	TAYLOR'S SUBDIVISION OF LOT 17	Street Sweeping - Reside	ential Stree				
Jacqueline Conejo Cerrito	LEE'S SUBURBAN HOMES ST. PAUL	Alley Sweeping		0.12	60.00	\$7.20	34-27-22-14-0030
1668 5th St E	MINN. E 1/2 OF LOT 14 AND ALL OF LOT 13	Citywide Street Lighting	g	0.59	60.00	\$35.40	
St Paul MN 55106-5409	201 13					\$67.20	
*1668 5TH ST E		*** Owner and Taxpaye	er ***			444	
*Ward: 7			Total Assessn	nent:	-	\$67.20	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$67.20	
	TAVI ODE SURDIVISION OF LOT IZ	Street Sweeping - Reside					
Walter Melendez	TAYLOR'S SUBDIVISION OF LOT 17 LEE'S SUBURBAN HOMES ST. PAUL	Alley Sweeping - Reside	ennai Stret	0.41 0.12	91.00 57.00	\$6.84	34-29-22-14-0059
Catherine Melendez 1660 5th St E	MINN. W 1/2 OF LOT 14 AND ALL OF	Citywide Street Lighting	);	0.12	91.00	\$53.70	
St Paul MN 55106-5409	LOT 15	enj mae su ee zigimig	>	0.00	_	\$97.86	
*1660 5TH ST E		*** Owner and Taxpaye	er ***			\$97.86	
*Ward: 7		1 7	Total Assessn	aont:	-	\$97.86	
*Pending as of: 8/21/2020			This Payment			\$97.86	
-			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou			\$97.86	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 7
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Bruce L Nicolas Pamela A Nicolas 1707 4th St E	TAYLOR'S SUBDIVISION OF LOT 17 LEE'S SUBURBAN HOMES ST. PAUL MINN. LOT 28	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-22-14-0068
St Paul MN 55106-5407		*** Owner and Taxpaye	***		_	\$44.80	
*1707 4TH ST E *Ward: 7							
*Pending as of: 8/21/2020			Total Assessi			\$44.80	
1 chang as 61. 6/21/2020			This Paymen			\$0.00	
			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amou			\$44.80	
— — — — — — — Heidi A Taylor	TAYLOR'S SUBDIVISION OF LOT 17	Street Sweeping - Reside	ential Stree	0.41	102.00	\$41.82	34-29-22-14-0069
1711 4th St E	LEE'S SUBURBAN HOMES ST. PAUL MINN. LOTS 29 & LOT 30	Alley Sweeping		0.12	78.00	\$9.36	
St Paul MN 55106-5407	WIINN. LOTS 29 & LOT 50	Citywide Street Lighting	5	0.59	102.00	\$60.18	
*1711 4TH ST E		*** Owner and Taxpaye	***			\$111.36	
*Ward: 7 *Pending as of: 8/21/2020					<u>-</u>		
1 Chang as 61. 6/21/2020			Total Assessi			\$111.36	
			This Paymen			\$0.00	
			Current Year	•		\$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$111.36</b>	
			,				
Stacy J Theien Collins	STIEPANS ADDITION LOT 13 BLK 1	Street Sweeping - Reside		0.41	87.50	\$35.88	<del></del>
1716 4th St E		Citywide Street Lighting	5	0.59	87.50	\$51.63	
St Paul MN 55106-5425		*** 0 1 T	<b>444</b>			\$87.51	
*1716 4TH ST E *Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessi			\$87.51	
1 Chang as 01. 0/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$87.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>1</u>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Quentin Isaac Peterson	STIEPANS ADDITION LOT 16 BLK 1	Street Sweeping - Reside	ntial Stree	0.41	48.00	\$19.68	34-29-22-14-0073
1702 4th St E		Citywide Street Lighting		0.59	48.00	\$28.32	
St Paul MN 55106-5425						\$48.00	
*1702 4TH ST E		*** Owner and Taxpayer	***				
Ward: 7		-	Total Assessme	ent:		\$48.00	
Pending as of: 8/21/2020		•	This Payment:			\$0.00	
		•	Current Year Pr	rincipal:		\$0.00	
		(	Current Year In	iterest:		\$0.00	
		1	Payoff Amoun	t:		\$48.00	
	STIEPANS ADDITION LOT 11 BLK 1	Street Sweeping - Reside	ential Stree	0.41		\$20.50	
5128 Homestead Ave S		Citywide Street Lighting		0.59	50.00	\$29.50	34-27-22-14-0007
Cottage Grove MN 55016-4132						\$50.00	
1711 FREMONT AVE		*** Owner and Taxpayer	r ***			φεσισσ	
Ward: 7		,	Total Assessme	ent:		\$50.00	
Pending as of: 8/21/2020		•	This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
		1	Payoff Amoun	t:		\$50.00	
	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Reside	ential Stree	0.41			
Cynthia Wlasiuk Pettis	PAUL EX W 25 FT LOT 14 AND EX E	Citywide Street Lighting		0.59	65.00	\$38.35	34-27-22-14-0070
668 Fremont Ave	30 FT LOT 12 AND ALL OF LOT 13 BLK 2					\$65.00	
St Paul MN 55106-5413		*** Owner and Taxpayer	r ***				
*1668 FREMONT AVE		-	Total Assessme	ent.	-	\$65.00	
Ward: 7			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year Pi	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun			\$65.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Amy Lynn Taylor 1663 3rd St E St Paul MN 55106-5403	BUNDE'S PARK ADDITION TO ST. PAUL EX S 10 FT TAKEN FOR 3RD ST LOTS 16 AND LOT 17 BLK 2	Street Sweeping - Comm Street Sweeping - Reside Citywide Street Lighting	ential Stree	1.07 0.41 0.59	41.50 56.00 97.50	\$44.41 \$22.96 \$57.53	34-29-22-14-0100
*1663 3RD ST E *Ward: 7		*** Owner and Taxpaye	r ***		_	\$124.90	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$124.90	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$124.90	
Carrington Mortgage Services Llc	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Comm	nercial/Art			\$53.50	
1600 Douglass Rd Ste 200a Anaheim CA 92806-5948	PAUL SUBJ TO ST AND EX W 30 FT LOT 25 AND ALL OF LOT 26 BLK 2	Citywide Street Lighting		0.59	50.00	\$29.50	34-29-22-14-0106
*1701 3RD ST E		*** Owner and Taxpaye	r ***			\$83.00	
*Ward: 7			Total Assessn	nent:		\$83.00	
*Pending as of: 8/21/2020		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$83.00	
	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Comm	nercial/Art			<u>\$25.68</u>	
1716 3rd St E	PAUL SUBJ TO 3RD ST AND EX W 25	Street Sweeping - Reside		0.41	56.00	\$22.96	JT-4/-44-17-V11V
St Paul MN 55106-5404	FT LOT 2 AND ALL OF LOT 1 BLK 3	Citywide Street Lighting		0.59	80.00	\$47.20	
*1716 3RD ST E					_	\$95.84	
*Ward: 7		*** Owner and Taxpaye	r ***			4,2,0	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$95.84	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$95.84	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 78
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Daniel Weekly Tonya Weekly	BUNDE'S PARK ADDITION TO ST. PAUL SUBJ TO 3RD ST THE W 25 FT OF	Street Sweeping - Comm Citywide Street Lighting		1.07	65.00 65.00	\$69.55 \$38.35	34-29-22-14-0111
1712 3rd St E	LOT 2 AND ALL OF LOT 3 BLK 3					\$107.90	
St Paul MN 55109-5201		*** Owner and Taxpaye	er ***				
*1712 3RD ST E			Total Assessme	ent:	-	\$107.90	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	-		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$107.90	
Andria M Johnson	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Comm		1.07			
Andria M Jonnson 1688 3rd St E	PAUL EX N 10 FT TAKEN FOR 3RD ST	Citywide Street Lighting		0.59	80.00	\$47.20	34-29-22-14-0114
St Paul MN 55106-5404	LOTS 8 AND LOT 9 BLK 3	, ,	7		=	\$132.80	
*1688 3RD ST E		*** Owner and Taxpaye	er ***			ψ132.00	
*Ward: 7			Total Assessme	ent:		\$132.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$132.80	
	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Comm	nercial/Art	1.07			
1662 3rd St E	PAUL EX N 10 FT TAKEN FOR 3RD ST	Street Sweeping - Reside		0.41	56.50	\$23.17	34-29-22-14-0118
St Paul MN 55106-5404	LOTS 14 AND LOT 15 BLK 3	Citywide Street Lighting		0.59	98.50	\$58.12	
*1662 3RD ST E					_	\$126.23	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$126.23	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$126.23	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	• • • • • • • • • • • • • • • • • • • •	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>u</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Marlena Vang 1605 Hazelwood St	BUNDE'S PARK ADDITION TO ST. PAUL W 1/2 OF LOT 17 AND ALL OF LOT 16 BLK 3	Street Sweeping - Resider Citywide Street Lighting		0.41	93.00 93.00	\$38.14 \$54.88	34-29-22-14-0119
St Paul MN 55106-1544	LOT TO BERC 5					\$93.02	
*1661 CONWAY ST		*** Owner and Taxpayer	***		_		
*Ward: 7		7	Total Assessmen	nt:		\$93.02	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	t <b>:</b>		\$93.02	
	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resider	ntial Stree				
Yia Vang	PAUL E 1/2 OF LOT 17 W 1/2 OF LOT 19 AND ALL OF LOT 18 BLK 3	Citywide Street Lighting		0.59	79.00	\$46.61	0.129 22 1. 0120
1667 Conway St	19 AND ALL OF LOT 18 BLK 3					\$79.00	
St Paul MN 55106-5927		*** Owner and Taxpayer	***				
*1667 CONWAY ST		_ _	Total Assessmer	nt:	-	\$79.00	
*Ward: 7		7	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	t:		\$79.00	
	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resider	ntial Stree				
1683 Conway St	PAUL W 1/2 OF LOT 22 AND ALL OF	Citywide Street Lighting		0.59	59.00	\$34.81	34-2)-22-14-0122
St Paul MN 55106-5927	LOT 21 BLK 3					\$59.00	
*1683 CONWAY ST		*** Owner and Taxpayer	***				
*Ward: 7		_ 	Total Assessmen	nt:	-	\$59.00	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		I	Payoff Amount	t <b>:</b>		\$59.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 80
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Tou Yang	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resid		0.41	80.00	\$32.80	34-29-22-14-0124
Yong Yang	PAUL LOTS 24 AND LOT 25 BLK 3	Citywide Street Lighting	g	0.59	80.00	\$47.20	
1697 Conway St						\$80.00	
St Paul MN 55106-5927		*** Owner and Taxpay	er ***		_		
*1697 CONWAY ST			Total Assessm	nent:		\$80.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year l	-		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$80.00	
Ruth Meza	STIEPANS ADDITION EX THE ELY	Street Sweeping - Resid	 lential Streε	0.41		\$36.08	34-29-22-14-0130
1690 4th St E	24.50 FT OF LOT 18 AND ALL OF LOT 19 AND EX W 50 FT OF LOT 20 BLK 1	Citywide Street Lighting	g	0.59	88.00	\$51.92	
St Paul MN 55106-5425					_	\$88.00	
*1690 4TH ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:	-	\$88.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$88.00	
William J Schabert	BROUGHER'S SUBDIVISION A S 73 FT	Street Sweeping - Resid	lential Stree		——————————————————————————————————————		34-29-22-21-0008
Lillian Schabert	OF LOTS 11 AND 12 AND S 73 FT OF W 19 5/10 FT OF LOT 13 BLK 1	Citywide Street Lightin	g	0.59	72.00	\$42.48	
694 Birmingham St	17 3/10 FF OF EOF 13 BER 1				_	\$72.00	
St Paul MN 55106-4812		*** Owner and Taxpay	er ***				
*694 BIRMINGHAM ST			Total Assessm	nent:		\$72.00	
*Ward: 7			This Payment:	:		\$0.00	
*Pending as of: 8/21/2020			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$72.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 81
Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Barbara J Whilhelmy	BROUGHER'S SUBDIVISION A LOT 14	Street Sweeping - Residen	ntial Stree	0.41	47.00	\$19.27	34-29-22-21-0043
1461 Margaret St	BLK 2	Citywide Street Lighting		0.59	47.00	\$27.73	
St Paul MN 55106-4817						\$47.00	
*1461 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		Т	Γotal Assessme	ent:		\$47.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
		P	Payoff Amoun	ıt:		\$47.00	
	BROUGHER'S SUBDIVISION A LOT 15	Street Sweeping - Residen		0.41	<del></del>		34-29-22-21-0044
May Her Yang	BLK 2	Citywide Street Lighting		0.59	47.00	\$27.73	0.12/12/11/00.1
2127 Hawthorne Ave E						\$47.00	
St Paul MN 55119-3210		*** Owner and Taxpayer	***				
*1465 MARGARET ST			Γotal Assessme	ent:		\$47.00	
*Ward: 7		T	This Payment:			\$0.00	
*Pending as of: 8/21/2020		C	Current Year Principal: Current Year Interest:			\$0.00	
		C				\$0.00	
		P	Payoff Amoun	ıt:		\$47.00	
	BROUGHER'S SUBDIVISION A LOT 17	Street Sweeping - Residen	 ntial Stree	0.41			
1475 Margaret St	BLK 2	Citywide Street Lighting		0.59	46.00	\$27.14	34-27-22-21-0040
St Paul MN 55106-4817					=	\$46.00	
*1475 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		<del>-</del> Т	Γotal Assessme	ent:		\$46.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Interest:			\$0.00	
		P	Payoff Amoun	nt:		\$46.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20209 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 82
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Sharon Stuve	BROUGHER'S SUBDIVISION A WLY	Street Sweeping - Residen	ntial Stree	0.41	75.00	\$30.75	34-29-22-21-0049
Gary Stuve	PART OF VAC BARCLAY ST ACCRUING AND LOT 20 BLK 2	Citywide Street Lighting		0.59	75.00	\$44.25	
1487 Margaret St						\$75.00	
St Paul MN 55106-4817		*** Owner and Taxpayer	***				
*1487 MARGARET ST		T	Total Assessme	nt:		\$75.00	
*Ward: 7		Т	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(	Current Year Pr	incipal:		\$0.00	
			Current Year In			\$0.00	
		F	Payoff Amount	t <b>:</b>		\$75.00	
Donald J Schmalz	BOCK'S DIVISION SUBJ TO ESMTS THE	Street Sweeping - Resider	ntial Stree	0.41	69.00	\$28.29	34-29-22-21-0050
1493 Margaret St Unit B	ELY PART OF VAC BARCLAY ST ACCRUING & LOT 13 BLK 2	Citywide Street Lighting		0.59	69.00	\$40.71	
St Paul MN 55106-4824	ACCROING & EOT 13 BER 2				<del></del>	\$69.00	
*1493 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		_ T	Total Assessme	nt:	-	\$69.00	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
			Current Year In			\$0.00	
		F	Payoff Amount	t <b>:</b>		\$69.00	
	BOCK'S DIVISION LOT 15 BLK 2	Street Sweeping - Resider	ntial Stree	0.41			<u> </u>
1501 Margaret St		Citywide Street Lighting		0.59	40.00	\$23.60	34-27-22-21-0032
St Paul MN 55106-4824					=	\$40.00	
*1501 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		<del>-</del> Т	Total Assessme	nt:		\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year In	_		\$0.00	
		I	Payoff Amount	t <b>:</b>		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 83
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Reginald E Petrie	BOCK'S DIVISION EX W 21 FT LOT 20	Street Sweeping - Reside		0.41	54.00	\$22.14	34-29-22-21-0056
Jennifer M Oliver	AND EX E 3 FT LOT 21 BLK 2	Citywide Street Lighting	7	0.59	54.00	\$31.86	
1525 Margaret St						\$54.00	
St Paul MN 55106-4804		*** Owner and Taxpaye	er ***				
*1525 MARGARET ST			Total Assessi	ment:		\$54.00	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$54.00	
	HOMES FOR THE HOMELESS EX E 3O		nercial/Art				<u> </u>
1430 Minnehaha Ave E	FT AND EX W 123 8/10 FT THE S 123 $$	Street Sweeping - Reside		0.41	123.00	\$50.43	34-27-22-21-0000
St Paul MN 55106-4821	FT OF N 153 FT OF LOT 6	Citywide Street Lighting	3	0.59	231.00	\$136.29	
*1440 MINNEHAHA AVE E					_	\$302.28	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:	-	\$302.28	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$302.28	
	HOMES FOR THE HOMELESS SUBJ TO	Street Sweeping - Reside	– — — – ential Stree		— — <del>—</del> — -		
693 Birmingham St	BIRMINGHAM ST THE S 83 O5/100 FT	Citywide Street Lighting		0.59	97.50	\$57.53	34-29-22-21-0004
St Paul MN 55106-4811	OF E 14O FT OF PART N OF BEECH ST OF LOT 6	, ,			=	\$97.51	
*693 BIRMINGHAM ST	OF LOT 0	*** Owner and Taxpaye	er ***			\$97.31	
*Ward: 7			Total Assessi	ment:	-	\$97.51	
*Pending as of: 8/21/2020			This Payment:				
			Current Year Principal:			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$97.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP A Resolution #:		Assmt: 200025	Manager: LM	Page 84
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dara Thao 685 Birmingham St	HOMES FOR THE HOMELESS SUBJ TO BIRMINGHAM ST AND EX S 183 FT THE E 140 FT OF PART S OF BEECH ST	Street Sweeping - Resid		0.41	94.50 94.50	\$38.75 \$55.76	34-29-22-21-0066
St Paul MN 55106-4810	OF LOT 6	*** 0 1.77	ماد ماد ماد			\$94.51	
*685 BIRMINGHAM ST		*** Owner and Taxpayo	er ***				
*Ward: 7 *Pending as of: 8/21/2020			Total Assessr	nent:		\$94.51	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$94.51	
Pa Nhia Vang	HOMES FOR THE HOMELESS EX W 21	Street Sweeping - Resid	 lential Stree	0.41	81.00	\$33.21	34-29-22-21-0070
1425 Margaret St	FT LOT 12 BLK 2 SCHOCHS AND ALTHENS SUBD OF LOT 5 OF HOMES	Citywide Street Lighting	g	0.59	81.00	\$47.79	
St Paul MN 55106-4815	FOR THE HOMELESS AND IN SD					\$81.00	
*1425 MARGARET ST	HOMES FOR THE HOMELESS EX E 199 FT THE S 133 FT OF LOT 6	*** Owner and Taxpayo	er ***				
*Ward: 7		Total Assessment:				\$81.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$81.00	
	SIMPSON'S DIVISION LOTS I AND	Street Sweeping - Resid	lential Stree		100.50	<u>\$41.21</u> —	34-29-22-21-0071
Sheng H Lee	LOT 2 BLK 1	Alley Sweeping		0.12	78.00	\$9.36	
778 Viking Dr E		Citywide Street Lighting	g	0.59	100.50	\$59.30	
St Paul MN 55117-1666						\$109.87	
*1534 MARGARET ST		*** Owner and Taxpayo	er ***				
*Ward: 7			Total Assessr	nent:		\$109.87	
*Pending as of: 8/21/2020			This Payment:				
			Current Year Principal:			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$109.87	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SMS Resolution #:	SP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Thomas F Miller	SIMPSON'S DIVISION E 13 FT OF LOT 6	Street Sweeping - Residen	ntial Stree	0.41	75.00	\$30.75	34-29-22-21-0073
Barbara B Miller	& W 22.5 FT OF LOT 4 & ALL OF LOT 5 BLK 1	Alley Sweeping		0.12	75.00	\$9.00	
1522 Margaret St	J BLK 1	Citywide Street Lighting		0.59	75.00	\$44.25	
St Paul MN 55106-4825					<del></del>	\$84.00	
*1522 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessment:			\$84.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Princi	pal:	\$0.00		
		C	Current Year Interes	st:		\$0.00	
		P	Payoff Amount:			\$84.00	
	GREVE'S SUBDIVISION B E 13 FT OF	Street Sweeping - Residen	ntial Stree	0.41		\$21.32	
1504 Margaret St	LOT 4 AND ALL OF LOT 3 BLK 1	Alley Sweeping		0.12	52.00	\$6.24	34-27-22-21-0070
St Paul MN 55106-4825		Citywide Street Lighting		0.59	52.00	\$30.68	
*1504 MARGARET ST					_	\$58.24	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Total Assessment:			=	\$58.24	
		T	This Payment:			\$0.00	
		C	Current Year Princi	pal:		\$0.00	
		C	Current Year Interes	st:		\$0.00	
		P	Payoff Amount:			\$58.24	
	GREVE'S SUBDIVISION B LOT 9 BLK	Street Sweeping - Residen		0.41	39.00		
1499 6th St E	1	Alley Sweeping Residen	mai succ	0.12	39.00	\$4.68	34-29-22-21-0081
St Paul MN 55106-4830		Citywide Street Lighting		0.59	39.00	\$23.01	
*1499 6TH ST E					_	\$43.68	
*Ward: 7		*** Owner and Taxpayer	***			4.2.00	
*Pending as of: 8/21/2020		<del>-</del> Т	Γotal Assessment:		-	\$43.68	
		Т	This Payment:			\$0.00	
			Current Year Princi	pal:		\$0.00	
			Current Year Interes			\$0.00	
		P	Payoff Amount:			\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	1SP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Randall G Berg	GREVE'S SUBDIVISION B LOT 10 BLK	Street Sweeping - Residen	ntial Stree	0.41	39.00	\$15.99	34-29-22-21-0082
Kathleen F Berg	1	Alley Sweeping		0.12 0.59	39.00 39.00	\$4.68 \$23.01	
1503 6th St E		Citywide Street Lighting		0.59	39.00		
St Paul MN 55106-4830 * <b>1503 6TH ST E</b>		*** Owner and Taxpayer	***			\$43.68	
*Ward: 7			Total Assessment:			\$43.68	
*Pending as of: 8/21/2020		T	This Payment: Current Year Principal:			\$0.00	
		C				\$0.00	
		C	Current Year Intere	est:		\$0.00	
		P	Payoff Amount:			\$43.68	
	GREVE'S SUBDIVISION B EX E 20 FT;	Street Sweeping - Residen	ntial Stree	0.41			<u> </u>
1507 6th St E	LOT 12 & ALL OF LOT 11 BLK 1	Alley Sweeping		0.12	58.00	\$6.96	0.29 22 21 0000
St Paul MN 55106-4830		Citywide Street Lighting		0.59	58.00	\$34.22	
*1507 6TH ST E					_	\$64.96	
*Ward: 7		*** Owner and Taxpayer	***		_		
*Pending as of: 8/21/2020		T	Total Assessment:			\$64.96	
		This Payment:				\$0.00	
			Current Year Princ	-		\$0.00	
			Current Year Inter	est:		\$0.00	
		P	Payoff Amount:			\$64.96	
	SIMPSON'S DIVISION E 20 FT OF LOT	Street Sweeping - Residen	 ntial Stree	0.41			34-29-22-21-0084
Mai Her Yang	12 BLK 1 GREVES SUB B & IN SD	Alley Sweeping		0.12	59.00	\$7.08	012/2221 0001
1517 6th St E	SIMPSONS DIV LOT 7 BLK 1	Citywide Street Lighting		0.59	59.00	\$34.81	
St Paul MN 55106-4830						\$66.08	
*1517 6TH ST E		*** Owner and Taxpayer	***		_		
*Ward: 7			Total Assessment:			\$66.08	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Princ	-		\$0.00	
			Current Year Intere	est:		\$0.00	
		P	Payoff Amount:			\$66.08	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	OSMSP	Assmt: 200025	Manager: LM	Page 87
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Joshua Heaton Katie Heaton	HOMES FOR THE HOMELESS E 54 5/10 FT OF PART W OF BARCLAY ST AND N OF EXTENDED N L OF ALLEY	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	84.00 84.00	\$34.44 \$49.56	34-29-22-21-0090
1488 Margaret St St Paul MN 55106-4818	IN BLK 1 BIRMINGHAMS ADD OF LOT 13	*** Owner and Taxpaye	r ***		_	\$84.00	
*1488 MARGARET ST			Total Assessme	ent:		\$84.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$84.00	
	HOMES FOR THE HOMELESS W 60 FT	Street Sweeping - Reside		0.41	63.00	\$25.83	34-29-22-21-0093
Tswj Chuyangheu	OF PART W OF BARCLAY ST AND N OF EXTENDED N L OF ALLEY IN BLK	Citywide Street Lighting	5	0.59	63.00	\$37.17	
1470 Margaret St	1 BIRMINGHAMS ADD OF LOT 13	*** 0 1 T	ale ale ale			\$63.00	
St Paul MN 55106-4818		*** Owner and Taxpayer	r ***				
*1470 MARGARET ST			Total Assessme	ent:		\$63.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	t:		\$63.00	
	BIRMINGHAM'S ADDITION LOTS 7 8	Street Sweeping - Reside	ential Stree	0.41			34-29-22-21-0098
Brianna L Glaeser	& LOT 9 BLK 1	Citywide Street Lighting	5	0.59	120.50	\$71.10	012/22/21/00/0
1447 6th St E						\$120.51	
St Paul MN 55106-4805		*** Owner and Taxpayer	r ***				
*1447 6TH ST E			Total Assessme	ent.	-	\$120.51	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir	_		\$0.00	
			Payoff Amoun	t:		\$120.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 88
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Shamo Aye La	BIRMINGHAM'S ADDITION LOTS 10	Street Sweeping - Resid		0.41	117.00	\$47.97	34-29-22-21-0099
Eh Sue Paw	11 AND LOT 12 BLK 1	Citywide Street Lighting	g	0.59	117.00	\$69.03	
1455 6th St E		**** O 1 T	ata ata ata			\$117.00	
St Paul MN 55106-4805		*** Owner and Taxpaye	er *** 				
*1455 6TH ST E			Total Assessme	ent:		\$117.00	
*Ward: 7 *Pending as of: 8/21/2020			This Payment:			\$0.00	
Pending as 01: 8/21/2020			Current Year P	_		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$117.00	
	HOMES FOR THE HOMELESS W 43.5	Street Sweeping - Resident	ential Stree	0.41	43.00	\$17.63	34-29-22-21-0102
6995 Timber Ridge Dr S	FT OF E 103.5 FT OF FOL;PART W OF BARCLAY ST S OF EXTENDED S L OF	Citywide Street Lighting	g	0.59	43.00	\$25.37	
Cottage Grove MN 55016-4777	ALLEY IN BLK 1 BIRMINGHAMS ADD				_	\$43.00	
*1481 6TH ST E	& N OF 6TH ST OF LOT 13	*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$43.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$43.00	
	BIRMINGHAM'S ADDITION LOTS 4	Street Sweeping - Resid	 ential Streε	0.41	——————————————————————————————————————		34-29-22-21-0107
Sia Vang	AND LOT 5 BLK 2	Citywide Street Lighting		0.59	78.00	\$46.02	012/22210107
1428 Margaret St					_	\$78.00	
St Paul MN 55106-4816		*** Owner and Taxpaye	er ***				
*1428 MARGARET ST			Total Assessme	ent:		\$78.00	
*Ward: 7			This Payment:	-		\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$78.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
City Of St Paul	BIRMINGHAM'S ADDITION LOT 3	Street Sweeping - Resid		0.41	37.00	\$15.17	34-29-22-21-0114
25 4th St W Rm 1000	BLK 3	Citywide Street Lightin	ng	0.59	37.00	\$21.83	***EXEMPT***
St Paul MN 55102-1692						\$37.00	
*1432 6TH ST E		*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessn	nent:		\$37.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$37.00	
	BIRMINGHAM'S ADDITION LOT 4	Street Sweeping - Resi	dential Stree				
25 4th St W Rm 1000	BLK 3	Citywide Street Lightin		0.59	40.00	\$23.60	***EXEMPT***
St Paul MN 55102-1692					_	\$40.00	
*1428 6TH ST E		*** Owner and Taxpay	yer ***		_		
*Ward: 7			Total Assessn	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$40.00	
	BIRMINGHAM'S ADDITION LOT 5	Street Sweeping - Resi	— — — — dential Stree				
25 4th St W Rm 1000	BLK 3	Citywide Street Lightin	ng	0.59	44.00	\$25.96	***EXEMPT***
St Paul MN 55102-1692					_	\$44.00	
*1424 6TH ST E		*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessn	nent:		\$44.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 90
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
City Of St Paul	BIRMINGHAM'S ADDITION LOT 6	Street Sweeping - Resid	dential Stree	0.41	37.00	\$15.17	34-29-22-21-0117
25 4th St W Rm 1000	BLK 3	Citywide Street Lightin	ıg	0.59	37.00	\$21.83	***EXEMPT***
St Paul MN 55102-1692					_	\$37.00	
*1406 6TH ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	ment:		\$37.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$37.00	
	HOMES FOR THE HOMELESS EX THE	Street Sweeping - Resid	dential Streε				
1431 Beech St	N 153 FT; W 60 FT OF THE E 200 FT OF THE N 296 FT OF LOT 6	Citywide Street Lightin	ıg	0.59	60.00	\$35.40	V 1 2 2 2 1 V 1 2 2
St Paul MN 55106-4836	THE N 290 FT OF LOT 0				_	\$60.00	
*1431 BEECH ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	ment:	•	\$60.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:	\$0.00		
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$60.00	
United Hmong Investment Llc	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Resid	dential Streε				<u> </u>
778 Viking Dr	OF LOT 5 OF HOMES FOR THE	Citywide Street Lightin		0.59	81.00	\$47.80	34-27-22-22-0003
Maplewood MN 55117-1666	HOMELESS LOT 7 BLK 1				_	\$81.02	
*1395 BEECH ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	ment:		\$81.02	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$81.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	· · · · · · · · · · · · · · · · · · ·	Project: 2020SM Resolution #:	ISP	Assmt: 200025	Manager: LM	Page 91
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID
City Of St Paul 25 4th St W Rm 1000	SCHOCHS, ALTHENS SUBDIVISION OF LOT 5 OF HOMES FOR THE HOMELESS LOT 11 BLK 1	Street Sweeping - Resident Citywide Street Lighting	tial Stree	0.41	39.00 39.00	\$15.99 \$23.01	34-29-22-22-0004 ***EXEMPT***
St Paul MN 55102-1692	HOMELESS EOF IT BEK				<del></del>	\$39.00	
*692 ETNA ST		*** Owner and Taxpayer '	***				
*Ward: 7		T	otal Assessment:			\$39.00	
*Pending as of: 8/21/2020		T	his Payment:			\$0.00	
		C	Current Year Princ	ipal:		\$0.00	
		C	Current Year Interes	est:		\$0.00	
		P	ayoff Amount:			\$39.00	
	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Residen	 tial Stree	0.41	37.00		34-29-22-22-0005
Anh Pham	OF LOT 5 OF HOMES FOR THE HOMELESS LOT   BLK   2	Citywide Street Lighting		0.59	37.00	\$21.83	0.12/12/12/000
668 Ferndale St S	HOWELESS EOT 1 BEK 2					\$37.00	
Maplewood MN 55119-6027		*** Owner and Taxpayer '	***				
*1416 BEECH ST		T	otal Assessment:			\$37.00	
*Ward: 7		T	his Payment:			\$0.00	
*Pending as of: 8/21/2020		C	urrent Year Principal:			\$0.00	
		C	Current Year Intere	est:		\$0.00	
		P	ayoff Amount:			\$37.00	
	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Residen		0.41			<u> </u>
451 Skillman Ave E	OF LOT 5 OF HOMES FOR THE	Citywide Street Lighting		0.59	81.00	\$47.80	34-27-22-22-0007
Maplewood MN 55117-2056	HOMELESS LOT 6 BLK 2				_	\$81.02	
*1396 BEECH ST		*** Owner and Taxpayer '	***				
*Ward: 7		T	otal Assessment:			\$81.02	
*Pending as of: 8/21/2020		T	his Payment:			\$0.00	
		C	Current Year Princ	ipal:		\$0.00	
		C	Current Year Intere	est:		\$0.00	
		P	ayoff Amount:			\$81.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	SP	Assmt: 200025	Manager: LM	Page 92
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	t Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Nou Khay Xiong	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Resident	ial Stree	0.41	96.00	\$39.37	34-29-22-22-0008
1397 Margaret St	OF LOT 5 OF HOMES FOR THE HOMELESS LOT 7 AND EX E 5 FT LOT	Citywide Street Lighting		0.59	96.00	\$56.65	
St Paul MN 55106-4815	8 BLK 2	*** 0 1 T *	. • •			\$96.02	
*1397 MARGARET ST		*** Owner and Taxpayer *	· · · · · ·				
*Ward: 7		To	otal Assessment:			\$96.02	
*Pending as of: 8/21/2020			nis Payment:			\$0.00	
			urrent Year Princi	-		\$0.00	
			urrent Year Intere	est:		\$0.00	
		Pa	ayoff Amount:			\$96.02	
	BIRMINGHAM'S ADDITION EX E 11	Street Sweeping - Residenti	ial Stree	0.41	91.00	\$37.32	34-29-22-22-0014
1396 Margaret St	O6/100 FT LOT 11 AND ALL OF LOT 12 BLK 2	Citywide Street Lighting		0.59	91.00	\$53.70	
St Paul MN 55106-4816						\$91.02	
*1396 MARGARET ST		*** Owner and Taxpayer *	**				
*Ward: 7		To	otal Assessment:			\$91.02	
*Pending as of: 8/21/2020		Th	nis Payment:			\$0.00	
		Cu	urrent Year Princ	ipal:		\$0.00	
			urrent Year Intere	est:		\$0.00	
		Pa	ayoff Amount:			\$91.02	
	BIRMINGHAM'S ADDITION E 1/2 OF	Street Sweeping - Residenti	 ial Streε	0.41			34-29-22-20017
Roger Yang	LOT 15 AND ALL OF LOT 16 BLK 2	Citywide Street Lighting		0.59	59.00	\$34.81	01292220017
1407 6th St E					_	\$59.00	
St Paul MN 55106-4803		*** Owner and Taxpayer *	**				
*1407 6TH ST E		To	otal Assessment:		_	\$59.00	
*Ward: 7			nis Payment:			\$0.00	
*Pending as of: 8/21/2020			urrent Year Princi	ipal:		\$0.00	
		Си	urrent Year Intere	est:		\$0.00	
		Pa	yoff Amount:			\$59.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 93
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
City Of St Paul	BIRMINGHAM'S ADDITION LOTS 7 8	Street Sweeping - Resid		0.41	115.00	\$47.15	34-29-22-22-0020
25 4th St W Rm 1000	AND LOT 9 BLK 3	Citywide Street Lightin	g	0.59	115.00	\$67.85	***EXEMPT***
St Paul MN 55102-1692						\$115.00	
*1404 6TH ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:		\$115.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$115.00	
	BIRMINGHAM'S ADDITION LOT 10	Street Sweeping - Resid	lential Stree	0.41	39.00		34-29-22-0021
25 4th St W Rm 1000	BLK 3	Citywide Street Lightin	g	0.59	39.00	\$23.01	***EXEMPT***
St Paul MN 55102-1692					<del></del>	\$39.00	
*1402 6TH ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:		\$39.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$39.00	
	BIRMINGHAM'S ADDITION LOTS 11	Street Sweeping - Resid	— — — — lential Stree	0.41			<u> </u>
C/O Wendy Teeters	AND LOT 12 BLK 3	Citywide Street Lightin		0.59	100.50	\$59.30	34-27-22-22-0022
2531 Schaller Dr E					<del></del>	\$100.51	
Maplewood MN 55119-5865		*** Owner and Taxpay	er ***				
*1396 6TH ST E			Total Assessm	nent:		\$100.51	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$100.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 94
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Dewayne Shutes	MAGLER'S SUBDIVISION W 10 FT OF	Street Sweeping - Com	mercial/Art	1.07	50.00	\$53.50	34-29-22-22-0031
Janie Shutes	LOT 2 AND ALL OF LOT 3 BLK 1	Alley Sweeping		0.12	50.00	\$6.00	
1360 Minnehaha Ave E		Citywide Street Lightin	ıg	0.59	50.00	\$29.50	
St Paul MN 55106-4820					<del></del>	\$89.00	
*1360 MINNEHAHA AVE E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	sment:	<del>-</del>	\$89.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Yea			\$0.00	
			Current Yea	•		\$0.00	
			Payoff Amo	ount:		\$89.00	
	- – – – – – – –						
Jimwa Moua	MAGLER'S SUBDIVISION LOT 7 BLK	Street Sweeping - Resid	dential Stree	0.41	80.50	\$33.01	34-29-22-22-0034
Mee Hang	1	Alley Sweeping	_	0.12	39.00	\$4.68	
1349 Beech St		Citywide Street Lightin	ıg	0.59	80.50	\$47.50	
St Paul MN 55106-4807		*** 0 1 T	***			\$85.19	
*1349 BEECH ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	sment:		\$85.19	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Yea	-		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$85.19	
	MAGLER'S SUBDIVISION LOT 8 BLK	Street Sweeping - Resid	— — — -				<u> </u>
1353 Beech St	1	Alley Sweeping	aciniai sirce	0.12	39.00	\$4.68	34-29-22-22-0033
St Paul MN 55106-4807		Citywide Street Lightin	ıg	0.59	39.00	\$23.01	
*1353 BEECH ST					_	\$43.68	
*Ward: 7		*** Owner and Taxpay	er ***			φ 15100	
*Pending as of: 8/21/2020			Total Assess	sment:	-	\$43.68	
			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 95
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Paa Yang 1365 Beech St St Paul MN 55106-4807	MAGLER'S SUBDIVISION LOT 11 BLK	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	39.00 39.00 39.00	\$15.99 \$4.68 \$23.01	34-29-22-22-0038
*1365 BEECH ST *Ward: 7		*** Owner and Taxpayo	er ***		_	\$43.68	
*Pending as of: 8/21/2020			Total Assessi			\$43.68 \$0.00	
			Current Year Current Year	Principal:		\$0.00 \$0.00 \$0.00	
			Payoff Amou			\$43.68	
Hue Vang Mee Lee Vang	WALLBLOMS ADDITION EX W I 06/100 FT LOT 8 AND W 12 FT OF	Street Sweeping - Resid	lential Stree	0.41	48.00 49.00	\$19.68 \$5.88	34-29-22-22-0041
1377 Beech St	LOT 9 BLK 1	Citywide Street Lighting	g	0.59	48.00	\$28.32	
St Paul MN 55106-4807 *1377 BEECH ST		*** Owner and Taxpaye	er ***			\$53.88	
*Ward: 7 *Pending as of: 8/21/2020			Total Assessi This Paymen Current Year Current Year Payoff Amou	t: Principal: Interest:		\$53.88 \$0.00 \$0.00 \$0.00 \$53.88	
Scot J Daley	WALLBLOMS ADDITION W 23 FT OF LOT 10 AND EX W 12 FT LOT 9 BLK	Street Sweeping - Resid	lential Stree	0.41 0.12	50.00 50.00	\$20.50 \$6.00	34-29-22-22-0042
1385 Beech St St Paul MN 55106-4807	1	Citywide Street Lighting	g	0.59	50.00	\$29.50	
*1385 BEECH ST *Ward: 7		*** Owner and Taxpaye	er ***			\$56.00	
*Pending as of: 8/21/2020			Total Assessi		-	\$56.00 \$0.00	
			Current Year	Principal:		\$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$56.00</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 96
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Donald T Frascone Jr Revocable Trust	WALLBLOMS ADDITION LOT 1 BLK	Street Sweeping - Resid		0.41	81.00	\$33.21	34-29-22-22-0045
Donald T Frascone Jr Trustee	2	Citywide Street Lighting	g	0.59	81.00	\$47.79	
1394 Beech St						\$81.00	
St Paul MN 55106-4808		*** Owner and Taxpaye	er ***		_		
*1394 BEECH ST			Total Assessm	ent:		\$81.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$81.00	
Maxim Ozhekhovskiy	WALLBLOMS ADDITION E 21 FT OF	Street Sweeping - Resid	 lential Streε	0.41			34-29-22-22-0046
1390 Beech St	LOT 3 AND ALL OF LOT 2 BLK 2	Citywide Street Lighting	g	0.59	60.00	\$35.40	012/22/22/0010
St Paul MN 55106-4808					_	\$60.00	
*1390 BEECH ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	ent:		\$60.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$60.00	
Scott Christensen	WALLBLOMS ADDITION EX E 21 FT	Street Sweeping - Resid	lential Streε	0.41			34-29-22-22-0047
1386 Beech	LOT 3 AND ALL OF LOT 4 BLK 2	Citywide Street Lighting		0.59	57.00	\$33.63	34-27-22-22-0047
St Paul MN 55106-4808					<del></del>	\$57.00	
*1386 BEECH ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	ent:		\$57.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amour	nt:		\$57.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 9'
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Meng Xiong 7035 Stratford Ech	WALLBLOMS ADDITION E 1/2 OF E 39 FT OF PART OF LOT 3 HOMES FOR	Street Sweeping - Reside		0.41	59.00 59.00	\$24.19 \$34.81	34-29-22-22-0049
Woodbury MN 55125-2711 *1374 BEECH ST	THE HOME LESS BET BEECH ST AND EX TENDED CL OF ALLEY IN BLK 2 WALLBLOMS ADD AND IN SD WALLBLOMS ADD LOT 6 BLK 2	*** Owner and Taxpaye	er ***		_	\$59.00	
*Ward: 7			Total Assessme	ent:		\$59.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$59.00	
Ralonda S Mckinley	MAGLER'S SUBDIVISION EX E 37 FT	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1360 Beech St	LOT 2 AND ALL OF LOT 3 BLK 2	Citywide Street Lighting	g	0.59	41.00	\$24.19	0.12/12/12/0002
St Paul MN 55106-4808					<del></del>	\$41.00	
*1360 BEECH ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$41.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	nt:		\$41.00	
	MAGLER'S SUBDIVISION LOT 5 BLK	Street Sweeping - Reside	ential Stree	0.41	39.00		34-29-22-20054
1350 Beech St	2	Citywide Street Lighting	g	0.59	39.00	\$23.01	0.12/ 22 22 000.
St Paul MN 55106-4808						\$39.00	
*1350 BEECH ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$39.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	ıt:		\$39.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 98
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Constance L Luba	MAGLER'S SUBDIVISION LOT 6 BLK	Street Sweeping - Resid		0.41	39.00	\$15.99	34-29-22-22-0055
1349 Margaret St	2	Citywide Street Lightin	ng	0.59	39.00	\$23.01	
St Paul MN 55106-4813						\$39.00	
*1349 MARGARET ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessme	ent:		\$39.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$39.00	
	WALLBLOMS ADDITION E 1/2 OF E	Street Sweeping - Resid	dential Stree	0.41	59.00	\$24.19	34-29-22-22-0060
1371 Margaret St	39 FT OF PART OF LOT 3 HOMES FOR THE HOME LESS BET MARGARET ST	Citywide Street Lightin	ng	0.59	59.00	\$34.81	
St Paul MN 55106-4813	AND EX TENDED CL OF ALLEY IN				_	\$59.00	
*1371 MARGARET ST	WALLBLOMS ADD AND IN SD WALLBLOMS ADD LOT 7 BLK 2	*** Owner and Taxpay	er ***				
*Ward: 7	Williams Ind Eq. ( ) Sait 2		Total Assessme	ent:		\$59.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$59.00	
	WALLBLOMS ADDITION LOT 8 BLK	Street Sweeping - Resid	dential Stree	0.41			34-29-22-22-0061
Shpresa Mykerezi	2	Citywide Street Lightin	ng	0.59	39.00	\$23.01	012) 22 22 0001
1343 Thomas Ave					_	\$39.00	
St Paul MN 55104-2448		*** Owner and Taxpay	/er ***				
*1375 MARGARET ST			Total Assessme	ent:		\$39.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$39.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	<b>ASP</b>	Assmt: 200025	Manager: LM	Page 9
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	Quantity	Charge Amts	<b>Property ID</b>
Frances Carr	SARGENTS 3RD ADDITION TO THE	Street Sweeping - Resider	ntial Stree	0.41	39.00	<u>\$15.99</u>	34-29-22-22-0067
1384 Margaret St	CITY OF ST. PAUL LOT 3 BLK 1	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4814		Citywide Street Lighting		0.59	39.00	\$23.01	
*1384 MARGARET ST *Ward: 7		*** Owner and Taxpayer	Faxnaver ***			\$43.68	
*Pending as of: 8/21/2020			Total Assessment:			\$43.68	
		7	This Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
		(	Current Year Interest:			\$0.00	
		I	Payoff Amount:			\$43.68	
	PEASE BROS' ADD. TO THE CITY OF	Street Sweeping - Resider	ntial Stree	0.41	39.00		
1368 Margaret St	ST. PAUL LOT 1 BLK 1	Alley Sweeping		0.12	39.00	\$4.68	3 <del>4-2<i>)-</i>22-22-00</del> /1
St Paul MN 55106-4814		Citywide Street Lighting		0.59	39.00	\$23.01	
*1368 MARGARET ST					=	\$43.68	
*Ward: 7		*** Owner and Taxpayer ***				·	
*Pending as of: 8/21/2020		7	Total Assessment:		-	\$43.68	
		7	This Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
		(	Current Year Inter	est:		\$0.00	
		1	Payoff Amount:			\$43.68	
	PEASE BROS' ADD. TO THE CITY OF	Street Sweeping - Resider	ntial Stree	0.41			<u> </u>
Amy L Nelson	ST. PAUL LOT 7 BLK 1	Alley Sweeping		0.12	38.00	\$4.56	34-29-22-22-0077
1349 6th St E		Citywide Street Lighting		0.59	78.50	\$46.32	
St Paul MN 55106-4801					=	\$83.07	
*1349 6TH ST E		*** Owner and Taxpayer	. ***				
*Ward: 7			Total Assessment:		-	\$83.07	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Princ	-		\$0.00	
			Current Year Inter	est:		\$0.00	
		I	Payoff Amount:			\$83.07	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020S Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 10
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Margaret M Keeler	PEASE BROS' ADD. TO THE CITY OF	Street Sweeping - Resider	ntial Stree	0.41	67.00	\$27.47	34-29-22-22-0080
1363 6th St E	ST. PAUL E 28 FT OF LOT 10 AND ALL	Alley Sweeping		0.12	67.00	\$8.04	
St Paul MN 55106-4801	OF LOT 11 BLK 1	Citywide Street Lighting		0.59	67.00	\$39.53	
*1363 6TH ST E					<del></del>	\$75.04	
*Ward: 7		*** Owner and Taxpayer	***				
Pending as of: 8/21/2020		7	Total Assessmen	t:		\$75.04	
		П	This Payment:			\$0.00	
		(	Current Year Prin	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		I	Payoff Amount:			\$75.04	
Joshua R Sommer	PEASE BROS' ADD. TO THE CITY OF	Street Sweeping - Resider					24 20 22 22 0001
1369 6th St E	ST. PAUL LOT 12 BLK 1	Alley Sweeping Resider	iliai Siici	0.12	40.00	\$4.80	34-29-22-22-0081
St Paul MN 55106-4801		Citywide Street Lighting		0.59	40.00	\$23.60	
*1369 6TH ST E		, , ,			_	\$44.80	
*Ward: 7		*** Owner and Taxpayer ***				\$ <del>11</del> .80	
*Pending as of: 8/21/2020		- 1	Total Assessmen	t:		\$44.80	
		1	This Payment:			\$0.00	
		(	Current Year Prin	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		Payoff Amount:				\$44.80	
Edward R Miller	SARGENTS 3RD ADDITION TO THE CITY OF ST. PAUL LOTS 9 AND LOT	Street Sweeping - Resider	ntial Stree	0.41	78.00	\$31.98	34-29-22-22-0083
1383 6th St E	10 BLK 1	Alley Sweeping		0.12	78.00	\$9.36	
St Paul MN 55106-4801		Citywide Street Lighting		0.59	78.00	\$46.02	
*1383 6TH ST E *Ward: 7		*** Owner and Taxpayer	***			\$87.36	
*Pending as of: 8/21/2020				4.	<u> </u>	\$97.26	
			Total Assessmen	ι:		\$87.36	
			This Payment:	با منسما،		\$0.00	
			Current Year Prin Current Year Inte	•		\$0.00	
						\$0.00	
		1	Payoff Amount:			\$87.36	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 101
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Lor Xiong Mee Vang 1391 6th St E	SARGENTS 3RD ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	80.00 39.00 80.00	\$32.81 \$4.68 \$47.21	34-29-22-22-0085
St Paul MN 55106-4801 *1391 6TH ST E		*** Owner and Taxpay	er ***		_	\$84.70	
*Ward: 7 *Pending as of: 8/21/2020			Total Assess: This Paymen Current Year Current Year Payoff Amou	t: Principal: Interest:		\$84.70 \$0.00 \$0.00 \$0.00 \$84.70	
Joseph E Flasch 1370 6th St E St Paul MN 55106-4802 *1370 6TH ST E	PEASE BROS' ADD. TO THE CITY OF ST. PAUL LOT 6 BLK 2 SARGENTS 3RD ADD AND IN SD PEASE BROS ADD LOT 1 BLK 2	Street Sweeping - Residence Citywide Street Lighting	ıg	0.41 0.59	78.00 78.00 —	\$31.98 \$46.02 \$78.00	34-29-22-22-0090
*Ward: 7 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:		\$78.00 \$0.00 \$0.00 \$0.00 \$78.00		
Sharie G Marier Susan M Marier 1364 6th St E	PEASE BROS' ADD. TO THE CITY OF ST. PAUL EX W 28 FT LOT 3 AND ALL OF LOT 2 BLK 2	Street Sweeping - Residence Citywide Street Lighting	ıg	0.41	50.00	\$20.50 \$29.50 \$50.00	34-29-22-22-0091
*1364 6TH ST E  *Ward: 7  *Pending as of: 8/21/2020		*** Owner and Taxpay	Total Assess: This Paymen Current Year Current Year Payoff Amo	t: Principal: Interest:		\$50.00 \$0.00 \$0.00 \$0.00 \$50.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 102
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Charlotte L Kidd	PEASE BROS' ADD. TO THE CITY OF	Street Sweeping - Reside		0.41	54.00	\$22.14	34-29-22-22-0092
1358 6th St E	ST. PAUL W 28 FT OF LOT 3 AND THE E 27 FT OF LOT 4 BLK 2	Citywide Street Lighting	5	0.59	54.00	\$31.86	
St Paul MN 55106-4802						\$54.00	
*1358 6TH ST E		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$54.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	_		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$54.00	
	PEASE BROS' ADD. TO THE CITY OF	Street Sweeping - Reside	 ential Streε	0.41			34-29-22-22-0094
1348 6th St E	ST. PAUL LOT 6 BLK 2	Citywide Street Lighting	7	0.59	81.00	\$47.80	0.129 22 22 009 1
St Paul MN 55106-4802						\$81.02	
*1348 6TH ST E		*** Owner and Taxpaye	er ***		_		
*Ward: 7			Total Assessme	ent:		\$81.02	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$81.02	
	KNAUFT'S ADDITION TO THE CITY OF		nercial/Art	1.07			34-29-22-2108
Douglas A Dow	ST. PAUL LOTS 3 AND LOT 4 BLK 1	Citywide Street Lighting		0.59	80.00	\$47.20	3 <del>1</del> -2)-22-22-0100
1332 Minnehaha Ave E					=	\$132.80	
St Paul MN 55106-4725		*** Owner and Taxpaye	er ***			4-2-2-0	
*1332 MINNEHAHA AVE E			Total Assessme	ent:		\$132.80	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amoun	ıt:		\$132.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Raul Hernandez Ruiz	KNAUFT'S ADDITION TO THE CITY OF	Street Sweeping - Com		1.07	80.00	\$85.60	34-29-22-22-0109
Guillermina Ortiz Alamillo	ST. PAUL LOTS 5 AND LOT 6 BLK 1	Citywide Street Lightin	ng	0.59	80.00	\$47.20	
1328 Minnehaha Ave E						\$132.80	
St Paul MN 55106-4725		*** Owner and Taxpay	/er ***				
*1328 MINNEHAHA AVE E			Total Assessm	ent:		\$132.80	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$132.80	
	KNAUFT'S ADDITION TO THE CITY OF		mercial/Art	1.07			<u> </u>
1322 Minnehaha Ave E	ST. PAUL LOT 7 BLK 1	Citywide Street Lightin		0.59	40.00	\$23.60	012/22 22 0110
St Paul MN 55106-4725					===	\$66.40	
*1322 MINNEHAHA AVE E		*** Owner and Taxpay	/er ***		_		
*Ward: 7			Total Assessm	ent:		\$66.40	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$66.40	
	KNAUFT'S ADDITION TO THE CITY OF	Street Sweeping - Resid	 dential Streε	0.41			
1321 Beech St	ST. PAUL W 1/2 OF LOT 19 AND ALL	Citywide Street Lightin		0.59	60.00	\$35.40	J7-4/-44-44-V110
St Paul MN 55106-4721	OF LOT LOT 18 BLK 1				_	\$60.00	
*1321 BEECH ST		*** Owner and Taxpay	/er ***			<b>400.00</b>	
*Ward: 7			Total Assessm	ent:		\$60.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 104
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Francisco E Arias	KNAUFT'S ADDITION TO THE CITY OF	Street Sweeping - Resid		0.41	50.00	\$20.50	34-29-22-22-0120
1335 Beech St	ST. PAUL E 10 FT OF LOT 20 AND ALL OF LOT 21 BLK 1	Citywide Street Lightin	ıg	0.59	50.00	\$29.50	
St Paul MN 55106-4721	of Bot 21 BER 1					\$50.00	
*1335 BEECH ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessn	nent:		\$50.00	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$50.00	
	KNAUFT'S ADDITION TO THE CITY OF		dential Stree				<u> </u>
823 7th St E	ST. PAUL S 1/2 OF VAC ALLEY ADJ	Citywide Street Lightin		0.59	40.00	\$23.60	34-2)-22-22-0120
St Paul MN 55106-5016	AND LOT 21 BLK 2				_	\$40.00	
*1333 MARGARET ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessn	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$40.00	
	KNAUFT'S ADDITION TO THE CITY OF		— — — — dential Stree				34-29-22-0128
1339 Margaret St	ST. PAUL S 1/2 VAC ALLEY ADJ AND	Citywide Street Lightin		0.59	69.00	\$40.71	34-27-22-22-0120
St Paul MN 55106-4722	LOTS 23 & LOT 24 BLK 2				_	\$69.00	
*1339 MARGARET ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessn	nent·		\$69.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$69.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 10
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Daniel R Johnson	BERGMAN'S DIVISION LOT 1 BLK 1	Street Sweeping - Residen	ntial Stree	0.41	77.00	\$31.58	34-29-22-22-0129
1344 Margaret St		Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4723		Citywide Street Lighting		0.59	77.00	\$45.44	
*1344 MARGARET ST *Ward: 7		*** Owner and Taxpayer	***			\$81.70	
*Pending as of: 8/21/2020			Γotal Assessmer	nt:		\$81.70	
		Т	This Payment:			\$0.00	
		(	Current Year Pri	incipal:	\$0.00		
		(	Current Year Int	terest:		\$0.00	
		F	Payoff Amount	:		\$81.70	
	BERGMAN'S DIVISION LOT 3 BLK 1	Street Sweeping - Residen	ntial Stree	0.41	39.00		
11319 Pierce St Ne		Alley Sweeping		0.12	39.00	\$4.68	3 <del>4</del> -2 <i>)</i> -22-22-0131
Blaine MN 55434-3836		Citywide Street Lighting		0.59	39.00	\$23.01	
*1336 MARGARET ST					=	\$43.68	
*Ward: 7		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		T	Total Assessmer	nt:		\$43.68	
			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		F	Payoff Amount	:		\$43.68	
	BERGMAN'S DIVISION LOT 4 BLK 1	Street Sweeping - Residen	ntial Stree	0.41	39.00		<u> </u>
C/O Rbk Capital		Alley Sweeping		0.12	39.00	\$4.68	34-27-22-22-0132
55 W 39th St Rm 806		Citywide Street Lighting		0.59	39.00	\$23.01	
New York NY 10018-0548					_	\$43.68	
*1332 MARGARET ST		*** Owner and Taxpayer	***				
*Ward: 7		<u>-</u> Т	Total Assessmer	nt:		\$43.68	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		F	Payoff Amount	:		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Eric W Hanson	BERGMAN'S DIVISION LOT 10 BLK 1	Street Sweeping - Residen	ntial Stree	0.41	39.00	\$15.99	34-29-22-22-0137
Amber C Hanson		Alley Sweeping		0.12	39.00	\$4.68	
3000 E Minnehaha Pkwy		Citywide Street Lighting		0.59	39.00	\$23.01	
Minneapolis MN 55406-3746 *1308 MARGARET ST		*** Owner and Taxpayer	. ***			\$43.68	
*Ward: 7		-	Total Assessme	ent:	-	\$43.68	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:	\$0.00		
		(	Current Year Interest:				
		]	Payoff Amount	t:		\$43.68	
	BERGMAN'S DIVISION LOT 12 BLK 1	Street Sweeping - Residen	ntial Stree			\$31.58	
Thomas J Milligan		Alley Sweeping	mai succ	0.12	39.00	\$4.68	34-29-22-22-0139
1300 Margaret St		Citywide Street Lighting		0.59	77.00	\$45.44	
St Paul MN 55106-4723		, , ,			_	\$81.70	
*1300 MARGARET ST		*** Owner and Taxpayer	***			\$61.76	
*Ward: 7		-	Total Assessme	nt:	-	\$81.70	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
		Current Year Interest:				\$0.00	
		]	Payoff Amount	t:		\$81.70	
	BERGMAN'S DIVISION LOT 15 BLK 1	Street Sweeping - Residen	ntial Stree	0.41			<u> </u>
71 Maple Ln		Alley Sweeping	iniai Stree	0.12	39.00	\$4.68	34-29-22-22-0142
Little Canada MN 55117-1047		Citywide Street Lighting		0.59	38.00	\$22.42	
*1307 6TH ST E		, , ,			<del></del>	\$42.68	
*Ward: 7		*** Owner and Taxpayer	***			ψ12.00	
*Pending as of: 8/21/2020		- -	Total Assessme	nt:		\$42.68	
		-	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amount	t:		\$42.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
— — — — — — — — Benjamin D Harrelson	BERGMAN'S DIVISION LOT 17 BLK 1	Street Sweeping - Resider	ntial Stree	0.41	38.00	\$15.58	34-29-22-22-0144
1315 6th St E		Alley Sweeping		0.12	38.00	\$4.56	
St Paul MN 55106-4734		Citywide Street Lighting		0.59	38.00	\$22.42	
*1315 6TH ST E *Ward: 7		*** Owner and Taxpayer	. ***			\$42.56	
*Pending as of: 8/21/2020			Total Assessment:			\$42.56	
		1	This Payment:			\$0.00	
		(	Current Year Pri	incipal:	\$0.00		
		(	Current Year Int	terest:		\$0.00	
		I	Payoff Amount	t <b>:</b>		\$42.56	
	BERGMAN'S DIVISION LOT 19 BLK 1	Street Sweeping - Resider	ntial Stree	——————————————————————————————————————			
1323 E 6th St		Alley Sweeping	iniai Sirot	0.12	39.00	\$4.68	34-29-22-22-0140
St Paul MN 55106-4734		Citywide Street Lighting		0.59	39.00	\$23.01	
*1323 6TH ST E					_	\$43.68	
*Ward: 7		*** Owner and Taxpayer ***  Total Assessment: This Payment:				Ψ13.00	
*Pending as of: 8/21/2020						\$43.68	
						\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		I	Payoff Amount	t:		\$43.68	
	BERGMAN'S DIVISION LOT 20 BLK 1	Street Sweeping - Resider					
1327 6th St E	BENGMING BIVIDION BOY 20 BENG	Alley Sweeping	illiai Sticc	0.41	39.00	\$4.68	34-29-22-22-0147
St Paul MN 55106-4734		Citywide Street Lighting		0.59	39.00	\$23.01	
*1327 6TH ST E		,			=	\$43.68	
*Ward: 7		*** Owner and Taxpayer	. ***			\$45.00	
*Pending as of: 8/21/2020		_ 1	Total Assessmen	nt:	-	\$43.68	
		7	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		I	Payoff Amount	t <b>:</b>		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 10
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>I</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	Property ID
Socorro G Caballero	BERGMAN'S DIVISION LOT 22 BLK 1	Street Sweeping - Reside	ntial Stree	0.41	39.00	<u>\$15.99</u>	34-29-22-22-0149
1335 6th St E		Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4734		Citywide Street Lighting		0.59	39.00	\$23.01	
*1335 6TH ST E						\$43.68	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessmen	nt:	-	\$43.68	
		•	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
		•	Current Year In	terest:		\$0.00	
		1	Payoff Amount	:		\$43.68	
Maxfield E Christiansen	BERGMAN'S DIVISION LOT 23 BLK 1	Street Sweeping - Reside	ential Stree				<u> </u>
1339 6th St E		Alley Sweeping		0.12	39.00	\$4.68	3 <del>1</del> -2 <i>)</i> -22-22-0130
St Paul MN 55106-4734		Citywide Street Lighting		0.59	39.00	\$23.01	
*1339 6TH ST E					_	\$43.68	
*Ward: 7		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessment:			\$43.68	
		•	This Payment:			\$0.00	
		•	Current Year Pr	incipal:		\$0.00	
		(	Current Year In	terest:		\$0.00	
		1	Payoff Amount	:		\$43.68	
Nicholas Bushor	BERGMAN'S DIVISION LOT 24 BLK 1	Street Sweeping - Resider	ential Stree	——————————————————————————————————————			
1343 6th St E		Alley Sweeping	iniai Sirec	0.12	39.00	\$4.68	34-29-22-22-0151
St Paul MN 55106-4734		Citywide Street Lighting		0.59	78.50	\$46.32	
*1343 6TH ST E						\$83.19	
*Ward: 7		*** Owner and Taxpayer	r ***			ψυσ.17	
*Pending as of: 8/21/2020		-	Total Assessmen	nt:	-	\$83.19	
		•	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
		•	Current Year In	terest:		\$0.00	
		1	Payoff Amount	:		\$83.19	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 1	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	Property ID	
	BERGMAN'S DIVISION E 1/2 OF LOT 2	Street Sweeping - Reside	ential Stree	0.41	90.50	\$37.11	34-29-22-22-0152	
Kyi Lwe Hai	AND ALL OF LOT 1 BLK 2	Alley Sweeping		0.12	58.00	\$6.96		
1342 6th St E		Citywide Street Lighting		0.59	90.50	\$53.40		
St Paul MN 55106-4720					<del></del>	\$97.47		
*1342 6TH ST E		*** Owner and Taxpayer	***					
*Ward: 7		,	Total Assessmen	nt:		\$97.47		
*Pending as of: 8/21/2020		,	This Payment:			\$0.00		
		•	Current Year Pr	rincipal:		\$0.00		
		•	Current Year In	terest:		\$0.00		
		1	Payoff Amount	t <b>:</b>		\$97.47		
	BERGMAN'S DIVISION LOT 5 BLK 2	Street Sweeping - Reside	ntial Stree	0.41	39.00			
1328 6th St E		Alley Sweeping		0.12	38.00	\$4.56	J <del>4</del> -2 <i>)</i> -22-22-0133	
St Paul MN 55106-4720		Citywide Street Lighting		0.59	39.00	\$23.01		
*1328 6TH ST E					_	\$43.56		
*Ward: 7		*** Owner and Taxpayer	***			,		
*Pending as of: 8/21/2020		Total Assessment: This Payment: Current Year Principal:				\$43.56		
						\$0.00		
						\$0.00		
			Current Year In	terest:		\$0.00		
		]	Payoff Amount	t <b>:</b>		\$43.56		
	BERGMAN'S DIVISION LOT 6 BLK 2	Street Sweeping - Reside	ential Stree					
1324 6th St E	DENOMINA DI VIDIO VI DENI 2	Alley Sweeping	illiai Silee	0.41	39.00	\$4.68	34-29-22-22-0156	
St Paul MN 55106-4720		Citywide Street Lighting		0.59	39.00	\$23.01		
*1324 6TH ST E		, 6 6			_	\$43.68		
*Ward: 7		*** Owner and Taxpayer	***			φ <del>1</del> 3.00		
*Pending as of: 8/21/2020		• •	Total Assessmen	nt:	-	\$43.68		
			This Payment:			\$0.00		
			Current Year Pr	incipal:		\$0.00		
			Current Year In	-		\$0.00		
			Payoff Amount	t <b>:</b>		\$43.68		

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 11
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
	BERGMAN'S DIVISION LOT 7 BLK 2	Street Sweeping - Resider	ntial Stree	0.41	39.00	\$15.99	34-29-22-22-0157
1320 6th St E		Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55106-4720		Citywide Street Lighting		0.59	39.00	\$23.01	
*1320 6TH ST E					_	\$43.68	
*Ward: 7		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		- [	Total Assessmer	nt:	-	\$43.68	
		1	This Payment:			\$0.00	
		(	Current Year Principal:			\$0.00	
		(	Current Year Int	erest:		\$0.00	
		1	Payoff Amount:	:		\$43.68	
David M Schneider	BERGMAN'S DIVISION EX E 11 FT LOT	Street Sweeping - Resider	ntial Stree	——————————————————————————————————————	95.00		
Deborah S Schneider	11 AND ALL OF LOT 12 BLK 2	Alley Sweeping		0.12	67.00	\$8.04	34-29-22-22-0100
1306 6th St E		Citywide Street Lighting		0.59	95.00	\$56.06	
St Paul MN 55106-4720					_	\$103.06	
*1306 6TH ST E		*** Owner and Taxpayer	. ***			Ψ103.00	
*Ward: 7		_	Total Assessmen	nt:		\$103.06	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
		1	Payoff Amount	:		\$103.06	
			· <del></del>				
Benny Guajardo	BERGMAN'S DIVISION W 5 FT OF LOT 21 AND EX W 33 FT LOT 19 AND ALL	Street Sweeping - Resider	ntial Stree	0.41	50.00	\$20.50	34-29-22-22-0166
1327 5th St E	OF LOT 20 BLK 2	Alley Sweeping		0.12	50.00	\$6.00	
St Paul MN 55106-5320		Citywide Street Lighting		0.59	50.00	\$29.50	
*1327 5TH ST E		*** Owner and Taxpayer	. ***			\$56.00	
*Ward: 7 *Pending as of: 8/21/2020							
1 Chang as 01. 0/21/2020			Total Assessmer	ıt:		\$56.00	
			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount:	:		\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		20SMSP #:	Assmt: 200025	ğ	Page 111	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Betty M Lange	BERGMAN'S DIVISION W 16 FT OF	Street Sweeping - Reside	ential Stree	0.41	50.00	\$20.50	34-29-22-22-0167	
1276 Lark Ave	LOT 22 AND EX W 5 FT LOT 21 BLK 2	Alley Sweeping		0.12	50.00	\$6.00		
Maplewood MN 55109-2541		Citywide Street Lighting	5	0.59	50.00	\$29.50		
*1333 5TH ST E					_	\$56.00		
*Ward: 7		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessi	ment:	-	\$56.00		
			This Paymen	t:		\$0.00		
			Current Year			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	unt:		\$56.00		
Robert J Petschauer	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Reside	ential Stree	0.41		<u>\$22.55</u>		
1414 Beech St	OF LOT 5 OF HOMES FOR THE	Citywide Street Lighting	;	0.59	55.00	\$32.45	2 - 2/ V1/1	
St Paul MN 55106-4809	HOMELESS EX W 23 FT; LOT 3 AND ALL OF LOT 2 BLK 2				_	\$55.00		
*1414 BEECH ST		*** Owner and Taxpaye	r ***			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
*Ward: 7			Total Assessment:			\$55.00		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year Interest:			\$0.00		
			Payoff Amou	unt:		\$55.00		
Zhongkhue Pobzeb Cha	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Reside		0.41	55.00	\$22.55	34-29-22-22-0172	
Annee Cha	OF LOT 5 OF HOMES FOR THE HOMELESS EX W 7 FT; LOT 4 AND W	Citywide Street Lighting	5	0.59	55.00	\$32.45		
1406 Beech St	23 FT OF LOT 3 BLK 2				<del></del>	\$55.00		
St Paul MN 55106		*** Owner and Taxpaye	r ***					
*1406 BEECH ST			Total Assessi	ment:	-	\$55.00		
*Ward: 7			This Paymen	t:		\$0.00		
*Pending as of: 8/21/2020			Current Year			\$0.00		
			Current Year	_		\$0.00		
			Payoff Amou	unt:		\$55.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 112
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Nou Khay Xiong 1397 Margaret St	SCHOCHS, ALTHENS SUBDIVISION OF LOT 5 OF HOMES FOR THE HOMELESS W 7 FT OF LOT 4 AND	Street Sweeping - Resid		0.41	46.00 46.00	\$18.86 \$27.14	34-29-22-22-0173
St Paul MN 55106-4809 *1400 BEECH ST	ALL OF LOT 5 BLK 2	*** Owner and Taxpayo	er ***		_	\$46.00	
*Ward: 7 *Pending as of: 8/21/2020			Total Assessr	nent:	-	\$46.00	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$46.00	
Christopher Lambert	BERGMAN'S DIVISION LOT 5 BLK 1	Street Sweeping - Resid	 lential Stree				——————————————————————————————————————
1328 Margaret St		Alley Sweeping		0.12	39.00	\$4.68	34-2)-22-22-01/4
St Paul MN 55106-4723		Citywide Street Lighting	g	0.59	39.00	\$23.01	
*1328 MARGARET ST					<del></del>	\$43.68	
*Ward: 7		*** Owner and Taxpaye	·				
*Pending as of: 8/21/2020			Total Assessi	nent:		\$43.68	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$43.68	
	BERGMAN'S DIVISION LOT 6 BLK 1	Street Sweeping - Resid					34-29-22-22-0175
Sothol T Saiysour		Alley Sweeping		0.12	39.00	\$4.68	34-2)-22-22-0173
1324 Margaret St		Citywide Street Lighting	g	0.59	39.00	\$23.01	
St Paul MN 55106-4723						\$43.68	
*1324 MARGARET ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessi	nent:		\$43.68	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		·		Assmt: 200025	Manager: LM	Page 113
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Richard A Woessner	BIRMINGHAM'S ADDITION E 1/2 OF LOT 8 & ALLOF LOTS 6 & LOT 7 BLK 2	Street Sweeping - Residen	ntial Stree	0.41	100.00	\$41.00	34-29-22-22-0184
1410 Margaret St St Paul MN 55106-4816	LOI & & ALLOF LOIS & & LOI / BLK 2	Citywide Street Lighting		0.59	100.00	\$59.00	
*1410 MARGARET ST		*** Owner and Taxpayer	***			\$100.00	
*Ward: 7		· · -	Γotal Assessm	ant:		\$100.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	_		\$0.00	
		P	Payoff Amour	nt:		\$100.00	
City Of St Paul	SCHOCHS, ALTHENS SUBDIVISION	Street Sweeping - Comme		1.07	308.00	\$329.56	34-29-22-22-0198
25 4th St W Rm 1000	OF LOT 5 OF HOMES FOR THE HOMELESS EX THE E 160.02 FT OF THE N 153 FT; & EX THE E 170 FT OF THE S 143 FT OF THE N 296 FT OF LOT	Street Sweeping - Residen	ntial Stree	0.41	340.00	\$139.40	***EXEMPT***
St Paul MN 55102-1692		Citywide Street Lighting		0.59	648.00	\$382.32	
*1398 BEECH ST	THE S 143 FT OF THE N 296 FT OF LOT 6 IN HOMES FOR THE HOMELESS &	*** Owner and Taxpayer	***			\$851.28	
*Ward: 7		- Owner and Taxpayer					
*Pending as of: 8/21/2020			Γotal Assessm		\$851.28		
		T			\$0.00		
			Current Year F			\$0.00	
			Current Year I <b>Payoff Amou</b> r			\$0.00 <b>\$851.28</b>	
		r	rayon Amoui	11.		\$031.20	
	BIRMINGHAM'S ADDITION VACATED	Street Sweeping - Residen	 ntial Streε	0.41	100.00	\$41.00	34-29-22-22-0200
25 4th St W Rm 1000	STREETS ACCRUING & EX WLY 5.75 FT; LOT 15 & ALL OF LOTS 16	Citywide Street Lighting		0.59	100.00	\$59.00	***EXEMPT***
St Paul MN 55102-1692	THROUGH 20 BLK 3 BIRMINGHAM'S					\$100.00	
*1407 5TH ST E	ADD	*** Owner and Taxpayer	***				
*Ward: 7			ent:	-	\$100.00		
*Pending as of: 8/21/2020		Т	Γhis Payment:			\$0.00	
		C	Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
		P	Payoff Amour	ıt:		\$100.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 114
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Russell H Colber	COMMON INTEREST COMMUNITY	Street Sweeping - Res		0.41	105.00	\$43.05	34-29-22-22-0201
1349 5th St	NUMBER 391 NEW BRIDGE LOT 1 BLK 1	Citywide Street Lighti	ng	0.59	105.00	\$61.95	
St Paul MN 55106-5359						\$105.00	
*1349 5TH ST E		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	sment:		\$105.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	ount:		\$105.00	
	HAMER'S SUBDIVISION LOT 12	Street Sweeping - Res	idential Stree				34-29-22-23-0012
1353 4th St E		Citywide Street Lighti		0.59	48.00	\$28.32	34-27-22-23-0012
St Paul MN 55106-6874					=	\$48.00	
*1353 4TH ST E		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	sment:	•	\$48.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$48.00	
	STENLUND'S SUBDIVISION LOT 10	Street Sweeping - Res	idential Streε				
1348 4th St E		Citywide Street Lighti		0.59	68.00	\$40.12	34-27-22-23-0030
St Paul MN 55106-5314					=	\$68.00	
*1348 4TH ST E		*** Owner and Taxpa	yer ***			<b>\$00.00</b>	
*Ward: 7			Total Assess	sment:	=	\$68.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amo	ount:		\$68.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kayo Investment Llc	STENLUND'S SUBDIVISION LOT 11	Citywide Street Lighti		0.59	70.00	\$41.30	34-29-22-23-0031
604 Bielenberg Dr Ste 100						\$41.30	
Woodbury MN 55125-1733		*** Owner and Taxpa	yer ***				
*1349 FREMONT AVE			Total Assessm	nent:		\$41.30	
*Ward: 7 *Pending as of: 8/21/2020			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$41.30	
	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Res	idential Stree				<u> </u>
1350 Fremont Ave	STINSON'S FRANCES ST. ADDITION	Citywide Street Lighti		0.59	193.00	\$113.87	34-27-22-23-0047
St Paul MN 55106-5305	TO SAINT PAUL, RAMSEY CO., MINN. EX E 10 FT LOT 11 AND ALL 0F LOT					\$164.30	
*1350 FREMONT AVE	12 BLK 14	*** Owner and Taxpa	yer ***			********	
*Ward: 7			Total Assessm	nent:		\$164.30	
*Pending as of: 8/21/2020		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$164.30	
 Michael J J Salazar	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Con					34-29-22-23-0050
351 3rd St E	STINSON'S FRANCES ST. ADDITION	Street Sweeping - Resi		0.41	57.00	\$23.37	34-29-22-23-0030
St Paul MN 55106-5815	TO SAINT PAUL, RAMSEY CO., MINN. SUBJ TO 3RD ST AND EX E 12 FT LOT	Citywide Street Lighti		0.59	90.00	\$53.10	
*1351 3RD ST E	14 AND ALL OF LOT 13 BLK 14				_	\$111.78	
*Ward: 7		*** Owner and Taxpa	yer ***			Ψ1117	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$111.78	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$111.78	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 116
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Cristina Rose	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Com		1.07	52.00	\$55.64	34-29-22-23-0051
1357 3rd St E	STINSON'S FRANCES ST. ADDITION TO SAINT PAUL, RAMSEY CO., MINN.	Citywide Street Lightin	ng	0.59	52.00	\$30.68	
St Paul MN 55106-5815	SUBJ TO 3RD ST THE E 12 FT OF LOT					\$86.32	
*1357 3RD ST E	14 AND ALL OF LOT 15 BLK 14	*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessn	nent:		\$86.32	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$86.32	
	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Com	— — — — mercial/Art				34-29-22-23-0052
1361 3rd St E	STINSON'S FRANCES ST. ADDITION	Citywide Street Lightin	ng	0.59	40.00	\$23.60	0.12/22/20/0002
St Paul MN 55106-5815	TO SAINT PAUL, RAMSEY CO., MINN. EX ST LOT 16 BLK 14					\$66.40	
*1361 3RD ST E		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessn	nent:		\$66.40	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$66.40	
	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Com	mercial/Art				<u> </u>
Daniela Bisoc	STINSON'S FRANCES ST. ADDITION	Citywide Street Lightin		0.59	60.00	\$35.40	34-27-22-23-0030
1385 3rd St E	TO SAINT PAUL, RAMSEY CO., MINN. SUBJ TO ST; THE FOL; EX W 20 FT;				_	\$99.60	
St Paul MN 55106-5815	LOT 21 & ALL OF LOT 22 BLK 14	*** Owner and Taxpay	er ***				
*1385 3RD ST E			Total Assessn	ment:		\$99.60	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	ınt:		\$99.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 117
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
City Of St Paul 25 4th St W Rm 1000	SMITH'S SUBDIVISION OF BLOCK 14, STINSON'S FRANCES ST. ADDITION TO SAINT PAUL, RAMSEY CO., MINN.	Street Sweeping - Comme Citywide Street Lighting	ercial/Art	1.07	40.00 40.00	\$42.80 \$23.60	34-29-22-23-0057 ***EXEMPT***
St Paul MN 55102-1692	EX ST LOT 23 BLK 14				<del></del>	\$66.40	
*1389 3RD ST E		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessmer	nt:		\$66.40	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount	:		\$66.40	
City Of St Paul	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Comme	ercial/Art	1.07	29.00	\$31.03	34-29-22-23-0058
25 4th St W Rm 1000	STINSON'S FRANCES ST. ADDITION TO SAINT PAUL, RAMSEY CO., MINN.	Citywide Street Lighting		0.59	29.00	\$17.11	***EXEMPT***
St Paul MN 55102-1692	EX ST LOT 24 BLK 14					\$48.14	
*1393 3RD ST E		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessmer	nt:		\$48.14	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount	:		\$48.14	
	ERET'S ADDITION N 1/2 OF VAC	Street Sweeping - Comme	— — — ercial/Art	1.07			34-29-22-23-0062
1358 3rd St E	ALLEY ADJ AND FOL SUBJ TO ST THE	Citywide Street Lighting		0.59	45.00	\$26.55	0129 22 20 0002
St Paul MN 55106-5827	FOL E 4 FT OF LOT 9 AND ALL OF LOT 8				_	\$74.70	
*1358 3RD ST E		*** Owner and Taxpayer	***				
*Ward: 7			Total Assessmer	nt:	-	\$74.70	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	:		\$74.70	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 118
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit R	ate Quantity	Charge Amts	<b>Property ID</b>
David T Becker 1326 5th St E	CHAS. A. B. WEIDE'S SUBDIVISION NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOTS 4 5 AND	Street Sweeping - Residen Citywide Street Lighting		.41 117.00 .59 117.00	\$47.97 \$69.03	34-29-22-23-0069
St Paul MN 55106-5321 *1326 5TH ST E	LOT 6 BLK 5	*** Owner and Taxpayer	***	\$117.00		
*Ward: 7		 T	Total Assessment:		\$117.00	
*Pending as of: 8/21/2020		Т	This Payment:		\$0.00	
		(	Current Year Principal	1:	\$0.00	
		C	Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$117.00	
	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Residen	ntial Stree 0.			<u> </u>
1318 5th St E	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOTS 7 AND LOT	Citywide Street Lighting	0.	.59 77.00	\$45.43	0.29 22 20 00.0
St Paul MN 55106-5321	8 BLK 5			_	\$77.00	
*1318 5TH ST E		*** Owner and Taxpayer	***			
*Ward: 7			Total Assessment:	-	\$77.00	
*Pending as of: 8/21/2020		Т	\$0.00			
		(	Current Year Principal	\$0.00		
		C	Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$77.00	
	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Residen		.41 — — — — —		34-29-22-23-0072
592 Johnson Pky	NO. 5 ADDITION TO ST. PAUL,	Citywide Street Lighting		.59 63.00	\$37.17	012922200072
St Paul MN 55106-5330 *592 JOHNSON PKWY	RAMSEY CO., MINN. S 1/2 OF LOTS 9 THRU LOT 12 BLK 5	*** Owner and Taxpayer	***	=	\$63.00	
*Ward: 7		<del>-</del> т	Total Assessment:	-	\$63.00	
*Pending as of: 8/21/2020			This Payment:		\$0.00	
			Current Year Principal	1:	\$0.00	
			Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$63.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Keyson Crump	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid	dential Stree	0.41	84.00	\$34.44	34-29-22-23-0073
1299 4th St E	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 13 BLK 5	Citywide Street Lightin	g	0.59	84.00	\$49.56	
St Paul MN 55106-6574	10 10 10 10 10 10 10 10 10 10 10 10 10 1					\$84.00	
*1299 4TH ST E		*** Owner and Taxpay	er ***				
Ward: 7			Total Assessm	nent:		\$84.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$84.00	
Mark S Magler	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid	— — — — dential Stree				34-29-22-23-0077
atricia A Magler	NO. 5 ADDITION TO ST. PAUL,	Citywide Street Lighting	g	0.59	59.00	\$34.81	0.129 22 20 00
323 4th St E	RAMSEY CO., MINN. E 1/2 OF LOT 18 AND ALL OF LOT 19 BLK 5				_	\$59.00	
St Paul MN 55106-5313		*** Owner and Taxpay	er ***				
1323 4TH ST E			Total Assessm	nent:	-	\$59.00	
Ward: 7			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$59.00	
	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid	 lential Stree				34-29-22-23-0078
329 4th St E	NO. 5 ADDITION TO ST. PAUL,	Citywide Street Lighting		0.59	39.00	\$23.01	34-27-22-23-0070
t Paul MN 55106-5313	RAMSEY CO., MINN. LOT 20 BLK 5					\$39.00	
1329 4TH ST E		*** Owner and Taxpay	er ***				
Ward: 7			Total Assessm	nent:	-	\$39.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$39.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 120
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dean A Thompson	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid		0.41	38.00	\$15.58	34-29-22-23-0087
Sheri A Thompson	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 8 BLK 6	Citywide Street Lighting	g	0.59	38.00	\$22.42	
1318 4th St E					_	\$38.00	
St Paul MN 55106-5312		*** Owner and Taxpaye	er ***				
*1318 4TH ST E			Total Assessm	ent:		\$38.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$38.00	
Bethany P Rector	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid	lential Stree	0.41		<u> </u>	34-29-22-23-0089
1310 E 4th St	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 10 BLK 6	Citywide Street Lighting	g	0.59	39.00	\$23.01	
St Paul MN 55106-5312	10 10 10 10 10 10 10 10 10 10 10 10 10 1					\$39.00	
*1310 4TH ST E		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	ent:	-	\$39.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$39.00	
Javonte Fierro-Cogshell	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid	 lential Streε	0.41			34-29-22-23-0090
Tasha Fierro-Cogshell	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 11 BLK 6	Citywide Street Lighting	g	0.59	39.00	\$23.01	
1306 4th St E	KAMSET CO., MINN. EOT TI BEK 0				_	\$39.00	
St Paul MN 55106-5312		*** Owner and Taxpaye	er ***				
*1306 4TH ST E			Total Assessm	ent:	•	\$39.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$39.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 121
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Fyr Sfr Borrower Llc Co Havenbrook Homes	CHAS. A. B. WEIDE'S SUBDIVISION NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 14 BLK 6	Street Sweeping - Residence Citywide Street Lightin		0.41	39.00 39.00	\$15.99 \$23.01	34-29-22-23-0093
3505 Koger Blvd Ste 400		*** 0 1 T	***			\$39.00	
Duluth GA 30096-7672		*** Owner and Taxpay	er ***		_		
*1303 FREMONT AVE *Ward: 7			Total Assessm	nent:		\$39.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
1 Chang as 01. 6/21/2020			Current Year l	_		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$39.00	
Reyna L Perez Batres	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid	 lential Streε	0.41	39.00	\$15.99	34-29-22-23-0094
1307 Fremont Ave	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 15 BLK 6	Citywide Street Lightin	g	0.59	39.00	\$23.01	
St Paul MN 55106-5302		*** 0 1.77				\$39.00	
*1307 FREMONT AVE		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:		\$39.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$39.00	
	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resid		0.41			34-29-22-23-0099
Steve Vang	NO. 5 ADDITION TO ST. PAUL,	Citywide Street Lightin		0.59	117.00	\$69.03	21 27 22 23 0077
1345 Fremont Ave	RAMSEY CO., MINN. LOTS 22, 23 & LOT 24 BLK 6					\$117.00	
St Paul MN 55106		*** Owner and Taxpay	er ***				
*1345 FREMONT AVE			Total Assessm	nent:	-	\$117.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amou	nt:		\$117.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Michael T Solomone 1344 Fremont Ave St Paul MN 55106-5303	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION LOTS 1 AND LOT 2 BLK 15	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	98.50 74.00 98.50	\$40.39 \$8.88 \$58.12	34-29-22-23-0100
*1344 FREMONT AVE *Ward: 7		*** Owner and Taxpayer	yer ***			\$107.39	
*Pending as of: 8/21/2020		•	Total Assessme	ent:	-	\$107.39	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	iterest:		\$0.00	
			Payoff Amount	t:		\$107.39	
	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Reside	ential Stree	0.41	60.00	\$24.60	<u> </u>
57 Maria Ave	BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION E 1/2 OF LOT	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55106-6306	9 AND ALL OF LOT 8 BLK 15	Citywide Street Lighting	5	0.59	60.00	\$35.40	
*1314 FREMONT AVE					<del></del>	\$67.20	
*Ward: 7		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$67.20	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	iterest:		\$0.00	
			Payoff Amount	t:		\$67.20	
 Kristianna Koford	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Reside	ential Stree	0.41	46.00		34-29-22-23-0106
1306 Fremont Ave	BLOCKS 15 AND 16, STINSONS	Alley Sweeping		0.12	41.00	\$4.92	0.29 22 20 0100
St Paul MN 55106-5303	FRANCIS ST. ADDITION W 3 FT OF N 62 FT OF LOT 10 AND ALL OF LOT 11	Citywide Street Lighting	5	0.59	46.00	\$27.14	
*1306 FREMONT AVE	BLK 15				_	\$50.92	
*Ward: 7		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		•	Total Assessme	ent:	-	\$50.92	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amount	t:		\$50.92	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 123
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Heather Domeier Kristopher Domeier 1319 3rd St E	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION LOT 18 BLK 15	Street Sweeping - Comr Alley Sweeping Citywide Street Lighting		1.07 0.12 0.59	40.00 40.00 40.00	\$42.80 \$4.80 \$23.60	34-29-22-23-0112
St Paul MN 55106-5814 *1319 3RD ST E		*** Owner and Taxpaye	er ***		_	\$71.20	
*Ward: 7 *Pending as of: 8/21/2020			Total Assessr This Payment Current Year Current Year Payoff Amou	t: Principal: Interest:		\$71.20 \$0.00 \$0.00 \$0.00 \$71.20	
Javier V Calderon 1323 3rd St E St Paul MN 55106-5814 *1323 3RD ST E	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION LOTS 19 AND LOT 20 BLK 15	Street Sweeping - Comr Citywide Street Lighting	g	1.07 0.59	80.00 80.00	\$85.60 \$47.20 \$132.80	— — — — — — — — — — — — — — — — — — —
*Ward: 7 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$132.80 \$0.00 \$0.00 \$0.00 \$132.80	
Dawn R Ives Wayne V Ives 1333 3rd St E St Paul MN 55106-5814	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION W 1/2 OF LOT 22 AND ALL OF LOT 21 BLK 15	Street Sweeping - Comr Citywide Street Lighting	g	1.07 0.59	60.00	\$64.20 \$35.40 \$99.60	34-29-22-23-0114
*1333 3RD ST E *Ward: 7 *Pending as of: 8/21/2020		Owner and Taxpayo	Total Assessr This Payment Current Year Current Year Payoff Amou	t: Principal: Interest:		\$99.60 \$0.00 \$0.00 \$0.00 <b>\$99.60</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020SM Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 124
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Deepa A De Alwis	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Commer	rcial/Art	1.07		\$21.40	34-29-22-23-0116
1345 3rd St	BLOCKS 15 AND 16, STINSONS	Street Sweeping - Resident	tial Stree	0.41	61.50	\$25.22	
St Paul MN 55106-5814	FRANCIS ST. ADDITION E 4 FT OF LOT 23 AND ALL OF LOT 24 BLK 15	Citywide Street Lighting		0.59	81.50	\$48.09	
*1345 3RD ST E					<del></del>	\$94.71	
*Ward: 7		*** Owner and Taxpayer *	***				
*Pending as of: 8/21/2020		T	otal Assessment:			\$94.71	
		T	his Payment:			\$0.00	
		C	urrent Year Princ	cipal:		\$0.00	
		C	urrent Year Inter	rest:		\$0.00	
		P	ayoff Amount:			\$94.71	
				1.07			
Joseph P Kelly	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS	Street Sweeping - Commer		1.07 0.41	22.00 62.00	\$23.54 \$25.42	34-29-22-23-0117
Colleen R Kelly	FRANCIS ST. ADDITION E 8 FT OF LOT	Street Sweeping - Resident Alley Sweeping	uai Siret	0.41	44.00	\$5.28	
1346 3rd St E	2 AND ALL OF LOT 1 BLK 16	Citywide Street Lighting		0.12	84.00	\$49.56	
St Paul MN 55106-5816		City wide Street Eighting		0.57	==		
*1346 3RD ST E *Ward: 7		*** Owner and Taxpayer *	***			\$103.80	
*Pending as of: 8/21/2020		T	otal Assessment:		-	\$103.80	
		T	his Payment:			\$0.00	
		C	urrent Year Princ	cipal:		\$0.00	
		C	Current Year Interest:			\$0.00	
		P	ayoff Amount:			\$103.80	
	F P PRVANTS SUPPLY OF						
Kevin C Lasso	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS	Street Sweeping - Commer	rciai/Art	1.07 0.12	41.00 41.00	\$43.87 \$4.92	34-29-22-23-0118
1340 3rd St E	FRANCIS ST. ADDITION E 10 FT OF	Alley Sweeping Citywide Street Lighting		0.12	41.00	\$4.92 \$24.19	
St Paul MN 55106-5816	LOT 3 AND EX E 8 FT LOT 2 BLK 16	City wide Street Lighting		0.57	41.00		
*1340 3RD ST E		*** Owner and Taxpayer *	***			\$72.98	
*Ward: 7 *Pending as of: 8/21/2020					=	<u> </u>	
1 chang as 01. 6/21/2020			otal Assessment:	:		\$72.98	
			his Payment:			\$0.00 \$0.00	
			Current Year Principal:				
			urrent Year Inter	rest:		\$0.00	
		P	ayoff Amount:			\$72.98	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Cliserio Espinoza Palma 1336 3rd St E St Paul MN 55106-5816	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION E 12 FT OF LOT 4 AND EX E 10 FT LOT 3 BLK 16	Street Sweeping - Comm Alley Sweeping Citywide Street Lighting		1.07 0.12 0.59	42.00 42.00 42.00	\$44.94 \$5.04 \$24.78	34-29-22-23-0119
*1336 3RD ST E *Ward: 7	201.11.02.21.21.01.201.302.11	*** Owner and Taxpaye	ayer ***			\$74.76	
*Pending as of: 8/21/2020			Total Assessm	ent:		\$74.76	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$74.76	
	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Comm	ercial/Art	1.07			<u>34-29-22-23-0120</u>
Jeanne M Hess	BLOCKS 15 AND 16, STINSONS	Alley Sweeping		0.12	42.00	\$5.04	
1332 3rd St E	FRANCIS ST. ADDITION E 14 FT OF LOT 5 AND EX E 12 FT LOT 4 BLK 16	Citywide Street Lighting	ţ	0.59	42.00	\$24.78	
St Paul MN 55106-5816					_	\$74.76	
*1332 3RD ST E		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessm	ent:		\$74.76	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$74.76	
	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Comm	nercial/Art	1.07	40.00		<u>34-29-22-23-0124</u>
Gregory V Harris	BLOCKS 15 AND 16, STINSONS	Alley Sweeping		0.12	40.00	\$4.80	0.27220012.
1314 3rd St E	FRANCIS ST. ADDITION W 1/2 OF LOT 8 AND E 1/2 OF LOT 9 BLK 16	Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55106-5816	0.11.15 2 1.12 01 20 1 7 BER 10					\$71.20	
*1314 3RD ST E		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessm	ent:	-	\$71.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	` /	Project: 2020SM Resolution #:	ISP	Assmt: 200025	Manager: LM	Page 126
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Robert Douglas Dott	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Commen	ercial/Art	1.07	40.00	\$42.80	34-29-22-23-0125
1310 3rd St E	BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION W 1/2 OF LOT	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-5816	9 AND E 1/2 OF LOT 10 BLK 16	Citywide Street Lighting		0.59	40.00	\$23.60	
*1310 3RD ST E *Ward: 7		*** Owner and Taxpayer *	***			\$71.20	
*Pending as of: 8/21/2020			Total Assessment:		-	\$71.20	
			This Payment:			\$0.00	
			Current Year Princ	cipal:		\$0.00	
		C	Current Year Intere	est:		\$0.00	
		P	Payoff Amount:			\$71.20	
Mari A Graham	E. R. BRYANTS SUBDIVISION OF BLOCKS 15 AND 16, STINSONS	Street Sweeping - Commer Street Sweeping - Resident		1.07 0.41	25.00 62.00	\$26.75 \$25.42	34-29-22-23-0127
1300 3rd St E	FRANCIS ST. ADDITION W 16 FT OF	Alley Sweeping	iliai Silet	0.41	50.00	\$6.00	
St Paul MN 55106-5816	LOT 11 AND ALL LOT 12 BLK 16	Citywide Street Lighting		0.59	87.00	\$51.33	
*1300 3RD ST E *Ward: 7		, ,			_	\$109.50	
*Pending as of: 8/21/2020		*** Owner and Taxpayer *	***			\$107.50	
		Total Assessment: \$10					
		T	This Payment:	\$0.00			
			Current Year Princ			\$0.00 \$0.00	
		Current Year Int					
		P	Payoff Amount:			\$109.50	
Charles Crotty Family Lp	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Resident	ıtial Stree	0.41			<u> </u>
14479 34th St N	BLOCKS 15 AND 16, STINSONS	Alley Sweeping		0.12	92.00	\$11.04	34-27-22-23-0120
Stillwater MN 55082-1341	FRANCIS ST. ADDITION BLKS 15 AND 16 W 18 FT OF LOT 15 & ALL OF LOTS	Citywide Street Lighting		0.59	216.00	\$127.44	
*1305 CONWAY ST	13 & LOT 14 BLK 16				<del></del>	\$227.04	
*Ward: 7		*** Owner and Taxpayer *	***				
*Pending as of: 8/21/2020		T	Cotal Assessment:		-	\$227.04	
		T	This Payment:			\$0.00	
		C	Current Year Princ	cipal:		\$0.00	
			Current Year Interest:				
		P	Payoff Amount:			\$227.04	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Charles Crotty Family Lp	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Reside	ential Stree	0.41	91.00	\$37.31	34-29-22-23-0129
14479 34th St N	BLOCKS 15 AND 16, STINSONS FRANCIS ST. ADDITION EX W 18 FT;	Alley Sweeping		0.12	91.00	\$10.92	
Stillwater MN 55082-1341	LOT 15 & W 29 FT OF LOT 17 & ALL OF	Citywide Street Lighting	5	0.59	91.00	\$53.69	
*1311 CONWAY ST *Ward: 7	LOT 16 BLK 16	*** Owner and Taxpaye	r ***			\$101.92	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$101.92	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$101.92	
	E. R. BRYANTS SUBDIVISION OF	Street Sweeping - Reside	ential Stree	0.41	91.00	<del></del>	<u> </u>
14479 34th St N	BLOCKS 15 AND 16, STINSONS	Alley Sweeping		0.12	91.00	\$10.92	34-27-22-23-0130
Stillwater MN 55082-1341	FRANCIS ST. ADDITION BLKS 15 AND 16 EX W 29 FT; LOT 17 & ALL OF LOTS	Citywide Street Lighting	Ţ	0.59	91.00	\$53.69	
*1319 CONWAY ST	18 & LOT 19 BLK 16				_	\$101.92	
*Ward: 7		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020			Total Assessme	ent:		\$101.92	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$101.92	
	E. R. BRYANTS SUBDIVISION OF		ential Stree	0.41		<del></del>	34-29-22-23-0131
14479 34th St N	BLOCKS 15 AND 16, STINSONS	Alley Sweeping		0.12	100.00	\$12.00	34-27-22-23-0131
Stillwater MN 55082-1341	FRANCIS ST. ADDITION W 1/2 OF LOT 22 AND ALL OF LOTS 2O AND LOT 21	Citywide Street Lighting	;	0.59	100.00	\$59.00	
*1329 CONWAY ST	BLK 16				_	\$112.00	
*Ward: 7		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessment: This Payment:			\$112.00	
						\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$112.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 128
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Ted Ries	CHAS. A. B. WEIDE'S SUBDIVISION	Street Sweeping - Resi	idential Stree	0.41	39.00	\$15.99	34-29-22-23-0136
8124 Clifford Cir	NO. 5 ADDITION TO ST. PAUL, RAMSEY CO., MINN. LOT 6 BLK 6	Citywide Street Lightin	ng	0.59	39.00	\$23.01	
Inver Grove Heights MN 55076-4571	,					\$39.00	
*1326 4TH ST E		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assessi	ment:		\$39.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$39.00	
	CONDOMINIUM NUMBER 246	Street Sweeping - Con	 nmercial/Art				34-29-22-23-0138
500 Etna St #101	CARRIAGE CROSSINGS TWO CONDOMINIUMS UNIT NO 1 &	Citywide Street Lightin	ng	0.59	11.50	\$6.79	0 1 21 22 20 1000
St Paul MN 55106-5842	GARAGE UNIT NO G-1				_	\$19.10	
*500 ETNA ST 101		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assessi	ment:	-	\$19.10	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$19.10	
	CONDOMINIUM NUMBER 246	Street Sweeping - Com	mmercial/Art				— — — — — — — — — — — — — — — — — — —
500 Etna St Unit 103	CARRIAGE CROSSINGS TWO	Citywide Street Lightin		0.59	11.50	\$6.79	34-27-22-23-0142
St Paul MN 55106-5842	CONDOMINIUMS UNIT NO 5 & GARAGE UNIT NO G-5				_	\$19.10	
*500 ETNA ST 103		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assessi	ment:		\$19.10	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amou	unt:		\$19.10	

10:02:50 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt)  Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 12
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Susan L Gordley	CONDOMINIUM NUMBER 246	Street Sweeping - Cor	nmercial/Art	1.07	11.50	\$12.31	34-29-22-23-0148
498 Etna St Unit 11	CARRIAGE CROSSINGS TWO CONDOMINIUMS UNIT NO 11 &	Citywide Street Lighti	ing	0.59	11.50	\$6.79	
St Paul MN 55106-5841	GARAGE UNIT G-11				_	\$19.10	
*498 ETNA ST 11		*** Owner and Taxpa	ıyer ***				
*Ward: 7			Total Assess	ment:		\$19.10	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$19.10	
Rosanne M Contreras	CONDOMINIUM NUMBER 246	 Street Sweeping - Cor	mmercial/Art			<del></del>	<u> </u>
498 Etna St Unit 103	CARRIAGE CROSSINGS TWO	Citywide Street Lighti		0.59	11.50	\$6.79	34-2 <i>)</i> -22-23-0132
St Paul MN 55106-5841	CONDOMINIUMS UNIT NO 15 & GARAGE UNIT G-15				=	\$19.10	
*498 ETNA ST 103		*** Owner and Taxpa	ıyer ***				
*Ward: 7			Total Assess	ment:		\$19.10	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$19.10	
	CONDOMINIUM NUMBER 246	Street Sweeping - Cor	— — — - nmercial/Art				
476 Etna St # 103	CARRIAGE CROSSINGS TWO	Citywide Street Lighti		0.59	11.50	\$6.79	34-27-22-23-0102
St Paul MN 55106-5840	CONDOMINIUMS UNIT NO 25 & GARAGE UNIT G-25				=	\$19.10	
*476 ETNA ST 103	GHAIGE CIVIT G 25	*** Owner and Taxpa	ıyer ***			Ψ17.10	
*Ward: 7			Total Assess	ment:		\$19.10	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$19.10	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 130
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Susan L Gordley	CONDOMINIUM NUMBER 246	Street Sweeping - Com	mercial/Art	1.07	11.50	\$12.31	34-29-22-23-0166
476 Etna St Unit 105	CARRIAGE CROSSINGS TWO CONDOMINIUMS UNIT NO 29 &	Citywide Street Lightin	ng	0.59	11.50	\$6.79	
St Paul MN 55106-5840	GARAGE UNIT G-29					\$19.10	
*476 ETNA ST 29		*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessm	nent:		\$19.10	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$19.10	
	SMITH'S SUBDIVISION OF BLOCK 14,		 nmercial/Art				34-29-22-23-0206
1373 3rd St E	STINSON'S FRANCES ST. ADDITION	Citywide Street Lightin	ng	0.59	45.00	\$26.55	0.129 22 20 0200
St Paul MN 55106-5815	TO SAINT PAUL, RAMSEY CO., MINN. SUBJ TO ST & EX W 5 FT; LOT 19 & THE				_	\$74.70	
*1373 3RD ST E	W 10 FT OF LOT 20 BLK 14	*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessm	nent:	-	\$74.70	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$74.70	
	SMITH'S SUBDIVISION OF BLOCK 14,	Street Sweeping - Com					<u> </u>
1369 3rd St E	STINSON'S FRANCES ST. ADDITION	Citywide Street Lightin		0.59	45.00	\$26.55	34-27-22-23-0207
St Paul MN 55106-5815	TO SAINT PAUL, RAMSEY CO., MINN. SUBJ TO ST; LOT 18 & THE W 5 FT OF				_	\$74.70	
*1369 3RD ST E	LOT 19 BLK 14	*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessm	nent:		\$74.70	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$74.70	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 13
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
City Of St Paul 25 4th St W Rm 1000	STINSON'S FRANCES STREET ADDITION TO ST. PAUL, RAMSEY CO., MINN. SUBJ TO AVE BLK. 8	Street Sweeping - Resid		0.41	202.00 202.00	\$82.82 \$119.18	34-29-22-24-0003 ***EXEMPT***
St Paul MN 55102-1692	MININ SOLD TO TIVE BEIN 0					\$202.00	
*0 FREMONT AVE		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	ent:		\$202.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$202.00	
Preston Steinke	STINSON'S FRANCES STREET		 lential Streε	0.41			<u> </u>
Alaina Steinke	ADDITION TO ST. PAUL, RAMSEY CO.,	Citywide Street Lighting	g	0.59	104.50	\$61.66	0.2, 22 2. 000.
537 Hazelwood St	MINN. E 80 FT OF N 129 FT OF BLK 11				_	\$104.51	
St Paul MN 55106-5424		*** Owner and Taxpaye	er ***				
*537 HAZELWOOD ST			Total Assessm	ent:	-	\$104.51	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$104.51	
	MORAVEC ADDITION NO. 2 W 5 FT OF	Street Sweeping - Resid	— — — — lential Stree				
Indira Suri	LOT 4 AND EX W 5 FT LOT 5 BLK 3	Citywide Street Lighting		0.59	55.00	\$32.45	34-47-44-44-UUUY
1504 Fremont Ave			=			\$55.00	
St Paul MN 55106-5420		*** Owner and Taxpaye	er ***			Ψ33.00	
*1504 FREMONT AVE			Total Assessm	ent:		\$55.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amour	nt:		\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Tua Xiong	MORAVEC ADDITION NO. 2 LOT 7	Street Sweeping - Resi		0.41	87.00	\$35.68	34-29-22-24-0011
1492 Fremont Ave	BLK 3	Citywide Street Lighti	ng	0.59	87.00	\$51.34	
St Paul MN 55106-5420						\$87.02	
*1492 FREMONT AVE		*** Owner and Taxpa	yer ***		_		
Ward: 7			Total Assess	ment:		\$87.02	
Pending as of: 8/21/2020			This Paymen	it:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$87.02	
 Mai Neng Vang	MORAVEC ADDITION NO. 2 LOT 8	Street Sweeping - Con	mercial/Art				<u> </u>
1491 3rd St E	BLK 3	Street Sweeping - Resi		0.41	59.00	\$24.19	012) 22 21 0012
St Paul MN 55106-5437		Citywide Street Lighti	ng	0.59	84.00	\$49.56	
41491 3RD ST E					_	\$100.50	
*Ward: 7		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020		Total Assessment:				\$100.50	
			This Payment:				
			Current Year	Principal:		\$0.00	
		Current Year Interest:				\$0.00	
			Payoff Amo	unt:		\$100.50	
	MORAVEC ADDITION NO. 2 LOT 10	Street Sweeping - Con	mmercial/Art	1.07			
Naw Gay	BLK 3	Citywide Street Lighti		0.59	52.00	\$30.68	34-27-22-24-0014
499 3rd St E					_	\$86.32	
St Paul MN 55106-5437		*** Owner and Taxpa	yer ***			4.0.0	
*1499 3RD ST E			Total Assess	ment:	_	\$86.32	
*Ward: 7			This Paymen	ıt:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$86.32	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Leiwei Vang	MORAVEC ADDITION NO. 2 LOT 11	Street Sweeping - Comm		1.07	52.00	\$55.64	34-29-22-24-0015
1505 3rd St E	BLK 3	Citywide Street Lighting	3	0.59	52.00	\$30.68	
St Paul MN 55106-5437						\$86.32	
*1505 3RD ST E		*** Owner and Taxpaye	er *** 				
*Ward: 7			Total Assessm	nent:		\$86.32	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$86.32	
	MORAVEC ADDITION NO. 2 LOT 15	Street Sweeping - Comm	nercial/Art			\$55.64	34-29-22-24-0019
Renee Moore	BLK 3	Citywide Street Lighting	3	0.59	52.00	\$30.68	
1529 3rd St E						\$86.32	
St Paul MN 55106-5437		*** Owner and Taxpaye	er ***				
*1529 3RD ST E			Total Assessm	nent:		\$86.32	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$86.32	
	EASTVIEW ADDITION E 12 FT OF LOT	Street Sweeping - Reside	ential Stree				
Rosario Delatorre Salinas	3 AND ALL OF LOT 2 BLK 1	Citywide Street Lighting		0.59	70.00	\$41.30	JT-2 <i>J-</i> 22 <b>-27-</b> UU22
1480 Fremont Ave					_	\$70.00	
St Paul MN 55105-5419		*** Owner and Taxpaye	er ***			4	
*1480 FREMONT AVE			Total Assessm	nent:		\$70.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$70.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 134
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Cha F Yang	EASTVIEW ADDITION EX E 24 FT LOT	Street Sweeping - Resid		0.41	53.00	\$21.73	34-29-22-24-0024
Lor Yang	4 AND E 19 FT OF LOT 5 BLK 1	Citywide Street Lightin	ıg	0.59	53.00	\$31.27	
665 Arlo Ln		****	als als als			\$53.00	
Circle Pines MN 55014-5506		*** Owner and Taxpay	er ***				
*1468 FREMONT AVE			Total Assess	sment:		\$53.00	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$53.00	
	EASTVIEW ADDITION EX E 19 FT LOT	Street Sweeping - Resid	lential Streε			\$21.32	34-29-22-24-0025
1462 Fremont Ave	5 AND E 14 FT OF LOT 6 BLK 1	Citywide Street Lightin	g	0.59	52.00	\$30.68	
St Paul MN 55106-5419					_	\$52.00	
*1462 FREMONT AVE		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	sment:	-	\$52.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$52.00	
Wilmington Savings Fund Society Fsb Tr	EASTVIEW ADDITION LOT 11 BLK 1	Street Sweeping - Com	— — — - mercial/Art				
Co Pretium Mrt Credit Management		Citywide Street Lightin		0.59	58.00	\$34.22	34-27-22-24-0031
120 S 6th St Ste 2100					=	\$96.28	
Minneapolis MN 55402-1823		*** Owner and Taxpay	er ***				
*1457 3RD ST E			Total Assess	ment:	-	\$96.28	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amo	unt:		\$96.28	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	EASTVIEW ADDITION E 56 FT OF LOT	Street Sweeping - Resid		0.41	93.50	\$38.34	34-29-22-24-0036
1440 Fremont Ave	1 BLK 2	Citywide Street Lightin	g	0.59	93.50	\$55.17	
St Paul MN 55106-5306						\$93.51	
*1440 FREMONT AVE		*** Owner and Taxpay	er ***				
Ward: 7			Total Assessm	nent:		\$93.51	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$93.51	
	EASTVIEW ADDITION SUBJ TO	Street Sweeping - Resid	 lential Streε		<u> </u>		
Vu Yang	AVE;THE W 65 FT OF E 121 FT OF LOT 1 BLK 2	Citywide Street Lightin	g	0.59	72.00	\$42.48	
436 Fremont St	I BLK 2					\$72.00	
St Paul MN 55106-5306		*** Owner and Taxpay	er ***				
1436 FREMONT AVE			Total Assessm	nent:		\$72.00	
Ward: 7			This Payment	:		\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$72.00	
	EASTVIEW ADDITION SUBJ TO AVE;	Street Sweeping - Resid					
Nou Xiong	W 72.97 FT OF E 193.97 FT OF LOT 1	Citywide Street Lightin		0.59	71.00	\$41.89	34-27-22-24-0030
430 Fremont Ave	BLK 2				_	\$71.00	
t Paul MN 55106-5306		*** Owner and Taxpay	er ***			4	
*1430 FREMONT AVE			Total Assessm	nent:		\$71.00	
Ward: 7			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$71.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 136
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Jennifer Kue 1439 3rd St E St Paul MN 55106	EASTVIEW ADDITION E 75 FT OF LOT 2 BLK 2	Street Sweeping - Comm Street Sweeping - Resid Citywide Street Lighting	lential Stree	1.07 0.41 0.59	37.50 63.50 101.00	\$40.13 \$26.04 \$59.60	34-29-22-24-0042
*1439 3RD ST E *Ward: 7		*** Owner and Taxpaye	er ***		_	\$125.77	
*Pending as of: 8/21/2020			Total Assessi This Paymen Current Year Current Year	t: Principal: Interest:		\$125.77 \$0.00 \$0.00 \$0.00	
			Payoff Amou			\$125.77 	
Chong Thoa 17 Linder Ct St Paul MN 55106-5916	WILLARD LINDER, ADDITION NO. 2 PART OF LOT 3 SELY OF A L BEG AT RADIUS PT OF LINDER COURT TURN	Street Sweeping - Resid Citywide Street Lighting		0.41 0.59	40.00 40.00	\$16.40 \$23.60 \$40.00	34-29-22-24-0044
*17 LINDER CT	AROUND TH NELY TO E L OF AND 51 FT N OF SE COR OF SD LOT AND EX SLY 20 FT LOT 2 BLK 3	*** Owner and Taxpaye	er ***			\$40.00	
*Ward: 7 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$40.00 \$0.00 \$0.00 \$0.00 \$40.00	
Fong Yang Mai A Lee 5 Linder Ct St Paul MN 55106-5916 *5 LINDER CT	WILLARD LINDER, ADDITION NO. 2 PART SWLY OF A L BEG AT CENTER PT OF LINDER CT TURN AROUND TH NWLY TO N L OF AND 33 22/100 FT FROM NE COR OF LOT 5 OF LOT 5 BLK 3	Street Sweeping - Comm Street Sweeping - Resid Citywide Street Lighting	lential Stree	1.07 0.41 0.59	54.00 16.50 70.50	\$57.78 \$6.77 \$41.60 \$106.15	34-29-22-24-0047
*Ward: 7 *Pending as of: 8/21/2020			Total Assessi This Paymen Current Year Current Year Payoff Amou	t: Principal: Interest:		\$106.15 \$0.00 \$0.00 \$0.00 \$106.15	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 137
Owner or Taxpayer	Property Description	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
William Whiteis Angela Whiteis	WILLARD LINDER, ADDITION NO. 2 EX N 15 FT LOT 11 BLK 3	Street Sweeping - Residence Citywide Street Lighting		0.41	87.00 87.00	\$35.67 \$51.33	34-29-22-24-0051
484 Barclay St St Paul MN 55106-5806		*** Owner and Taxpaye	er ***			\$87.00	
*484 BARCLAY ST			Total Assessm	nent:		\$87.00	
*Ward: 7 *Pending as of: 8/21/2020			This Payment			\$0.00	
"Pending as of: 8/21/2020			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$87.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Reside	ential Stree	0.41		\$24.19	34-29-22-24-0054
Jack A Deflorin	N 5 FT OF LOT 9 AND ALL OF LOT 8 BLK 3	Citywide Street Lighting	g	0.59	59.00	\$34.81	
504 Barclay St	DLK 3					\$59.00	
St Paul MN 55106-5806		*** Owner and Taxpaye	er ***				
*504 BARCLAY ST			Total Assessm	nent:		\$59.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$59.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Comn	 mercial/Art		——————————————————————————————————————		
510 Barclay St	LOT 7 BLK 3	Street Sweeping - Reside	ential Stree	0.41	31.00	\$12.71	0.129 22 21 0000
St Paul MN 55106-5806		Citywide Street Lighting	g	0.59	105.00	\$61.95	
*510 BARCLAY ST						\$153.84	
*Ward: 7		*** Owner and Taxpaye	er *** 				
*Pending as of: 8/21/2020			Total Assessm			\$153.84	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$153.84	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 138
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Meng Vang	EASTVIEW ADDITION NO. 2 E 1/2 OF LOT 2 AND ALL OF LOT 1 BLK 3	Street Sweeping - Comm Street Sweeping - Resid		1.07	43.50 65.00	\$46.55 \$26.65	34-29-22-24-0056
1486 3rd St E St Paul MN 55106-5829		Citywide Street Lighting		0.59	108.50	\$64.02	
*1486 3RD ST E					_	\$137.22	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$137.22	
			This Paymer			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$137.22	
	EASTVIEW ADDITION NO. 2 E 1/2 OF	Street Sweeping - Comn	nercial/Art			<u>\$62.06</u>	<u> </u>
Tamara L Rodriguez	LOT 3 AND W 1/2 OF LOT 2 BLK 3	Citywide Street Lighting		0.59	58.00	\$34.22	34-27-22-24-0037
1478 3rd St E					_	\$96.28	
St Paul MN 55106-5829		*** Owner and Taxpaye	er ***				
*1478 3RD ST E			Total Assess	ment:		\$96.28	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$96.28	
	EASTVIEW ADDITION NO. 2 E 29 FT	Street Sweeping - Comn	nercial/Art			<u>\$62.06</u>	34-29-22-24-0058
Justin Grandstaff	OF LOT 4 AND W 1/2 OF LOT 3 BLK	Citywide Street Lighting		0.59	58.00	\$34.22	34-27-22-24-0030
1472 3rd St E	3				_	\$96.28	
St Paul MN 55106-5829		*** Owner and Taxpaye	er ***				
*1472 3RD ST E			Total Assess	ment:	-	\$96.28	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$96.28	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 139
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Shoua Xiong	EASTVIEW ADDITION NO. 2 LOT 7	Street Sweeping - Comm	nercial/Art	1.07	58.00	\$62.06	34-29-22-24-0061
1450 3rd St E	BLK 3	Citywide Street Lighting	5	0.59	58.00	\$34.22	
St Paul MN 55106-5829						\$96.28	
*1450 3RD ST E		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessn	nent:		\$96.28	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$96.28	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Comm	nercial/Art				
486 Birmingham St	LOT 8 BLK 4	Street Sweeping - Reside		0.41	28.00	\$11.48	34-27-22-24-0003
St Paul MN 55106-5809		Citywide Street Lighting	5	0.59	92.50	\$54.58	
*486 BIRMINGHAM ST					_	\$135.08	
*Ward: 7		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$135.08	
			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$135.08	
Antiwone Gibson	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Reside	ential Stree				
1451 Conway St	LOT 7 BLK 4	Citywide Street Lighting		0.59	57.00	\$33.63	34-27-22-24-0004
St Paul MN 55106-5810					_	\$57.00	
*1451 CONWAY ST		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessn	nent:	-	\$57.00	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$57.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 140
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Yao Hui Zhu	WILLARD LINDER, ADDITION NO. 2 LOT 2 BLK 4	Street Sweeping - Resid		0.41	57.00	\$23.37	34-29-22-24-0069
Caifeng Huang	LOI 2 BLK 4	Citywide Street Lightin	ıg	0.59	57.00	\$33.63	
1481 Conway St St Paul MN 55106-5810		*** Owner and Taxpay	***			\$57.00	
*1481 CONWAY ST		· · · Owner and Taxpay					
*Ward: 7			Total Assess			\$57.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
1 chang as 61. 6/21/2020			Current Yea	-		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$57.00	
Alfredo Perez	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Com	mercial/Art			\$58.85	34-29-22-24-0072
Luisa Perez	SUBJ TO ALLEY LOT 2 BLK 5	Alley Sweeping		0.12	55.00	\$6.60	
501 Birmingham St		Citywide Street Lightin	ıg	0.59	55.00	\$32.45	
St Paul MN 55106-5807						\$97.90	
*501 BIRMINGHAM ST		*** Owner and Taxpay	er ***		_		
*Ward: 7			Total Assess	sment:		\$97.90	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	-		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$97.90	
	WILLARD LINDER, ADDITION NO. 2		mercial/Art				<u> </u>
495 Birmingham St	SUBJ TO ALLEY AND EX S 1 FT LOT 3	Alley Sweeping		0.12	51.00	\$6.12	34-27-22-24-0073
St Paul MN 55106-5807	BLK 5	Citywide Street Lightin	ıg	0.59	51.00	\$30.09	
*495 BIRMINGHAM ST						\$90.78	
*Ward: 7		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	sment:		\$90.78	
			This Paymer	nt:		\$0.00	
			Current Yea	•		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$90.78	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 141
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Housing And Redev Authority	EASTVIEW ADDITION EX E 156 FT;	Street Sweeping - Comr		1.07	78.00	\$83.46	34-29-22-24-0077
25 4th St W 12th Flr	LOT 2 BLK 2	Citywide Street Lighting	g	0.59	78.00	\$46.02	
St Paul MN 55102-1634						\$129.48	
*1431 3RD ST E		*** Owner and Taxpayo	er ***				
*Ward: 7			Total Assessme	ent:		\$129.48	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$129.48	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resid	lential Streε	0.41			<u> </u>
1495 Conway St	EX ELY 15 FT LOT 12 BLK 3	Citywide Street Lighting		0.59	117.00	\$69.04	21 27 22 31 0001
St Paul MN 55106-5810					=	\$117.02	
*1495 CONWAY ST		*** Owner and Taxpaye	er ***			•	
*Ward: 7			Total Assessme	ent:		\$117.02	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$117.02	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resid	— — — — lential Stree				<u> </u>
1532 Conway St	N 20 FT OF E 82 66/100 FT OF LOT 20	Citywide Street Lighting		0.59	40.50	\$23.90	34-29-22-31-0005
St Paul MN 55106-5902	ELY 2 5/10 FT MEASURED ON NWLY AND SELY LINES OF LOT 3 AND ALL	, .	C		=	\$40.51	
*1523 CONWAY ST	OF LOT 2 BLK 7	*** Owner and Taxpaye	er ***			\$40.51	
*Ward: 7			Total Assessme	ent:		\$40.51	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	t:		\$40.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 14
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Sunlight Home Improvement Group Llc	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Reside		0.41	55.00	\$22.55	34-29-22-31-0008
3007 Valento Ln	LOT 5 BLK 7	Citywide Street Lighting	g	0.59	55.00	\$32.45	
Little Canada MN 55117-1273						\$55.00	
*1510 CONWAY ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	ent:		\$55.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$55.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1506 Conway St	LOT 6 BLK 7	Citywide Street Lighting		0.59	55.00	\$32.45	34-27-22-31-0007
St Paul MN 55106-5902					_	\$55.00	
*1506 CONWAY ST		*** Owner and Taxpaye	er ***			******	
*Ward: 7			Total Assessm	ent:	-	\$55.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$55.00	
Ayarie A Songyoung	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Reside	 ential Streε				
421 Nebraska Ave E	LOT 10 BLK 7	Citywide Street Lighting		0.59	60.00	\$35.40	34-29-22-31-0013
St Paul MN 55130-3226		,				\$60.00	
*1507 WILSON AVE		*** Owner and Taxpaye	er ***			ψου.σσ	
*Ward: 7			Total Assessme	ent:	-	\$60.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Gabriel A Colon Gracia	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Res	sidential Stree	0.41	60.00	\$24.60	34-29-22-31-0014
Yesenia M Rodriguez Santiago	LOT 11 BLK 7	Citywide Street Light	ing	0.59	60.00	\$35.40	
1511 Wilson Ave					<del></del>	\$60.00	
st Paul MN 55106-5917		*** Owner and Taxpa	ayer ***				
1511 WILSON AVE			Total Assess	ment:	-	\$60.00	
Ward: 7			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$60.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Res	idential Stree		70.00		
525 Wilson Ave	NWLY 1 FT OF LOT 14 AND ALL OF	Citywide Street Light		0.59	70.00	\$41.30	34-27-22-31-0010
t Paul MN 55106-5917	LOT 13 BLK 7					\$70.00	
1525 WILSON AVE		*** Owner and Taxpa	ayer ***				
Ward: 7			Total Assess	ment:	-	\$70.00	
Pending as of: 8/21/2020		This Payment:				\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$70.00	
 Sandy Yang	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Res	sidential Stree		<u> </u>		
rue Her	NWLY 6 5/10 FT OF LOT 15 AND EX	Citywide Street Light		0.59	67.00	\$39.53	34-27-22-31-001/
531 Wilson Ave	NWLY 1 FT LOT 14 BLK 7				_	\$67.00	
t Paul MN 55106-5917		*** Owner and Taxpa	ayer ***			Ţ37.00	
1531 WILSON AVE			Total Assess	mant:		\$67.00	
Ward: 7			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amo			\$67.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 14
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> :	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
David Heitzman	WILLARD LINDER, ADDITION NO. 2 EX NWLY 6 5/10 FT LOT 15 BLK 7	Street Sweeping - Residen	ntial Stree	0.41	58.00	\$23.78	34-29-22-31-0018
1535 Wilson Ave	EXIMET US/TOTT EOF IS BEK	Citywide Street Lighting		0.59	58.00	\$34.22	
St Paul MN 55106-5917 *1535 WILSON AVE		*** Owner and Taxpayer	***			\$58.00	
*Ward: 7		· · -					
*Pending as of: 8/21/2020			Γotal Assessmen	ıt:		\$58.00	
7 chang as on 0,21,2020			This Payment:			\$0.00	
			Current Year Prin	-		\$0.00	
			Current Year Inte			\$0.00	
		r	Payoff Amount:	•		\$58.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Residen	ntial Stree	0.41	62.00	\$25.42	
Lorena Cervantes	LOT 16 BLK 7	Citywide Street Lighting		0.59	62.00	\$36.58	
1539 Wilson Ave						\$62.00	
St Paul MN 55106-5917		*** Owner and Taxpayer	***				
*1539 WILSON AVE		T	Гotal Assessmen	ıt:		\$62.00	
*Ward: 7		T	This Payment:			\$0.00	
*Pending as of: 8/21/2020		C	Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:	1		\$62.00	
J And M Boston Properties Llc	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Residen	ntial Stree	———— 0.41			——————————————————————————————————————
46 Summit Farm Ln	LOT 19 BLK 7	Citywide Street Lighting		0.59	70.00	\$41.30	34-27-22-31-0022
St Paul MN 55110-5229					<del></del>	\$70.00	
*451 HAZELWOOD ST		*** Owner and Taxpayer	***				
*Ward: 7		<del>-</del> Т	Γotal Assessmen	nt:	-	\$70.00	
*Pending as of: 8/21/2020		Т	Γhis Payment:			\$0.00	
			Current Year Pri	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:	:		\$70.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 145
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Patrick J Madigan Barbara J Madigan	WILLARD LINDER, ADDITION NO. 2 EX N 20 FT OF E 82 66/100 FT LOT 20 BLK 7	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	85.00 85.00	\$34.85 \$50.15	34-29-22-31-0023
711 N Oak Dr	BLK /					\$85.00	
St Paul MN 55127-7960		*** Owner and Taxpaye	r ***				
*457 HAZELWOOD ST *Ward: 7			Total Assessm	nent:		\$85.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
Feliding as 01. 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$85.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Reside	ential Stree				34-29-22-31-0026
Isaac Hernandez	LOT 3 BLK 6	Citywide Street Lighting		0.59	55.00	\$32.45	34-27-22-31-0020
1474 Conway St					=	\$55.00	
St Paul MN 55106-5811		*** Owner and Taxpaye	r ***				
*1474 CONWAY ST			Total Assessm	nent:		\$55.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$55.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Comm	ercial/Art			<del></del>	<u> </u>
1446 Conway St	LOT 8 BLK 6	Street Sweeping - Reside		0.41	29.50	\$12.10	012/22 01 0001
St Paul MN 55106-5811		Citywide Street Lighting	5	0.59	95.00	\$56.06	
*1446 CONWAY ST					<u>==</u>	\$138.25	
*Ward: 7		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$138.25	
			This Payment	:		\$0.00	
		Current Year Principal:				\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$138.25	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 146
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Casey Cheng 1445 Wilson Ave St Paul MN 55106-5812	WILLARD LINDER, ADDITION NO. 2 LOT 9 BLK 6	Street Sweeping - Comm Street Sweeping - Resid Citywide Street Lighting	ential Stree	1.07 0.41 0.59	65.50 27.50 93.00	\$70.09 \$11.28 \$54.88	34-29-22-31-0032
<b>*1445 WILSON AVE</b> *Ward: 7		*** Owner and Taxpaye	er ***		_	\$136.25	
*Pending as of: 8/21/2020			Total Assess This Paymer Current Year Current Year Payoff Amo	nt: r Principal: r Interest:		\$136.25 \$0.00 \$0.00 \$0.00 \$136.25	
Rosalie Agpalo Mora 1467 Wilson Ave St Paul MN 55106-5812 *1467 WILSON AVE	WILLARD LINDER, ADDITION NO. 2 LOT 13 BLK 6	Street Sweeping - Resid Citywide Street Lighting *** Owner and Taxpaye	9	0.41 0.59	55.00 55.00	\$22.55 \$32.45 \$55.00	34-29-22-31-0036
*Ward: 7 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$55.00 \$0.00 \$0.00 \$0.00 \$55.00	
Kevin Branville Dorothy Branville 455 Barclay St St Paul MN 55106-5803	WILLARD LINDER, ADDITION NO. 2 LOT 16 BLK 6	Street Sweeping - Resid Citywide Street Lighting *** Owner and Taxpaye	9	0.41 0.59	92.50 92.50 92.50	\$37.93 \$54.58 \$92.51	34-29-22-31-0039
*455 BARCLAY ST *Ward: 7 *Pending as of: 8/21/2020		очны ана гахраус	Total Assess This Paymer Current Year Current Year Payoff Amo	nt: r Principal: r Interest:		\$92.51 \$0.00 \$0.00 \$0.00 \$92.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 14'
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Carol M Luedtke	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Commo	ercial/Art	1.07	55.00	\$58.85	34-29-22-31-0043
465 Birmingham St	SUBJ TO ALLEY LOT 9 BLK 5	Alley Sweeping		0.12	55.00	\$6.60	
St Paul MN 55106-5807		Citywide Street Lighting		0.59	55.00	\$32.45	
*465 BIRMINGHAM ST *Ward: 7		*** Owner and Taxpayer	er and Taxnaver ***			\$97.90	
*Pending as of: 8/21/2020			Total Assessmer	nt:		\$97.90	
		7	This Payment:			\$0.00	
		(	Current Year Pri	incipal:	\$0.00		
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$97.90	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Commo	ercial/Art	1.07			<u> </u>
Kathryn M Ghiloni	SUBJ TO ALLEY LOT 10 BLK 5	Alley Sweeping		0.12	55.00	\$6.60	3 <del>1-2</del> )-22-31-00 <del>11</del>
459 Birmingham St		Citywide Street Lighting		0.59	55.00	\$32.45	
St Paul MN 55106-5807						\$97.90	
*459 BIRMINGHAM ST		*** Owner and Taxpayer	***				
*Ward: 7		7	Total Assessmer	nt:		\$97.90	
*Pending as of: 8/21/2020		1	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$97.90	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Commo	ercial/Art	——————————————————————————————————————		<u></u>	<u> </u>
Matthew T Miller	SUBJ TO ALLEY LOT 14 BLK 5	Alley Sweeping		0.12	55.00	\$6.60	34-27-22-31-0040
437 Birmingham St		Citywide Street Lighting		0.59	55.00	\$32.45	
St Paul MN 55106-5807					=	\$97.90	
*437 BIRMINGHAM ST		*** Owner and Taxpayer	***			*****	
*Ward: 7			Total Assessmer	nt:		\$97.90	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	-		\$0.00	
			Current Year Int			\$0.00	
		1	Payoff Amount	:		\$97.90	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 14
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Savin Mao	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Com	mercial/Art	1.07	54.00	\$57.78	34-29-22-31-0049
431 Birmingham St	SUBJ TO ALLEY LOT 15 BLK 5	Alley Sweeping		0.12	54.00	\$6.48	
St Paul MN 55106-5807		Citywide Street Lightin	ng	0.59	54.00	\$31.86	
*431 BIRMINGHAM ST						\$96.12	
*Ward: 7		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$96.12	
			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$96.12	
	EASTVIEW ADDITION NO. 3 E 1 FT OF	Street Sweeping - Com	mercial/Art				
25 4th St W Rm 1000	LOTS 13 THRU LOT 30 BLK 4	Alley Sweeping	meretal/thr	0.12	812.00	\$97.44	
St Paul MN 55102-1692		Citywide Street Lightin	ng	0.59	2.00	\$1.18	***EXEMPT***
*0 3RD ST E					_	\$100.76	
*Ward: 7		*** Owner and Taxpay	/er ***			Ψ100.70	
*Pending as of: 8/21/2020			Total Assess	sment:	-	\$100.76	
			This Paymer	nt:		\$0.00	
		Current Year Principal:				\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$100.76	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resid	dential Stree		<u> </u>		<u> </u>
1538 Wilson Ave	EX WLY 2 FT LOT 1 BLK 8	Citywide Street Lightin		0.59	87.00	\$51.33	34-27-22-31-0032
St Paul MN 55106-5934					_	\$87.00	
*1538 WILSON AVE		*** Owner and Taxpay	/er ***			\$67.00	
*Ward: 7			Total Assess	sment:		\$87.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$87.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 149
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Pheng Xiong	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resi		0.41	59.00	\$24.19	34-29-22-31-0055
1524 Wilson Ave	LOT 4 BLK 8	Citywide Street Lightin	ng	0.59	59.00	\$34.81	
St Paul MN 55106-5934						\$59.00	
*1524 WILSON AVE		*** Owner and Taxpay	yer *** 				
*Ward: 7			Total Assessm	ent:		\$59.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$59.00	
Amy Vue Xiong	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resi	idential Stree	0.41	<u></u>		34-29-22-31-0056
1520 Wilson Ave	LOT 5 BLK 8	Citywide Street Lightin	ng	0.59	62.00	\$36.58	012/22010000
St Paul MN 55106-5934						\$62.00	
*1520 WILSON AVE		*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessm	ent:	-	\$62.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$62.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resi	idential Stree	0.41			<u> </u>
Pai Yang	LOT 9 BLK 8	Citywide Street Lightin		0.59	66.00	\$38.94	34-27-22-31-0000
1496 Wilson Ave					=	\$66.00	
St Paul MN 55106-5813		*** Owner and Taxpay	yer ***				
*1496 WILSON AVE			Total Assessm	ent:		\$66.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year l			\$0.00	
			Current Year l	_		\$0.00	
			Payoff Amou	nt:		\$66.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 150
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Elmer A Minero	WILLARD LINDER, ADDITION NO. 2 LOT 10 BLK 8	Street Sweeping - Resid		0.41	71.00 71.00	\$29.11 \$41.89	34-29-22-31-0061
Morena M Galan Minero 1490 Wilson Ave		Citywide Street Lighting	g	0.39	/1.00		
St Paul MN 55106-5813		*** Owner and Taxpayo	er ***			\$71.00	
*1490 WILSON AVE			Total Assess	ment:	-	\$71.00	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$71.00	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Resid	 lential Streε				
1484 Wilson Ave	LOT 11 BLK 8	Citywide Street Lighting	g	0.59	69.00	\$40.71	0.2/2201 0002
St Paul MN 55106-5813						\$69.00	
*1484 WILSON AVE		*** Owner and Taxpayo	er ***				
*Ward: 7			Total Assess	ment:		\$69.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
		Current Year Principal:				\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$69.00	
	WILLARD LINDER ADDITION NO. 3 E	Street Sweeping - Resid	lential Streε				
Sheila C Rolfer	3 FT OF LOT 2 AND ALL OF LOT 1	Citywide Street Lighting	g	0.59	61.00	\$35.99	0.2722010000
1474 Wilson Ave	BLK 9				_	\$61.00	
St Paul MN 55106-5813		*** Owner and Taxpayo	er ***				
*1474 WILSON AVE			Total Assess	ment:		\$61.00	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$61.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 151
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Raed Suliman 1468 Wilson Ave	WILLARD LINDER ADDITION NO. 3 EXE 3 FT LOT 2 AND E 6 FT OF LOT 3 BLK 9	Street Sweeping - Reside Citywide Street Lighting		0.41	57.00 57.00	\$23.37 \$33.63	34-29-22-31-0064
St Paul MN 55106-5813	BLK 7					\$57.00	
*1468 WILSON AVE		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessi	ment:		\$57.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$57.00	
	WILLARD LINDER ADDITION NO. 3	Street Sweeping - Comm	 nercial/Art			<del></del>	<u> </u>
1444 Wilson Ave	EX E 15 O6/100 FT LOT 6 BLK 9	Street Sweeping - Reside		0.41	30.50	\$12.51	0.125 22 01 0000
St Paul MN 55106-5813		Citywide Street Lighting	5	0.59	96.50	\$56.94	
*1444 WILSON AVE					_	\$140.07	
*Ward: 7		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020		Total Assessment:				\$140.07	
			This Paymen	t:		\$0.00	
			Current Year Principal: Current Year Interest:				
			Payoff Amou	ınt:		\$140.07	
Jose Delatorre	WILLARD LINDER ADDITION NO. 3	Street Sweeping - Comm					
Rosario Delatorre	LOT 8 BLK 9	Citywide Street Lighting		0.59	55.00	\$32.45	34-29-22-31-0070
1449 Old Hudson Rd		en, mae savet zignung	,	0.07	=	\$91.30	
St Paul MN 55106-6113		*** Owner and Taxpaye	r ***			\$91.30	
*1449 OLD HUDSON RD			Total Assessi	ment:		\$91.30	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$91.30	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 152
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Julia Handal	WILLARD LINDER ADDITION NO. 3	Street Sweeping - Comr		1.07	53.00	\$56.71	34-29-22-31-0072
1461 Old Hudson Rd	LOT 10 BLK 9	Citywide Street Lighting	g	0.59	53.00	\$31.27	
St Paul MN 55106-6113						\$87.98	
*1461 OLD HUDSON RD		*** Owner and Taxpaye	er ***		_		
*Ward: 7			Total Assessme	ent:		\$87.98	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$87.98	
Patrick Mclaughlin	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Comr	mercial/Art	1.07			
1491 Old Hudson Rd	LOT 14 BLK 8	Citywide Street Lighting		0.59	55.00	\$32.45	012/22 01 00//
St Paul MN 55106-6113						\$91.30	
*1491 OLD HUDSON RD		*** Owner and Taxpaye	er ***		_		
*Ward: 7			Total Assessme	ent:		\$91.30	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$91.30	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Comr	— — — — mercial/Art	1.07			
Nja Reh	LOT 16 BLK 8	Citywide Street Lighting		0.59	52.00	\$30.68	34-27-22-31-0077
1499 Old Hudson Rd					_	\$86.32	
St Paul MN 55106-6113		*** Owner and Taxpaye	er ***			*	
*1499 OLD HUDSON RD			Total Assessme	ent:		\$86.32	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P			\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	ıt:		\$86.32	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2020SMSP Ratification Date: Resolution #:			Assmt: 200025	Manager: LM	Page 153	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Brp Ii Llc 2533 8th St	WILLARD LINDER, ADDITION NO. 2 LOT 17 BLK 8	Street Sweeping - Com Citywide Street Lightin		1.07 0.59	52.00 52.00	\$55.64 \$30.68	34-29-22-31-0080
White Bear Lake MN 55110-5734 *1505 OLD HUDSON RD		*** Owner and Taxpay	er ***		_	\$86.32	
*Ward: 7			Total Assessn	nent:		\$36.32	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$36.32	
Enrique Cortez	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Com				\$58.85	34-29-22-31-0083
Sandy Cortez	LOT 20 BLK 8	Citywide Street Lightin	g	0.59	55.00	\$32.45	
1523 Old Hudson Rd St Paul MN 55106-6121		*** Owner and Taxpay	er ***			\$91.30	
*1523 OLD HUDSON RD			Total Assessn	nent:	•	\$91.30	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year Principal:				
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$91.30	
	WILLARD LINDER, ADDITION NO. 2	Street Sweeping - Com	mercial/Art		32.00	\$34.24	34-29-22-31-0086
214 Australian Ave	LOT 23 BLK 8	Street Sweeping - Resid		0.41	61.50	\$25.22	
Little Canada MN 55117-1311		Citywide Street Lightin	g	0.59	93.50	\$55.17	
*1537 OLD HUDSON RD *Ward: 7		*** Owner and Taxpay	*** Owner and Taxpayer ***			\$114.63	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$114.63	
			This Payment	:		\$0.00	
		Current Year Principal:			\$0.00		
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$114.63	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020SN Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Justin Rodgers	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resident	tial Stree	0.41	91.00	\$37.31	34-29-22-31-0088
1529 Hudson Rd	PAUL, MINN. SUBJ TO HWY THE FOL; EX E 132 FT & EX N 13.9 FT THAT PART	Citywide Street Lighting		0.59	0.00	\$0.00	
St Paul MN 55106-6127	OF LOT 1 LYING E OF A LINE 276 FT E					\$37.31	
*1529 HUDSON RD	OF W LINE OF BLK 22	*** Owner and Taxpayer *	***				
Ward: 7		To	otal Assessment	:		\$37.31	
Pending as of: 8/21/2020		Th	his Payment:			\$0.00	
		Cu	urrent Year Prin	cipal:		\$0.00	
		Cu	urrent Year Inter	rest:		\$0.00	
		Pa	ayoff Amount:			\$37.31	
		Street Sweeping - Resident	ial Stree	0.41	72.00		<u> </u>
415 Clarence St	LOTS 1 AND LOT 2 BLK 1	Citywide Street Lighting		0.59	72.00	\$42.48	012/22/02/0000
St Paul MN 55106-5817						\$72.00	
415 CLARENCE ST		*** Owner and Taxpayer *	***				
*Ward: 7		To	otal Assessment	:		\$72.00	
*Pending as of: 8/21/2020		Th	his Payment:			\$0.00	
		Cı	urrent Year Prin	cipal:		\$0.00	
		Cı	urrent Year Inter	rest:		\$0.00	
		Pa	ayoff Amount:			\$72.00	
	CONDOMINIUM NUMBER 243	Street Sweeping - Resident	ial Stree	0.41			<u> </u>
452 Etna St Unit 103	CARRIAGE CROSSINGS ONE	Citywide Street Lighting		0.59	13.00	\$7.67	34-27-22-32-0010
St Paul MN 55106-5839	CONDOMINIUM UNIT NO 2 & GARAGE UNIT 2				<del>-</del>	\$13.00	
*452 ETNA ST 102		*** Owner and Taxpayer *	***			<b>+-0.00</b>	
*Ward: 7		To	otal Assessment	:		\$13.00	
*Pending as of: 8/21/2020		Th	his Payment:			\$0.00	
		Cu	urrent Year Prin	cipal:		\$0.00	
		Cı	urrent Year Inter	rest:		\$0.00	
		Pa	ayoff Amount:			\$13.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 15
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Scott O Trobec	CONDOMINIUM NUMBER 243	Street Sweeping - Resid		0.41	13.00	\$5.33	34-29-22-32-0019
Jean M Trobec	CARRIAGE CROSSINGS ONE CONDOMINIUM UNIT NO 3 &	Citywide Street Lightin	ıg	0.59	13.00	\$7.67	
452 Etna St Unit 201	GARAGE UNIT 3				<del></del>	\$13.00	
St Paul MN 55106-5839		*** Owner and Taxpay	er ***				
*452 ETNA ST 201			Total Assessme	ent:	-	\$13.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$13.00	
	CONDOMINIUM NUMBER 243		— — — — dential Stree	0.41			<u> </u>
452 Etna St Unit 103	CARRIAGE CROSSINGS ONE	Citywide Street Lightin		0.59	13.00	\$7.67	012/22/02/0021
St Paul MN 55106-5839	CONDOMINIUM UNIT NO 5 & GARAGE UNIT 5					\$13.00	
*452 ETNA ST 103		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessme	ent:	-	\$13.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$13.00	
	CONDOMINIUM NUMBER 243		— — — — dential Stree	0.41			
452 Etna St # 105	CARRIAGE CROSSINGS ONE	Citywide Street Lightin		0.59	13.00	\$7.67	34-29-22-32-0025
St Paul MN 55106-5839	CONDOMINIUM UNIT NO 9 &	, .	Ü			\$13.00	
*452 ETNA ST 105	GARAGE UNIT 9	*** Owner and Taxpay	er ***			φ13.00	
*Ward: 7			Total Assessme	ent:	-	\$13.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	ıt:		\$13.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 156
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
James J Ricci	CONDOMINIUM NUMBER 243	Street Sweeping - Resid	dential Stree	0.41	13.00	\$5.33	34-29-22-32-0027
450 Etna St Unit 101	CARRIAGE CROSSINGS ONE CONDOMINIUM UNIT NO 11 &	Citywide Street Lightin	ng	0.59	13.00	\$7.67	
St Paul MN 55106-5838	GARAGE UNIT 11				=	\$13.00	
*450 ETNA ST 101		*** Owner and Taxpay	/er ***				
*Ward: 7			Total Assessi	ment:	•	\$13.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$13.00	
	CONDOMINIUM NUMBER 243	Street Sweeping - Resid	dential Stree			<u> </u>	<del></del>
450 Etna St #203	CARRIAGE CROSSINGS ONE	Citywide Street Lightin		0.59	13.00	\$7.67	34-27-22-32-0033
St Paul MN 55106-5838	CONDOMINIUM UNIT NO 17 & GARAGE UNIT 17				=	\$13.00	
*450 ETNA ST 203		*** Owner and Taxpay	er ***			• • • • •	
*Ward: 7			Total Assessi	ment:		\$13.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amou	ınt:		\$13.00	
	CONDOMINIUM NUMBER 243	Street Sweeping - Resid	dential Stree				
450 Etna St Unit 204	CARRIAGE CROSSINGS ONE	Citywide Street Lightin		0.59	13.00	\$7.67	34-29-22-32-0034
St Paul MN 55106-5838	CONDOMINIUM UNIT NO 18 & GARAGE UNIT 18	, .	8		_	\$13.00	
*450 ETNA ST 204	GARAGE UNIT 16	*** Owner and Taxpay	/er ***			\$13.00	
*Ward: 7			Total Assessi	nent:		\$13.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$13.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 157
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Seth Johnson	CONDOMINIUM NUMBER 243	Street Sweeping - Resid		0.41	13.00	\$5.33	34-29-22-32-0035
Marresa Johnson	CARRIAGE CROSSINGS ONE CONDOMINIUM UNIT NO 19 &	Citywide Street Lightin	ıg	0.59	13.00	\$7.67	
450 Etna St Unit 105	GARAGE UNIT 19					\$13.00	
St Paul MN 55106-5838		*** Owner and Taxpay	er ***				
*450 ETNA ST 105			Total Assessm	ent:	-	\$13.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$13.00	
	CONDOMINIUM NUMBER 243	Street Sweeping - Resid	— — — — dential Stree	0.41			<u> </u>
Nichole Erickson	CARRIAGE CROSSINGS ONE	Citywide Street Lightin		0.59	13.00	\$7.67	34-27-22-32-00 <del>1</del> 3
438 Etna St Unit 105	CONDOMINIUM UNIT NO 29 & GARAGE UNIT G29					\$13.00	
St Paul MN 55106-5837		*** Owner and Taxpay	er ***			•	
*438 ETNA ST 105			Total Assessm	ont:		\$13.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	ıt:		\$13.00	
Kimberly Kay Littlefield	CONDOMINIUM NUMBER 243 CARRIAGE CROSSINGS ONE	Street Sweeping - Resid		0.41	13.00	\$5.33	34-29-22-32-0046
438 Etna St Unit 106	CONDOMINIUM UNIT NO 30 &	Citywide Street Lightin	ıg	0.59	13.00	\$7.67	
St Paul MN 55106-5837 *438 ETNA ST 106	GARAGE UNIT G30	*** Owner and Taxpay	er ***			\$13.00	
*Ward: 7			Total Assessm	ent:		\$13.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	ıt:		\$13.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 158
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Dianna J Black Jeanne Soban	CONDOMINIUM NUMBER 243 CARRIAGE CROSSINGS ONE CONDOMINIUM UNIT NO 12 &	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	13.00 13.00	\$5.33 \$7.67	34-29-22-32-0047
450 Etna St #102	GARAGE UNIT G12	*** 0 1.5	ate ate ate			\$13.00	
St Paul MN 55106-5838		*** Owner and Taxpayer	r ***				
*450 ETNA ST 102 *Ward: 7			Total Assessm			\$13.00	
*Ward: / *Pending as of: 8/21/2020			This Payment			\$0.00	
Fending as of. 6/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$13.00	
— — — — — — — — — — Mohamed Dahir Hadi	JOY'S EAST END ADD. W 15 FT OF	Street Sweeping - Comm	ercial/Art	1.07			<u> </u>
Shukri Mohamed Kariye	LOT 6 & ALL OF LOT 7 BLK 1	Citywide Street Lighting	;	0.59	55.00	\$32.45	
1320 Wilson Ave						\$91.30	
St Paul MN 55106-9999		*** Owner and Taxpayer	r ***				
*1320 WILSON AVE			Total Assessm	nent:	-	\$91.30	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$91.30	
	JOY'S EAST END ADD. THE E 15 FT OF	Street Sweeping - Comm	ercial/Art				<u> </u>
Chay Lee	LOT 4 & ALL OF LOT 3 BLK 1	Citywide Street Lighting		0.59	55.00	\$32.45	3 <del>4-2)-22-32-0</del> 033
1332 Wilson Ave					<del></del>	\$91.30	
St Paul MN 55106-9999		*** Owner and Taxpayer	r ***				
*1332 WILSON AVE			Total Assessm	nent:	-	\$91.30	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$91.30	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 159
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Dale Sweno	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resi		0.41	94.00	\$38.54	34-29-22-33-0010
324 Clarence St	PAUL, MINN. LOT 15 BLK 29	Citywide Street Lightin	ng	0.59	94.00	\$55.46	
St Paul MN 55106-6505		*** 0 1 T	***			\$94.00	
*324 CLARENCE ST		*** Owner and Taxpay	yer ****		_		
*Ward: 7 *Pending as of: 8/21/2020			Total Assessm	nent:		\$94.00	
"Pending as 61: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	_		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$94.00	
Kbd Investments Llc	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resi	idential Stree	0.41	57.00	\$23.37	34-29-22-33-0017
877 White Bear Ave N #2	PAUL, MINN. N 57 FT OF E 129 FT OF LOT 1 BLK 36	Citywide Street Lightin	ng	0.59	57.00	\$33.63	
St Paul MN 55106-4303	EST TEEK SO				<del></del>	\$57.00	
*293 ETNA ST		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assessm	nent:		\$57.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$57.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resi	idential Stree				<u> </u>
1137 Cook Ave E	PAUL, MINN. EX E 129 FT; LOT 1 BLK 36	Citywide Street Lightin	ng	0.59	107.00	\$63.13	0.12/22/00/001/
St Paul MN 55106-3324	30				_	\$85.68	
*1374 MCLEAN AVE		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assessm	nent:	-	\$85.68	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$85.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 160
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Douglas O Engebretson 263 Etna St	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. S 1/2 OF LOT 3 & ALL OF LOT 4 BLK 36	Street Sweeping - Residence Citywide Street Lighting		0.41 0.59	90.00	\$36.90 \$53.10	34-29-22-33-0024
St Paul MN 55106-6506	EST YELK 30				_	\$90.00	
*263 ETNA ST		*** Owner and Taxpaye	er *** 				
*Ward: 7			Total Assess	ment:		\$90.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$90.00	
Thomas Feist	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Comn	nercial/Art				34-29-22-33-0025
1391 Burns Ave	PAUL, MINN. LOT 5 BLK 36	Street Sweeping - Reside		0.41	77.00	\$31.57	
St Paul MN 55106-6701		Citywide Street Lighting	5	0.59	97.50	\$57.53	
*1391 BURNS AVE						\$111.04	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$111.04	
			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$111.04	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Comn	nercial/Art			\$42.80	34-29-22-33-0026
1387 Burns Ave	PAUL, MINN. LOT 6 BLK 36	Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55106-6701					_	\$66.40	
*1387 BURNS AVE		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assess	ment:		\$66.40	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$66.40	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020S Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 161
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U1</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Thomas G Brock Tr	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Comme	ercial/Art	1.07	50.00	\$53.50	34-29-22-33-0027
1383 Burns Ave	PAUL, MINN. E 50 FT OF S 156 FT OF LOT 7 BLK 36	Citywide Street Lighting		0.59	50.00	\$29.50	
St Paul MN 55106-6701						\$83.00	
*1383 BURNS AVE		*** Owner and Taxpayer	***				
*Ward: 7		7	Total Assessment	t:		\$83.00	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		I	Payoff Amount:			\$83.00	
	KAMNETZ ADD. LOT 10	Street Sweeping - Resider	ntial Stree		40.00		<u> </u>
1940 Mendel Ave N		Citywide Street Lighting		0.59	40.00	\$23.60	34-29-22-33-0033
Lake Elmo MN 55042-0655					=	\$40.00	
*264 CLARENCE ST		*** Owner and Taxpayer	***			\$10.00	
*Ward: 7		_ 1	Total Assessment	t:		\$40.00	
*Pending as of: 8/21/2020		П	This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
			Current Year Inte			\$0.00	
		I	Payoff Amount:			\$40.00	
	KAMNETZ ADD. LOTS 8 & LOT 9	Street Sweeping - Resider	ntial Stree	0.41			<u> </u>
266 Clarence St		Citywide Street Lighting		0.59	80.00	\$47.20	34-27-22-33-0030
St Paul MN 55106-6515					_	\$80.00	
*266 CLARENCE ST		*** Owner and Taxpayer	***			******	
*Ward: 7		_ 1	Total Assessment	t:	-	\$80.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		I	Payoff Amount:			\$80.00	

10:02:50 11/16/2020	Public Improvement Assessment R		Project: 20209 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Michael E Jensen	KAMNETZ ADD. LOT 7	Street Sweeping - Residen	ntial Stree	0.41	39.00	\$15.99	34-29-22-33-0037
272 Clarence St		Citywide Street Lighting		0.59	39.00	\$23.01	
St Paul MN 55106-6515						\$39.00	
272 CLARENCE ST		*** Owner and Taxpayer	***				
Ward: 7		T	Total Assessme	nt:		\$39.00	
Pending as of: 8/21/2020		Т	Γhis Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		P	Payoff Amount	t:		\$39.00	
 Amanda Mackiewicz	KAMNETZ ADD. LOT 4	Street Sweeping - Residen	 ntial Stree	0.41	40.00		
286 Clarence St		Citywide Street Lighting		0.59	40.00	\$23.60	34-27-22-33-0040
t Paul MN 55106-6515					=	\$40.00	
286 CLARENCE ST		*** Owner and Taxpayer	***		_	<u> </u>	
Ward: 7		Т	Total Assessme	nt:		\$40.00	
Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
			Current Year Pr	-		\$0.00	
			Current Year In			\$0.00	
		P	Payoff Amount	t:		\$40.00	
	KAMNETZ ADD. LOT 3	Street Sweeping - Residen	ntial Stree				
6836 Morrison Blvd Ste 320		Citywide Street Lighting		0.59	40.00	\$23.60	34-27-22-33-0041
Charlotte NC 28211-2612					_	\$40.00	
292 CLARENCE ST		*** Owner and Taxpayer	***			4.0.00	
Ward: 7		<del>-</del> Т	Total Assessme	nt:		\$40.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year In	-		\$0.00	
		P	Payoff Amount	t:		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 163
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Michael R Modrow	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. LOT 3 BLK 27	Street Sweeping - Residen		0.41	77.00	\$31.57	34-29-22-33-0045
347 Clarence St	TAOL, MINN. EOT 3 BER 27	Citywide Street Lighting		0.59	77.00	\$45.43	
St Paul MN 55106-6521 *347 CLARENCE ST		*** Owner and Taxpayer	. ***			\$77.00	
*Ward: 7		- 1	Total Assessme	nt:		\$77.00	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amount	t:		\$77.00	
Lionel Wilson	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resider	ntial Stree	0.41	96.00	\$39.36	34-29-22-33-0046
1343 Pacific St	PAUL, MINN. LOT 4 BLK 27	Citywide Street Lighting		0.59	96.00	\$56.64	
St Paul MN 55106-6507						\$96.00	
*1343 PACIFIC ST		*** Owner and Taxpayer	. ***				
*Ward: 7		7	Total Assessme	nt:		\$96.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	-		\$0.00	
			Current Year In			\$0.00	
		1	Payoff Amount	t:		\$96.00	
Tami Jo Roberts	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resider	ntial Stree	0.41		\$22.55	34-29-22-33-0047
1337 Pacific St	PAUL, MINN. LOT 5 BLK 27	Citywide Street Lighting		0.59	55.00	\$32.45	
St Paul MN 55106-6507					<del></del>	\$55.00	
*1337 PACIFIC ST		*** Owner and Taxpayer	. ***				
*Ward: 7		- 1	Total Assessme	nt:	-	\$55.00	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amount	t:		\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 164
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jesse J Neumann	H. N. GRANBERG'S ADD. LOT 1	Street Sweeping - Resid		0.41	78.00	\$31.98	34-29-22-33-0053
327 Clarence St		Citywide Street Lightin	ng	0.59	78.00	\$46.02	
St Paul MN 55106-6504 *327 CLARENCE ST		*** Owner and Taxpay	/er ***			\$78.00	
*Ward: 7			Total Assess	sment:		\$78.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$78.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resid	dential Stree				<u> </u>
319 Clarence St	PAUL, MINN. LOT 1 BLK 28	Citywide Street Lightin		0.59	40.00	\$23.60	34-2)-22-33-0033
St Paul MN 55106-6504						\$40.00	
*319 CLARENCE ST		*** Owner and Taxpay	/er ***		_		
*Ward: 7			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
		Current Year Principal:				\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resid	dential Streε				——————————————————————————————————————
303 Clarence St	PAUL, MINN. LOTS 4 & LOT 5 BLK 28	Citywide Street Lightin		0.59	101.00	\$59.59	34-27-22-33-0037
St Paul MN 55106-6504					=	\$101.00	
*303 CLARENCE ST		*** Owner and Taxpay	/er ***				
*Ward: 7			Total Assess	sment:	-	\$101.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$101.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	oy PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 165
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Annetta D Hansen	H. N. GRANBERG'S ADD. LOTS 6 & LOT 7	Street Sweeping - Resid		0.41	77.00 77.00	\$31.57 \$45.43	34-29-22-33-0061
1314 Pacific St St Paul MN 55108-6508		City wide Street Lighting	8	0.57		\$77.00	
*1314 PACIFIC ST		*** Owner and Taxpay	er ***			\$77.00	
*Ward: 7			Total Assessm	nent:		\$77.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$77.00	
Nimo Hassan	H. N. GRANBERG'S ADD. LOT 8	Street Sweeping - Resid		0.41	40.00	\$16.40	34-29-22-33-0062
1310 Pacific St		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55106-6508						\$40.00	
*1310 PACIFIC ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:	_	\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
		Payoff Amount:				\$40.00	
	H. N. GRANBERG'S ADD. LOT 9	Short Source Decid				<u> </u>	
Cha Blong Xiong 4169 Kaitlin Dr	II. IV. GRANDLINGS ADD. EOT	Street Sweeping - Resid Citywide Street Lightin		0.41 0.59	40.00 40.00	\$16.40 \$23.60	34-29-22-33-0063
Vadnais Heights MN 55127-7903		City wide Street Eighting	ь	0.57	=		
*1306 PACIFIC ST		*** Owner ***				\$40.00	
*Ward: 7			Total Assessm	nent:	•	\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$40.00	
Kong Yeng Brian Xiong	H. N. GRANBERG'S ADD. LOT 9	*** Taxpayer and 3rd P	Party ***				34-29-22-33-0063
4169 Kaitlin Dr			Total Assessm	nent:		\$40.00	
Vadnais Heights MN 55127-7903			This Payment:			\$0.00	
*1306 PACIFIC ST			Current Year I			\$0.00	
*Ward: 7			Current Year I			\$0.00	
*Pending as of: 8/21/2020			Payoff Amoun	nt:		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 166
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Raymond H Rucker Barbara Rucker	H. N. GRANBERG'S ADD. W 1/2 OF LOT 15 AND ALL OF LOT 14	Street Sweeping - Res Citywide Street Lighti		0.41	60.00	\$24.60 \$35.40	34-29-22-33-0067
1315 Mclean Ave St Paul MN 55106-6554		*** Owner and Taxpa	yer ***		_	\$60.00	
*1315 MCLEAN AVE *Ward: 7			Total Assess		_	\$60.00	
*Pending as of: 8/21/2020			This Paymen Current Year	Principal:		\$0.00 \$0.00	
			Current Year  Payoff Amor			\$0.00 <b>\$60.00</b>	
Christopher A Walker Deanna L Walker	H. N. GRANBERG'S ADD. LOT 17	Street Sweeping - Res Citywide Street Lighti		0.41 0.59	40.00	\$16.40 \$23.60	34-29-22-33-0069
1325 Mclean Ave St Paul MN 55106-6554		*** Owner and Taxpa	yer ***			\$40.00	
*1325 MCLEAN AVE *Ward: 7			Total Assess			\$40.00 \$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year  Payoff Amo			\$0.00 <b>\$40.00</b>	
Marilyn D Powers-Campbell	H. N. GRANBERG'S ADD. LOT 18	Street Sweeping - Res		0.41		\$19.68	34-29-22-33-0070
Samuel L Campbell Iii 1331 Mclean Ave		Citywide Street Lighti	ng	0.59	48.00	\$28.32 \$48.00	
St Paul MN 55106-6554		*** Owner and Taxpa	yer ***				
*1331 MCLEAN AVE			Total Assess	ment:	=	\$48.00	
*Ward: 7 *Pending as of: 8/21/2020			This Paymen			\$0.00	
1 Chaing as 01. 0/21/2020			Current Year	-		\$0.00	
			Current Year  Payoff Amore			\$0.00 <b>\$48.00</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kaw Doe So	POINT DOUGLAS ADDITION LOT 3	Street Sweeping - Residen	ential Stree	0.41	58.00	\$23.78	34-29-22-33-0087
Shu Koe	BLK 2	Alley Sweeping		0.12	29.00	\$3.48	
257 Point Douglas Rd N		Citywide Street Lighting		0.59	58.00	\$34.22	
St Paul MN 55106-6518					<del></del>	\$61.48	
*257 POINT DOUGLAS RD N		*** Owner and Taxpayer	r ***				
*Ward: 7		- -	Total Assessm	ent:	-	\$61.48	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year P	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amour	nt:		\$61.48	
	POINT DOUGLAS ADDITION LOT 4	Street Sweeping - Resider	ential Stree	0.41	40.00	<u>\$16.40</u>	
Reyna Lucia Ledesma Torres	BLK 2	Alley Sweeping		0.12	39.00	\$4.68	34-27-22-33-0000
255 Point Douglas Rd N		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55106-6518					_	\$44.68	
*255 POINT DOUGLAS RD N		*** Owner and Taxpayer	r ***			*******	
*Ward: 7		- -	Total Assessm	ent:	-	\$44.68	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	-		\$0.00	
		1	Payoff Amour	nt:		\$44.68	
	- – – – – – – –						
Ronald F Davidson	POINT DOUGLAS ADDITION NWLY 15 FT OF LOT 6 AND ALL OF LOT 5	Street Sweeping - Residen	ential Stree	0.41	58.00	\$23.78	34-29-22-33-0089
4275 N Apache Dr	BLK 2	Alley Sweeping		0.12	55.00	\$6.60	
Apache Jct AZ 85120-9423		Citywide Street Lighting		0.59	58.00	\$34.22	
*253 POINT DOUGLAS RD N		**** O 177	ala ala ala			\$64.60	
*Ward: 7		*** Owner and Taxpayer	r *** 		_		
*Pending as of: 8/21/2020		-	Total Assessm	ent:		\$64.60 \$0.00	
			This Payment:				
		(	Current Year P	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amour	ıt:		\$64.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Michelle Xong	POINT DOUGLAS ADDITION EX	Street Sweeping - Resid	ential Stree	0.41	106.00	\$43.46	34-29-22-33-0091
Jimmy Moua	NWLY 30 FT LOT 7 AND ALL OF LOT 8 BLK 2	Alley Sweeping		0.12	160.00	\$19.20	
247 Point Douglas Rd N	OBLE 2	Citywide Street Lighting	g	0.59	106.00	\$62.54	
St Paul MN 55106-6518					<del></del>	\$125.20	
*247 POINT DOUGLAS RD N		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessi	ment:		\$125.20	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$125.20	
	POINT DOUGLAS ADDITION LOT 12	Street Sweeping - Comm	mercial/Art				
266 Clarence St	BLK 2	Alley Sweeping	noretal i ne	0.12	40.00	\$4.80	34-29-22-33-0094
St Paul MN 55106-6515		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1325 BURNS AVE					_	\$71.20	
*Ward: 7		*** Owner and Taxpaye	er ***			ψ/1.20	
*Pending as of: 8/21/2020		Total Assessment:				\$71.20	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
		Payoff Amount:				\$71.20	
	POINT DOUGLAS ADDITION LOTS 13	Street Sweeping - Comm					
James R Johnsen	AND LOT 14 BLK 2	Alley Sweeping - Collin	nerciai/Art	0.12	79.00	\$9.48	34-29-22-33-0095
1940 Mendel Ave N		Citywide Street Lighting	T.	0.12	79.00	\$46.61	
Lake Elmo MN 55042-9635		City wide Street Eighting	>	0.57		<u> </u>	
*1317 BURNS AVE *Ward: 7		*** Owner and Taxpaye	er ***			\$140.62	
*Pending as of: 8/21/2020			Total Assessi	ment:	=	\$140.62	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amou	unt:		\$140.62	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 169
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Marco V Martinez Buitrago	POINT DOUGLAS ADDITION LOT 16	Street Sweeping - Com		1.07	40.00	\$42.80	34-29-22-33-0097
Lorena Rodriguez	BLK 2	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
1307 Burns Ave						\$66.40	
St Paul MN 55106-6722		*** Owner and Taxpay	/er ***				
*1307 BURNS AVE			Total Assess	ment:		\$66.40	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year Principal:			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$66.40	
	POINT DOUGLAS ADDITION LOT 18	Street Sweeping - Com					24 20 22 22 0000
Bonnie L Halstead	BLK 2	Street Sweeping - Resi		0.41	65.50	\$26.86	34-29-22-33-0099
1297 Burns Ave		Citywide Street Lightin		0.59	85.00	\$50.16	
St Paul MN 55106-6722					_	\$97.89	
*1297 BURNS AVE		*** Owner and Taxpay	/er ***				
*Ward: 7			Total Assess	ment:	-	\$97.89	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$97.89	
Thomas Harold Weikert	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resi	— — — - dential Stree				24 20 22 22 0107
Darcee Ruter	PAUL, MINN. THAT PART OF LOT 9	Citywide Street Lightin		0.59	23.50	\$13.87	34-29-22-33-0107
1311 Pacific St	BLK 27 DESC AS FOL; BEG AT THE SE COR OF SD LOT 9 TH W ALONG S L OF	, ,			_	\$23.51	
St Paul MN 55106-6507	SD LOT 9 40.0 FT TH N PAR TO THE E L	*** Owner and Taxpay	/er ***			Ψ23.31	
*1311 PACIFIC ST	OF SD LOT 9 113.2 FT TH E PAR TO		Total Assess	ment:	-	\$23.51	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year Principal: Current Year Interest:			\$0.00	
						\$0.00	
			Payoff Amo	unt:		\$23.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 170
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Fyr Sfr Borrower Llc Co Havenbrook Homes	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. S 100 FT OF E 50 FT OF LOT 6 BLK 27	Street Sweeping - Reside		0.41 0.59	50.00 50.00	\$20.50 \$29.50	34-29-22-33-0116
3505 Koger Blvd Ste 400 Duluth GA 30096-7672		*** Owner and Taxpaye	er ***		\$50.00		
*1333 PACIFIC ST			\$50.00				
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$50.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.		 ential Streε	0.41			34-29-22-33-0118
Marcia A Rosas	PAUL, MINN. SUBJ TO ESMT & EX S 100 FT THE FOL; W 58.31 FT LYING S	Citywide Street Lighting	g	0.59	56.00	\$33.04	0.12/ 22/00/0110
1328 Hudson Rd	OF HWY 94 OF LOT 6 BLK 27				_	\$56.00	
St Paul MN 55106-6103		*** Owner and Taxpaye	er ***				
*1328 HUDSON RD			Total Assessm	ent:	-	\$56.00	
*Ward: 7			This Payment:		\$0.00		
*Pending as of: 8/21/2020			Current Year F	Principal:	\$0.00		
			Current Year I	nterest:		\$0.00	
		Payoff Amount:				\$56.00	
	POINT DOUGLAS ADDITION EX THE	Street Sweeping - Reside	– – – ential Stree	0.41	— — <del></del> — -		
Peggysue Claude	FOL BEG AT THE MOST SLY COR OF	Citywide Street Lighting		0.59	79.50	\$46.91	34-27-22-33-0121
244 Point Douglas Rd N	SD LOT 8 TH IN A NWLY DIR ALONG THE SWLY L OF LOT 8 A DIST OF				_	\$79.51	
St Paul MN 55106-6519	129.60 FT THEN CONT IN A NWLY DIR	*** Owner and Taxpaye	er ***			4,7,2	
*244 POINT DOUGLAS RD N	ALONG SD SWLY L AT A		Total Assessm	ent:		\$79.51	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F		\$0.00		
			Current Year I	nterest:	\$0.00		
			Payoff Amour	nt:		\$79.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 171
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Saroeum Path	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resid		0.41	220.00	\$90.20	34-29-22-33-0122
319 Etna St	PAUL, MINN. SUBJ TO HWY; LOTS 1,2,4 AND 5 AND THE N 3.5 FT OF LOT	Citywide Street Lighting	g	0.59	220.00	\$129.80	
St Paul MN 55106-6563	6 ALL IN BLK 29					\$220.00	
*319 ETNA ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	ent:		\$220.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year l	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$220.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Citywide Street Lighting		0.59			
1375 Mclean Ave St Paul MN 55106-6556	PAUL, MINN. THAT PT OF LOT 8 BLK		-		=	\$25.96	0.25 22 00 0120
	29 LYING E OF THE W 12.04 FT THEREOF	*** Owner and Taxpaye	er ***			4-1.7	
*1375 MCLEAN AVE			Total Assessm	nent:		\$25.96	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year Interest:			\$0.00	
		Payoff Amount:				\$25.96	
Daytons Bluff Nghbrhd Housing Servs	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resid					<u> </u>
823 7th St E	PAUL, MINN. THE W 12.04 FT OF LOT	Citywide Street Lighting		0.59	180.00	\$106.20	34-29-22-33-0126
St Paul MN 55106-5016	8 AND ALL OF LOTS 9,10 AND 11 BLK 29	,	S			\$180.00	
*1372 MCLEAN AVE	27	*** Owner and Taxpaye	er ***			\$160.00	
*Ward: 7			Total Assessm	- aut		\$180.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	nt:		\$180.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
James R Johnsen	Ex Th W 17 Ft Of The S 92.68 Ft; Lot 17 &	Street Sweeping - Com		1.07	79.00	\$84.53	34-29-22-33-0129
1347 Burns Ave	All Of Lot 18	Citywide Street Lightin	ng	0.59	79.00	\$46.61	
St Paul MN 55106-6701						\$131.14	
*1365 BURNS AVE		*** Owner and Taxpay	yer ***				
*Ward: 7		Total Assessment:			-	\$131.14	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$131.14	
	VAC ENGLISH ST ADJ AND LOT 10	Street Sweeping - Resi	dential Stree		94.00		<u> </u>
1302 Pacific St		Citywide Street Lightin		0.59	94.00	\$55.46	34-27-22-33-0130
St Paul MN 55106-6508						\$94.00	
1302 PACIFIC ST		*** Owner and Taxpay	yer ***			<b>\$\tau_{\text{7}}\tau_{\text{7}}\tau_{\text{7}}\tag{7}\tag</b>	
Ward: 7			Total Assess	ment:		\$94.00	
Pending as of: 8/21/2020			This Payment:				
			Current Year	Principal:		\$0.00	
		Current Year Interest:				\$0.00	
			Payoff Amount:			\$94.00	
	VAC ENGLISH ST ADJ AND W ½ OF	Street Sweeping - Resi	dential Stree				
Cynthia L Vandeberg	LOT 12 AND ALL OF LOT 11	Citywide Street Lightin		0.59	105.50	\$62.25	3 <del>4-2)-22-33-0131</del>
303 Mclean Ave					_	\$105.51	
St Paul MN 55106-6554		*** Owner and Taxpay	yer ***			<b>\$100.01</b>	
*1303 MCLEAN AVE			Total Assess	ment:		\$105.51	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amo			\$105.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 174
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
James Johnsen Holdings Llc C/O James R Johnsen	Vac Clarence St Accruing And Fol Part Lying Sly Of The Fol Desc Line Beg At A Pt On The W Lot Line Of Lot 12 Dist 10	Street Sweeping - Com Citywide Street Lightin		1.07 0.59	180.00 180.00	\$192.60 \$106.20	34-29-22-33-0135
1347 Burns Ave St Paul MN 55106-6701	Ft N Of Sw Cor Of Sd Lot 12 Thence E Par With S Line Of Sd Lot 12 For 95 Ft Thence N Par With W Line Of Sd Lot 12 For 10 Ft	*** Owner and Taxpa	yer ***		_	\$298.80	
*1347 BURNS AVE	Will William Clife Of St. Edit 12 for 10 ft		Total Assessm	nent:		\$298.80	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$298.80	
David A Trepanier Trustee	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resi	idential Stree	0.41		\$20.50	<u> </u>
Patricia A Trepanier Trustee	PAUL, MINN. E 50 FT OF LOT 4 BLK	Citywide Street Lightin		0.59	50.00	\$29.50	34-27-22-34-0004
439 Birchwood Courts	23				=	\$50.00	
White Bear Lake MN 55110-1805		*** Owner and Taxpa	yer ***				
*1525 PACIFIC ST			Total Assessm	nent:		\$50.00	
*Ward: 7		This Payment: Current Year Principal: Current Year Interest: Payoff Amount:				\$0.00	
*Pending as of: 8/21/2020						\$0.00	
						\$0.00	
						\$50.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resi		0.41		\$20.50	
C/O Cha C Moua	PAUL, MINN. W 50 FT OF E 144 FT OF	Citywide Street Lightin		0.59	50.00	\$29.50	34-29-22-34-0000
1515 Pacific St	LOT 4 BLK 23				=	\$50.00	
St Paul MN 55106-6630		*** Owner and Taxpa	yer ***			\$50.00	
*1515 PACIFIC ST			Total Assessm	nent:		\$50.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year l			\$0.00	
			Current Year I	_		\$0.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 17
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Ma Manee Moua	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside		0.41	59.00	\$24.19	34-29-22-34-0007
1511 Pacific St	PAUL, MINN. W 60 FT OF E 204 FT OF LOT 4 BLK 23	Citywide Street Lighting	3	0.59	59.00	\$34.81	
St Paul MN 55106-6630						\$59.00	
*1511 PACIFIC ST		*** Owner and Taxpaye	er *** 		_		
*Ward: 7			Total Assessme	\$59.00			
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$59.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1505 Pacific St	PAUL, MINN. W 60 FT OF E 264 FT OF LOT 4 BLK 23	Citywide Street Lighting		0.59	60.00	\$35.40	31 2) 22 31 0000
St Paul MN 55106-6630						\$60.00	
*1505 PACIFIC ST		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$60.00	
*Pending as of: 8/21/2020		This Payment: Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
						\$0.00	
			Payoff Amoun	nt:		\$60.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside	ential Stree				<u> </u>
Barbara J Madigan	PAUL, MINN. W 60 FT OF E 324 FT OF	Citywide Street Lighting		0.59	60.00	\$35.40	34-27-22-34-0007
711 N Oak Dr	LOT 4 BLK 23				_	\$60.00	
St Paul MN 55127-7960		*** Owner and Taxpaye	er ***			******	
*1499 PACIFIC ST			Total Assessme	ant:		\$60.00	
*Ward: 7			This Payment:	CIII.		\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincinal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun			\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 176
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	<u> Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
Olga Martinez Mendoza	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Residen	ntial Stree	0.41	45.00	\$18.45	34-29-22-34-0012
1483 Pacific St	PAUL, MINN. WITHOUT ACCESS TO HWY THE FOL EX N 1/2 FOR STH 12	Citywide Street Lighting		0.59	45.00	\$26.55	
St Paul MN 55106-6512	108 THE W 46 FT OF THE S 1/2 OF LOT					\$45.00	
*1483 PACIFIC ST	1 BLK 24	*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessme	nt:		\$45.00	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
		(	Current Year In	terest:		\$0.00	
		F	Payoff Amount	t:		\$45.00	
Allison A Topp	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Residen	ntial Stree	0.41	39.00		<u> </u>
1433 Pacific St	PAUL, MINN. W 40 FT OF E 90 FT OF LOT 4 BLK 25	Citywide Street Lighting		0.59	39.00	\$23.01	0.12/12/0.10020
St Paul MN 55106-0011	LO1 4 BLK 23					\$39.00	
*1433 PACIFIC ST		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessme	nt:		\$39.00	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
		F	Payoff Amount	t:		\$39.00	
Bernard Joseph Mordorski	ANGELINE ADDITION LOT 1 BLK 1	Street Sweeping - Residen	ntial Stree		99.50		<u> </u>
Kathleen M Mordorski		Citywide Street Lighting		0.59	99.50	\$58.71	34-27-22-34-0022
1494 Pacific St						\$99.51	
St Paul MN 55106-6613		*** Owner and Taxpayer	***			***	
*1494 PACIFIC ST		<del>-</del>	Total Assessme	nt.		\$99.51	
*Ward: 7			Total Assessine This Payment:	111.		\$0.00	
*Pending as of: 8/21/2020			Current Year Pr	incipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amount			\$99.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		)20SMSP #:	Assmt: 200025	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	Quantity	Charge Amts	<b>Property ID</b>	
Monty Hoefflin	ANGELINE ADDITION LOT 2 BLK 1	Street Sweeping - Resi	dential Stree	0.41	61.00	\$25.01	34-29-22-34-0023	
1879 Case Ave		Citywide Street Lightin	ng	0.59	61.00	\$35.99		
St Paul MN 55119-4805						\$61.00		
*1500 PACIFIC ST		*** Owner and Taxpay	yer ***					
*Ward: 7		Total Assessment:			-	\$61.00		
*Pending as of: 8/21/2020			This Paymer			\$0.00		
			Current Year			\$0.00		
		Current Year Interest:				\$0.00		
			Payoff Amo	unt:		\$61.00		
	ANGELINE ADDITION LOT 4 BLK 1	Street Sweeping - Resi	— — — - dential Stree				34-29-22-34-0025	
Terry M Beedle		Citywide Street Lightin		0.59	62.00	\$36.58	34-23-22-34-0023	
7315 Humboldt Ave S					_	\$62.00		
Minneapolis MN 55423-2915		*** Owner and Taxpay	yer ***			<del>4</del>		
*1512 PACIFIC ST			Total Assess	ment:		\$62.00		
*Ward: 7		This Payment:				\$0.00		
*Pending as of: 8/21/2020			Current Year			\$0.00		
			Current Year Interest:					
		Payoff Amount:				\$62.00		
	ANGELINE ADDITION LOT 5 BLK 1	Street Sweeping - Resi	 dential Streε				34-29-22-34-0026	
1518 Pacific St		Citywide Street Lightin		0.59	61.00	\$35.99	34-27-22-34-0020	
St Paul MN 55106-6613			-			\$61.00		
*1518 PACIFIC ST		*** Owner and Taxpay	yer ***			<b>401.00</b>		
*Ward: 7			Total Assess	ment:	-	\$61.00		
*Pending as of: 8/21/2020		Total Assessment: This Payment:				\$0.00		
			Current Year			\$0.00		
			Current Year	_		\$0.00		
			Payoff Amo	unt:		\$61.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 178
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Robert M Zimmerman Jr	ANGELINE ADDITION LOT 7 BLK 1	Street Sweeping - Reside	ential Stree	0.41	61.00	\$25.01	34-29-22-34-0028
Gustina L Zimmerman		Citywide Street Lighting	3	0.59	61.00	\$35.99	
1530 Pacific St						\$61.00	
St Paul MN 55106-6613		*** Owner and Taxpaye	er ***				
*1530 PACIFIC ST			Total Assessr	nent:		\$61.00	
*Ward: 7			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$61.00	
 Marlene L Dramdahl	ANGELINE ADDITION LOT 9 BLK 1	Street Sweeping - Reside	ential Stree				<u> </u>
1535 Mclean Ave		Alley Sweeping		0.12	137.00	\$16.44	34-27-22-34-0030
St Paul MN 55106-6610		Citywide Street Lighting	g	0.59	65.00	\$38.35	
*1535 MCLEAN AVE					_	\$81.44	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$81.44	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amou	ınt:		\$81.44	
	ANGELINE ADDITION LOT 11 BLK 1	Street Sweeping - Reside	 ential Streε				34-29-22-34-0032
Ralph R Bradshaw		Citywide Street Lighting		0.59	60.00	\$35.40	34-29-22-34-0032
1521 Mclean Ave					_	\$60.00	
St Paul MN 55106-6610		*** Owner and Taxpaye	er ***			******	
*1521 MCLEAN AVE			Total Assessr	nent:	-	\$60.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
David P Kemp	ANGELINE ADDITION LOT 12 BLK 1	Street Sweeping - Reside		0.41	60.00	\$24.60	34-29-22-34-0033	
Tania A Dantas		Citywide Street Lighting	3	0.59	60.00	\$35.40		
1515 Mclean Ave						\$60.00		
St Paul MN 55106-6610		*** Owner and Taxpaye	er ***					
*1515 MCLEAN AVE		Total Assessment:				\$60.00		
Ward: 7			This Payment:			\$0.00		
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00		
			Current Year I	Interest:		\$0.00		
			Payoff Amoun	nt:		\$60.00		
	ANGELINE ADDITION LOT 16 BLK 1	Street Sweeping - Reside	ential Stree		<u> </u>		<u> </u>	
Michelle Reisetter		Citywide Street Lighting		0.59	97.50	\$57.53	34-27-22-34-0037	
3918 Canby Ct						\$97.51		
Northfield MN 55057-4795		*** Owner and Taxpaye	er ***			4,,,,,,		
1493 MCLEAN AVE			Total Assessm	nent:		\$97.51		
Ward: 7		This Payment:				\$0.00		
Pending as of: 8/21/2020			Current Year I	\$0.00				
		Current Year Interest:				\$0.00		
			Payoff Amoun	nt:		\$97.51		
Armando P Orozco	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside		- — <sub>0.41</sub>				
328 Birmingham St	PAUL, MINN. W 66 FT OF LOT 4 BLK	Citywide Street Lighting		0.59	101.50	\$59.89	34-29-22-34-0041	
St Paul MN 55106-6503	31	, ,	2		_	\$101.51		
328 BIRMINGHAM ST		*** Owner and Taxpaye	er ***			\$101.51		
Ward: 7		Total Assessment: This Payment:			-	\$101.51		
Pending as of: 8/21/2020						\$0.00		
			Current Year I	Principal:		\$0.00		
			Current Year I			\$0.00		
			Payoff Amoun	nt:		\$101.51		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 180
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	<u> Init Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Fatuma B Hassan	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resider	ntial Stree	0.41	75.00	\$30.75	34-29-22-34-0042
311 Barclay St	PAUL, MINN. N 75 FT; LOT 8 BLK 31	Citywide Street Lighting		0.59	75.00	\$44.25	
St Paul MN 55106-6501						\$75.00	
*311 BARCLAY ST		*** Owner and Taxpayer	. ***				
*Ward: 7		7	Total Assessmen	nt:		\$75.00	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
		(	Current Year In	terest:		\$0.00	
		1	Payoff Amount	t <b>:</b>		\$75.00	
	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resider	ntial Stree	0.41			34-29-22-34-0043
Se Yang Lee	PAUL, MINN. EX N 75 FT; N 1/2 OF	Citywide Street Lighting		0.59	93.00	\$54.87	0.129 22 0.1 00.10
305 Barclay St	MCLEAN AVE VAC ADJ & LOT 8 BLK 31				<del></del>	\$93.00	
St Paul MN 55106-6501		*** Owner and Taxpayer	. ***				
*305 BARCLAY ST		-	Total Assessmen	nt·		\$93.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
		1	Payoff Amount	<b>::</b>		\$93.00	
1428 Pacific Owners Llc	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Resider	ntial Stree				
1689 Upper Afton Rd	PAUL, MINN. SUBJ TO HWYS &	Citywide Street Lighting	illiai SilCC	0.59	101.00	\$59.59	34-29-22-34-0045
St Paul MN 55106-6840	WITHOUT ACESS TO SD HWYS;THE W	,			_	\$101.00	
*1428 PACIFIC ST	175 FT OF LOT 1 BLK 30	*** Owner and Taxpayer	. ***			\$101.00	
*Ward: 7		7	Total Assessmen	nt:		\$101.00	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
			Current Year In			\$0.00	
		I	Payoff Amount	t <b>:</b>		\$101.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 181
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Pleasantville Llc 2400 Blaisdell Ave Ste 100 Minneapolis MN 55404-3394	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. SUBJ TO ESMT ST VAC ADJ AND FOL N 1/2 OF MCLEAN AVE VAC ADJ AND LOT 5 6 AND 7 BLK 31	Street Sweeping - Con Street Sweeping - Resi Citywide Street Lighti	idential Stree	1.07 0.41 0.59	185.00 753.00 938.00	\$197.95 \$308.73 \$553.42	34-29-22-34-0047
*250 BIRMINGHAM ST *Ward: 7	PART OF BLK 35 ELY OF BIRMINGHAM ST AS RELOCATED	*** Owner and Taxpa	yer ***			\$1,060.10	
*Pending as of: 8/21/2020		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:				\$1,060.10 \$0.00 \$0.00 \$0.00 \$1,060.10	
Ross O Hulleman 1530 Mclean Ave St Paul MN 55106-6631 *1530 MCLEAN AVE	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. LOT 1 BLK 33	Street Sweeping - Resi Citywide Street Lighti	ng	0.41 0.59	174.00 174.00	\$71.34 \$102.66 \$174.00	34-29-22-34-0055
*Ward: 7 *Pending as of: 8/21/2020		Owner and Taxpa	Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:		\$174.00 \$0.00 \$0.00 \$0.00 \$174.00		
Home Sfr Borrower Llc C/O Havenbrook Homes 3505 Koger Blvd Ste 400 Duluth GA 30096-7672	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. EX W 50 FT & EX E 80 FT; LOT 4 BLK 24	Street Sweeping - Resi Citywide Street Lighti	ng	0.41 0.59	100.00	\$41.00 \$59.00 \$100.00	34-29-22-34-0060
*1457 PACIFIC ST *Ward: 7 *Pending as of: 8/21/2020		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$100.00 \$0.00 \$0.00 \$0.00 \$100.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 182
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u> 1</u>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
Thomas Jarshaw	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside		0.41	80.00	\$32.80	34-29-22-34-0061
1461 Pacific St	PAUL, MINN. E 80 FT OF LOT 4 BLK 24	Citywide Street Lighting		0.59	80.00	\$47.20	
St Paul MN 55106-6512 *1461 PACIFIC ST		*** Owner and Taxpayer	r ***			\$80.00	
*Ward: 7				4.	<u> </u>	600.00	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$80.00 \$0.00	
-			This Payment: Current Year Pr	rincinal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amount			\$80.00	
City Of St Paul	BARCLAY ESTATES ALL OF LOT 4 &	Street Sweeping - Comm	ercial/Art	1.07	300.00	\$321.00	34-29-22-34-0065
25 4th St W Rm 1000	E 60 FT OF S 150 FT OF LOT 3 & EX S 150 FT; E 120 FT OF SD LOT 3 BLK 34	Citywide Street Lighting		0.59	300.00	\$177.00	***EXEMPT***
St Paul MN 55102-1692	IN AUDITOR'S SUBD NO.62 & IN SD				<del>==</del>	\$498.00	
*1469 BURNS AVE	BARCLAY ESTATES OUTLOT A & LOTS 1 THRU 9 BLK 1 & LOTS 1 THRU	*** Owner and Taxpayer	r ***				
*Ward: 7		•	Total Assessme	ent:		\$498.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	-		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amount	t:		\$498.00	
Pleasantville Llc	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside					
2400 Blaisdell Ave Ste 100	PAUL, MINN. SUBJ TO ESMT; VAC	Citywide Street Lighting		0.41	553.00	\$326.27	34-29-22-34-0081
Minneapolis MN 55404-3394	AVE ADJ AND PART BET	,			_	\$553.00	
*273 BIRMINGHAM ST	BIRMINGHAM ST AS RELOCATED AND STH 61/104 OF FOL LOT 2 BLK 30 AND LOTS 1 AND EX THE SLY 200 FT	*** Owner and Taxpayer	r ***			\$333.00	
*Ward: 7		,	Total Assessme	ent:		\$553.00	
*Pending as of: 8/21/2020		•	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amoun	t:		\$553.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 183
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Lance E Reisetter Michelle S Reisetter	AUDITOR'S SUBDIVISION NO. 62 ST. PAUL, MINN. THE W 3.08 FT OF LOT 1 AND ALL OF LOT 2 BLK 31	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	119.00 119.00	\$48.79 \$70.21	34-29-22-34-0082
8918 Canby Ct Northfield MN 55057-4795		*** Owner and Taxpayer				\$119.00	
*1468 PACIFIC ST		1 ,					
*Ward: 7			Total Assessm			\$119.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
1 chang as on 0,21,2020			Current Year F	-		\$0.00	
			Current Year I Payoff Amoun			\$0.00 <b>\$119.00</b>	
			rayon rimour			\$117.00	
Lance E Reisetter	AUDITOR'S SUBDIVISION NO. 62 ST.	Street Sweeping - Reside		0.41	123.50	\$50.64	34-29-22-34-0083
Michelle S Reisetter	PAUL, MINN. EX THE W 3.08 FT; LOT 1 BLK 31	Citywide Street Lighting	Ţ	0.59	123.50	\$72.87	
8918 Canby Ct						\$123.51	
Northfield MN 55057-4795		*** Owner and Taxpayer	r ***				
*323 BARCLAY ST			Total Assessm	ent:		\$123.51	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$123.51	
	Subj To Hwy; The S 78 Ft Of Lot 1 And	Street Sweeping - Reside		0.41	70.00	\$28.70	34-29-22-34-0084
1535 Pacific St	All Of Lot 6 Blk 23	Citywide Street Lighting	5	0.59	70.00	\$41.30	
St Paul MN 55106-6630						\$70.00	
*1535 PACIFIC ST		*** Owner and Taxpayer	r ***				
*Ward: 7		•	Total Assessm	ent:	-	\$70.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$70.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 184
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Bao Tran	GODES AND LICHA ADDITION LOT	Street Sweeping - Commer	cial/Art 1.07	27.00	\$28.89	34-29-22-41-0001
Thao T Nguyen	1 BLK 1	Street Sweeping - Resident	ial Stree 0.41	72.50	\$29.73	
477 White Bear Ave N		Alley Sweeping	0.12		\$6.48	
St Paul MN 55106-3001		Citywide Street Lighting	0.59	99.50	\$58.71	
*477 WHITE BEAR AVE N				_	\$123.81	
*Ward: 7		*** Owner and Taxpayer *	**			
*Pending as of: 8/21/2020		To	otal Assessment:	-	\$123.81	
		Th	nis Payment:		\$0.00	
		Cu	ırrent Year Principal:		\$0.00	
		Cı	arrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$123.81	
	GODES AND LICHA ADDITION LOT	Street Sweeping - Commer				
Spence Specialties Llc	5 BLK 1	Street Sweeping - Commercial Street Sweeping - Resident			\$28.36 \$29.11	34-29-22-41-0005
1075 Hudson Rd		Alley Sweeping	0.12		\$6.36	
St Paul MN 55106-6107		Citywide Street Lighting	0.59		\$57.53	
*453 WHITE BEAR AVE N		City wide Street Eighting	0.57		\$121.36	
*Ward: 7 *Pending as of: 8/21/2020		*** Owner and Taxpayer *	**		\$121.36	
C		To	otal Assessment:	-	\$121.36	
		Th	nis Payment:		\$0.00	
			arrent Year Principal:	\$0.00		
		Cu	arrent Year Interest:		\$0.00	
		Pa	nyoff Amount:		\$121.36	
			<del></del> – – . <del></del>	· — — — ·		
Larnscie Stevenson	GODES AND LICHA ADDITION N 1/2 OF E AND W ALLEY VAC ADJ AND	Street Sweeping - Resident			\$22.55	34-29-22-41-0006
1754 Conway St	LOT 7 BLK 1	Alley Sweeping Citywide Street Lighting	0.12 0.59		\$15.84 \$32.45	
St Paul MN 55106-5930		Citywide Street Lighting	0.39	33.00		
*1754 CONWAY ST		*** Owner and Taxpayer *	**		\$70.84	
*Ward: 7		- Owner and Taxpayer				
*Pending as of: 8/21/2020		To	otal Assessment:		\$70.84	
		Th	nis Payment:		\$0.00	
		Cu	ırrent Year Principal:		\$0.00	
		Cu	arrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$70.84	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 185
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Seng Thao	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Resid		0.41	52.00	\$21.32	34-29-22-41-0007
1748 Conway St	TO CONWAY ST AND EX W 167 9/10 FT THE N 164 FT OF PART OF SE 1/4	Citywide Street Lightin	ıg	0.59	52.00	\$30.68	
St Paul MN 55106-5930	BET BISANZ BROS MEADOW BROOK AND GODES AND LICHA ADD IN SEC	*** Owner and Taxpay	··· ***			\$52.00	
*1748 CONWAY ST *Ward: 7	34 TN 29 RN 22	Owner and Taxpay			-		
*Ward: / *Pending as of: 8/21/2020			Total Assessn			\$52.00	
"Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$52.00	
	BISANZ BROS. MEADOW BROOK LOT		— — — — lential Stree				34-29-22-41-0012
Elaine S Dunbar	2 BLK 1	Citywide Street Lightin	ıg	0.59	56.00	\$33.04	0.2, 22 .1 0012
1724 Conway St					_	\$56.00	
St Paul MN 55106-5930		*** Owner and Taxpay	er ***				
*1724 CONWAY ST			Total Assessn	nent:	-	\$56.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$56.00	
— — — — — — — — — Hector Arias Rangel	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Resid	lential Stree				<u> </u>
1750 Euclid St	1 BLK 4	Citywide Street Lightin		0.59	57.00	\$33.63	34-27-22-41-0020
St Paul MN 55106-5910					_	\$57.00	
*1750 EUCLID ST		*** Owner and Taxpay	er ***			ψ57.00	
*Ward: 7			Total Assessn	nent:		\$57.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	int:		\$57.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	OSMSP	Assmt: 200025	Manager: LM	Page 186
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Doua Yang 1740 Euclid St	BISANZ BROS. MEADOW BROOK LOT 3 BLK 4	Street Sweeping - Reside		0.41	55.00 55.00	\$22.55 \$32.45	34-29-22-41-0030
St Paul MN 55106-5910					_	\$55.00	
*1740 EUCLID ST		*** Owner and Taxpayer	r ***		_		
*Ward: 7			Total Assessme	ent:		\$55.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	t:		\$55.00	
Barry S Barnes	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Reside	ential Stree	0.41	55.00	\$22.55	34-29-22-41-0031
Sheila M Barnes	4 BLK 4	Citywide Street Lighting	ţ	0.59	55.00	\$32.45	0.2/22 11 0001
1730 Euclid St						\$55.00	
St Paul MN 55106-5910		*** Owner and Taxpayer	r ***				
*1730 EUCLID ST			Total Assessme	ent:		\$55.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	t:		\$55.00	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Reside	– – – – ential Stree	0.41			34-29-22-41-0032
Kristine L Becker	5 BLK 4	Citywide Street Lighting		0.59	55.00	\$32.45	34-27-22-41-0032
1728 Euclid St					=	\$55.00	
St Paul MN 55106-5910		*** Owner and Taxpayer	r ***				
*1728 EUCLID ST		•	Total Assessme	ent:	_	\$55.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	` ′	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 187
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u> 1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Jonathan Howard	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residen	ntial Stree	0.41	54.00	\$22.14	34-29-22-41-0033
Christina M Richard	OBLK 4	Citywide Street Lighting		0.59	54.00	\$31.86	
1726 Euclid St						\$54.00	
St Paul MN 55106-5910		*** Owner and Taxpayer	***				
*1726 EUCLID ST		Т	Γotal Assessme	ent:		\$54.00	
*Ward: 7		Τ	This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pr	-		\$0.00	
			Current Year In			\$0.00	
		F	Payoff Amoun	t:		\$54.00	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residen	— — — — ntial Stree	0.41	— — <del>—</del> — -		34-29-22-41-0034
Lucia C Govednik	7 BLK 4	Citywide Street Lighting		0.59	91.50	\$53.99	012/22 11 0001
1720 Euclid St					<del></del>	\$91.51	
St Paul MN 55106-5910		*** Owner and Taxpayer	***				
*1720 EUCLID ST		T	Γotal Assessme	ent:		\$91.51	
*Ward: 7		Γ	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		F	Payoff Amoun	t:		\$91.51	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residen	 ntial Stree	0.41			<u> </u>
Carrie L Motarjemi	11 BLK 4	Citywide Street Lighting		0.59	55.00	\$32.45	J 1-27-22-71-0000
5348 Shoreview Ave					=	\$55.00	
Minneapolis MN 55417-1949		*** Owner and Taxpayer	***				
*1737 WILSON AVE		<del>-</del> т	Γotal Assessme	ent.	-	\$55.00	
*Ward: 7			Γotal Assessine  This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pi	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
		F	Payoff Amoun	t:		\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 188	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	]	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Pheng Chang	GODES AND LICHA ADDITION S 1/2	Street Sweeping - Resider	ntial Stree	0.41	55.00	\$22.55	34-29-22-41-0042	
1761 Wilson Ave	OF E AND W ALLEY VAC ADJ AND LOT 6 BLK 2	Alley Sweeping		0.12	134.00	\$16.08		
St Paul MN 55106-5933	LOT OBLE 2	Citywide Street Lighting		0.59	55.00	\$32.45		
*1761 WILSON AVE					<del></del>	\$71.08		
*Ward: 7		*** Owner and Taxpayer	***					
*Pending as of: 8/21/2020		7	Total Assessme	ent:	-	\$71.08		
		7	This Payment:			\$0.00		
		(	Current Year P	rincipal:		\$0.00		
		(	Current Year Interest:					
		1	Payoff Amoun	t:		\$71.08		
	GODES AND LICHA ADDITION LOT	Street Sweeping - Comme	ercial/Art	1.07			<u> </u>	
Hien Thi Luong	1 BLK 3	Street Sweeping - Resider		0.41	72.00	\$29.52	34-29-22-41-0043	
417 White Bear Ave N		Alley Sweeping		0.12	54.00	\$6.48		
St Paul MN 55106-6029		Citywide Street Lighting		0.59	99.00	\$58.41		
*417 WHITE BEAR AVE N					_	\$123.30		
*Ward: 7		*** Owner and Taxpayer	***			4-2-0-0		
*Pending as of: 8/21/2020		_ 	Total Assessme	\$123.30				
		7	This Payment:	\$0.00				
		(	Current Year P	rincipal:		\$0.00		
		(	Current Year Interest:					
		1	Payoff Amoun	t:		\$123.30		
	GODES AND LICHA ADDITION LOT	Street Sweeping - Comme		1.07				
Eric K Petersen 405 White Bear Ave N	3 BLK 3	Alley Sweeping	elciai/Alt	0.12	54.00	\$6.48	34-29-22-41-0045	
403 White Bear Ave N St Paul MN 55106-6029		Citywide Street Lighting		0.12	53.00	\$31.27		
*405 WHITE BEAR AVE N		,			_	\$94.46		
*Ward: 7		*** Owner and Taxpayer	***			\$94.40		
*Pending as of: 8/21/2020			Total Assessme	nnt:	<del></del>	\$94.46		
-			This Payment:	-11t.		\$94.40		
			Current Year P	rincinal.		\$0.00		
			Current Year In	-		\$0.00		
			Payoff Amoun			\$94.46		
		•	. ayon Amoun			ψ <b>/Τ.Τ</b> υ		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 189
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Realty Income Properties 3 Llc Attn Portfolio Management	GODES AND LICHA ADDITION S 1/2 OF AVE AS VAC ACCRUING AND FOL LOTS 1 2 & LOT 3 BLK 4	Street Sweeping - Comm Citywide Street Lighting		1.07	392.00 392.00	\$419.44 \$231.28	34-29-22-41-0048
11995 El Camino Real Ste 101 San Diego CA 92130-2565		*** Owner and Taxpaye	er ***			\$650.72	
*1771 OLD HUDSON RD			Total Assess	ment:		\$650.72	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$650.72	
	SECTION 34 TOWN 29 RANGE 22 EX E	Street Sweeping - Resid					
Ms Relocation Services Incorporated 2108 43rd St E	110 FT THE N 135 FT OF PART OF SE	Citywide Street Lighting		0.41	111.00	\$65.49	34-29-22-41-0053
Minneapolis MN 55407-3050	1/4 BET KELTINGS ADD & GODES &	eny wide survey Eighting	>	0.07	=	\$111.00	
*1740 WILSON AVE	LICHA ADD & S OF S LINE OF WILSON AVE & N OF EXT CL OF WAKEFIELD AVE IN SEC 34 TN 29	*** Owner and Taxpayer ***				\$111.00	
*Ward: 7	<b></b>		Total Assess	ment:		\$111.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$111.00	
	KELTING'S ADDITION TO ST. PAUL N	Citywide Street Lighting		0.59	93.00		<u> </u>
Frank Leo	93 FT OF LOTS 5 6 & LOT 7 BLK 3	,	>	****	_	\$54.87	34-29-22-41-0030
400 Flandrau St		*** Owner and Taxpaye	-r ***			\$34.87	
St Paul MN 55106-5936							
*400 FLANDRAU ST			Total Assess			\$54.87	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year Current Year	_		\$0.00 \$0.00	
			Payoff Amor			\$0.00 \$54.87	
			i ayun Alliu	unt.		\$3 <b>4.</b> 07	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 190
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Robert Rodriguez Jr Maria V Rodriguez	BUNDE'S PARK ADDITION TO ST. PAUL EX W 28 FT LOT 2 AND ALL OF	Street Sweeping - Resident Citywide Street Lighting		0.41	86.00 86.00	\$35.26 \$50.74	34-29-22-41-0062
1716 Conway St St Paul MN 55106-5928	LOT 1BLK 5	*** Owner and Taxpay	yer ***		_	\$86.00	
*1716 CONWAY ST *Ward: 7			Total Assess			\$86.00	
*Pending as of: 8/21/2020			This Paymer Current Year			\$0.00 \$0.00	
			Current Year Payoff Amo			\$0.00 <b>\$86.00</b>	
Kathleen A Blees	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resident	dential Stree				34-29-22-41-0063
1712 Conway St St Paul MN 55106-5928	PAUL W 28 FT OF LOT 2 AND EX W 13 FT LOT 3 BLK 5	Citywide Street Lightin	ng	0.59	53.00	\$31.27	012/22/11/0000
*1712 CONWAY ST		*** Owner and Taxpay	yer ***			\$53.00	
*Ward: 7 *Pending as of: 8/21/2020			Total Assess			\$53.00	
Tending us of: 0/21/2020			This Paymer Current Year			\$0.00 \$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$53.00	
Zachary A Hickey	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resid	dential Streε		63.00	\$25.83	34-29-22-41-0066
1696 Conway St	PAUL W 23 FT OF LOT 6 AND ALL OF LOT 7 BLK 5	Citywide Street Lightin	ng	0.59	63.00	\$37.17	
St Paul MN 55106-5928 *1696 CONWAY ST		*** Owner and Taxpay	yer ***			\$63.00	
*Ward: 7			Total Assess	ment:		\$63.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00 <b>\$63.00</b>	
			Payoff Amo	unt:		\$03.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Maixia Vang	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resi		0.41	60.00	\$24.60	34-29-22-41-0070
1672 Conway St	PAUL E 1/2 OF LOT 13 AND ALL OF LOT 12 BLK 5	Citywide Street Lightin	ng	0.59	60.00	\$35.40	
St Paul MN 55106-5928						\$60.00	
1672 CONWAY ST		*** Owner and Taxpa	yer ***				
Ward: 7			Total Assessme	ent:	-	\$60.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$60.00	
	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resi	idential Stree	0.41	50.00	\$20.50	<u> </u>
666 Conway St	PAUL W 1/2 OF LOT 13 AND EX W 10	Citywide Street Lightin		0.59	50.00	\$29.50	012/22 11 00/1
t Paul MN 55106-5928	FT LOT 14 BLK 5				<del></del>	\$50.00	
1666 CONWAY ST		*** Owner and Taxpa	yer ***				
Ward: 7			Total Assessme	ent.	-	\$50.00	
Pending as of: 8/21/2020			This Payment:	JIII.		\$0.00	
			Current Year Pr	rincinal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$50.00	
Richard K Mathisen	BISANZ BROS. MEADOW BROOK E 30	Street Sweeping - Resi	idential Stree	0.41			
Sandra A Mathisen	FT OF LOT 7 AND EX E 25 FT LOT 6	Citywide Street Lightin		0.59	55.00	\$32.45	34-29-22-41-0078
687 Euclid St	BLK 2	, 5			<del></del>	\$55.00	
t Paul MN 55106-5907		*** Owner and Taxpa	yer ***			\$55.00	
1687 EUCLID ST		1 .	·			055.00	
Ward: 7			Total Assessme	ent:		\$55.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
-			Current Year Procurrent Year In	_		\$0.00 \$0.00	
			Payoff Amoun			\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		roject: 2020SMSP esolution #:	Assmt: 200025	Manager: LM	Page 192
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<u>Quantity</u>	Charge Amts	Property ID
Chad Chan	BISANZ BROS. MEADOW BROOK E 40	Street Sweeping - Residenti	al Stree 0.41	55.00	\$22.55	34-29-22-41-0080
1675 Euclid St	FT OF LOT 9 AND EX E 35 FT LOT 8 BLK 2	Citywide Street Lighting	0.59	55.00	\$32.45	
St Paul MN 55106-5907					\$55.00	
*1675 EUCLID ST		*** Owner and Taxpayer **	**	_		
*Ward: 7		То	tal Assessment:		\$55.00	
*Pending as of: 8/21/2020		Th	is Payment:		\$0.00	
			rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$55.00	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residenti	al Streε 0.41	92.00	\$37.72	34-29-22-41-0084
1716 Euclid St	1 BLK 3	Citywide Street Lighting	0.59	92.00	\$54.28	
St Paul MN 55106-5908				<u>-</u>	\$92.00	
*1716 EUCLID ST		*** Owner and Taxpayer **	**			
*Ward: 7		To	tal Assessment:		\$92.00	
*Pending as of: 8/21/2020		Th	is Payment:		\$0.00	
		Cu	rrent Year Principal:		\$0.00	
			irrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$92.00	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residenti	al Stree 0.41	56.00		34-29-22-41-0086
1706 Euclid St	3 BLK 3	Citywide Street Lighting	0.59	56.00	\$33.04	0.12/ 22 .17 0000
St Paul MN 55106-5908				_	\$56.00	
*1706 EUCLID ST		*** Owner and Taxpayer **	**			
*Ward: 7		To	tal Assessment:	-	\$56.00	
*Pending as of: 8/21/2020		Th	is Payment:		\$0.00	
		Cu	rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$56.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Jackie A Richards	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Resid	lential Stree	0.41	55.00	\$22.55	34-29-22-41-0087
1700 Euclid St	4 BLK 3	Citywide Street Lighting	g	0.59	55.00	\$32.45	
St Paul MN 55106-5908						\$55.00	
1700 EUCLID ST		*** Owner and Taxpaye	er ***		_		
Ward: 7			Total Assessi	ment:		\$55.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$55.00	
	BISANZ BROS. MEADOW BROOK LOT		 lential Streε				
Paula G St Germain	5 BLK 3	Citywide Street Lighting	g	0.59	55.00	\$32.45	0.29 22 11 0000
690 Euclid St						\$55.00	
t Paul MN 55106-5908		*** Owner and Taxpaye	er ***				
1690 EUCLID ST			Total Assessi	nent:	-	\$55.00	
Ward: 7			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$55.00	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Resid					
aw Mu Nar	6 BLK 3	Citywide Street Lighting		0.59	54.00	\$31.86	34-27-22-41-0007
688 Euclid St						\$54.00	
t Paul MN 55106-5908		*** Owner and Taxpaye	er ***			*-	
1688 EUCLID ST			Total Assessi	nent·	-	\$54.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	ınt:		\$54.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020S Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 19
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uı</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Chowly Pajger Lee	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residen	ntial Stree	0.41	55.00	\$22.55	34-29-22-41-0090
1682 Euclid St	7 BLK 3	Citywide Street Lighting		0.59	55.00	\$32.45	
St Paul MN 55106-5908						\$55.00	
*1682 EUCLID ST		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessment	t:		\$55.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$55.00	
	BISANZ BROS. MEADOW BROOK LOT		itial Stree	0.41		<u> </u>	<u> </u>
1676 Euclid St	8 BLK 3	Citywide Street Lighting		0.59	55.00	\$32.45	34-27-22-41-0071
St Paul MN 55106-5908					=	\$55.00	
*1676 EUCLID ST		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessment	t:	-	\$55.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$55.00	
	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Residen	— — — intial Stree	0.41			
1675 Wilson Ave	15 BLK 3	Citywide Street Lighting		0.59	55.00	\$32.45	34-27-22-41-0070
St Paul MN 55106-5931						\$55.00	
*1675 WILSON AVE		*** Owner and Taxpayer	***			ψ55.00	
*Ward: 7			otal Assessment	t:		\$55.00	
*Pending as of: 8/21/2020		Т	his Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		20SMSP #:	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Scott A Babou	BISANZ BROS. MEADOW BROOK LOT	Street Sweeping - Res	idential Stree	0.41	91.50	\$37.52	34-29-22-41-0105
Sheryl A Babou	22 BLK 3	Citywide Street Lighti	ing	0.59	91.50	\$53.99	
1715 Wilson Ave						\$91.51	
St Paul MN 55106-5931		*** Owner and Taxpa	yer ***				
1715 WILSON AVE			Total Assessn	nent:		\$91.51	
Ward: 7			This Payment	:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$91.51	
	BISANZ BROS. MEADOW BROOK N	Street Sweeping - Res	idential Stree				<u> </u>
1692 Wilson Ave	1/2 OF VAC ALLEY ADJ AND FOL	Citywide Street Lighti	ing	0.59	55.00	\$32.45	012/22 11 0110
St Paul MN 55106-5921	PART OF LOTS 6 AND 7 BLK 9 BUNDES PARK ADD BET EXTENDED					\$55.00	
41692 WILSON AVE	E AND W LINES OF AND FOL IN SD BISANZ BROS MEADOW BROOK EX	*** Owner and Taxpa	yer ***			·	
Ward: 7			Total Assessn	nent:		\$55.00	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$55.00	
	BISANZ BROS. MEADOW BROOK N	Street Sweeping - Res	 idential Streε				
Roxanne M Clark	1/2 OF VAC ALLEY ADJ AND FOL W	Citywide Street Lighti		0.59	55.00	\$32.45	J7- <i>27-22</i> -71-V11 <b>7</b>
672 Wilson Ave	10 FT OF LOT 4 AND EX W 5 FT LOT 5 BLK 5				_	\$55.00	
t Paul MN 55106-5921		*** Owner and Taxpa	yer ***			4	
1672 WILSON AVE		_	Total Assessn	nent:		\$55.00	
Ward: 7			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou			\$55.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Ass Ratification D		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 19	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Cha Sher Xiong	REGISTERED LAND SURVEY 183	Street Sweeping - Resid		0.41	65.00	\$26.65	34-29-22-41-0118	
Xiong Mee Thao	TRACT B	Citywide Street Lighting	3	0.59	65.00	\$38.35		
394 Kennard St		*** O 1 T	***			\$65.00		
St Paul MN 55106-6110 *394 KENNARD ST		*** Owner and Taxpaye	<del></del>					
*Ward: 7			Total Assessi			\$65.00		
*Pending as of: 8/21/2020			This Paymen			\$0.00		
0.555546			Current Year			\$0.00		
			Current Year Payoff Amou			\$0.00 <b>\$65.00</b>		
Telly Wilcox	REGISTERED LAND SURVEY 183 W	Street Sweeping - Comm		1.07	32.50	\$34.78	34-29-22-41-0119	
75 Wentworth Av W	15 FT OF TRACT D AND ALL OF TRACT C	Street Sweeping - Resid		0.41	65.00	\$26.65		
West St Paul MN 55118-3828	nater e	Citywide Street Lighting	3	0.59	97.50	\$57.53		
*386 KENNARD ST		and a second	als als als			\$118.96		
*Ward: 7		*** Owner and Taxpaye	er *** 					
*Pending as of: 8/21/2020			Total Assessment:			\$118.96		
			This Paymen			\$0.00		
			Current Year			\$0.00		
			Current Year Payoff Amou			\$0.00 <b>\$118.96</b>		
			rayon Amo	int:		\$118.90		
Cha Morn Xiong	REGISTERED LAND SURVEY 183 EX W 15 FT TRACT D AND EX E 20 FT	Street Sweeping - Comm		1.07	66.00	\$70.62	34-29-22-41-0120	
1669 Old Hudson Rd	TRACT E	Citywide Street Lighting	3	0.59	66.00	\$38.94		
St Paul MN 55106-6119 *1669 OLD HUDSON RD		*** Owner and Taxpaye	er ***			\$109.56		
*Ward: 7			Total Assessi	ment:	_	\$109.56		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
		-	Current Year Principal:	\$0.00				
			Current Year	Interest:		\$0.00		
			Payoff Amou	ınt:		\$109.56		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 197
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Seng Yang Pa Houa 1660 Old Hudson Rd St Paul MN 55106-6118	SECTION 34 TOWN 29 RANGE 22 KENNARD ST VAC ACCRUING AND FOL COM ON NLY LINE OF STH 12-108 1257 32/100 FT W OF E LINE OF SE 1/4 OF SEC 34 T 29 R 22 TH N 110 FT TO BEG TH CONTINUE N TO S LINE	Street Sweeping - Com Street Sweeping - Resi Citywide Street Lightin	dential Stree	1.07 0.41 0.59	21.50 67.50 89.00	\$23.01 \$27.68 \$52.52 \$103.21	34-29-22-41-0125
*1660 OLD HUDSON RD *Ward: 7 *Pending as of: 8/21/2020		*** Owner and Taxpayer ***  Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:				\$103.21 \$0.00 \$0.00 \$0.00 \$103.21	
Lou Thao 1688 Old Hudson Rd St Paul MN 55106-6118 *1688 OLD HUDSON RD *Ward: 7 *Pending as of: 8/21/2020	SECTION 34 TOWN 29 RANGE 22 BEG AT PT 166 FT S FROM CL OF OLD HUDSON RD AND 937 32/100 FT W OF E L OF SE 1/4 TH N 166 FT TO SD CL TH WLY THEREON 150 FT TH SLY TO PT 136.15 W OF BEG TH E TO BEG (SUBJ	Street Sweeping - Com Citywide Street Lightin  *** Owner and Taxpay	ng	t: Principal: Interest:	147.00 147.00	\$157.29 \$86.73 \$244.02 \$244.02 \$0.00 \$0.00 \$0.00 \$244.02	34-29-22-41-0126
Stephen O Irabor 1650 Conway St St Paul MN 55106-5926 *1650 CONWAY ST *Ward: 7 *Pending as of: 8/21/2020	CARROLL ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. N 1/2 VAC ALLEY ADJ AND FOL E 12 FT OF LOT 9 AND ALL OF LOT 10 BLK 1	Street Sweeping - Resic Citywide Street Lightin *** Owner and Taxpay	ng	t: Principal: Interest:	56.00	\$22.96 \$33.04 \$56.00 \$56.00 \$0.00 \$0.00 \$0.00 \$56.00	34-29-22-42-0002

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 198
Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Barbara J Miller Po Box 600072	CARROLL ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. N 1/2 OF VAC ALLEY ADJ AND FOL EX W 5	Street Sweeping - Residence Citywide Street Lightin		0.41 0.59	63.00 63.00	\$25.83 \$37.17	34-29-22-42-0003
St Paul MN 55106-0002 *1642 CONWAY ST	FT LOT 8 AND EX E 12 FT LOT 9 BLK	*** Owner and Taxpay	er ***		_	\$63.00	
*Ward: 7			Total Assessme	ent:		\$63.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	_		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	it:		\$63.00	
	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Resid		0.41	45.00	\$18.45	34-29-22-42-0004
Sho Paw	ST. PAUL, RAMSEY CO., MINN. N 1/2 OF VAC ALLEY ADJ AND FOL W 5 FT	Citywide Street Lightin	ıg	0.59	45.00	\$26.55	
1638 Conway St	OF LOT 8 AND ALL OF LOT 7 BLK 1					\$45.00	
St Paul MN 55106-5926		*** Owner and Taxpay	er ***				
*1638 CONWAY ST			Total Assessme	ent:		\$45.00	
*Ward: 7 *Pending as of: 8/21/2020			This Payment:			\$0.00	
Fending as of: 8/21/2020			Current Year P	•		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$45.00	
	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	34-29-22-42-0005
Jose C Vinueza	ST. PAUL, RAMSEY CO., MINN. N 1/2 VAC ALLEY ADJ AND FOL E 20 FT OF	Citywide Street Lightin	ıg	0.59	60.00	\$35.40	
1634 Conway St St Paul MN 55106-5926	LOT 5 AND ALL OF LOT 6 BLK 1	*** Owner and Taxpay	er ***			\$60.00	
*1634 CONWAY ST		• •	Total Assessme			\$60.00	
*Ward: 7			This Payment:	CIII.		\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincinal:		\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amoun			\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 199
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Frank J Bauer	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Res	idential Stree	0.41	59.00	\$24.19	34-29-22-42-0006
Desiree W Chapman	ST. PAUL, RAMSEY CO., MINN. N 1/2 VAC ALLEY ADJ AND FOL EX E 20 FT	Citywide Street Lighti	ng	0.59	59.00	\$34.81	
1628 Conway St	LOT 5 AND ALL OF LOT 4 BLK 1					\$59.00	
St Paul MN 55106-5926		*** Owner and Taxpa	yer ***				
*1628 CONWAY ST			Total Assess	ment:	-	\$59.00	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$59.00	
	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Res	idential Streε				34-29-22-42-0009
1606 Conway St	TO CONWAY ST THE E 70 FT OF N 172	Citywide Street Lighti	ng	0.59	70.00	\$41.30	
St Paul MN 55106-5926	FT OF PART OF SE 1/4 W OF CARROLL ADD TO THE CITY OF ST PAUL				_	\$70.00	
*1606 CONWAY ST	RAMSEY CO MINN IN SEC 34 TN 29 RN 22	*** Owner and Taxpa	yer ***				
*Ward: 7	KN 22		Total Assess	sment:	-	\$70.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$70.00	
	ARMIN F. VETTER ADDITION LOT 1	Street Sweeping - Res	idential Stree				——————————————————————————————————————
Carrie A Auge	BLK 1	Citywide Street Lighti		0.59	93.00	\$54.88	34-27-22-42-0012
1594 Conway St					_	\$93.02	
St Paul MN 55106-5926		*** Owner and Taxpa	yer ***				
*1594 CONWAY ST			Total Assess	sment.	-	\$93.02	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$93.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 200
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mee Lor Yang 1599 Euclid St	ARMIN F. VETTER ADDITION LOT 7 BLK 1	Street Sweeping - Residence Citywide Street Lightin		0.41 0.59	94.50 94.50	\$38.75 \$55.76	34-29-22-42-0013
St Paul MN 55106-5905 *1599 EUCLID ST		*** Owner and Taxpay	/er ***			\$94.51	
*Ward: 7			Total Assessi	ment:		\$94.51	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$94.51	
Michael M Miller	ARMIN F. VETTER ADDITION LOT 5	Street Sweeping - Resid	dential Stree	0.41	70.00	\$28.70	34-29-22-42-0015
Beverly A Miller	BLK 1	Citywide Street Lightin	ng	0.59	70.00	\$41.30	
1605 Euclid St						\$70.00	
St Paul MN 55106-5905		*** Owner and Taxpay	er ***		_		
*1605 EUCLID ST			Total Assessi	ment:		\$70.00	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$70.00	
Willis G Pieske Jr	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Streε				34-29-22-42-0020
1631 Euclid St	ST. PAUL, RAMSEY CO., MINN. S 1/2 OF VAC ALLEY ADJ AND FOL EX W	Citywide Street Lightin	ng	0.59	52.00	\$30.68	,
St Paul MN 55106-5905 *1631 EUCLID ST	23 28/100 FT LOT 16 AND EX E 1 72/100 FT LOT 15 BLK 1	*** Owner and Taxpay	/er ***		_	\$52.00	
*Ward: 7			Total Assessi	ment:		\$52.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$52.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
William T Nelson	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	57.00	\$23.37	34-29-22-42-0021
Patricia Nelson	ST. PAUL, RAMSEY CO., MINN. S 1/2 OF VAC ALLEY ADJ AND FOL E 1	Citywide Street Lightin	ng	0.59	57.00	\$33.63	
1637 Euclid St	72/100 FT OF LOT 15 W 13 28/100 FT				<del></del>	\$57.00	
St Paul MN 55106-5905	OF LOT 13 AND ALL OF LOT 14 BLK	*** Owner and Taxpay	yer ***				
1637 EUCLID ST	•		Total Assessme	ent:		\$57.00	
Ward: 7			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$57.00	
	CARROLL ADDITION TO THE CITY OF		dential Stree	0.41			<u> </u>
Cynthia A Reisdorf	ST. PAUL, RAMSEY CO., MINN. S 1/2	Citywide Street Lightin	ng	0.59	55.00	\$32.45	
649 Euclid St	OF VAC ALLEY ADJ AND FOL EX W 28 28/100 FT LOT 12 AND ALL OF				<del></del>	\$55.00	
t Paul MN 55106-5905	LOT 11 BLK 1	*** Owner and Taxpay	yer ***				
1649 EUCLID ST			Total Assessme	ent.		\$55.00	
Ward: 7			This Payment:	Jit.		\$0.00	
Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$55.00	
Sanjuanita Galarza-Garcia	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Resi	— — — — dential Stree	0.41	94.50		34-29-22-42-0025
aul Gonzales-Rodrigues	PAUL N 1/2 VAC ALLEY ADJ AND	Citywide Street Lightin		0.59	94.50	\$55.76	34-29-22-42-0025
656 Euclid St	LOT 1 BLK 7	, .			=	\$94.51	
t Paul MN 55106-5906		*** Owner and Taxpay	yer ***			ψ/π.J1	
1656 EUCLID ST		1 2	·	4		\$04.51	
Ward: 7			Total Assessme	ent:		\$94.51 \$0.00	
Pending as of: 8/21/2020			This Payment: Current Year Pa	rincinal:		\$0.00 \$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun			\$94.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 202
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>1</u>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Amy K Nash	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Reside		0.41	57.00	\$23.37	34-29-22-42-0031
1620 Euclid St	ST. PAUL, RAMSEY CO., MINN. N 1/2 OF VAC ALLEY ADJ AND FOL EX W	Citywide Street Lighting	;	0.59	57.00	\$33.63	
St Paul MN 55106-5906	26 28/100 FT LOT 2 W 3 28/100 FT OF					\$57.00	
*1620 EUCLID ST	LOT 4 AND ALL OF LOT 3 BLK 2	*** Owner and Taxpayer	r *** 				
*Ward: 7			Total Assessme	ent:		\$57.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$57.00	
	ARMIN F. VETTER ADDITION LOT 3	Street Sweeping - Reside	ential Stree	0.41	<u> </u>		34-29-22-42-0034
1608 Euclid St	BLK 2	Citywide Street Lighting	;	0.59	69.00	\$40.71	0.129 22 12 000.
St Paul MN 55106-5906					_	\$69.00	
*1608 EUCLID ST		*** Owner and Taxpayer	r ***				
*Ward: 7			Total Assessme	ent:		\$69.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$69.00	
	ARMIN F. VETTER ADDITION EX E 10	Street Sweeping - Reside	ential Stree	0.41	91.00		34-29-22-42-0037
Chai Vang	FT LOT 8 BLK 2	Citywide Street Lighting		0.59	91.00	\$53.70	34-27-22-42-0037
1601 Wilson Ave						\$91.02	
St Paul MN 55106-5920		*** Owner and Taxpayer	r ***				
*1601 WILSON AVE		•	Total Assessme	ent.	-	\$91.02	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pi	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$91.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 203
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	]	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kelli Newman 1605 Wilson Ave	ARMIN F. VETTER ADDITION E 10 FT OF LOT 8 AND EX E 25 FT LOT 7 BLK 2	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	54.00 54.00	\$22.14 \$31.86	34-29-22-42-0038
St Paul MN 55106-5920	2					\$54.00	
*1605 WILSON AVE		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$54.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$54.00	
	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			34-29-22-42-0044
Sopha Yin	ST. PAUL, RAMSEY CO., MINN. S 1/2 OF VAC ALLEY ADJ AND E 27 77/100	Citywide Street Lighting	3	0.59	66.00	\$38.94	012/22 12 0011
1635 Wilson Ave	FT OF LOT 17 AND ALL OF LOT 16				<del></del>	\$66.00	
St Paul MN 55106-5920	BLK 2	*** Owner and Taxpaye	er ***				
*1635 WILSON AVE			Total Assessme	ent:	-	\$66.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$66.00	
	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree				— — — — — — — — — — — — — — — — — — —
1637 Wilson Ave	ST. PAUL, RAMSEY CO., MINN. S 1/2	Citywide Street Lighting		0.59	70.00	\$41.30	34-27-22-42-0043
St Paul MN 55106-5920	OF VAC ALLEY ADJ AND FOL EX E 12 FT LOT 14 AND ALL OF LOT 15 BLK				_	\$70.00	
*1637 WILSON AVE	2	*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessme	ent:		\$70.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	ıt:		\$70.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 204
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
John D Janke Pamela G Janke	CARROLL ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. S 1/2	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	67.00 67.00	\$27.47 \$39.53	34-29-22-42-0046
1643 Wilson Ave St Paul MN 55106-5920	OF VAC ALLEY ADJ AND FOL EX E 24 FT LOT 12 E 12 FT OF LOT 14 AND ALL OF LOT 13 BLK 2	*** Owner and Taxpaye	er ***		<u> </u>	\$67.00	
*1643 WILSON AVE			Total Assessm	ent:	-	\$67.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$67.00	
Dolores A Guion Le	BUNDE'S PARK ADDITION TO ST.	Street Sweeping - Reside	 ential Streε	0.41			
1655 Wilson Ave St Paul MN 55106-5920	PAUL S 1/2 VAC ALLEY ADJ AND LOT 2 BLK 7	Citywide Street Lighting		0.59	92.00	\$54.28	34-27-22-42-0040
*1655 WILSON AVE		*** Owner and Taxpaye	r ***			\$92.00	
*Ward: 7			Total Assessm	ent:		\$92.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$92.00	
	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Reside	– — — — ential Stree	0.41			
Yusuf Kabeto	LOT 1 BLK 1	Citywide Street Lighting		0.59	91.00	\$53.69	J7-47-44-4U17
1540 Conway St					_	\$91.00	
St Paul MN 55106-5924		*** Owner and Taxpaye	er ***				
*1540 CONWAY ST			Total Assessm	ent:	-	\$91.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$91.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Asif Bashar	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Residen	ntial Stree	0.41	60.00	\$24.60	34-29-22-42-0055
Sazia Islam	LOT 7 BLK 1	Citywide Street Lighting		0.59	60.00	\$35.40	
1576 Conway St						\$60.00	
St Paul MN 55106-5924		*** Owner and Taxpayer	***				
*1576 CONWAY ST		Т	Γotal Assessme	ent:		\$60.00	
Ward: 7		T	This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year Pr	-		\$0.00	
			Current Year In			\$0.00	
		P	Payoff Amount	t:		\$60.00	
	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Residen	 ntial Streε	0.41	90.00	\$36.90	
Chue L Thao	LOT 8 BLK 1	Citywide Street Lighting		0.59	90.00	\$53.10	
582 Conway St					<del></del>	\$90.00	
St Paul MN 55106-5924		*** Owner and Taxpayer	***				
1582 CONWAY ST		T	Γotal Assessme	nt:	-	\$90.00	
Ward: 7		T	Γhis Payment:			\$0.00	
Pending as of: 8/21/2020		C	Current Year Pr	rincipal:		\$0.00	
		C	Current Year In	iterest:		\$0.00	
		P	Payoff Amount	t:		\$90.00	
	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Residen	 ntial Stree	0.41			
Mai Yang	LOT 9 BLK 1	Citywide Street Lighting		0.59	92.00	\$54.29	34-27-22-42-0037
595 Euclid St						\$92.02	
St Paul MN 55106-5903		*** Owner and Taxpayer	***			**	
1595 EUCLID ST		-	Γotal Assessme	ent:	-	\$92.02	
Ward: 7			This Payment:	110.		\$0.00	
Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
		P	Payoff Amount	t:		\$92.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 200
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Emma Briski 1589 Euclid St	WILLARD LINDER, ADDITION NO. 1 LOT 10 BLK 1	Street Sweeping - Resid		0.41	54.00 54.00	\$22.14 \$31.86	34-29-22-42-0058
St Paul MN 55106-5903						\$54.00	
*1589 EUCLID ST		*** Owner and Taxpayo	er ***				
*Ward: 7			Total Assessn	nent:		\$54.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$54.00	
	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Resid	— — — — — lential Stree				34-29-22-42-0062
1567 Euclid St	LOT 14 BLK 1	Citywide Street Lighting	g	0.59	44.00	\$25.96	0.2,22.12.0002
St Paul MN 55106-5903					_	\$44.00	
*1567 EUCLID ST		*** Owner and Taxpayo	er ***				
*Ward: 7			Total Assessn	nent:	-	\$44.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
		Current Year Principal:				\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.00	
	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Resid	lential Stree			\$23.79	<u> </u>
1563 Euclid St	LOT 15 BLK 1	Citywide Street Lighting		0.59	58.00	\$34.23	J7-47-44-VVUJ
St Paul MN 55106-5903					=	\$58.02	
*1563 EUCLID ST		*** Owner and Taxpayo	er ***			ψ30.0 <u>2</u>	
*Ward: 7			Total Assessn	nent:	-	\$58.02	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	int:		\$58.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 207
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<u>Quantity</u>	Charge Amts	Property ID
Ian Griggs	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Residen			\$22.55	34-29-22-42-0067
Ashle Griggs	LOT 19 BLK 1	Citywide Street Lighting	0.59	55.00	\$32.45	
1547 Euclid St					\$55.00	
St Paul MN 55106-5903		*** Owner and Taxpayer	***			
*1547 EUCLID ST		Т	Total Assessment:		\$55.00	
*Ward: 7		T	This Payment:		\$0.00	
*Pending as of: 8/21/2020			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$55.00	
Carlos J Urrutia Cordova	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Residen		54.00	\$22.14	34-29-22-42-0068
Lucia Urrutia	LOT 20 BLK 1	Citywide Street Lighting	0.59	54.00	\$31.86	
1543 Euclid St				_	\$54.00	
St Paul MN 55106-5903		*** Owner and Taxpayer	***			
*1543 EUCLID ST			Total Assessment:	-	\$54.00	
*Ward: 7		Т	This Payment:		\$0.00	
*Pending as of: 8/21/2020		C	Current Year Principal:		\$0.00	
		(	Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$54.00	
	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Residen		88.50		<u> </u>
Bertha L Solis	LOT 21 BLK 1	Citywide Street Lighting	0.59		\$52.22	34-27-22-42-0007
1555 Wilson Ave				_	\$88.51	
St Paul MN 55106-5917		*** Owner and Taxpayer	***			
*1555 WILSON AVE		<del>-</del> т	Total Assessment:	-	\$88.51	
*Ward: 7			This Payment:		\$0.00	
*Pending as of: 8/21/2020			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		P	Payoff Amount:		\$88.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 208
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mai Vang	WILLARD LINDER, ADDITION NO. 1	Street Sweeping - Resid	lential Stree	0.41	72.00	\$29.52	34-29-22-42-0076
1546 Euclid St	EX E 2O FT THE N 72 FT OF LOT 9 AND N 1O FT OF LOT 8 AND ALL OF LOT 7	Citywide Street Lightin	g	0.59	72.00	\$42.48	
St Paul MN 55106-5904	BLK 2					\$72.00	
*1546 EUCLID ST		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:	-	\$72.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$72.00	
	WILLARD LINDER, ADDITION NO. 1 E		lential Stree	0.41		<u>\$24.60</u>	<u> </u>
1591 Wilson Ave	20 FT OF LOT 9 AND EX E 15 FT LOT	Citywide Street Lightin		0.59	60.00	\$35.40	01 27 22 12 0070
St Paul MN 55106-5919	10 BLK 2				_	\$60.00	
*1591 WILSON AVE		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:		\$60.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$60.00	
	WILLARD LINDER, ADDITION NO. 1 E		— — — — lential Streε				
Morna Rewey	15 FT OF LOT 10 AND EX E 10 FT LOT	Citywide Street Lightin		0.59	60.00	\$35.40	34-29-22-42-0079
1595 Wilson Ave	11 BLK 2				_	\$60.00	
St Paul MN 55106-5919		*** Owner and Taxpay	er ***			φου.σο	
*1595 WILSON AVE			Total Assessm	nant:		\$60.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou			\$60.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 209
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>u</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Richard W Ellis	REGISTERED LAND SURVEY 9 W 51	Street Sweeping - Resider	ntial Stree	0.41	72.50	\$29.73	34-29-22-42-0081
Sherree F Ellis	FT OF FOL PART OF TRACT A LYING S OF WILSON AVE AND N 64 27/100 FT	Citywide Street Lighting		0.59	72.50	\$42.78	
1542 Wilson Ave	OF TRACT E					\$72.51	
St Paul MN 55106-5918		*** Owner and Taxpayer	. ***				
*1542 WILSON AVE		- 1	Total Assessmen	nt:	-	\$72.51	
*Ward: 7		7	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		I	Payoff Amount	t:		\$72.51	
	REGISTERED LAND SURVEY 9 E 52 FT	Street Sweeping - Resider	ntial Stree				<u> </u>
1984 Como Ave	OF W 103 FT OF N 64 27/100 FT OF	Citywide Street Lighting		0.59	52.00	\$30.68	34-2)-22-42-0002
St Paul MN 55108-2023	TRACT E AND PART S OF WILSON AVE OF E 52 FT OF W 103 FT OF TRACT				_	\$52.00	
*1546 WILSON AVE	A	*** Owner and Taxpayer	. ***			4	
*Ward: 7		<del>-</del>	Total Assessmer	nt:		\$52.00	
*Pending as of: 8/21/2020			Total Assessined This Payment:	111.		\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	_		\$0.00	
		1	Payoff Amount	t:		\$52.00	
	DECICEDED LAND CHOVEY O DADT	Street Sweening Desiden					
Chong Vang	REGISTERED LAND SURVEY 9 PART S OF WILSON AVE & EX W 146 FT &	Street Sweeping - Resider Citywide Street Lighting		0.41 0.59	83.00	\$34.03 \$48.97	34-29-22-42-0087
Yia Vang Yang 1566 Wilson Ave	EX E 88.7 FT TRACT A, ALSO N 96 FT	City wide bareet Eighting		0.59	=		
St Paul MN 55106-5918	OF W 1/2 OF TRACT C & EX W 1 FT, THE N 96FT OF TRACT D	*** Owner and Taxpayer	. ***			\$83.00	
*1566 WILSON AVE		- 1	Total Assessmen	nt:		\$83.00	
*Ward: 7			This Payment:	**		\$0.00	
*Pending as of: 8/21/2020			Current Year Pri	rincipal:		\$0.00	
			Current Year Int	_		\$0.00	
		I	Payoff Amount	t:		\$83.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	OSMSP	Assmt: 200025	Manager: LM	Page 210
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	1	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Mai Xiong Yia Vang Yang	REGISTERED LAND SURVEY 9 SUBJ TO AVE BEG AT INTERSECTION OF E L OF TRACT A AND CL OF WILSON	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	91.00 91.00	\$37.31 \$53.69	34-29-22-42-0090
1578 Wilson Ave St Paul MN 55106-5918	AVE TH S 167 FT TH W TO W L OF E 1/2 OF TRACT C TH N TO SD CL TH E TO BEG BEING PART OF TRACTS A B	*** Owner and Taxpayer ***				\$91.00	
*1578 WILSON AVE *Ward: 7			Total Assessment:		\$91.00		
*Ward: /  *Pending as of: 8/21/2020			This Payment:			\$0.00	
Fending as 61. 8/21/2020			Current Year P	-		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	it:		\$91.00	
	BAUER ADDITION LOT 3 BLK 1	Street Sweeping - Reside		0.41		\$27.88	34-29-22-42-0091
William Ryan		Citywide Street Lighting		0.59	68.00	\$40.12	
1582 Wilson Ave						\$68.00	
St Paul MN 55106-5918		*** Owner and Taxpaye	r *** 				
*1582 WILSON AVE		Total Assessment:					
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Principal:			\$0.00	
			Current Year Ir	nterest:	\$0.00		
			Payoff Amoun	it:		\$68.00	
Betty Jo Zepeda Zimmerman	BAUER ADDITION LOT 5 BLK 1	Street Sweeping - Comm	ercial/Art	1.07	<u> </u>	<del></del>	34-29-22-42-0093
1579 Old Hudson Rd		Citywide Street Lighting	;	0.59	63.00	\$37.17	
St Paul MN 55106-6115					_	\$104.58	
*1579 OLD HUDSON RD		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessme	ent:		\$104.58	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	-		\$0.00	
			Payoff Amoun	it:		\$104.58	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 211
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Tino Lopez Montoya Mary Lopez Montoya	BAUER ADDITION BEG ON NLY L OF OLD HUDSON RD 7 FT ELY OF SE COR OF LOT 4 TH NLY TO PT ON E L	Street Sweeping - Con Citywide Street Lighti		1.07	61.00 61.00	\$65.27 \$35.99	34-29-22-42-0096
1585 Old Hudson Rd St Paul MN 55106-6115	OF SD LOT 230 FT S OF EXTENDED N L OF WILSON AVE AS PLATTED IN CARROLL ADD TH S TO SD RD TH E	*** Owner and Taxpa	yer ***			\$101.26	
*1585 OLD HUDSON RD *Ward: 7			Total Assessr	nent:		\$101.26	
*Ward: / *Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
Fending as 01: 8/21/2020			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$101.26	
	SECTION 34 TOWN 29 RANGE 22 BEG	Street Sweeping - Con	mercial/Art	1.07			34-29-22-42-0097
Ka Vang	ON E L OF BAUER ADD BEING ALSO W L OF LAND IN 58 DEEDS 227 230	Citywide Street Lighti	ng	0.59	60.00	\$35.40	
1591 Old Hudson Rd	FT S FROM N L OF WILSON AVE					\$99.60	
St Paul MN 55106-6115	EXTENDED W TH E 57 6/10 FT TH SE TO PT ON N L OF OLD HUDSON RD 67	*** Owner and Taxpa	yer ***				
*1591 OLD HUDSON RD			Total Assessi	nent:	_	\$99.60	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$99.60	
Rosemary Marie Taylor	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Resi	idential Stree			\$23.37	34-29-22-42-0098
1600 Wilson Ave	TO AVE AND EX E 246 34/100 FT THE	Citywide Street Lighti	ng	0.59	57.00	\$33.63	
St Paul MN 55106-5918 *1600 WILSON AVE	N 230 FT OF PART OF NW 1/4 OF SE 1/4 W OF CARROLL ADD AND E OF BAUER ADD AND S OF EXTENDED N	*** Owner and Taxpayer ***			_	\$57.00	
*Ward: 7	L OF WILSON AVE IN SD CARROLL		Total Assessi	nent:		\$57.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		Current Year Principal:		\$0.00			
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$57.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 21
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	Quantity	Charge Amts	Property ID
Michael J Jimenez Salazar	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Res		0.41	55.00	\$22.55	34-29-22-42-0099
1604 Wilson Ave	TO AVE THE W 55 FT OF E 246 34/100 FT OF N 230 FT OF PART OF NW 1/4	Citywide Street Lighti	ng	0.59	55.00	\$32.45	
St Paul MN 55106-5918	OF SE 1/4 W OF CARROLL ADD AND S					\$55.00	
*1604 WILSON AVE	OF EXTENDED N L OF WILSON AVE IN SD ADD IN SEC 34 TN 29 RN 22	*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assessm	ent:		\$55.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$55.00	
	SECTION 34 TOWN 29 RANGE 22 BEG	Street Sweeping - Con	mercial/Art	1.07			<u> </u>
James C Lombardi	ON N L OF OLD HUDSON RD 67 4/10	Citywide Street Lighti		0.59	60.00	\$35.40	34-27-22-42-0100
1597 Old Hudson Rd	FT ELY THEREON FROM E L OF BAUER ADD TH NLY TO PT 57 6/10 FT				_	\$99.60	
St Paul MN 55106-6115	E FROM SD E L ON L PAR WITH AND 230 FT S OF WLY EXTENSION OF	*** Owner and Taxpa	yer ***			4,,,,,,	
*1597 OLD HUDSON RD	250115 61 (121 231123,616), 61		Total Assessm	ent:		\$99.60	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$99.60	
	SECTION 34 TOWN 29 RANGE 22 BEG	Street Sweeping - Con	 nmercial/Art	1.07			
David A Costanzo	ON WL CARROLL ADD 140FT N OF	Citywide Street Lighti		0.59	60.00	\$35.40	34-27-22-42-0101
1601 Old Hudson Rd	NL OF OLD HUDSON RD TH W PAR TO RD 55 FT TH SW TO PT 100 FT N OF				_	\$99.60	
St Paul MN 55106-6115	NL RD 115FT W ON NL OF RD OF WL	*** Owner and Taxpa	yer ***			Ψ)).00	
*1601 OLD HUDSON RD	SD ADD TH S TO NL RD TH W ON SD		Total Aggs	ant.	-	\$99.60	
*Ward: 7			Total Assessm This Payment:			\$99.60 \$0.00	
*Pending as of: 8/21/2020			Current Year F			\$0.00	
			Current Year I	-		\$0.00	
			Current real r	merest.		φυ.υυ	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asm Ratification Da		Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 213
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	]	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Donna M Helminiak 1610 Wilson Ave	SECTION 34 TOWN 29 RANGE 22 SUBJ TO WILSON AVE THE W 47 FT OF E	Street Sweeping - Residence Citywide Street Lightin		0.41	47.00 47.00	\$19.27 \$27.73	34-29-22-42-0102
St Paul MN 55106-5918 *1610 WILSON AVE	191 34/100 FT OF N 167 FT OF PART S OF N L OF SD AVE AND W OF CARROLL ADD OF NW 1/4 OF SE 1/4 OF SEC 34 TN 29 RN 22	*** Owner and Taxpay	/er ***		_	\$47.00	
*Ward: 7			Total Assessme	ent:		\$47.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$47.00	
	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Resid	— — — — dential Stree	0.41	50.00	\$20.50	<u> </u>
1622 Wilson Ave	TO AVE THE E 5O 34/10O FT OF N 167 FT OF PART W OF CARROLL ADD	Citywide Street Lightin	ng	0.59	50.00	\$29.50	0.12/22 12 0100
St Paul MN 55106-5918	AND S OF EXTENDED N L OF SD AVE					\$50.00	
*1622 WILSON AVE	IN SD ADD OF NW 1/4 OF SE 1/4 OF SEC 34 TN 29 RN 22	*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessme	ent:		\$50.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$50.00	
	SECTION 34 TOWN 29 RANGE 22 S 1/2	Street Sweeping - Com	mercial/Art	1.07			
Dennis M Ploussard	OF VAC ALLEY ADJ AND FOL W 2 FT	Citywide Street Lightin		0.59	56.00	\$33.04	J4-2)-22-42-0107
1609 Old Hudson Rd	OF LOT 11 BLK 4 CARROLL ADD ALSO E 54 4/10 FT OF PART W OF				_	\$92.96	
St Paul MN 55106-6115	CARROLL ADD (BEING IN W 54 4/10 FT OF E 1864 35/100 FT MOL OF SE	*** Owner and Taxpay	/er ***			Ψ)2.70	
*1609 OLD HUDSON RD			Total Assessme	ent:		\$92.96	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$92.96	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		=	Project: 2020SMSP Resolution #:		5 Manager: LM	Page 21
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Fatima Kamara	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Res	idential Stree	0.41	55.00	\$22.55	34-29-22-42-0111
292 Meadowlake Dr Unit O	ST. PAUL, RAMSEY CO., MINN. E 55 FT OF W 65 FT OF N 135 FT OF FOL LOTS	Citywide Street Light	ing	0.59	55.00	\$32.45	
Downingtown PA 19335-2155	1 THRU LOT 4 BLK 4					\$55.00	
*1628 WILSON AVE		*** Owner and Taxpa	ıyer ***				
*Ward: 7			Total Assess	sment:		\$55.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$55.00	
	CARROLL ADDITION TO THE CITY OF		— — — - nmercial/Art				
Mai Lee Vang	ST. PAUL, RAMSEY CO., MINN. EX N 135 FT LYNN ST VAC BET BLKS 3 AND	Citywide Street Light	ing	0.59	60.00	\$35.40	
1639 Old Hudson Rd	4 ALSO PART OF LOTS 4 5 6 AND 7 SD				_	\$99.60	
St Paul MN 55106-6115	BLK 4 LYING ELY OF A L RUN NELY FROM A PT ON S L OF AND 10	*** Owner and Taxpa	ıyer ***				
*1639 OLD HUDSON RD	PROWATTON'S LOF AND TO		Total Assess	sment:	-	\$99.60	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$99.60	
Gail Marie Newberg-Thrond	CARROLL ADDITION TO THE CITY OF		idential Stree				——————————————————————————————————————
1644 Wilson Ave	ST. PAUL, RAMSEY CO., MINN. E 59 FT	Citywide Street Light		0.59	59.00	\$34.81	34-27-22-42-0117
St Paul MN 55106-5918	OF W 74 57/100 FT OF N 15 FT OF LOT 4 & E 59 FT OF W 74 57/100 FT OF LOTS				=	\$59.00	
*1644 WILSON AVE	1 2 AND LOT 3 BLK 3	*** Owner and Taxpa	ıyer ***				
*Ward: 7			Total Assess	ment:		\$59.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$59.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 20: Resolution #		Assmt: 200025	Manager: LM	Page 215
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Ricardo Lopez Salvador	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Reside		0.41	53.00	\$21.73	34-29-22-42-0118
Maricruz Cortes	ST. PAUL, RAMSEY CO., MINN. EX W 74 57/100 FT THE N 15 FT OF LOT 4	Citywide Street Lighting	;	0.59	53.00	\$31.27	
1650 Wilson Ave	AND EX W 74 57/100 FT LOTS 1 2	*** 0 1.5	***			\$53.00	
St Paul MN 55106-5918	AND LOT 3 BLK 3	*** Owner and Taxpayer	r *** 		_		
*1650 WILSON AVE *Ward: 7			Total Assessr	nent:		\$53.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
1 chang as 01. 0/21/2020			Current Year	_		\$0.00	
			Current Year			\$0.00 <b>\$53.00</b>	
			Payoff Amou	int.		<i>\$33.</i> 00	
	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Comm	nercial/Art	1.07	30.00	\$32.10	<del></del>
1575 Hudson Rd	575 Hudson Rd TO OLD HUDSON RD AND STH 12/108 PART BET CL OF SD RD AND		ential Stree	0.41	30.00	\$12.30	
St Paul MN 55106-6129	CL OF SD STH OF W 60 FT OF E 2241	Citywide Street Lighting	;	0.59	60.00	\$35.40	
*1575 HUDSON RD	O3/10O FT OF SE 1/4 OF SEC 34 TN 29 RN 22					\$79.80	
*Ward: 7	NN 22	*** Owner and Taxpayer	r ***		_		
*Pending as of: 8/21/2020			Total Assessment:			\$79.80	
			This Payment			\$0.00	
			Current Year Prince			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$79.80	
William Dorsey Smith Iii	SECTION 34 TOWN 29 RANGE 22 EX	Street Sweeping - Reside			157.00	\$64.37	34-29-22-42-0133
1595 Hudson Rd	NLY 99.03 FT; PART BET OLD HUDSON RD & HWY NO 12, OF W 150	Citywide Street Lighting	;	0.59	157.00	\$92.63	
St Paul MN 55106-6129 *1595 HUDSON RD	FT MOL OF E 2061.03 FT (WITH ESMT IN DOC NO 2121913) OF SE 1/4 OF SEC 34 TN 29 RN 22	*** Owner and Taxpayer	r ***			\$157.00	
*Ward: 7	34 1IN 27 KM 22		Total Assessr	nent:	-	\$157.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$157.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	<b>Page 216</b>
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Colleen M Briggs	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Comm	nercial/Art	1.07	75.00	\$80.25	34-29-22-42-0134
7590 4th Street Ln N	TO ESMTS; NLY 99.03 FT OF FOL; PART, BET OLD HUDSON RD & HWY	Citywide Street Lighting	g	0.59	75.00	\$44.25	
St Paul MN 55128-9005	NO 12, OF W 75 FT MOL OF E 2061.03	**** O 177	als als als			\$124.50	
*1600 OLD HUDSON RD	FT OF SE 1/4 OF SEC 34 TN 29 RN 22	*** Owner and Taxpaye	er *** 				
*Ward: 7 *Pending as of: 8/21/2020			Total Assessm			\$124.50	
Fending as 01. 6/21/2020			This Payment:			\$0.00 \$0.00	
			Current Year Principal:				
			Current Year In Payoff Amount			\$0.00 <b>\$124.50</b>	
			· 				
Dave G Nechrebecki	SECTION 34 TOWN 29 RANGE 22 SUBJ TO ESMTS; NLY 99.03 FT OF FOL;	Street Sweeping - Comn Citywide Street Lighting		1.07 0.59	77.00 77.00	\$82.39 \$45.43	34-29-22-42-0135
1701 Newberry Ave N Stillwater MN 55082-1739	PART, BET OLD HUDSON RD & HWY	Citywide Street Lighting	g	0.39	//.00		
*1606 OLD HUDSON RD	NO 12, OF W 75 FT MOL OF E 1986.03 FT OF SE 1/4 OF SEC 34 TN 29 RN 22	*** Owner and Taxpayer ***				\$127.82	
*Ward: 7		Total Assessment:				\$127.82	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	1		\$0.00	
			Current Year In Payoff Amount			\$0.00 <b>\$127.82</b>	
			· 				
Mary E Horky	SECTION 34 TOWN 29 RANGE 22 EX E 81 FT; THE FOL TRACT; PART, LYING	Street Sweeping - Comm		1.07	38.50	\$41.20	34-29-22-42-0141
1636 Old Hudson Rd	SLY OF OLD HUDSON RD &	Street Sweeping - Residence Citywide Street Lighting		0.41 0.59	40.00 78.50	\$16.40 \$46.32	
St Paul MN 55106-6117	BETWEEN EXTENDED W LINES OF LOTS 8 & 12 BLK 2 OF WESSELS ADD,	City wide Street Lighting	5	0.57	76.50	\$103.92	
*1636 OLD HUDSON RD *Ward: 7	OF NW 1/4 OF SE 1/4 OF SEC 34 TN 29	*** Owner and Taxpaye	er ***			\$103.92	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$103.92	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	ıt:		\$103.92	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 21
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Oak Knoll Property Management Llc 2186 3rd St Ste 107 White Bear Lake MN 55110-3266 *1646 OLD HUDSON RD	WESSEL'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN PART OF NW 1/4 OF SE 1/4 OF SEC 34 T29 R22 LYING SLY OF OLD HUDSON RD BET NLY EXT OF E & W LINES OF LOT	Street Sweeping - Com Street Sweeping - Resid Citywide Street Lightin	dential Stree	1.07 0.41 0.59	20.00 20.50 40.50	\$21.40 \$8.41 \$23.90 \$53.71	34-29-22-42-0143
*Ward: 7	11 BLK 2 WESSELS ADD & IN SD	*** Owner and Taxpay	/er ***			φ33.71	
*Pending as of: 8/21/2020			Total Assess	ment:		\$53.71	
			This Paymen	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$53.71	
	SECTION 34 TOWN 29 RANGE 22 BEG	Street Sweeping - Com	mercial/Art				— — — — — — — — — — — — — — — — — — —
1650 Old Hudson Rd	66 FT N OF NW COR OF LOT 12 BLK 2	Street Sweeping - Resid		0.41	50.00	\$20.50	34-27-22-42-0144
St Paul MN 55106-6117	WESSELS ADD TH DUE E 74 26/100 FT TH N TO S L OF HUDSON RD TH	Citywide Street Lightin		0.59	88.00	\$51.92	
*1650 OLD HUDSON RD *Ward: 7	WLY ON SD RD TO A PT DUE N OF BEG TH TO BEG IN NW 1/4 OF SE 1/4	*** Owner and Taxpay	/er ***		_	\$113.08	
*Pending as of: 8/21/2020			Total Assess	ment:		\$113.08	
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$113.08	
	CARROLL ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art	1.07	136.00	\$145.52	
Benjamin E Kania	ST. PAUL, RAMSEY CO., MINN. NO PART OF VAC LYNN ST ADJ & EX N 15	Citywide Street Lightin	ng	0.59	136.00	\$80.24	
1649 Old Hudson Rd	FT; LOT 4 AND ALL OF LOTS 5 THRU	that o 17	als als als		<del></del>	\$225.76	
St Paul MN 55106-6115 *1649 OLD HUDSON RD	LOT 9 BLK 3	*** Owner and Taxpay	ver ***				
*Ward: 7			Total Assess	ment:		\$225.76	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 chaing as 01. 0/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$225.76	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 218
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	HUNDLEY ADDITION LOT 1 BLK 1	Street Sweeping - Comm		1.07	80.00	\$85.60	34-29-22-42-0148
Chai Khang		Citywide Street Lighting	;	0.59	80.00	\$47.20	
1620 Old Hudson Rd					_	\$132.80	
St Paul MN 55106-5900 *** Owner and Taxpayer *							
*1620 OLD HUDSON RD		•	Total Assessr	\$132.80			
*Ward: 7			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020		Current Year Principal:					
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$132.80	
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree				<u> </u>
1593 Pacific St	ST. PAUL, RAMSEY CO., MINN PART	Citywide Street Lighting	;	0.59	116.00	\$68.44	0.25 22 10 0000
St Paul MN 55106-6624	LYING SLY OF HWY; LOTS 24, 25 & LOT 26 BLK 2				_	\$116.00	
*1593 PACIFIC ST		*** Owner and Taxpayer	r ***				
*Ward: 7		•	Total Assessr	nent:		\$116.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
			Payoff Amou	int:		\$116.00	
	BERLAND ADDITION NO. 1 LOT 2	Street Sweeping - Reside	ential Stree				
2609 Randy Ave	BLK 1	Citywide Street Lighting		0.59	48.00	\$28.32	34-27-22-43-0007
St Paul MN 55110-4523					_	\$48.00	
*340 HAZELWOOD ST		*** Owner and Taxpayer	r ***			<b>\$10.00</b>	
*Ward: 7		•	Total Assessr	nent:	-	\$48.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$48.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	<b>Page 219</b>
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
David S Meloy	BERLAND ADDITION NO. 1 LOT 3	Street Sweeping - Reside		0.41	48.00	\$19.68	34-29-22-43-0008
336 Hazelwood St	BLK 1	Citywide Street Lighting	5	0.59	48.00	\$28.32	
St Paul MN 55106-6627						\$48.00	
*336 HAZELWOOD ST		*** Owner and Taxpaye	r *** 				
*Ward: 7			Total Assessm	nent:		\$48.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$48.00	
Melinda Smith	BERLAND ADDITION NO. 1 LOT 2	Street Sweeping - Reside	ential Stree	0.41		\$19.68	34-29-22-43-0010
339 Hazelwood St	BLK 2	Citywide Street Lighting	5	0.59	48.00	\$28.32	
St Paul MN 55106-6629						\$48.00	
*339 HAZELWOOD ST		*** Owner and Taxpayer ***  Total Assessment:					
*Ward: 7							
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:	\$0.00		
		Current Year Interest:				\$0.00	
			Payoff Amou	nt:		\$48.00	
Elias Juarez Diaz	SECTION 34 TOWN 29 RANGE 22 W 43	Street Sweeping - Reside	ential Stree	0.41	84.00	\$34.45	34-29-22-43-0013
Yamileth Saligan Gonzalez	FT OF E 1402.52 FT LYING S OF HWY 94 & N OF S LINE OF LOT 13 BLK 3	Alley Sweeping		0.12	43.00	\$5.16	
1656 Pacific St	WESSEL'S ADD EXTENDED ELY IN	Citywide Street Lighting	5	0.59	84.00	\$49.57	
St Paul MN 55106-6618	SW 1/4 OF SE 1/4 OF SEC 34 TN 29 RN 22					\$89.18	
*1656 PACIFIC ST	22	*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessm	nent:		\$89.18	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$89.18	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 22
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Victor D Girling	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	80.00	\$32.80	34-29-22-43-0016
Susan M Girling	ST. PAUL, RAMSEY CO., MINN LOTS 10 AND LOT 11 BLK 3	Alley Sweeping		0.12	80.00	\$9.60	
1644 Pacific St	IO AND LOT IT BLK 3	Citywide Street Lighting	;	0.59	80.00	\$47.20	
St Paul MN 55106-6618						\$89.60	
*1644 PACIFIC ST		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessm	ent:		\$89.60	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:	\$0.00		
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$89.60	
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41		<u> </u>	<u> </u>
Jennifer G S Xiong	ST. PAUL, RAMSEY CO., MINN LOT 6	Alley Sweeping		0.12	40.00	\$4.80	012)22 10 0020
1620 Pacific St	BLK 3	Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55106-6618						\$44.80	
*1620 PACIFIC ST		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assessm	ent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			
Peng Yang	ST. PAUL, RAMSEY CO., MINN LOT 5	Alley Sweeping	ontial Stroc	0.12	40.00	\$4.80	34-29-22-43-0021
1614 Pacific St	BLK 3	Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55106-6618		,			_	\$44.80	
*1614 PACIFIC ST		*** Owner and Taxpaye	r ***			<b>\$1.100</b>	
*Ward: 7			Total Assessm	ent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 22
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
James R Kacon	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	
1606 Pacific St	ST. PAUL, RAMSEY CO., MINN LOT 4 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55106-6618	DLK 3	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1606 PACIFIC ST					<del></del>	\$44.80	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
 Maykup G Vang	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1598 Pacific St	ST. PAUL, RAMSEY CO., MINN EX W	Alley Sweeping		0.12	57.00	\$6.84	34-27-22-43-0023
St Paul MN 55106-6618	23 FT LOT 2 AND ALL OF LOT 3 BLK 3	Citywide Street Lighting	3	0.59	57.00	\$33.63	
*1598 PACIFIC ST	3					\$63.84	
*Ward: 7		*** Owner and Taxpaye	er ***			,	
*Pending as of: 8/21/2020			Total Assessment:			\$63.84	
			This Payment:		\$0.00		
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$63.84	
	. — — — — — — — — —		- <del> </del>				
Kyle Barton	HUME ADDITION EX W 29 FT LOT 2 AND ALL OF LOT 1 BLK 2	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	84.00 84.00	\$34.44 \$10.08	34-29-22-43-0025
Rusty Pollard		Citywide Street Lighting	*	0.12	84.00	\$10.08 \$49.56	
364 N 800 E		City wide Street Lighting	5	0.57	==		
Pleasant Grove UT 84062-1964 *1584 PACIFIC ST		*** Owner and Taxpaye	er ***			\$94.08	
*Ward: 7		- ······ - ······ - ······ - ····· - ····· - ···· - ···· - ···· - ···· - ···· - ·			-	£04.00	
*Pending as of: 8/21/2020			Total Assessm This Payment:			\$94.08 \$0.00	
-			Current Year F			\$0.00 \$0.00	
			Current Year I	_		\$0.00	
			Payoff Amour			\$94.08	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 224
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Resider	ntial Stree	0.41		\$23.37	34-29-22-43-0037
Koung Thor	ST. PAUL, RAMSEY CO., MINN EX W	Alley Sweeping		0.12	57.00	\$6.84	
1597 Mclean Ave	23 FT LOT 25 AND ALL OF LOT 24 BLK 3	Citywide Street Lighting		0.59	57.00	\$33.63	
St Paul MN 55106-6612					<del></del>	\$63.84	
*1597 MCLEAN AVE		*** Owner and Taxpayer	***				
*Ward: 7		- 1	Total Assessmer	nt:	-	\$63.84	
*Pending as of: 8/21/2020		[	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Interest:			\$0.00	
		1	Payoff Amount	:		\$63.84	
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Resider	ntial Stree	——————————————————————————————————————			
Yancy Chong Yang	ST. PAUL, RAMSEY CO., MINN LOT 18	Alley Sweeping		0.12	40.00	\$4.80	34-29-22-43-0043
1635 Mclean Ave	BLK 3	Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55106-6612					_	\$44.80	
*1635 MCLEAN AVE		*** Owner and Taxpayer	. ***			<b>\$1.1.00</b>	
*Ward: 7		_	Total Assessmer	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	_		\$0.00	
		1	Payoff Amount:			\$44.80	
Scott E Westphal	BERLAND ADDITION NO. 1 LOT 1 BLK 4	Street Sweeping - Resider	ntial Stree	0.41 0.12	94.00	\$38.55 \$4.80	34-29-22-43-0049
328 Hazelwood St		Alley Sweeping Citywide Street Lighting		0.12	40.00 94.00	\$4.80 \$55.47	
St Paul MN 55106-6626		Citywide Street Lighting		0.39	94.00		
*328 HAZELWOOD ST		*** Owner and Taxpayer	. ***			\$98.82	
*Ward: 7 *Pending as of: 8/21/2020					<del></del>	****	
1 Chaing as 01. 0/21/2020			Total Assessmer	nt:		\$98.82	
			This Payment:			\$0.00	
			Current Year Pri	_	\$0.00		
			Current Year Int			\$0.00	
		ı	Payoff Amount	:		\$98.82	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 22
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
— — — — — — — — — — — — — — — — — — —	SECTION 34 TOWN 29 RANGE 22 A	Street Sweeping - Residen	ntial Stree	0.41	73.50	\$30.14	34-29-22-43-0063
Patricia A Ketola	TRACT 43 FT WIDE E OF AND ADJ LOT 13 BLK 4 WESSELS ADD IN SE 1/4 OF	Alley Sweeping		0.12	44.00	\$5.28	
1656 Mclean Ave	SEC 34 TN 29 RN 22	Citywide Street Lighting		0.59	73.50	\$43.37	
St Paul MN 55106-6611					<del></del>	\$78.79	
*1656 MCLEAN AVE		*** Owner and Taxpayer	***				
*Ward: 7			Γotal Assessmen	ıt:	-	\$78.79	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		C	Current Year Prin	ncipal:		\$0.00	
		(	Current Year Interest:			\$0.00	
		P	Payoff Amount:			\$78.79	
Fernando A Garcia	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Residen	 ntial Stree		40.00		
1624 Mclean Ave	ST. PAUL, RAMSEY CO., MINN LOT 7	Alley Sweeping		0.12	40.00	\$4.80	3 <del>4-27-22-4</del> 3-0007
St Paul MN 55106-6611 *1624 MCLEAN AVE *Ward: 7	BLK 4	Citywide Street Lighting		0.59	40.00	\$23.60	
					_	\$44.80	
		*** Owner and Taxpayer	***			ψσ	
*Pending as of: 8/21/2020		<del>-</del> Т	Γotal Assessmen	ıt:	-	\$44.80	
		Т	This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$44.80	
Jenny Vang Xiong	WESSEL'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN LOT 5	Street Sweeping - Resident Alley Sweeping	itiai Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-22-43-0071
1608 Mclean Ave	BLK 4	Citywide Street Lighting		0.12	40.00	\$23.60	
St Paul MN 55106-6611		Citywide Street Lighting		0.39	40.00		
*1608 MCLEAN AVE		*** Owner and Taxpayer	***			\$44.80	
*Ward: 7 *Pending as of: 8/21/2020		· · -			-		
1 chaing as 01. 0/21/2020			Γotal Assessmen	ıt:		\$44.80	
			This Payment:			\$0.00	
			Current Year Prin	-		\$0.00	
			Current Year Inte			\$0.00	
		P	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 228	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Lee Management Inc	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	47.00	\$19.27	34-29-22-43-0072	
462 Tedesco St	ST. PAUL, RAMSEY CO., MINN EX W 33 FT LOT 3 AND ALL OF LOT 4 BLK	Alley Sweeping		0.12	47.00	\$5.64		
St Paul MN 55130-4403	4	Citywide Street Lighting	5	0.59	47.00	\$27.73		
*1604 MCLEAN AVE						\$52.64		
*Ward: 7		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$52.64		
			This Payment	:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year Interest:			\$0.00		
			Payoff Amou	int:		\$52.64		
James D Campbell	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	– — — – ential Stree					
Lisa A Campbell	ST. PAUL, RAMSEY CO., MINN W 26 FT	Alley Sweeping	ondar Stree	0.12	63.00	\$7.56	34-29-22-43-00/4	
2024 Oakridge St	OF LOT 2 AND ALL OF LOT 1 BLK 4	Citywide Street Lighting		0.59	61.00	\$35.99		
St Paul MN 55119-5329		, ,	,			\$68.56		
*1596 MCLEAN AVE		*** Owner and Taxpaye	r ***			\$08.50		
*Ward: 7			Total Assessn	nent:	\$68.56			
*Pending as of: 8/21/2020			This Payment			\$0.00		
			Current Year			\$0.00		
			Current Year	_		\$0.00		
			Payoff Amount:			\$68.56		
Doua Xiong	HUME ADDITION LOT 1 BLK 3	Street Sweeping - Reside	ential Stree	0.41	57.00	\$23.37	34-29-22-43-0075	
1584 Mclean Ave		Alley Sweeping		0.12	57.00	\$6.84		
St Paul MN 55106-6611		Citywide Street Lighting	5	0.59	57.00	\$33.63		
*1584 MCLEAN AVE						\$63.84		
*Ward: 7		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessn	nent:		\$63.84		
			This Payment	:		\$0.00		
			Current Year			\$0.00		
			Current Year			\$0.00		
			Payoff Amou	int:		\$63.84		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 23
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Leann J Russell	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	55.00	\$22.55	34-29-22-43-0093
Rene Martinez	ST. PAUL, RAMSEY CO., MINN EX W 25 FT LOT 25 AND ALL OF LOT 24	Alley Sweeping		0.12	55.00	\$6.60	
1611 Suburban Ave	BLK 4	Citywide Street Lighting		0.59	55.00	\$32.45	
St Paul MN 55106-6614						\$61.60	
*1611 SUBURBAN AVE		*** Owner and Taxpayer	r ***				
*Ward: 7		·	Total Assessm	ent:		\$61.60	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		1	Current Year I	Principal:		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amour	nt:		\$61.60	
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
Lorraine A Gullickson	ST. PAUL, RAMSEY CO., MINN LOT 20	Alley Sweeping		0.12	40.00	\$4.80	34-27-22-43-0071
1631 Suburban Ave	BLK 4	Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55106-6614						\$44.80	
*1631 SUBURBAN AVE		*** Owner and Taxpayer	r ***				
*Ward: 7		•	Total Assessment:				
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
		1	Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
Shannon Sanford	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			
17740 205th Ave	ST. PAUL, RAMSEY CO., MINN LOTS	Alley Sweeping	initial Street	0.12	80.00	\$9.60	34-29-22-43-0100
Big Lake MN 55309-8402	16 AND LOT 17 BLK 4	Citywide Street Lighting		0.59	80.00	\$47.20	
*1641 SUBURBAN AVE		,			_	\$89.60	
*Ward: 7		*** Owner and Taxpayer	r ***			4	
*Pending as of: 8/21/2020		•	Total Assessm	ent:	-	\$89.60	
			This Payment:			\$0.00	
		1	Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$89.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 231
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Ronald E Trosdahl Carole J Trosdahl 1649 Suburban Ave	WESSEL'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN LOTS 14 AND LOT 15 BLK 4	Street Sweeping - Resident Sweeping - Resident Sweeping Citywide Street Lighting		0.41 0.12 0.59	74.00 74.00 74.00	\$30.34 \$8.88 \$43.66	34-29-22-43-0101
St Paul MN 55106-6614 *1649 SUBURBAN AVE		*** Owner and Taxpay	/er ***		_	\$82.88	
*Ward: 7 *Pending as of: 8/21/2020			Total Assess: This Paymen Current Year Current Year Payoff Amou	nt: Principal: Interest:		\$82.88 \$0.00 \$0.00 \$0.00 \$82.88	
American Investments Llc 1920 Central Ave Ne Ste 200 Minneapolis MN 55418-4530 *289 HAZELWOOD ST	BERLAND ADDITION NO. 1 LOT 3 BLK 6	Street Sweeping - Resi Citywide Street Lightin	ng	0.41 0.59	42.00 42.00	\$17.22 \$24.78 \$42.00	<u>34-29-22-43-0105</u>
*Ward: 7 *Pending as of: 8/21/2020		Owner and raxpay	Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$42.00 \$0.00 \$0.00 \$0.00 \$42.00	
Yerfina Cortes Yelson Briones Cruz 281 Hazelwood St	BERLAND ADDITION NO. 1 LOT 5 BLK 6	Street Sweeping - Resi Citywide Street Lightin	ng	0.41	42.00 42.00 —	\$17.22 \$24.78 \$42.00	34-29-22-43-0107
St Paul MN 55106-6608  *281 HAZELWOOD ST  *Ward: 7  *Pending as of: 8/21/2020		*** Owner and Taxpay	Total Assess: This Paymen Current Year Current Year Payoff Amou	nt: Principal: Interest:		\$42.00 \$0.00 \$0.00 \$0.00 \$42.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 233
Owner or Taxpayer	<b>Property Description</b>	Item Description	Ţ	<u>Init Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Daniel T Sideen	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Residen	ntial Stree	0.41	80.00	\$32.80	34-29-22-43-0115
1618 Suburban Ave	ST. PAUL, RAMSEY CO., MINN E 1/2 OF LOT 3 AND ALL OF LOT 4 AND EX	Citywide Street Lighting		0.59	80.00	\$47.20	
St Paul MN 55106-6615	E 20 FT LOT 5 BLK 5					\$80.00	
*1618 SUBURBAN AVE		*** Owner and Taxpayer	***				
*Ward: 7		T	Total Assessmen	nt:		\$80.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		Р	Payoff Amount	:		\$80.00	
	WESSEL'S ADDITION TO THE CITY OF	Street Sweeping - Residen	 ntial Stree	0.41			34-29-22-43-0116
Bill Cornell	ST. PAUL, RAMSEY CO., MINN EX W 24 FT LOT 1 AND ALL OF LOT 2 AND	Citywide Street Lighting		0.59	70.00	\$41.30	0.12/22 10 0110
1608 Suburban Ave	W 1/2 OF LOT 3 BLK 5					\$70.00	
St Paul MN 55106-6615		*** Owner and Taxpayer	***				
*1608 SUBURBAN AVE			Total Assessmen	nt:		\$70.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pri	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	:		\$70.00	
	SECTION 34 TOWN 29 RANGE 22 SUBJ						
1584 Suburban Ave	TO AVE THE N 185 FT OF S 396 FT OF	Citywide Street Lighting	inai Birec	0.59	47.00	\$27.73	34-29-22-43-0121
St Paul MN 55106-6615	W 47 FT OF E 213O O3/10O FT OF SE 1/4 OF SEC 34 TN 29 RN 22				=	\$47.00	
*1584 SUBURBAN AVE	1/4 OF SEC 34 IN 27 KN 22	*** Owner and Taxpayer	***			ψ17.00	
*Ward: 7			Total Assessmen	nt:	_	\$47.00	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount	:		\$47.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 234
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Sheshi Desta	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Resident	ial Stree 0.41	51.00	\$20.91	34-29-22-43-0122
Lemlem Gebreselasie	TO AVE OVER N 60 FT MOL THE W 51 FT OF E 2181 O3/100 FT OF N 186 FT	Citywide Street Lighting	0.59	51.00	\$30.09	
1576 Suburban Av	OF S 396 FT OF SE 1/4 OF SEC 34 TN			<del></del>	\$51.00	
St Paul MN 55106-6615	29 RN 22	*** Owner and Taxpayer *	**			
*1576 SUBURBAN AVE		To	otal Assessment:		\$51.00	
*Ward: 7		Tl	nis Payment:		\$0.00	
*Pending as of: 8/21/2020		Ci	urrent Year Principal:		\$0.00	
		Cu	urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$51.00	
	BERLAND ADDITION NO. 1 LOT 2	Street Sweeping - Resident		<u> </u>		34-29-22-43-0128
C/O Havenbrook Homes	BLK 7	Citywide Street Lighting	0.59	47.00	\$27.73	0.12/22 10 0120
3505 Koger Blvd Ste 400				_	\$47.00	
Duluth GA 30096-7672		*** Owner and Taxpayer *	***			
*271 HAZELWOOD ST		To	otal Assessment:	•	\$47.00	
*Ward: 7		Tì	his Payment:		\$0.00	
*Pending as of: 8/21/2020			urrent Year Principal:		\$0.00	
		Ci	urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$47.00	
	BERLAND ADDITION NO. 1 LOT 3	Street Sweeping - Resident				
267 Hazelwood St	BLK 7	Citywide Street Lighting	0.59	46.00	\$27.14	34-27-22-43-0127
St Paul MN 55106-6608				_	\$46.00	
*267 HAZELWOOD ST		*** Owner and Taxpayer *	**		* * * * * * * * * * * * * * * * * * * *	
*Ward: 7		To	otal Assessment:		\$46.00	
*Pending as of: 8/21/2020			nis Payment:		\$0.00	
			urrent Year Principal:		\$0.00	
		Cı	urrent Year Interest:		\$0.00	
		Pa	ayoff Amount:		\$46.00	

**Payoff Amount:** 

\$116.20

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 236
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
William K Marben 1591 Burns Av	SECTION 34 TOWN 29 RANGE 22 S 211 FT OF W 55 FT OF E 2130 03/100 FT OF SE 1/4 (SUB TO RD) IN SEC 34 TN 19	Street Sweeping - Com Citywide Street Lightin		1.07	55.00 55.00	\$58.85 \$32.45	34-29-22-43-0136
St Paul MN 55106-6605 *1591 BURNS AVE	RN 22	*** Owner and Taxpay	er ***		_	\$91.30	
*Ward: 7			Total Assess	ment:		\$91.30	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$91.30	
	SECTION 34 TOWN 29 RANGE 22 S 211	Street Sweeping - Com		1.07	163.00		34-29-22-43-0137
1597 Burns Ave	FT OF PART OF E 2075 03/100 FT OF SE 1/4 LYING W OF WESSELS ADD (SUBJ	Citywide Street Lightin	ıg	0.59	163.00	\$96.17	
St Paul MN 55106-6605	TO RD) IN SEC 34 TN 29 RN 22				<del></del>	\$270.58	
*1597 BURNS AVE		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	ment:	-	\$270.58	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
		Current Year Interest:				\$0.00	
			Payoff Amo	unt:		\$270.58	
	WESSEL'S ADDITION TO THE CITY OF		— — — – mercial/Art				<u> </u>
Jerri L Petersen	ST. PAUL, RAMSEY CO., MINN EX ELY	Citywide Street Lightin	ıg	0.59	65.00	\$38.35	012/22 10 010/
1615 Burns Ave	15 FT LOT 22 AND ALL OF LOT 23 BLK 5					\$107.90	
St Paul MN 55106-6605		*** Owner and Taxpay	er ***				
*1615 BURNS AVE			Total Assess	ment:		\$107.90	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$107.90	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	•		Assmt: 200025 Manager: LM		Page 237
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Shawn M Dunford 1639 Burns Ave	WESSEL'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN W 1O FT OF LOT 16 AND ALL OF LOT 17	Street Sweeping - Comm Citywide Street Lighting		1.07	50.00	\$53.50 \$29.50	34-29-22-43-0142
St Paul MN 55106-6605	BLK 5	*** Owner and Taxpayer	***			\$83.00	
*1639 BURNS AVE *Ward: 7		• Owner and Taxpayer					
*Pending as of: 8/21/2020			Total Assessm			\$83.00	
Feliding as 01. 8/21/2020			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$83.00	
Misty L Coleman	HUME ADDITION SUBJ TO HWY &	Street Sweeping - Reside	ential Stree	0.41			
Fred B Coleman	ESMT; W 51.31 FT OF LOT 1 BLK 1	Citywide Street Lighting	;	0.59	50.00	\$29.50	
1577 Pacific St						\$50.00	
St Paul MN 55106-6624		*** Owner and Taxpayer	r ***				
*1577 PACIFIC ST			Total Assessm	ent:	\$50.00		
*Ward: 7		•	This Payment:	\$0.00			
*Pending as of: 8/21/2020		1	Current Year I	\$0.00			
			Current Year I	\$0.00			
			Payoff Amoun	nt:		\$50.00	
	REGISTERED LAND SURVEY 33 SUBJ	Street Sweeping - Reside	ential Stree	0.41			<del></del>
Shirley L Waldvogel	TO AVE; THE W 50 FT OF E 2281.03 FT	Citywide Street Lighting		0.59	120.00	\$70.80	34-27-22-43-0147
1566 Suburban Ave	OF N 86 FT OF S 396 FT OF SE 1/4 OF SEC 34 TN 29 RN 22 & IN SD REG				_	\$120.00	
St Paul MN 55106-6615	LAND SURVEY 33, TRACT A	*** Owner and Taxpayer	r ***			Ψ120.00	
*1566 SUBURBAN AVE			Total Assessm	ant		\$120.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year I	_		\$0.00	
			Payoff Amoun			\$120.00	
			•			•	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Project: 2020SMSP Ratification Date: Resolution #:		Assmt: 200025	Manager: LM	Page 23	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Robert L C Walsh	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Commercial	/Art 1.07	86.50	\$92.56	34-29-22-44-0007	
1678 Old Hudson Rd	TO OLD HUDSON RD AND STH	Street Sweeping - Residential	Stree 0.41	86.50	\$35.47		
St Paul MN 55106-6118	12/108 PART OF W 320 FT OF E 1257 32/100 FT OF PART OF SE 1/4 BET CLS	Citywide Street Lighting	0.59	173.00	\$102.08		
*1678 OLD HUDSON RD	OF SD RD AND STH EX			<u>=</u>	\$230.11		
*Ward: 7	QUADRANGULAR TRACT IN NE COR	*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		Total	Assessment:		\$230.11		
		This I	Payment:		\$0.00		
		Curre	nt Year Principal:		\$0.00		
		Curre	nt Year Interest:		\$0.00		
		Payo	ff Amount:		\$230.11		
C/O Ls Capital	TARGET-EAST ST. PAUL LOTS 3 &	Street Sweeping - Commercial		461.00	\$493.27	34-29-22-44-0010	
Lasky Holdings White Bear Llc	LOT 4 BLK 2	Citywide Street Lighting	0.59	461.00	\$271.99		
13949 Ventura Blvd Suite 300				<del></del>	\$765.26		
Sherman Oaks CA 91423-3570		*** Owner and Taxpayer ***					
*275 WHITE BEAR AVE N		Total	Assessment:	\$765.26			
*Ward: 7		This l	Payment:		\$0.00		
*Pending as of: 8/21/2020		Curre	nt Year Principal:		\$0.00		
		Curre	nt Year Interest:	\$0.00			
		Payo		\$765.26			
Afc Enterprises Inc	REGISTERED LAND SURVEY 282 N 15	Street Sweeping - Residential		202.00	\$82.82	34-29-22-44-0017	
C/O Ryan Llc Dept 904	FT OF S 673 FT OF W 199 FT OF E 703.24 FT OF SE 1/4 SEC 34 T 29 R 22 &	Citywide Street Lighting	0.59	202.00	\$119.18		
Po Box 460189	IN SD REGISTERED LAND SURVEY				\$202.00		
Houston TX 77056-8189	NO 282 TRACT C	*** Owner and Taxpayer ***					
*1722 SUBURBAN AVE		Total	Assessment:		\$202.00		
*Ward: 7		This I	Payment:		\$0.00		
*Pending as of: 8/21/2020		Curre	nt Year Principal:		\$0.00		
		Curre	nt Year Interest:		\$0.00		
		Payor	f Amount:		\$202.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 239
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
City Of St Paul 25 4th St W Rm 1000	TARGET-EAST ST. PAUL LOT 7 BLK	Street Sweeping - Com Citywide Street Lightin		1.07 0.59	300.00	\$321.00 \$177.00	34-29-22-44-0020 ***EXEMPT***
St Paul MN 55102-1692		*** 0 1 T	***			\$498.00	
*273 WHITE BEAR AVE N		*** Owner and Taxpay	yer ***		_		
*Ward: 7			Total Assessi	ment:		\$498.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$498.00	
Russell J Miller	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Com	mercial/Art	1.07			34-29-22-44-0021
267 White Bear Ave N	TO AVES THE E 106 FT OF S 180 FT OF SE 1/4 OF SEC 34 TN 29 RN 22	Citywide Street Lightin	ng	0.59	111.50	\$65.79	
St Paul MN 55106-6025					_	\$185.10	
*267 WHITE BEAR AVE N		*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assessi	ment:		\$185.10	
*Pending as of: 8/21/2020			This Paymen	t:	\$0.00		
		Current Year Principal:				\$0.00	
		Current Yea				\$0.00	
		Payoff Amount:				\$185.10	
	SECTION 34 TOWN 29 RANGE 22 SUBJ	Street Sweeping - Com	 nmercial/Art				34-29-22-44-0022
Cheryl A Rowley	TO BURNS AVE THE W 50 FT OF E 156	Citywide Street Lightin	ng	0.59	50.00	\$29.50	0.12/12/11/0022
7702 60th St S	FT OF S 180 FT OF SE 1/4 OF SEC 34 TN 29 RN 22				_	\$83.00	
Cottage Grove MN 55016-6021		*** Owner and Taxpay	yer ***				
*1767 BURNS AVE			Total Assessi	ment:		\$83.00	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$83.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 240
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Richard D Cisneros	TARGET-EAST ST. PAUL LOT 6 BLK	Street Sweeping - Com		1.07	90.00	\$96.30	34-29-22-44-0027
Maryjo Cisneros	1	Citywide Street Lightin	ng	0.59	90.00	\$53.10	
1731 Burns Ave						\$149.40	
St Paul MN 55106-6607		*** Owner and Taxpay	yer ***				
*1731 BURNS AVE			Total Assess	ment:		\$149.40	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$149.40	
	TARGET-EAST ST. PAUL LOT 5 BLK		 nmercial/Art				34-29-22-44-0028
Daryll Paul Fontaine	1	Citywide Street Lightin	ng	0.59	58.00	\$34.22	0.2/22
1729 Burns Ave					_	\$96.28	
St Paul MN 55106-6607		*** Owner and Taxpay	yer ***				
*1729 BURNS AVE			Total Assess	ment:	•	\$96.28	
*Ward: 7			This Paymer	nt:	\$0.00		
*Pending as of: 8/21/2020			Current Year	\$0.00			
		Current Year Interest: Payoff Amount:				\$0.00	
						\$96.28	
	SECTION 34 TOWN 29 RANGE 22 BEG	Street Sweeping - Com	mercial/Art				
1709 Burns Ave	AT A PT ON N L OF BURNS AVE 554 FT	Citywide Street Lightin		0.59	54.00	\$31.86	34-27-22-44-0031
St Paul MN 55106-4912	E FROM SW COR OF SE 1/4 OF SE 1/4 TH N 125 FT TH W 54 FT TH S 125 FT TH				=	\$89.64	
*1709 BURNS AVE	E 54 FT TO BEGIN IN SEC 34 TN 29 RN	*** Owner and Taxpay	yer ***				
*Ward: 7	22		Total Assess	ment:		\$89.64	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$89.64	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 241
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jeffrey C Helgeson Jamie Lynn Helgeson	SECTION 34 TOWN 29 RANGE 22 S 165 FT OF W 109.75 FT OF E 1034.06 FT OF SE 1/4 (SUBJ TO RD) OF SEC 34 TN 29	Street Sweeping - Comn Citywide Street Lighting		1.07	110.00 110.00	\$117.70 \$64.90	34-29-22-44-0034
1691 Burns Ave	RN 22				<del></del>	\$182.60	
St Paul MN 55106-6607		*** Owner and Taxpaye	er ***		_		
*1691 BURNS AVE			Total Assessm	ent:		\$182.60	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I	_		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$182.60	
Rosanne M Dagostino	TARGET-EAST ST. PAUL LOT 2 BLK	Street Sweeping - Comn		1.07			<u> </u>
1677 Burns Ave	1	Citywide Street Lighting		0.59	45.00	\$26.55	34-29-22-44-0030
St Paul MN 55106-6607					=	\$74.70	
*1677 BURNS AVE		*** Owner and Taxpayer ***					
*Ward: 7			Total Assessm	ent:	\$74.70		
*Pending as of: 8/21/2020		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$74.70	
	S & L ESTATES LOT 6	Street Sweeping - Comn					
Mark Sims Jr	S & E ESTATES EST V	Street Sweeping - Conin Street Sweeping - Reside		0.41	70.50	\$29.43 \$28.91	34-29-22-44-0038
1661 Burns Ave St Paul MN 55106-6634		Citywide Street Lighting		0.59	98.00	\$57.83	
*1661 BURNS AVE		, ,	,		=	\$116.17	
*Ward: 7		*** Owner and Taxpayer ***				\$110.17	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$116.17	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$116.17	

**Payoff Amount:** 

\$167.66

10:02:50 11/16/2020	11/16/2020 Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		-	roject: 2020SMSP Ass esolution #:		Manager: LM	Page 248
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Sam J Horsch 1126 Blair Ave St Paul MN 55104-2001	RUTH LIVINGSTON SECOND ADDITION LOT 9 BLK 5	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-11-0056
*1126 BLAIR AVE *Ward: 4		*** Owner and Taxpay	er ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assessi		-	\$44.80 \$0.00	
			Current Year	Principal:		\$0.00 \$0.00 \$0.00	
			Current Year Interest: Payoff Amount:			\$44.80	
Matthew D Eggert 1138 Blair Ave	RUTH LIVINGSTON SECOND ADDITION LOT 12 BLK 5	Street Sweeping - Resid		0.41	40.00	\$16.40 \$4.80	34-29-23-11-0059
St Paul MN 55104-2001 *1138 BLAIR AVE *Ward: 4		Citywide Street Lightin		0.59	40.00	\$23.60 \$44.80	
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:			\$0.00	
		Current Year Principal:				\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amou	unt:		\$44.80	
Paul V Brown	RUTH LIVINGSTON SECOND ADDITION LOT 18 BLK 5	Street Sweeping - Resid		0.41	40.00	\$16.40	34-29-23-11-0065
Triesta M Brown	ADDITION LOT 18 BLK 3	Alley Sweeping Citywide Street Lighting	~	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
1491 Blair Ave St Paul MN 55104-1939		Citywide Sireet Lighting	g	0.39	40.00	\$44.80	
*1153 LAFOND AVE		*** Owner and Taxpay	er ***			\$44.80	
*Ward: 4			Total Assessi	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 250
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
State Of Mn Trust Exempt Ramsey Co Tax Forf Land Po Box 64097	RUTH LIVINGSTON SECOND ADDITION LOT 8 BLK 8	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-11-0084 ***EXEMPT***
St Paul MN 55164-0097					_	\$44.80	
*1136 LAFOND AVE		*** Owner and Taxpay	er ***				
*Ward: 4			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-11-0085
1140 Lafond Ave	ADDITION LOT 9 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 -
St Paul MN 55104-2028		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*1140 LAFOND AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:				
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
		Payoff Ar		off Amount:		\$44.80	
	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Streε	0.41			34-29-23-11-0086
Elizabeth A Johnson	ADDITION LOT 10 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	21 27 22 11 0000
1142 Lafond Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55104-2028					<del></del>	\$44.80	
*1142 LAFOND AVE		*** Owner and Taxpay	er ***				
*Ward: 4			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 258
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Anthony C Johnson	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Stree	0.41	82.50	\$33.83	34-29-23-11-0160
Penny L Johnson	ADDITION LOT 1 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
1162 Blair Ave		Citywide Street Lighting	g	0.59	82.50	\$48.68	
St Paul MN 55104-2003					<del></del>	\$87.31	
*1162 BLAIR AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessn	nent:	-	\$87.31	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:	\$0.00		
			Payoff Amou	nt:		\$87.31	
	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	 lential Streε	0.41			<u> </u>
1174 Blair Ave	ADDITION LOT 4 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-11-0103
St Paul MN 55104-2003		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1174 BLAIR AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:	·	\$44.80	
		This Payment: Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
						\$0.00	
		Payoff Amoun				\$44.80	
Edward J Decelle	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-11-0165
Jean M Decelle	ADDITION LOT 6 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
1182 Blair Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-2003						\$44.80	
*1182 BLAIR AVE		*** Owner and Taxpayo	er ***				
*Ward: 4			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 259
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Mary C Boyne	RUTH LIVINGSTON SECOND	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-11-0171
1206 Blair Ave	ADDITION LOT 12 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2003		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1206 BLAIR AVE *Ward: 4		*** Owner and Taxpaye	т ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
	RUTH LIVINGSTON SECOND	Street Sweeping - Reside	ential Stree	0.41			
1210 Blair Ave	ADDITION LOT 13 BLK 6	Alley Sweeping	innai Succ	0.12	40.00	\$4.80	34-29-23-11-0172
St Paul MN 55104-2003		Citywide Street Lighting	[	0.59	40.00	\$23.60	
*1210 BLAIR AVE		, ,			=	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***			Ψ11.00	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$44.80	
		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amour	nt:		\$44.80	
An Her M Ankhu Ra	RUTH LIVINGSTON SECOND	Street Sweeping - Reside	ential Stree	0.41			
1218 Blair Ave	ADDITION LOT 15 BLK 6	Alley Sweeping	illiai Siicc	0.12	42.00	\$5.04	34-29-23-11-0174
St Paul MN 55104-2003		Citywide Street Lighting	[	0.59	83.00	\$48.97	
*1218 BLAIR AVE		, ,	•		===	\$88.04	
*Ward: 4		*** Owner and Taxpaye	r ***			ψου.υ-ι	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$88.04	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amount:			\$88.04	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 260	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Deneidra K Perry	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-11-0178	
Dennis K Perry	ADDITION LOT 19 BLK 6	Alley Sweeping		0.12	40.00	\$4.80		
1205 Lafond Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60		
St Paul MN 55104-2031		*** Owner and Taxpayo	ar ***			\$44.80		
*1205 LAFOND AVE *Ward: 4		Owner and Taxpayo						
*Pending as of: 8/21/2020			Total Assessn			\$44.80		
Pending as of: 8/21/2020			This Payment			\$0.00		
			Current Year	_		\$0.00		
			Current Year			\$0.00		
			Payoff Amou	int:		\$44.80		
Barbara Ann Savage	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Stree	0.41		<u>\$16.40</u>	34-29-23-11-0179	
1201 Lafond Ave	ADDITION LOT 20 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	0.129 20 11 01.9	
St Paul MN 55104-2031		Citywide Street Lighting	g	0.59	40.00	\$23.60		
*1201 LAFOND AVE					_	\$44.80		
*Ward: 4		*** Owner and Taxpayo	er ***					
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80		
		This Payment: Current Year Principal:				\$0.00		
						\$0.00		
			Current Year Interest:			\$0.00		
		Payoff Amount:				\$44.80		
Susan Mary Claeys Tr	RUTH LIVINGSTON SECOND ADDITION LOT 21 BLK 6	Street Sweeping - Resid Alley Sweeping	lential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-11-0180	
1199 Lafond Ave		Citywide Street Lighting	α	0.12	40.00	\$23.60		
St Paul MN 55104-2031		City wide Succe Lighting	5	0.57	=	\$44.80		
*1199 LAFOND AVE *Ward: 4		*** Owner and Taxpayo	er ***			\$44.80		
*Pending as of: 8/21/2020		1 7	Total Assessm	nant:	-	\$44.80		
			This Payment			\$44.80 \$0.00		
			Current Year			\$0.00		
			Current Year	_		\$0.00		
			Payoff Amou			\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Rol	l by PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 261
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Michael J Neisen	RUTH LIVINGSTON SECOND	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-11-0181
1195 Lafond Ave	ADDITION LOT 22 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2031		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*1195 LAFOND AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymer	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Donald Rosenthal	RUTH LIVINGSTON SECOND ADDITION LOT 25 BLK 6	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-11-0184
Courtney Tchida	ADDITION LOT 23 BER 0	Alley Sweeping Citywide Street Lightin	~	0.12 0.59	40.00	\$4.80 \$23.60	
1183 Lafond Ave		Citywide Street Lightin	g	0.39	40.00		
St Paul MN 55104-2031		*** 0 1 T	***			\$44.80	
*1183 LAFOND AVE		*** Owner and Taxpay	er ****				
*Ward: 4			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
	RUTH LIVINGSTON SECOND	Street Sweeping Decid	lantial Strac				
Elias S Anthan	ADDITION LOT 29 BLK 6	Street Sweeping - Resid	ientiai Stree	0.41	40.00	\$16.40 \$4.80	34-29-23-11-0188
Linnea J Cebelinksi		Citywide Street Lightin	σ	0.12	40.00	\$23.60	
1167 Lafond Ave St Paul MN 55104-2031		Oity wide Sureet Eightin	ь	0.57	=	\$44.80	
*1167 LAFOND AVE		*** Owner and Taxpay	er ***			\$44.80	
*Ward: 4			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 266	
Owner or Taxpayer	<b>Property Description</b>	<u>Item Description</u>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	Property ID	
St Paul Properties Llc	Part Of Lot 4 Lying Nly Of A Line Com At	Street Sweeping - Commer	cial/Art	1.07	225.00	\$240.75	34-29-23-11-0221	
701 Lexington Pkwy N Ste 1	Nw Cor Of Lot 6 Blk 1 Th S 0 Deg 01 Min 46 Sec E Along WI Of Blk 1 A Dist Of 105.86 Ft To Pt Of Beg Th N 89 Deg 45	Alley Sweeping		0.12	105.00	\$12.60		
St Paul MN 55104-2000		Citywide Street Lighting		0.59	225.00	\$132.75		
*701 LEXINGTON PKWY N *Ward: 4	Min 54 Sec E 58.53 Ft Th N 0 Deg 14 Min 06 Sec W 2.17 Ft Th N 89 Deg 45 Min 54	*** Owner and Taxpayer *	***		_	\$386.10		
*Pending as of: 8/21/2020		To	otal Assessmen	t:	-	\$386.10		
		TI	his Payment:			\$0.00		
		Ci	urrent Year Prii	ncipal:		\$0.00		
		Cı	urrent Year Inte	erest:		\$0.00		
		Pa	Payoff Amount:			\$386.10		
	SYNDICATE NO. 5 ADDITION LOT 1	Street Sweeping - Commer	cial/Art	1.07		\$21.40	— — — — — — — — — — — — — — — — — — —	
393 N Dunlap St Ste Ll34	BLK 1	Street Sweeping - Resident	tial Stree	0.41	62.00	\$25.42	21272012 0001	
St Paul MN 55104-4202		Alley Sweeping		0.12	40.00	\$4.80		
*1220 MINNEHAHA AVE W		Citywide Street Lighting		0.59	82.00	\$48.38		
*Ward: 4					<del></del>	\$100.00		
*Pending as of: 8/21/2020		*** Owner and Taxpayer ***						
		Total Assessment: This Payment:				\$100.00		
						\$0.00		
			urrent Year Prii			\$0.00		
				t Year Interest:		\$0.00		
		Pa	ayoff Amount:			\$100.00		
Benjamin J Hawkins	SYNDICATE NO. 5 ADDITION LOT 3	Street Sweeping - Commer	cial/Art	1.07		\$42.80	34-29-23-12-0003	
1228 Minnehaha Ave W	BLK 1	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104-1406		Citywide Street Lighting		0.59	40.00	\$23.60		
*1228 MINNEHAHA AVE W						\$71.20		
*Ward: 4		*** Owner and Taxpayer *	***		_			
*Pending as of: 8/21/2020		To	otal Assessmen	t:		\$71.20		
			his Payment:			\$0.00		
		Ci	urrent Year Prii	ncipal:		\$0.00		
			urrent Year Inte			\$0.00		
		Pa	Payoff Amount:			\$71.20		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 268
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kristin A Moe	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Residen	ntial Stree	0.41	83.00	\$34.03	34-29-23-12-0016
Danette M Ricks	BLK 1	Alley Sweeping		0.12	42.00	\$5.04	
1279 Van Buren Ave		Citywide Street Lighting		0.59	83.00	\$48.97	
St Paul MN 55104-2015 *1279 VAN BUREN AVE		*** Owner and Taxpayer	***		_	\$88.04	
*Ward: 4		-	Total Assessm	ent:		\$88.04	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year Interest:			\$0.00	
		1	Payoff Amour	nt:		\$88.04	
	SYNDICATE NO. 5 ADDITION LOT 17	Street Sweeping - Resider		0.41			
Shannon M Karan 1275 Van Buren Ave	BLK 1	Alley Sweeping	iitiai Sticc	0.41	40.00	\$4.80	34-29-23-12-0017
St Paul MN 55104-2015		Citywide Street Lighting		0.59	40.00	\$23.60	
*1273 VAN BUREN AVE		,			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***			\$44.80	
*Pending as of: 8/21/2020		- -	Total Assessm	ent:	-	\$44.80	
		This Payment: Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
						\$0.00	
		1	Payoff Amount:				
	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Resider	ntial Strac	0.41			
Toni Tieden	BLK 1	Alley Sweeping - Residen	nuai Sirec	0.41	40.00	\$4.80	34-29-23-12-0018
1271 Van Buren Ave St Paul MN 55104-2015		Citywide Street Lighting		0.59	40.00	\$23.60	
*1271 VAN BUREN AVE		, 5 5			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			<del>р11</del> .00	
*Pending as of: 8/21/2020		- -	Total Assessm	ent:	-	\$44.80	
		5	This Payment:			\$0.00	
		(	Current Year F	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		]	Payoff Amour	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:			Assmt: 200025	Manager: LM	Page 280
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Elizabeth Jackson Frank Jackson 1314 Minnehaha Ave W	SYNDICATE NO. 5 ADDITION LOT 9 BLK 2	Street Sweeping - Com Alley Sweeping Citywide Street Lightin		1.07 0.12 0.59	40.00 40.00 40.00	\$42.80 \$4.80 \$23.60	34-29-23-12-0128
St Paul MN 55104-1408 *1314 MINNEHAHA AVE W		*** Owner and Taxpay	/er ***		_	\$71.20	
*Ward: 4 *Pending as of: 8/21/2020			Total Assessr This Payment Current Year Current Year Payoff Amou	t: Principal: Interest:		\$71.20 \$0.00 \$0.00 \$0.00 \$71.20	
Dadders Estates Llc 351 Kellogg Blvd E St Paul MN 55101-1411 *718 HAMLINE AVE N	SYNDICATE NO. 5 ADDITION N 1/3 OF LOTS 14 AND LOT 15 BLK 2	Street Sweeping - Com Citywide Street Lightin	ng	1.07 0.59	123.00 123.00	\$131.61 \$72.57 \$204.18	34-29-23-12-0133
*Ward: 4 *Pending as of: 8/21/2020			Total Assessr This Payment Current Year Current Year Payoff Amou	t: Principal: Interest:		\$204.18 \$0.00 \$0.00 \$0.00 \$204.18	
Paul G Cunningham 714 Hamline Ave N St Paul MN 55104-1923 *714 HAMLINE AVE N	SYNDICATE NO. 5 ADDITION S 1/2 OF N 2/3 OF LOTS 14 AND LOT 15 BLK 2	Street Sweeping - Com Citywide Street Lightin	ng	1.07 0.59	41.00	\$43.87 \$24.19 \$68.06	34-29-23-12-0134
*Ward: 4 *Pending as of: 8/21/2020			Total Assessr This Payment Current Year Current Year Payoff Amou	t: Principal: Interest:		\$68.06 \$0.00 \$0.00 \$0.00 \$68.06	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 286
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
Paul S Wilson	SYNDICATE NO. 5 ADDITION LOT 21	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-12-0170
Cara O Wilson	BLK 7	Alley Sweeping		0.12	40.00	\$4.80	
1319 Blair Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2008 *1319 BLAIR AVE		*** Owner and Taxpayer	. ***			\$44.80	
*Ward: 4		<u>-</u>	Total Assessme	ent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
		1	Payoff Amount	t:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 22	Street Sweeping - Resider		0.41			
Steven M Roloff Stephanie H Roloff	BLK 7	Alley Sweeping	ilitai Sticc	0.12	40.00	\$4.80	34-29-23-12-0171
1315 Blair Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2008		, , ,			_	\$44.80	
*1315 BLAIR AVE		*** Owner and Taxpayer	. ***			<del>р11</del> .00	
*Ward: 4		_ 	Total Assessme	ent:	-	\$44.80	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		Current Year Principal:				\$0.00	
		(	Current Year Interest:			\$0.00	
		I	Payoff Amount:				
Marilyn Miller	SYNDICATE NO. 5 ADDITION LOT 26	Street Sweeping - Resider	ntial Stree				24 20 22 12 0155
1299 Blair Ave	BLK 7	Alley Sweeping	illiai Silee	0.41	40.00	\$4.80	34-29-23-12-0175
St Paul MN 55104-2008		Citywide Street Lighting		0.59	40.00	\$23.60	
*1299 BLAIR AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***			ψσ	
*Pending as of: 8/21/2020		- 1	Total Assessme	ent:		\$44.80	
		7	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		I	Payoff Amount	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 287
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Harriet D Sands Benjamin D Sands 1295 Blair Ave	SYNDICATE NO. 5 ADDITION LOT 27 BLK 7	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-12-0176
St Paul MN 55104-2008 *1295 BLAIR AVE		*** Owner and Taxpayo	er ***		_	\$44.80	
*Ward: 4 *Pending as of: 8/21/2020			Total Assessi			\$44.80	
1 Cliding as 01. 6/21/2020			This Paymen			\$0.00	
			Current Year	•		\$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$44.80</b>	
Luke S Boening	SYNDICATE NO. 5 ADDITION LOT 30	Street Sweeping - Resid	 lential Stree				34-29-23-12-0179
Cynthia Boening	BLK 7	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-12-01/9
1283 Blair Ave		Citywide Street Lighting	g	0.59	82.00	\$48.38	
St Paul MN 55104-2008						\$86.80	
*1283 BLAIR AVE		*** Owner and Taxpayo	er ***				
*Ward: 4			Total Assessi	ment:	-	\$86.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	_		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amou	unt:		\$86.80	
Emmy Vadnais	SYNDICATE NO. 5 ADDITION LOT 4	Street Sweeping - Resid	lential Stree			<u>\$16.40</u> —	34-29-23-12-0183
1294 Blair Ave	BLK 10	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2007		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1294 BLAIR AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayo	er ***		_		
*Pending as of: 8/21/2020			Total Assessi	ment:		\$44.80	
			This Paymen			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 288
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	]	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Douglas K Swanson	SYNDICATE NO. 5 ADDITION LOT 1	Street Sweeping - Reside	ential Stree	0.41	82.00	\$33.62	34-29-23-12-0189
889 Lovell Ave	BLK 15	Alley Sweeping		0.12	40.00	\$4.80	
Roseville MN 55113-4417		Citywide Street Lighting	5	0.59	82.00	\$48.38	
*1282 LAFOND AVE *Ward: 4		*** Owner and Taxpayer	r ***			\$86.80	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$86.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$86.80	
Andrew D Fields	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Reside	ential Stree	0.41			
Rachel L Fields	BLK 15	Alley Sweeping	iniai Sirce	0.12	40.00	\$4.80	34-29-23-12-0190
1286 Lafond Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2034			•		_	\$44.80	
*1286 LAFOND AVE		*** Owner and Taxpayer	r ***			ψ11.00	
*Ward: 4		•	Total Assessme	ent:	-	\$44.80	
*Pending as of: 8/21/2020		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amount:				
	SYNDICATE NO. 5 ADDITION LOT 4	Street Sweeping - Reside	ential Stree	0.41		<u> </u>	
Jane M Kilian	BLK 15	Alley Sweeping	innai Birec	0.12	40.00	\$4.80	34-29-23-12-0192
1294 Lafond Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55104-2034					_	\$44.80	
*1294 LAFOND AVE		*** Owner and Taxpayer	r ***			4	
*Ward: 4		•	Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	_		\$0.00	
			Current Year In			\$0.00	
			Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 289
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Peter P Nguyen Thanh T Nguyen 1300 Lafond Ave	SYNDICATE NO. 5 ADDITION LOT 5 BLK 15	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-12-0193
St Paul MN 55104-2034		*** Owner and Taxpaye	or ***		<u>=</u>	\$44.80	
*1296 LAFOND AVE *Ward: 4		Owner and Taxpayo					
*Pending as of: 8/21/2020			Total Assessi			\$44.80	
1 chaing as of. 6/21/2020			This Paymen			\$0.00	
			Current Year	•		\$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$44.80</b>	
Peter P Nguyen Thanh T Nguyen 1300 Lafond Ave St Paul MN 55104-2034 *1300 LAFOND AVE *Ward: 4 *Pending as of: 8/21/2020	SYNDICATE NO. 5 ADDITION LOT 6 BLK 15	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting *** Owner and Taxpayo	er ***  Total Assessi This Paymen Current Year Current Year	t: Principal: Interest:	40.00 40.00 40.00 =	\$16.40 \$4.80 \$23.60 \$44.80 \$0.00 \$0.00 \$0.00	34-29-23-12-0194
Peter Phan Nguyen 1300 Lafond Ave	SYNDICATE NO. 5 ADDITION LOT 7 BLK 15	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$44.80	
St Paul MN 55104-2034		Citywide Street Lighting	g	0.39	40.00		
*1306 LAFOND AVE *Ward: 4		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessi	ment:	<del></del>	\$44.80	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 29
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> :	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Peter Phan Nguyen	SYNDICATE NO. 5 ADDITION LOT 8	Street Sweeping - Reside	ntial Stree	0.41	40.00	\$16.40	34-29-23-12-0196
Thanh Thi Nguyen	BLK 15	Alley Sweeping		0.12	40.00	\$4.80	
1300 Lafond Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2034					<del></del>	\$44.80	
*1310 LAFOND AVE		*** Owner and Taxpayer	. ***				
*Ward: 4		-	Total Assessmen	ıt:	-	\$44.80	
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
			Current Year Pri	ncipal:		\$0.00	
		•	Current Year Inte	erest:		\$0.00	
		]	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 12	Street Sweeping - Reside	ntial Stree	0.41			<u> </u>
Antoinette L Weeks	BLK 15	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-12-0200
1328 Lafond Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2034					<del></del>	\$44.80	
*1328 LAFOND AVE		*** Owner and Taxpayer	***				
*Ward: 4		;	Total Assessmen	ıt:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	ncipal:		\$0.00	
			Current Year Into	erest:		\$0.00	
		1	Payoff Amount:			\$44.80	
Embassy Thomas Llc	SYNDICATE NO. 5 ADDITION LOTS 16	Street Sweeping - Comm	ercial/Art	1.07	205.00	\$219.35	
5200 Willson Rd 150	AND LOT 17 BLK 15	Alley Sweeping		0.12	81.00	\$9.72	34-29-23-12-0204
Edina MN 55424-1300		Citywide Street Lighting		0.59	205.00	\$120.95	
*1333 THOMAS AVE						\$350.02	
*Ward: 4		*** Owner and Taxpayer	***			****	
*Pending as of: 8/21/2020		;	Total Assessmen	ıt:	-	\$350.02	
		,	This Payment:			\$0.00	
			Current Year Pri	ncipal:		\$0.00	
		•	Current Year Inte	erest:		\$0.00	
		]	Payoff Amount:			\$350.02	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 291
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Elvis Mykerezi	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	34-29-23-12-0205
1343 Thomas Ave	BLK 15	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2448		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1329 THOMAS AVE					<del></del>	\$71.20	
*Ward: 4		*** Owner and Taxpayo	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	
		Street Screening Comm					
Elena H Foshay	SYNDICATE NO. 5 ADDITION LOT 20 BLK 15	Street Sweeping - Comr Alley Sweeping	merciai/Art	1.07 0.12	40.00 40.00	\$42.80 \$4.80	34-29-23-12-0207
Michelle H Foshay		Citywide Street Lighting	σ	0.12	40.00	\$23.60	
435 Leicester Ave Duluth MN 55803-2116		City wide Street Lighting	.5	0.57	<del></del>		
*1323 THOMAS AVE		*** Owner and Taxpayo	er ***			\$71.20	
*Ward: 4		Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assess			\$71.20	
Fending as 61. 8/21/2020			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$71.20	
	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Com	mercial/Art				34-29-23-12-0210
1311 Thomas Ave	BLK 15	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-12-0210
St Paul MN 55104-2545		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1311 THOMAS AVE					<u> </u>	\$71.20	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$71.20	
			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:	OSMSP	Assmt: 200025	Manager: LM	Page 29
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	1	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Anthony C Hill	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Reside	ntial Stree	0.41	82.50	\$33.83	34-29-23-13-0016
Suzanne M Senecal Hill	BLK 17	Alley Sweeping		0.12	41.00	\$4.92	
1277 Edmund Ave		Citywide Street Lighting		0.59	82.50	\$48.68	
St Paul MN 55104-2525					<del></del>	\$87.43	
*1277 EDMUND AVE		*** Owner and Taxpayer	. ***				
*Ward: 4		7	Total Assessme	ent:	-	\$87.43	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year P	rincipal:		\$0.00	
		(	Current Year Ir	nterest:		\$0.00	
		1	Payoff Amoun	it:		\$87.43	
	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Reside	ntial Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
Anne Mcfaul Reid	BLK 17	Alley Sweeping		0.12	40.00	\$4.80	312/2010 0022
1251 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2525						\$44.80	
*1251 EDMUND AVE		*** Owner and Taxpayer	***				
*Ward: 4		-	Total Assessme	ent:	-	\$44.80	
*Pending as of: 8/21/2020		•	This Payment:			\$0.00	
		•	Current Year P	rincipal:		\$0.00	
		(	Current Year Ir	nterest:		\$0.00	
		1	Payoff Amoun	t:		\$44.80	
Delores W Jones	SYNDICATE NO. 5 ADDITION LOT 24	Street Sweeping - Resider	ntial Stree	0.41		<u> </u>	
1247 Edmund Ave	BLK 17	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-13-0023
St Paul MN 55104-2525		Citywide Street Lighting		0.59	40.00	\$23.60	
*1247 EDMUND AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessme	ent:	-	\$44.80	
		•	This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
		•	Current Year Ir	nterest:		\$0.00	
		]	Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 295
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mark R Pilon	SYNDICATE NO. 5 ADDITION LOT 25	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0024
Susan E Pilon	BLK 17	Alley Sweeping		0.12	40.00	\$4.80	
1243 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2525					_	\$44.80	
*1243 EDMUND AVE		*** Owner and Taxpayer	. ***				
*Ward: 4		-	Total Assessm	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year P	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amoun	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 26	Street Sweeping - Resider	ntial Stree	0.41			34-29-23-13-0025
1239 Edmund Ave	BLK 17	Alley Sweeping		0.12	40.00	\$4.80	0129 20 10 0020
St Paul MN 55104-2525		Citywide Street Lighting		0.59	40.00	\$23.60	
*1239 EDMUND AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		- -	Total Assessme	ent:	-	\$44.80	
		-	This Payment:			\$0.00	
		(	Current Year P	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amoun	ıt:		\$44.80	
David Ronald Thomas	SYNDICATE NO. 5 ADDITION LOT 27	Street Sweeping - Resider	ntial Stree	0.41			34-29-23-13-0026
1235 Edmund Ave	BLK 17	Alley Sweeping	ilitai Stree	0.12	40.00	\$4.80	34-29-23-13-0026
St Paul MN 55104-2525		Citywide Street Lighting		0.59	40.00	\$23.60	
*1235 EDMUND AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		- -	Total Assessme	ent:	-	\$44.80	
		-	This Payment:			\$0.00	
			Current Year P			\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Michael C Hunziker	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0028
Kimberly M Hunziker	BLK 17	Alley Sweeping		0.12	40.00	\$4.80	
1227 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2525						\$44.80	
*1227 EDMUND AVE		*** Owner and Taxpayer	***		_		
*Ward: 4		T	Total Assessmen	ıt:	\$44.80		
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Prin	ncipal:	\$0.00		
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 30	Street Sweeping - Residen	ntial Stree	0.41	82.00		34-29-23-13-0029
1221 Edmund Ave	BLK 17	Alley Sweeping		0.12	40.00	\$4.80	0.27 20 10 0027
St Paul MN 55104-2525		Citywide Street Lighting		0.59	82.00	\$48.38	
*1221 EDMUND AVE						\$86.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessmen	ıt:	-	\$86.80	
		This Payment:				\$0.00	
		C	Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$86.80	
	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Residen	ntial Stree	0.41	40.00		
Ann K Nagle	BLK 24	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0031
1224 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2524					=	\$44.80	
*1224 EDMUND AVE		*** Owner and Taxpayer	***				
*Ward: 4			Total Assessmen	ıt:	<del>-</del>	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
			Current Year Inte	-		\$0.00	
		P	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 298
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Clayton Howatt	SYNDICATE NO. 5 ADDITION LOT 15	Street Sweeping - Resid	ential Stree	0.41	82.50	\$33.83	34-29-23-13-0044
Kristin Howatt	BLK 24	Alley Sweeping		0.12	41.00	\$4.92	
1276 Edmund Ave		Citywide Street Lighting	g	0.59	82.50	\$48.68	
St Paul MN 55104-2524						\$87.43	
*1276 EDMUND AVE		*** Owner and Taxpayo	er ***				
*Ward: 4			Total Assess	sment:	-	\$87.43	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$87.43	
	SYNDICATE NO. 5 ADDITION EX N 40	Street Sweeping - Resid	ential Stree				24 20 22 12 0046
Thanh T Nguyen	FT LOT 16 BLK 24	Citywide Street Lighting		0.59	62.00	\$36.58	34-29-23-13-0046
1300 Lafond Ave		,	5		_	\$62.00	
St Paul MN 55104-2034		*** Owner and Taxpaye	er ***			\$02.00	
*1277 CHARLES AVE			Total Assess	ment:	-	\$62.00	
*Ward: 4			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$62.00	
		Street Severing Paris					
Natalie Wiersma	SYNDICATE NO. 5 ADDITION EX N 40 FT LOT 17 BLK 24	Street Sweeping - Resid Citywide Street Lighting		0.41 0.59	40.00	\$16.40 \$23.60	34-29-23-13-0047
1273 Charles Ave St Paul MN 55104-2517		City wide Succi Lighting	5	0.57	<del></del>		
*1273 CHARLES AVE		*** Owner and Taxpayo	er ***			\$40.00	
*Ward: 4			Total Assess	sment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Richard J Alteri	SYNDICATE NO. 5 ADDITION LOT 19	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-13-0049
Dawn M Alteri	BLK 24	Alley Sweeping		0.12	40.00	\$4.80	
1267 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2517						\$44.80	
*1267 CHARLES AVE		*** Owner and Taxpayer	r *** 				
*Ward: 4		•	Total Assessme	nt:		\$44.80	
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		]	Payoff Amount	t:		\$44.80	
Raymond C Harewood	SYNDICATE NO. 5 ADDITION LOT 20	Street Sweeping - Reside	ential Stree	0.41	40.00	<del>\$16.40</del>	34-29-23-13-0050
1263 Charles Ave	BLK 24	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2517		Citywide Street Lighting		0.59	40.00	\$23.60	
*1263 CHARLES AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		,	Total Assessme	nt:	-	\$44.80	
		•	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
		1	Payoff Amount	t:		\$44.80	
Calabash Properties Of St Paul Llc	SYNDICATE NO. 5 ADDITION LOT 21	Street Sweeping - Reside	ential Stree	0.41	40.00		34-29-23-13-0051
C/O Brad T Nilles	BLK 24	Alley Sweeping		0.12	40.00	\$4.80	0.2,2010001
525 Ohio St		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55107-2659						\$44.80	
*1259 CHARLES AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		;	Total Assessme	nt:	-	\$44.80	
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
		•	Current Year Pr	rincipal:		\$0.00	
		•	Current Year In	terest:		\$0.00	
		]	Payoff Amount	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	· · · · · · ·	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 30
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Catherine A Hesser Trustee	SYNDICATE NO. 5 ADDITION LOT 26	Street Sweeping - Reside	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0056
1239 Charles Ave	BLK 24	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2517		Citywide Street Lighting		0.59	40.00	\$23.60	
*1239 CHARLES AVE		*** 0 1.77	ىك بىك ماك		_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***		_		
*Pending as of: 8/21/2020		•	Total Assessmer	nt:		\$44.80	
		•	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Reside	ential Stree	0.41		<u> </u>	<u> </u>
Erin K Pavlica	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	012)20100001
1226 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2516						\$44.80	
*1226 CHARLES AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		-	Total Assessmer	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	
Legion Mystfyl	SYNDICATE NO. 5 ADDITION LOT 3	Street Sweeping - Reside	ential Stree	——————————————————————————————————————		<u>\$16.40</u>	
Jessica M Mustful 1230 Charles Ave	BLK 25	Alley Sweeping	illiai Sticc	0.12	40.00	\$4.80	34-29-23-13-0062
St Paul MN 55104-2516		Citywide Street Lighting		0.59	40.00	\$23.60	
*1230 CHARLES AVE		, , ,				\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			Ψ-1.00	
*Pending as of: 8/21/2020		-	Total Assessmer	nt:		\$44.80	
			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	-		\$0.00	
		1	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 3	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Aaron Bellamy	SYNDICATE NO. 5 ADDITION LOT 6	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-13-0065	
Christina M Bellamy	BLK 25	Alley Sweeping		0.12	40.00	\$4.80		
1242 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60		
St Paul MN 55104-2516					<del></del>	\$44.80		
*1242 CHARLES AVE		*** Owner and Taxpayer	r ***					
*Ward: 4		•	Total Assessm	ent:		\$44.80		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year P	Principal:		\$0.00		
			Current Year I	nterest:		\$0.00		
			Payoff Amour	nt:		\$44.80		
Travis A Haage	SYNDICATE NO. 5 ADDITION LOT 8	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>		
1250 Charles Ave	BLK 25	Alley Sweeping	inuai Stree	0.12	40.00	\$4.80	34-29-23-13-0067	
St Paul MN 55104-2516		Citywide Street Lighting		0.59	40.00	\$23.60		
*1250 CHARLES AVE		,			_	\$44.80		
*Ward: 4		*** Owner and Taxpayer	r ***			\$44.60		
*Pending as of: 8/21/2020		•	Total Assessm	ent:	-	\$44.80		
			This Payment:			\$0.00		
			Current Year P	Principal:		\$0.00		
			Current Year I	nterest:		\$0.00		
			Payoff Amour	nt:		\$44.80		
Arianne E Ilavasky	SYNDICATE NO. 5 ADDITION LOT 9 BLK 25	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-13-0068	
1254 Charles Ave	BLK 23	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104		Citywide Street Lighting		0.59	40.00	\$23.60		
*1254 CHARLES AVE		*** Owner and Taxpayer	***			\$44.80		
*Ward: 4 *Pending as of: 8/21/2020		1 ,			-			
1 chaing as 01. 0/21/2020			Total Assessm			\$44.80		
			This Payment:			\$0.00		
			Current Year P	-		\$0.00		
			Current Year I			\$0.00		
			Payoff Amour	nt:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 302
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Matthew P Krych	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0070
1262 Charles Ave	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2516		Citywide Street Lighting		0.59	40.00	\$23.60	
*1262 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020		<u>-</u>	Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I	_		\$0.00	
		1	Payoff Amoun	ıt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 15	Street Sweeping - Resider		0.41			
Janette M Kiehn	BLK 25	Alley Sweeping - Resider	iluai Succ	0.41	40.00	\$4.80	34-29-23-13-0074
2403 Harold St Oakland CA 94602-2101		Citywide Street Lighting		0.59	82.00	\$48.38	
*1278 CHARLES AVE		,			_	\$86.80	
*Ward: 4		*** Owner and Taxpayer	***			\$60.60	
*Pending as of: 8/21/2020		_	Total Assessme	ent:	-	\$86.80	
		7	This Payment:			\$0.00	
		(	Current Year P	rincipal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amoun	ıt:		\$86.80	
	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Resider	ential Stree	0.41			24 20 22 12 0075
1277 Sherburne Ave	BLK 25	Alley Sweeping	innai Stree	0.12	40.00	\$4.80	34-29-23-13-0075
St Paul MN 55104-2530		Citywide Street Lighting		0.59	82.00	\$48.38	
*1277 SHERBURNE AVE					_	\$86.80	
*Ward: 4		*** Owner and Taxpayer	***			φοιου	
*Pending as of: 8/21/2020		- 1	Total Assessme	ent:		\$86.80	
			This Payment:			\$0.00	
			Current Year P	_		\$0.00	
			Current Year In			\$0.00	
		Ì	Payoff Amoun	ıt:		\$86.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Fyr Sfr Borrower Llc	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0077
Co Havenbrook Homes	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	
3505 Koger Blvd Ste 400		Citywide Street Lighting		0.59	40.00	\$23.60	
Duluth GA 30096-7672 *1271 SHERBURNE AVE		*** Owner and Taxpayer	***			\$44.80	
*Ward: 4			Γotal Assessmen	nt:	-	\$44.80	
*Pending as of: 8/21/2020		T	Γhis Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
		C	Current Year Int	erest:		\$0.00	
		P	Payoff Amount:	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 22	Street Sweeping - Residen	 ntial Streε	0.41	40.00		34-29-23-13-0081
1255 Sherburne Ave	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	0.29 20 10 0001
St Paul MN 55104-2530		Citywide Street Lighting		0.59	40.00	\$23.60	
*1255 SHERBURNE AVE					<del>==</del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessmer	nt:		\$44.80	
			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
		C	Current Year Int	erest:		\$0.00	
		P	Payoff Amount:	:		\$44.80	
 Maria E Aguilar-Petlin	SYNDICATE NO. 5 ADDITION LOT 24	Street Sweeping - Residen	ntial Stree		40.00		<u> </u>
3611 Dimond Ave	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0003
Oakland CA 94602-2212		Citywide Street Lighting		0.59	40.00	\$23.60	
*1249 SHERBURNE AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Γotal Assessmer	nt:		\$44.80	
		T	Γhis Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount:	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 304
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Fyr Sfr Borrower Llc	SYNDICATE NO. 5 ADDITION LOT 27	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	34-29-23-13-0086
Co Havenbrook Homes	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	
3505 Koger Blvd Ste 400		Citywide Street Lighting	3	0.59	40.00	\$23.60	
Duluth GA 30096-7672					===	\$44.80	
*1235 SHERBURNE AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	: <b>:</b>		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
William L Collins	SYNDICATE NO. 5 ADDITION LOT 28	Street Sweeping - Reside	ential Stree				
Muriel L Collins	BLK 25	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0007
1231 Sherburne Ave		Citywide Street Lighting	3	0.59	40.00	\$23.60	
St Paul MN 55104-2530					_	\$44.80	
*1231 SHERBURNE AVE		*** Owner and Taxpaye	er ***			<b>\$1.11</b> 00	
*Ward: 4			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
			- <del></del>				
Elvira Preciado	SYNDICATE NO. 5 ADDITION LOT 29 BLK 25	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-13-0088
1227 Sherburne Ave		Citywide Street Lighting	T	0.12	40.00	\$23.60	
St Paul MN 55104-2530		City wide Street Lighting	5	0.57	<del></del>		
*1227 SHERBURNE AVE		*** Owner and Taxpaye	··· ***			\$44.80	
*Ward: 4		Owner and Taxpaye					
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 30
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> :	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dawn Lucken Hills	SYNDICATE NO. 5 ADDITION LOT 4	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0092
James Lucken Hills	BLK 32	Alley Sweeping		0.12	40.00	\$4.80	
1234 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2529 *1234 SHERBURNE AVE		*** Owner and Taxpayer	***			\$44.80	
*Ward: 4		· · -	Total Assessmen	nt:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	ncipal:		\$0.00	
			Current Year Into	-		\$0.00	
		P	Payoff Amount:	1		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Residen	ntial Stree			<u>\$16.40</u>	
Dustin Baker	BLK 32	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0073
1246 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2529					=	\$44.80	
*1246 SHERBURNE AVE		*** Owner and Taxpayer	***				
*Ward: 4		T	Total Assessmen	nt:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year Inte			\$0.00	
		P	Payoff Amount:	1		\$44.80	
	SYNDICATE NO. 5 ADDITION EX E 2	Street Sweeping - Residen	ntial Stree	——————————————————————————————————————			34-29-23-13-0098
Thuy Huynh	5/10 FT LOT 10 AND E 2 5/10 FT OF	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0070
1258 Sherburne Ave	LOT 11 BLK 32	Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2529					=	\$44.80	
*1258 SHERBURNE AVE		*** Owner and Taxpayer	***				
*Ward: 4			Total Assessmen	nt:	=	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	-		\$0.00	
			Current Year Into			\$0.00	
		P	Payoff Amount:	•		\$44.80	

Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 306
<b>Property Description</b>	Item Description		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 12 AND E 2 5/10 FT OF LOT 13 BLK 32	Alley Sweeping		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-13-0100
	*** Owner and Taxpay	/er ***			\$44.80	
	This Paymer Current Year Current Year	This Payment: Current Year Principal: Current Year Interest:		\$44.80 \$0.00 \$0.00 \$0.00 \$44.80		
SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 13 AND E 3 5/10 FT OF LOT 14 BLK 32	T LOT 13 AND E 3 5/10 FT OF Alley Sweeping 4 BLK 32 Citywide Street Lighti		0.41 0.12 0.59	41.00 41.00 41.00	\$16.81 \$4.92 \$24.19 \$45.92	34-29-23-13-0101
		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$45.92 \$0.00 \$0.00 \$0.00 \$45.92	
SYNDICATE NO. 5 ADDITION EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU LOT 20 BLK 32	Street Sweeping - Resi Alley Sweeping Citywide Street Lightin University/Emerald to	dential Stree  ng Rice ASL  ver ***  Total Assess This Paymer Current Year	nt: r Principal:	220.00 122.00 220.00 342.00 220.00	\$235.40 \$50.02 \$26.40 \$201.78 \$268.40 \$782.00 \$0.00 \$0.00 \$0.00	34-29-23-13-0103
	Property Description  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 12 AND E 2 5/10 FT OF LOT 13 BLK 32  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 13 AND E 3 5/10 FT OF LOT 14 BLK 32  SYNDICATE NO. 5 ADDITION EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU	Property Description  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 12 AND E 2 5/10 FT OF LOT 13 BLK 32  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 13 AND E 3 5/10 FT OF LOT 14 BLK 32  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 13 AND E 3 5/10 FT OF LOT 14 BLK 32  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 13 AND E 3 5/10 FT OF LOT 14 BLK 32  SYNDICATE NO. 5 ADDITION EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU LOT 20 BLK 32  SYNDICATE NO. 5 ADDITION EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU LOT 20 BLK 32  SYNDICATE NO. 5 ADDITION EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU LOT 20 BLK 32  SYNDICATE NO. 5 ADDITION EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU LOT 20 BLK 32  STreet Sweeping - Resi Alley Sweeping - Com Street S	Ratification Date: Resolution  Item Description  SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 12 AND E 2 5/10 FT OF LOT 13 BLK 32  Street Sweeping - Residential Stree Alley Sweeping Citywide Street Lighting  *** Owner and Taxpayer ***  Total Assess This Paymer Current Year Payoff Amo  Syndicate No. 5 Addition EX E 2 5/10 FT LOT 13 AND E 3 5/10 FT OF LOT 14 BLK 32  Street Sweeping - Residential Stree Alley Sweeping Citywide Street Lighting  *** Owner and Taxpayer ***  Total Assess This Paymer Current Year Current Year Payoff Amo  Syndicate No. 5 Addition EX E 20 FT LOT 21 AND ALL OF LOTS 16 THRU LOT 20 BLK 32  Street Sweeping - Commercial/Art Street Sweeping - Residential Stree Alley Sweeping Citywide Street Lighting University/Emerald to Rice ASL  *** Owner and Taxpayer ***  Total Assess This Paymer Current Year Citywide Street Lighting University/Emerald to Rice ASL  *** Owner and Taxpayer ***	Ratification Date: Resolution #:    Item Description   SYNDICATE NO. 5 ADDITION EX E 2 5/10 FT LOT 12 AND E 2 5/10 FT OF LOT 12 AND E 2 5/10 FT OF LOT 13 BLK 32   Street Sweeping - Residential Streek	Property Description   Item Description   Unit Rate   Quantity	Ratification Date:   Resolution #:

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 30
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Chester O Butterfield	SYNDICATE NO. 5 ADDITION LOT 15	Street Sweeping - Comme	ercial/Art	1.07	165.00	\$176.55	34-29-23-13-0120
Gisele M Butterfield	BLK 18	Alley Sweeping		0.12	41.00	\$4.92	
2671 Orchard Lane		Citywide Street Lighting		0.59	165.00	\$97.35	
Excelsior MN 55331-7807						\$278.82	
*1336 THOMAS AVE		*** Owner and Taxpayer	***				
*Ward: 4			otal Assessme	ent:	-	\$278.82	
*Pending as of: 8/21/2020		T	his Payment:			\$0.00	
		C	Current Year Pr	rincipal:		\$0.00	
		C	Current Year In	nterest:		\$0.00	
		P	Payoff Amoun	t:		\$278.82	
Neal Smith	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Comme	rcial/Art	1.07	62.00	\$66.34	34-29-23-13-0121
1337 Edmund Ave	BLK 18	Street Sweeping - Residen	tial Stree	0.41	20.50	\$8.41	012/2010 0121
St Paul MN 55104-2526		Alley Sweeping		0.12	41.00	\$4.92	
*1337 EDMUND AVE		Citywide Street Lighting		0.59	82.50	\$48.68	
*Ward: 4					_	\$128.35	
*Pending as of: 8/21/2020		*** Owner and Taxpayer	***				
		Total Assessment: This Payment:				\$128.35	
						\$0.00	
		C	Current Year Pr	rincipal:		\$0.00	
		C	Current Year Interest: Payoff Amount:				
		P					
Kaarina Kotkavuori	SYNDICATE NO. 5 ADDITION LOT 19	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0124
Jaakko J Kotkavuori	BLK 18	Alley Sweeping		0.12	40.00	\$4.80	
1327 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2526					<del></del>	\$44.80	
*1327 EDMUND AVE		*** Owner and Taxpayer	***				
*Ward: 4		T	otal Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020		Т	his Payment:			\$0.00	
		C	Current Year P	rincipal:		\$0.00	
		C	Current Year In	nterest:		\$0.00	
		P	Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 30
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Janet E Kendra	SYNDICATE NO. 5 ADDITION LOT 25	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0130
1303 Edmund Ave	BLK 18	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2526		Citywide Street Lighting		0.59	40.00	\$23.60	
*1303 EDMUND AVE *Ward: 4		*** Owner and Taxpayer	oaver ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessmen	ıt:		\$44.80	
		7	This Payment:			\$0.00	
		(	Current Year Prin	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$44.80	
Raymond J Wallin	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Resider	ntial Stree	——————————————————————————————————————		<u> </u>	<u> </u>
1306 Charles Ave	BLK 26	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0143
St Paul MN 55104-2518		Citywide Street Lighting		0.59	40.00	\$23.60	
*1306 CHARLES AVE					=	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			· 	
*Pending as of: 8/21/2020		7	Total Assessmen	ıt:		\$44.80	
			This Payment:			\$0.00 \$0.00	
			Current Year Principal:				
			Current Year Inte			\$0.00	
		1	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 8	Street Sweeping - Resider	ntial Stree	——————————————————————————————————————			<u>34-29-23-13-0144</u>
Kara L Wald	BLK 26	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-13-0144
1490 Danforth St		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55117-3507					=	\$44.80	
*1308 CHARLES AVE		*** Owner and Taxpayer	***			,	
*Ward: 4			Total Assessmen	ıt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	-		\$0.00	
			Current Year Inte			\$0.00	
		1	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:	P Assmt: 200025	Manager: LM	Page 310	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rat	te Quantity	Charge Amts	Property ID	
John Capron	SYNDICATE NO. 5 ADDITION LOT 9	Street Sweeping - Resident	ial Stree 0.4	1 40.00	\$16.40	34-29-23-13-0145	
Diana Capron	BLK 26	Alley Sweeping	0.1		\$4.80		
23729 Hickory Rd Po Box 415		Citywide Street Lighting	0.5	9 40.00	\$23.60		
Lanesboro MN 55949					\$44.80		
*1314 CHARLES AVE		*** Owner and Taxpayer *	**				
*Ward: 4		To	otal Assessment:		\$44.80		
*Pending as of: 8/21/2020		Th	nis Payment:		\$0.00		
		Cu	urrent Year Principal:		\$0.00		
		Cu	urrent Year Interest:		\$0.00		
		Pa	ayoff Amount:		\$44.80		
Eric M Kustritz	SYNDICATE NO. 5 ADDITION LOTS 16	Street Sweeping - Commer	cial/Art 1.0	7 — — — — —		34-29-23-13-0150	
80 Virginia St	AND LOT 17 BLK 26	Street Sweeping - Resident			\$32.80	34-29-23-13-0150	
St Paul MN 55102-2114		Alley Sweeping	0.1		\$9.60		
*1339 SHERBURNE AVE		Citywide Street Lighting	0.5	9 204.00	\$120.36		
*Ward: 4				_	\$295.44		
*Pending as of: 8/21/2020		*** Owner and Taxpayer *	***				
		To	otal Assessment:	-	\$295.44		
		Th	nis Payment:		\$0.00		
		Cu	urrent Year Principal:		\$0.00		
		Cı	urrent Year Interest:		\$0.00		
		Pa	ayoff Amount:		\$295.44		
	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Resident	ial Stree 0.4			<u> </u>	
1331 Sherburne Ave	BLK 26	Alley Sweeping	0.1		\$4.80	34-29-23-13-0131	
St Paul MN 55104-2532		Citywide Street Lighting	0.5	9 40.00	\$23.60		
*1331 SHERBURNE AVE				_	\$44.80		
*Ward: 4		*** Owner and Taxpayer *	**		•		
*Pending as of: 8/21/2020		To	otal Assessment:	<u>-</u>	\$44.80		
		Th	nis Payment:		\$0.00		
		Cu	urrent Year Principal:		\$0.00		
			urrent Year Interest:		\$0.00		
		Pa	ayoff Amount:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	, ,	Project: 2020SM Resolution #:	<b>ISP</b>	Assmt: 200025	Manager: LM	Page 31
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Johnnie E Mccalister	SYNDICATE NO. 5 ADDITION LOT 19	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-13-0152
1327 Sherburne Ave	BLK 26	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2532		Citywide Street Lighting		0.59	40.00	\$23.60	
*1327 SHERBURNE AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***		_		
*Pending as of: 8/21/2020		Г	Γotal Assessment:			\$44.80	
		Γ	Γhis Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
			Current Year Inter	est:		\$0.00	
		F	Payoff Amount:			\$44.80	
Heather Blackaby	SYNDICATE NO. 5 ADDITION LOT 26	Street Sweeping - Residen		0.41			34-29-23-13-0159
1299 Sherburne Ave	BLK 26	Alley Sweeping		0.12	40.00	\$4.80	0.12/20/10/010/
St Paul MN 55104-2532		Citywide Street Lighting		0.59	40.00	\$23.60	
*1299 SHERBURNE AVE					<del>==</del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Γotal Assessment:			\$44.80	
		Т	Γhis Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
		(	Current Year Inter	est:		\$0.00	
		I	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Residen	 ntial Streε	0.41	40.00	<u>\$16.40</u>	<u> </u>
Jeanne E Hines	BLK 26	Alley Sweeping		0.12	40.00	\$4.80	0.23 20 10 0102
1287 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2532						\$44.80	
*1287 SHERBURNE AVE		*** Owner and Taxpayer	***				
*Ward: 4			Γotal Assessment:			\$44.80	
*Pending as of: 8/21/2020		Т	Γhis Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
			Current Year Inter	est:		\$0.00	
		F	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 313
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Gretchen A Schmoller 1306 Sherburne Ave St Paul MN 55104-2531	SYNDICATE NO. 5 ADDITION LOT 7 BLK 31	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-13-0170
*1306 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayo	er ***		_	\$44.80	
*Pending as of: 8/21/2020		- · · · · · · · · · · · · · · · · · · ·	Total Assessi	ment:	=	\$44.80	
			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Arvin Thomas I Silva	SYNDICATE NO. 5 ADDITION LOT 9	Street Sweeping - Resid	antial Strac				
Brian Duane Voss	BLK 31	Alley Sweeping	chilai Siicc	0.41	40.00	\$4.80	34-29-23-13-0172
7026 St Croix Trail		Citywide Street Lighting	g	0.59	40.00	\$23.60	
North Branch MN 55056-6123		, , ,	S			\$44.80	
*1314 SHERBURNE AVE		*** Owner and Taxpayo	er ***			φττ.συ	
*Ward: 4			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	it:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amor	unt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 10	Street Sweeping - Resid					
1649 Edmund Ave	BLK 31	Alley Sweeping Resid	ential Stree	0.12	40.00	\$4.80	34-29-23-13-01/3
St Paul MN 55104-2237		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1318 SHERBURNE AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayo	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

**Payoff Amount:** 

\$289.20

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 31
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	Property ID
Shs Property One Llc	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	34-29-23-14-0005
20503 Cypress Dr	ST. PAUL, MINN. LOT 5 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
Farmington MN 55024-2730		Citywide Street Lighting		0.59	40.00	\$23.60	
*1112 THOMAS AVE					<del></del>	\$71.20	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessmen	nt:		\$71.20	
			This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year Int			\$0.00	
			Payoff Amount	:		\$71.20	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comm	ercial/Art	1.07		<del></del>	<u> </u>
Debra S Brazil	ST. PAUL, MINN. LOT 8 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-14-0000
1128 Thomas Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2536						\$71.20	
*1128 THOMAS AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		•	Total Assessmen	nt:	-	\$71.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	terest:		\$0.00	
			Payoff Amount	:		\$71.20	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comm	nercial/Art		50.00	<u> </u>	
1138 Thomas Ave	ST. PAUL, MINN. LOT 11 AND EX W	Alley Sweeping		0.12	50.00	\$6.00	34-23-23-14-0011
St Paul MN 55104-2536	20 FT LOT 12 BLK 1	Citywide Street Lighting	:	0.59	50.00	\$29.50	
*1138 THOMAS AVE					=	\$89.00	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessmen	nt:	<u>-</u>	\$89.00	
			This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
			Current Year Int	terest:		\$0.00	
			Payoff Amount	:		\$89.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 31	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	Quantity	Charge Amts	Property ID	
Zachariah Hankel 1146 Thomas Ave St Paul MN 55104-2536	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. W 20 FT OF LOT 12 AND E 1/2 OF LOT 13 BLK 1	Street Sweeping - Comm Alley Sweeping Citywide Street Lighting		1.07 0.12 0.59	40.00 40.00 40.00	\$42.80 \$4.80 \$23.60	34-29-23-14-0012	
*1146 THOMAS AVE *Ward: 4		*** Owner and Taxpaye	yer ***		<u> </u>	\$71.20		
*Pending as of: 8/21/2020			Total Assessment:			\$71.20		
			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
			Current Year Ir	nterest:		\$0.00		
			Payoff Amoun	t:		\$71.20		
Elizabeth Hoodecheck	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comm	nercial/Art	1.07	60.00	\$64.20	34-29-23-14-0013	
Mackenzie Schow	ST. PAUL, MINN. W 1/2 OF LOT 13	Alley Sweeping		0.12	60.00	\$7.20		
1152 Thomas Ave	AND ALL OF LOT 14 BLK 1	Citywide Street Lighting	7	0.59	60.00	\$35.40		
St Paul MN 55104-2536						\$106.80		
*1152 THOMAS AVE		*** Owner and Taxpaye	er ***					
*Ward: 4			Total Assessme	ent:		\$106.80		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
			Current Year Ir	nterest:		\$0.00		
			Payoff Amoun	t:		\$106.80		
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00		34-29-23-14-0019	
1143 Edmund Ave	ST. PAUL, MINN. LOT 20 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	012920110019	
St Paul MN 55104-2521		Citywide Street Lighting	3	0.59	40.00	\$23.60		
*1143 EDMUND AVE						\$44.80		
*Ward: 4		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$44.80		
			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
			Current Year Ir	nterest:		\$0.00		
			Payoff Amoun	t:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 31
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
May Koly Ly Vang	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0023
Pao Fuyij Vang	ST. PAUL, MINN. LOT 24 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
1127 Edmund Ave		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55104-2521					<del></del>	\$44.80	
*1127 EDMUND AVE		*** Owner and Taxpaye	r ***				
*Ward: 4			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Khom Phun	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree			<u>\$16.40</u>	
1123 Edmund Ave	ST. PAUL, MINN. LOT 25 BLK 1	Alley Sweeping	ontial Street	0.12	40.00	\$4.80	34-29-23-14-0024
St Paul MN 55104-2521		Citywide Street Lighting	ŗ	0.59	40.00	\$23.60	
*1123 EDMUND AVE		,	,		_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***			\$44.60	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amount:				
Travis A Henspeter	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0026
Morgan E Henspeter	ST. PAUL, MINN. LOT 27 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
1115 Edmund Ave		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55104-2521						\$44.80	
*1115 EDMUND AVE		*** Owner and Taxpaye	r ***		_		
*Ward: 4			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	i:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 32
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Lori A Angus	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0037
1138 Edmund Ave	ST. PAUL, MINN. LOT 10 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2520		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1138 EDMUND AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
Scott W Raleigh	ST. PAUL, MINN. LOT 11 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	0.25 20 1. 0000
1142 Edmund Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55104-2520					_	\$44.80	
*1142 EDMUND AVE		*** Owner and Taxpaye	r ***				
*Ward: 4			Total Assessm	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Sandra A Buckner	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	– — — —	0.41			
1145 Charles Ave	ST. PAUL, MINN. E 5 FT OF LOT 18	Alley Sweeping	ontial Street	0.12	35.00	\$4.20	34-29-23-14-0040
St Paul MN 55104-2513	AND ALL OF LOT 19 BLK 4	Citywide Street Lighting	5	0.59	35.00	\$20.65	
*1145 CHARLES AVE						\$39.20	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$39.20	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$39.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	'	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 321
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jennifer K Vaubel 1139 Charles Ave St Paul MN 55104-2513 *1139 CHARLES AVE *Ward: 4 *Pending as of: 8/21/2020	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 21 BLK 4	Street Sweeping - Resider Alley Sweeping Citywide Street Lighting	ntial Stree	0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-14-0048
		*** Owner and Taxpayer	. ***			\$44.80	
			Total Assessment:			\$44.80	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Intere	est:		\$0.00	
		I	Payoff Amount:			\$44.80	
Gloria Jean Gohl	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-14-0050
1131 Charles Ave	ST. PAUL, MINN. LOT 23 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2513		Citywide Street Lighting		0.59	40.00	\$23.60	
*1131 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	*** Owner and Taxpayer ***			\$44.80	
*Pending as of: 8/21/2020		-	Total Assessment:			\$44.80	
		This Payment:				\$0.00	
			Current Year Principal: Current Year Interest:				
		1	Payoff Amount:			\$0.00 <b>\$44.80</b>	
		-					
Thomas Michael Anderson	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. SUBJ TO ESMT; & N	Street Sweeping - Comme	ercial/Art	1.07	40.00	\$42.80	34-29-23-14-0056
Rebecca Lynn Anderson	80 FT OF E 2 FT OF LOT 27 & N 40 FT	Alley Sweeping		0.12	8.00	\$0.96	
545 Lexington Pky N	OF W 6 FT OF LOT 28 AND S 40 FT OF	Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2505	N 80 FT OF LOTS 28 & LOT 29 BLK 4	debt 0 177	ate ate ate			\$67.36	
*545 LEXINGTON PKWY N		*** Owner and Taxpayer	• ***				
*Ward: 4 *Pending as of: 8/21/2020			Total Assessment:			\$67.36	
			This Payment: Current Year Principal: Current Year Interest:			\$0.00	
						\$0.00	
						\$0.00	
		Payoff Amount:			\$67.36		

10:02:50 11/16/2020  Owner or Taxpayer	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 324
	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Matthew D Rich 1134 Charles Ave	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 9 BLK 5	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0065
		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2512		Citywide Street Lighting	:	0.59	40.00	\$23.60	
*1134 CHARLES AVE					_	\$44.80	
*Ward: 4 *Pending as of: 8/21/2020		*** Owner and Taxpayer ***					
		Total Assessment: This Payment: Current Year Principal:				\$44.80	
						\$0.00	
						\$0.00	
			Current Year Interest:			\$0.00 <b>\$44.80</b>	
			Payoff Amount:				
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41			
1138 Charles Ave	ST. PAUL, MINN. E 2 FT OF LOT 11	Alley Sweeping		0.12	42.00	\$5.04	012,2011.000
St Paul MN 55104-2512	AND ALL OF LOT 10 BLK 5	Citywide Street Lighting		0.59	42.00	\$24.78	
*1138 CHARLES AVE						\$47.04	
*Ward: 4 *Pending as of: 8/21/2020		*** Owner and Taxpayer ***					
		Total Assessment:			\$47.04		
			This Payment:				
		Current Year Principal: Current Year Interest:			\$0.00		
						\$0.00	
		Payoff Amount:				\$47.04	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41		<u>\$12.30</u>	<u> </u>
1144 Charles Ave	4 Charles Ave ST. PAUL, MINN. E 2 FT OF LOT 13	Alley Sweeping		0.12	30.00	\$3.60	34-27-23-14-0000
St Paul MN 55104-2512	AND W 28 FT OF LOT 12 BLK 5	Citywide Street Lighting		0.59	30.00	\$17.70	
*1144 CHARLES AVE						\$33.60	
*Ward: 4		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		Total Assessment:				\$33.60	
		This Payment:				\$0.00	
		1	Current Year Principal:			\$0.00	
		Current Year Interest: Payoff Amount:				\$0.00	
						\$33.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 327	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Rebecca A Gray	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0080	
1123 Sherburne Ave	ST. PAUL, MINN. LOT 25 BLK 5	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104-2502		Citywide Street Lighting		0.59	40.00	\$23.60		
*1123 SHERBURNE AVE *Ward: 4	*** Owner and Ta:		r ***			\$44.80		
*Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80		
			This Payment:			\$0.00		
			Current Year F			\$0.00		
			Current Year Interest:			\$0.00		
			Payoff Amour	nt:		\$44.80		
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ntial Stree	0.41				
Lisa R Behlke Richard L Behlke	ST. PAUL, MINN. LOT 26 BLK 5	Alley Sweeping	illiai Succ	0.41	40.00	\$4.80	34-29-23-14-0081	
1119 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60		
St Paul MN 55104-2502		, ,				\$44.80		
*1119 SHERBURNE AVE		*** Owner and Taxpayer	r ***			у <del>11</del> .00		
*Ward: 4		•	Total Assessm	ent:	-	\$44.80		
*Pending as of: 8/21/2020		This Payment: Current Year Principal:				\$0.00		
						\$0.00		
			Current Year I	Year Interest:		\$0.00		
			Payoff Amount:			\$44.80		
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comm	nercial/Art				24 20 22 14 0002	
511 Lexington Pky N	ST. PAUL, MINN. EX N 70 FT LOTS 27	Street Sweeping - Reside		0.41	60.00	\$24.60	34-29-23-14-0082	
St Paul MN 55104-2511	28 AND LOT 29 BLK 5	Citywide Street Lighting		0.59	86.50	\$51.04		
*511 LEXINGTON PKWY N		, ,				\$104.00		
*Ward: 4		*** Owner and Taxpayer	r ***			\$101.00		
*Pending as of: 8/21/2020		•	Total Assessm	ent:		\$104.00		
			This Payment:			\$0.00		
			Current Year I	Principal:		\$0.00		
			Current Year I			\$0.00		
			Payoff Amour	nt:		\$104.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 328
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Specialty Management Corp 523 Lexington Pky N St Paul MN 55104-2511	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. N 70 FT OF LOTS 27 28 AND LOT 29 BLK 5	Street Sweeping - Com Alley Sweeping Citywide Street Lightin		1.07 0.12 0.59	70.00 120.00 70.00	\$74.90 \$14.40 \$41.30	34-29-23-14-0083
*523 LEXINGTON PKWY N *Ward: 4		*** Owner and Taxpay	er ***		_	\$130.60	
*Pending as of: 8/21/2020			Total Assessi			\$130.60	
			This Paymen Current Year	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$130.60</b>	
Irish Conley	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. EX S 45 FT LOTS 2	Street Sweeping - Com		1.07	27.50	\$29.43	34-29-23-14-0084
247 Thompson Ave E West St Paul MN 55118-3215	AND LOT 3 BLK 8	Street Sweeping - Resid Citywide Street Lightin		0.41 0.59	40.00 67.50	\$16.40 \$39.83	
*507 LEXINGTON PKWY N *Ward: 4		*** Owner and Taxpay	er ***			\$85.66	
*Pending as of: 8/21/2020			Total Assessi			\$85.66	
			This Paymen Current Year			\$0.00 \$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$85.66</b>	
			1 ayon 2 mo	unt.		ψουσ	
Hanna Sprout	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 4 BLK 8	Street Sweeping - Resid	lential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-14-0086
Caleb G Hinz 1114 Sherburne Ave		Citywide Street Lightin	g	0.12	40.00	\$23.60	
St Paul MN 55104-2501		**** 0 1.77	ילי ילי ילי		_	\$44.80	
*1114 SHERBURNE AVE *Ward: 4		*** Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assessi			\$44.80	
			This Paymen Current Year			\$0.00 \$0.00	
			Current Year			\$0.00	
			Payoff Amou			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 329	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
John A Schmahl	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0088	
2750 Chisholm Ave	ST. PAUL, MINN. LOT 6 BLK 8	Alley Sweeping		0.12	40.00	\$4.80		
North St Paul MN 55109-1712		Citywide Street Lighting	5	0.59	40.00	\$23.60		
*1122 SHERBURNE AVE *Ward: 4	*** Owner and Tax		r ***			\$44.80		
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80		
			This Payment:			\$0.00		
			Current Year P	Principal:		\$0.00		
			Current Year I	nterest:		\$0.00		
			Payoff Amour	nt:		\$44.80		
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41			24 20 22 14 0000	
Yvonne Marie Thorpe	ST. PAUL, MINN. LOT 7 BLK 8	Alley Sweeping	chidal Street	0.12	40.00	\$4.80	34-29-23-14-0089	
1126 Sherburne Ave		Citywide Street Lighting	Ţ	0.59	40.00	\$23.60		
St Paul MN 55104-2501			,			\$44.80		
*1126 SHERBURNE AVE		*** Owner and Taxpaye	r ***			Ψ11.00		
*Ward: 4			Total Assessm	ent:	•	\$44.80		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year P	Principal:		\$0.00		
			Current Year I	nterest:		\$0.00		
			Payoff Amour	ıt:		\$44.80		
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside						
Carl W Knutson 1138 Sherburne Ave	ST. PAUL, MINN. LOT 10 BLK 8	Alley Sweeping - Reside	ential Street	0.41	40.00	\$4.80	34-29-23-14-0092	
St Paul MN 55104-2501		Citywide Street Lighting	Į	0.59	40.00	\$23.60		
*1138 SHERBURNE AVE			,			\$44.80		
*Ward: 4		*** Owner and Taxpaye	r ***			Ψ11.00		
*Pending as of: 8/21/2020			Total Assessm	ent:	•	\$44.80		
			This Payment:			\$0.00		
			Current Year P	Principal:		\$0.00		
			Current Year I			\$0.00		
			Payoff Amour	ıt:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 330
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Chris Vinsonhaler	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0093
1520 Carroll Ave	ST. PAUL, MINN. LOT 11 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2501		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1142 SHERBURNE AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$44.80	
		-					
Corridor Properties Llc	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0095
1343 Thomas Ave	ST. PAUL, MINN. LOT 13 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2448		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1150 SHERBURNE AVE		details of the	ale ale ale			\$44.80	
*Ward: 4		*** Owner and Taxpaye	er *** 				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$44.80	
		This Payment:				\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
		Payoff Amount:				\$44.80	
Fair Housing Llc	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 21 BLK 8	Street Sweeping - Comn	nercial/Art	1.07 0.12	40.00 40.00	\$42.80 \$4.80	34-29-23-14-0102
351 Kellogg Blvd E		Alley Sweeping Citywide Street Lighting	*	0.12	40.00	\$23.60	
St Paul MN 55101-1411		University/Emerald to R		1.22	40.00	\$48.80	
*1137 UNIVERSITY AVE W		omversity, Emercial to 10		1.22			
*Ward: 4 *Pending as of: 8/21/2020		*** Owner and Taxpaye	er ***			\$120.00	
-			Total Assessi	ment:	-	\$120.00	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$120.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 33
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Valerie Woelfel	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comn	nercial/Art	1.07	40.00	\$42.80	34-29-23-14-0114
1178 Thomas Ave	ST. PAUL, MINN. LOT 5 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2538		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1178 THOMAS AVE					_	\$71.20	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$71.20	
			This Payment:		\$0.00		
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$71.20	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Comn	ercial/Art	1.07			
Eric J Nordman	ST. PAUL, MINN. LOT 6 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	0.2,201.0110
1491 Simpson St		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55108-2340						\$71.20	
*1182 THOMAS AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	ent:		\$71.20	
*Pending as of: 8/21/2020		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amount:				
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	– — — — ential Stree	0.41	82.00		
1217 Edmund Ave	ST. PAUL, MINN. LOT 16 BLK 2	Alley Sweeping		0.12	42.00	\$5.04	34-23-23-14-0123
St Paul MN 55104-2523		Citywide Street Lighting	3	0.59	82.00	\$48.38	
*1217 EDMUND AVE					_	\$87.04	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:	<u>-</u>	\$87.04	
			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	ıt:		\$87.04	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	· · ·	Project: 2020SM Resolution #:	<b>ISP</b>	Assmt: 200025	Manager: LM	Page 33
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Billsie C Daka	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	82.00	\$33.62	34-29-23-14-0151
1218 Edmund Ave	ST. PAUL, MINN. LOT 15 BLK 3	Alley Sweeping		0.12	42.00	\$5.04	
St Paul MN 55104-2522		Citywide Street Lighting		0.59	82.00	\$48.38	
*1218 EDMUND AVE		*** Owner and Taxpayer	***		<del></del>	\$87.04	
*Ward: 4 *Pending as of: 8/21/2020							
Pending as of: 8/21/2020			Total Assessment:			\$87.04	
			This Payment:			\$0.00	
			Current Year Princ	-		\$0.00	
			Current Year Inter	est:		\$0.00	
		1	Payoff Amount:			\$87.04	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	81.50	\$33.42	
13872 Glendale Ct	ST. PAUL, MINN. LOT 16 BLK 3	Alley Sweeping		0.12	41.00	\$4.92	0.129 20 11 0102
Apple Valley MN 55124-9494		Citywide Street Lighting		0.59	81.50	\$48.09	
*1217 CHARLES AVE						\$86.43	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Total Assessment: This Payment:				\$86.43	
						\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
		(	Current Year Inter	est:		\$0.00	
		1	Payoff Amount:				
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Residen	ntial Stree	0.41			
Nicole M Pille	ST. PAUL, MINN. LOT 18 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-14-0134
1211 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2515					_	\$44.80	
*1211 CHARLES AVE		*** Owner and Taxpayer	***			,	
*Ward: 4		- 1	Total Assessment:			\$44.80	
*Pending as of: 8/21/2020		7	Γhis Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
			Current Year Inter	est:		\$0.00	
		1	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jennifer Nell Thumann	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 24 BLK 3	Street Sweeping - Resider	ential Stree	0.41	40.00 40.00	\$16.40 \$4.80	34-29-23-14-0160
Daniel Rocha Perez 1185 Charles Ave	,	Citywide Street Lighting		0.12	40.00	\$23.60	
St Paul MN 55104-2515		eng mae sueet Eignung		0.57		\$44.80	
*1185 CHARLES AVE		*** Owner and Taxpayer	***			\$44.00	
*Ward: 4		-	Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020		-	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:	\$0.00		
		(	Current Year In	iterest:	\$0.00		
		1	Payoff Amount	t:		\$44.80	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Resider	ntial Stree				34-29-23-14-0163
Robert Michael Murphy	ert Michael Murphy ST. PAUL, MINN. WITH ESMT IN DOC #2031090; LOT 27 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	0.2,201.0100
1175 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2515					<del>==</del>	\$44.80	
*1175 CHARLES AVE		*** Owner and Taxpayer	***				
*Ward: 4			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
		1	Payoff Amount	t:		\$44.80	
 Charles M Kanski	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41			34-29-23-14-0166
Kimberly M Ferrel	ST. PAUL, MINN. LOT 30 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	012/20110100
1990 Olene Ave N		Citywide Street Lighting		0.59	81.00	\$47.79	
West Lakeland MN 55082-2813						\$85.80	
*1163 CHARLES AVE		*** Owner and Taxpayer	***				
*Ward: 4			Total Assessme	ent:		\$85.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
		1	Payoff Amount	t:		\$85.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 338
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Daniel Hebl	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0180
Lisa Hebl	ST. PAUL, MINN. LOT 14 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
1214 Charles Ave		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55104-2514					<del></del>	\$44.80	
*1214 CHARLES AVE		*** Owner and Taxpaye	r ***				
*Ward: 4			Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree				
Kevin G Mcgarthwaite	ST. PAUL, MINN. LOT 16 BLK 6	Alley Sweeping		0.12	41.00	\$4.92	34-27-23-14-0102
1219 Sherburne Ave		Citywide Street Lighting	;	0.59	81.50	\$48.09	
St Paul MN 55104-2504					<u> </u>	\$86.43	
*1219 SHERBURNE AVE		*** Owner and Taxpaye	r ***				
*Ward: 4			Total Assessm	nent:	-	\$86.43	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
			Payoff Amount:			\$86.43	
Judith Commodore	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree				34-29-23-14-0185
1207 Sherburne Ave	ST. PAUL, MINN. LOT 19 BLK 6	Alley Sweeping	ontial Street	0.12	40.00	\$4.80	34-29-23-14-0185
St Paul MN 55104-2504		Citywide Street Lighting		0.59	40.00	\$23.60	
*1207 SHERBURNE AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***			<b>\$1.100</b>	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3.
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Ann Marie Bugbee	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-14-0186
1201 Sherburne Ave	ST. PAUL, MINN. LOT 20 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2504		Citywide Street Lighting		0.59	40.00	\$23.60	
*1201 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayer	naver ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessmen	nt:		\$44.80	
		•	This Payment:			\$0.00	
		•	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	
Michael P Long Trustee	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree				<u> </u>
1199 Sherburne Ave	ST. PAUL, MINN. LOT 21 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	3 <del>4-2</del> <i>3</i> -1 <del>4-</del> 0107
St Paul MN 55104-2504		Citywide Street Lighting		0.59	40.00	\$23.60	
*1199 SHERBURNE AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer ***				<u> </u>	
*Pending as of: 8/21/2020		•	Total Assessmen	nt:	-	\$44.80	
		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year Int			\$0.00	
		1	Payoff Amount	:		\$44.80	
	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	40.00		<u> </u>
Jeanine E Davidson	ST. PAUL, MINN. LOT 28 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-14-0174
1169 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2504						\$44.80	
*1169 SHERBURNE AVE		*** Owner and Taxpayer	r ***				
*Ward: 4			Total Assessmen	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 340	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Gloria A Little	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	70.00	\$28.70	34-29-23-14-0197	
Po Box 4172	ST. PAUL, MINN. LOT 1 BLK 7	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104-0172		Citywide Street Lighting	5	0.59	70.00	\$41.30		
*1160 SHERBURNE AVE *Ward: 4		*** Owner and Taxpaye	r ***			\$74.80		
*Pending as of: 8/21/2020			Total Assessm	ent:		\$74.80		
			This Payment:			\$0.00		
			Current Year F			\$0.00		
			Current Year I	_		\$0.00		
			Payoff Amour	nt:		\$74.80		
			- <del> </del>					
Margaret A Schultz-Nelson	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 8 BLK 7	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-14-0204	
1190 Sherburne Ave		Citywide Street Lighting	•	0.12	40.00	\$23.60		
St Paul MN 55104-2503		en y wide bareet Eighting	,	0.57	=	\$44.80		
*1190 SHERBURNE AVE *Ward: 4		*** Owner and Taxpaye	r ***			\$44.60		
*Pending as of: 8/21/2020					<u>-</u>	044.00		
			Total Assessm This Payment:			\$44.80 \$0.00		
					\$0.00			
			Current Year I Current Year I	_		\$0.00		
			Payoff Amoun			\$44.80		
			T uy om 7 mour			\$11.00		
Rachel L Toberman	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Reside	ential Stree	0.41			34-29-23-14-0206	
1198 Sherburne Ave	ST. PAUL, MINN. LOT 10 BLK 7	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104-2503		Citywide Street Lighting	5	0.59	40.00	\$23.60		
*1198 SHERBURNE AVE						\$44.80		
*Ward: 4		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$44.80		
			This Payment:			\$0.00		
			Current Year F	_		\$0.00		
			Current Year I			\$0.00		
			Payoff Amoun	nt:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by		roject: 2020SMSP esolution #:	Assmt: 200025	Manager: LM	Page 341
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jessica L Teske 1772 Lafayette Ln Mound MN 55364-1123	SANBORN'S MIDWAY ADDITION TO ST. PAUL, MINN. LOT 11 BLK 7	Street Sweeping - Residentia Alley Sweeping Citywide Street Lighting	0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-14-0207
*1202 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayer **	**	_	\$44.80	
*Pending as of: 8/21/2020		Tot	al Assessment:		\$44.80	
			s Payment:		\$0.00	
		Cui	rrent Year Principal:		\$0.00	
		Cui	rrent Year Interest:		\$0.00	
		Pay	yoff Amount:		\$44.80	
City West Holdings	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Commerc	ial/Art 1.07	41.00	\$43.87	34-29-23-14-0212
Daniel Gelb	ST. PAUL, MINN. LOT 16 BLK 7	Street Sweeping - Residentia	al Stree 0.41	117.00	\$47.97	
9617 Oak Ridge Tr		Alley Sweeping	0.12	41.00	\$4.92	
Hopkins MN 55305-4642		Citywide Street Lighting	0.59	158.00	\$93.22	
*1217 UNIVERSITY AVE W		University/Emerald to Rice	ASL 1.22	41.00	\$50.02	
*Ward: 4					\$240.00	
*Pending as of: 8/21/2020		*** Owner and Taxpayer **	*			
		Tot	al Assessment:	-	\$240.00	
		Thi	s Payment:		\$0.00	
		\$0.00				
		Cui	rrent Year Interest:	\$0.00		
		Pay	yoff Amount:		\$240.00	
City West Holdings	SANBORN'S MIDWAY ADDITION TO	Street Sweeping - Commerc	ial/Art 1.07		\$42.80	34-29-23-14-0213
Daniel Gelb	ST. PAUL, MINN. LOT 17 BLK 7	Alley Sweeping	0.12	40.00	\$4.80	
9617 Oak Ridge Tr		Citywide Street Lighting	0.59	40.00	\$23.60	
Hopkins MN 55305-4642		University/Emerald to Rice	ASL 1.22	40.00	\$48.80	
*1213 UNIVERSITY AVE W					\$120.00	
*Ward: 4		*** Owner and Taxpayer **	*			
*Pending as of: 8/21/2020		Tot	al Assessment:		\$120.00	
		Thi	s Payment:		\$0.00	
		Cui	rrent Year Principal:	\$0.00		
		Cui	rrent Year Interest:	\$0.00		
		Pay	yoff Amount:		\$120.00	

**Payoff Amount:** 

\$180.00

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 343
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Gregory A Howard Kristin M Howard 529 Lonesome Pine Trl	SYNDICATE NO. 5 ADDITION EX N 38.9 FT; LOT 1 BLK 3	Street Sweeping - Comm Alley Sweeping Citywide Street Lighting		1.07 0.12 0.59	85.00 40.00 85.00	\$90.95 \$4.80 \$50.15	34-29-23-21-0002
Lino Lakes MN 55014-5480 *709 HAMLINE AVE N		*** Owner and Taxpaye	er ***		_	\$145.90	
*Ward: 4 *Pending as of: 8/21/2020			Total Assessm		-	\$145.90	
Pending as of: 6/21/2020			This Payment Current Year	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amou			\$0.00 <b>\$145.90</b>	
Tyler S Lawry	SYNDICATE NO. 5 ADDITION LOT 2 BLK 3	Street Sweeping - Comm		1.07	40.00 40.00	\$42.80 \$23.60	34-29-23-21-0003
1346 Minnehaha Ave W St Paul MN 55104-1924				0.39	40.00	\$66.40	
*1346 MINNEHAHA AVE W  *Ward: 4		*** Owner and Taxpaye	er *** 				
*Pending as of: 8/21/2020			Total Assessn			\$66.40	
			This Payment Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
		Payoff Amount:				\$66.40	
Edwin S Hom Trustee	SYNDICATE NO. 5 ADDITION W 20	Street Sweeping - Comm	nercial/Art		41.00	<del></del>	
Maria W Hom Trustee	5/10 FT OF LOT 4 AND E 2O 5/10 FT OF LOT 5 BLK 3	Alley Sweeping		0.12	41.00	\$4.92	01 2) 20 21 0000
1978 Safari Trl	or Eor 5 BER 5	Citywide Street Lighting	g	0.59	41.00	\$24.19	
Eagan MN 55122-2677		*** Owner and Taxpaye	~***			\$72.98	
*1356 MINNEHAHA AVE W *Ward: 4		Owner and Taxpaye					
*Pending as of: 8/21/2020			Total Assessn			\$72.98	
			This Payment Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$72.98	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 344
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
	SYNDICATE NO. 5 ADDITION EX E 20	Street Sweeping - Comn	nercial/Art	1.07	60.00	\$64.20	
Amy N Davis	5/10 FT LOT 5 AND ALL OF LOT 6 BLK 3	Alley Sweeping		0.12	60.00	\$7.20	
1362 Minnehaha Ave W	BLK 3	Citywide Street Lighting	5	0.59	60.00	\$35.40	
St Paul MN 55104-1924						\$106.80	
*1362 MINNEHAHA AVE W		*** Owner and Taxpaye	er ***		_		
*Ward: 4 *Pending as of: 8/21/2020			Total Assessm	ent:		\$106.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$106.80	
	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Comn	nercial/Art	1.07			<u> </u>
Brandon M Levy	BLK 3	Alley Sweeping		0.12	40.00	\$4.80	0.23 20 21 0007
1366 Minnehaha Ave W		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-1924						\$71.20	
*1366 MINNEHAHA AVE W		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	ent:	-	\$71.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	nterest:		\$0.00	
			Payoff Amount:				
	SYNDICATE NO. 5 ADDITION EX E 35	Street Sweeping - Comn	 nercial/Art				
1374 Minnehaha Ave W	FT LOT 8 AND EX W 5 FT LOT 9 BLK	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-21-0009
St Paul MN 55104-1924	3	Citywide Street Lighting	<u> </u>	0.59	40.00	\$23.60	
*1374 MINNEHAHA AVE W					_	\$71.20	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$71.20	
			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year l	nterest:		\$0.00	
			Payoff Amou	nt:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 345
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Patricia J Larkey	SYNDICATE NO. 5 ADDITION W 5 FT	Street Sweeping - Com	mercial/Art	1.07	45.00	\$48.15	34-29-23-21-0010
782 Van Buren Ave	OF LOT 9 AND ALL OF LOT 10 BLK 3	Alley Sweeping		0.12	45.00	\$5.40	
St Paul MN 55104-1662		Citywide Street Lighting	g	0.59	45.00	\$26.55	
*1378 MINNEHAHA AVE W						\$80.10	
*Ward: 4		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$80.10	
			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$80.10	
Christopher J Knudtson	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Resid	— — — - lential Stree				<u> </u>
Nancy C Antenucci	BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-21-001/
1391 Van Buren Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-1927					_	\$44.80	
*1391 VAN BUREN AVE		*** Owner and Taxpay	er ***			4	
*Ward: 4			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
Aaron C Barnes	SYNDICATE NO. 5 ADDITION LOT 20	Street Sweeping - Resid	— — — - Iential Stree				
Emily J Barnes	BLK 3	Alley Sweeping	ichilai Strec	0.12	40.00	\$4.80	34-29-23-21-0019
1383 Van Buren Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104					===	\$44.80	
*1383 VAN BUREN AVE		*** Owner and Taxpay	er ***			ψ11.00	
*Ward: 4			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020			Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3 <u>Property ID</u>	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>		<b>Quantity</b>	Charge Amts		
David D Tews	SYNDICATE NO. 5 ADDITION LOT 25	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-21-0024	
1361 Van Buren Ave	BLK 3	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104-1927		Citywide Street Lighting		0.59	40.00	\$23.60		
*1361 VAN BUREN AVE						\$44.80		
*Ward: 4		*** Owner and Taxpayer '	***					
*Pending as of: 8/21/2020		T	otal Assessmen	nt:		\$44.80		
		T	his Payment:			\$0.00		
		C	Current Year Pri	incipal:	\$0.00			
			Current Year Int		\$0.00			
		P	Payoff Amount	:		\$44.80		
	SYNDICATE NO. 5 ADDITION LOT 30	Street Sweeping - Commer	ercial/Art	1.07	62.00		— — — — — — — — — — — — — — — — — — —	
Rowzat Mohammed Shipchandler	BLK 3	Street Sweeping - Residen		0.41	20.00	\$8.20	34-27-23-21-0027	
1343 Van Buren Ave		Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55104-1927		Citywide Street Lighting		0.59	82.00	\$48.38		
*1343 VAN BUREN AVE					<del></del>	\$127.72		
*Ward: 4		*** Owner and Taxpayer						
*Pending as of: 8/21/2020		T	otal Assessmer	\$127.72				
		This Payment:				\$0.00		
		C	Current Year Pri	incipal:		\$0.00		
		C	Current Year Int	terest:		\$0.00		
		P	Payoff Amount	:		\$127.72		
Katherine Mcguire	SYNDICATE NO. 5 ADDITION SUBJ TO	Street Sweeping - Residen		0.41				
Grant Ernhart	ESMTS LOT 3 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0032	
877 Clayland St		Citywide Street Lighting		0.59	40.00	\$23.60		
St Paul MN 55104-1007					_	\$44.80		
*1350 VAN BUREN AVE		*** Owner and Taxpayer '	***					
*Ward: 4		T	otal Assessmer	nt:	-	\$44.80		
*Pending as of: 8/21/2020		T	This Payment:			\$0.00		
			Current Year Pri	incipal:		\$0.00		
		C	Current Year Int	terest:		\$0.00		
		P	Payoff Amount	:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 348
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate		<b>Quantity</b>	Charge Amts	Property ID
Thomas Trenka	SYNDICATE NO. 5 ADDITION LOT 14	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0043
1392 Van Buren Ave	BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1926		Citywide Street Lighting	Ţ	0.59	40.00	\$23.60	
*1392 VAN BUREN AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year		\$0.00		
			Payoff Amou	ınt:		\$44.80	
Kristin G Pickering	SYNDICATE NO. 5 ADDITION LOT 15 BLK 6	Street Sweeping - Reside	ential Stree	0.41	83.00	\$34.03	34-29-23-21-0044
James T Harpole Jr	BLK 0	Alley Sweeping		0.12	42.00	\$5.04	
1396 Van Buren Ave		Citywide Street Lighting	5	0.59	83.00	\$48.97	
St Paul MN 55104-1926		*** Owner and Taxpaye	***			\$88.04	
*1396 VAN BUREN AVE		Owner and Taxpaye					
*Ward: 4		Total Assessment: This Payment:				\$88.04	
*Pending as of: 8/21/2020						\$0.00	
			Current Year	-	\$0.00		
			Current Year			\$0.00	
		Payoff Amount:				\$88.04	
	CANDIGATE NO CARDITION OF 10	Street Severeira Communication					
Alva R Crom	SYNDICATE NO. 5 ADDITION LOT 30 BLK 6	Street Sweeping - Comm Street Sweeping - Reside		1.07 0.41	20.00	\$66.34 \$8.20	34-29-23-21-0059
1343 Blair Ave St Paul MN 55104-1920		Alley Sweeping	chilai Stree	0.12	40.00	\$4.80	
		Citywide Street Lighting	Ţ	0.59	82.00	\$48.38	
*1343 BLAIR AVE *Ward: 4		, ,	,			\$127.72	
*Pending as of: 8/21/2020		*** Owner and Taxpaye	r ***			\$127.72	
			Total Assessr	nent:		\$127.72	
			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$127.72	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 349
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Gary V Coggshall	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0061
1346 Blair Ave	BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1919		Citywide Street Lighting		0.59	40.00	\$23.60	
*1346 BLAIR AVE *Ward: 4		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020		<del>,</del>	Total Assessmen	nt:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 3	Street Sweeping - Reside	ential Stree				
Mary Malone 1350 Blair Ave	BLK 11	Alley Sweeping	muai Succ	0.12	40.00	\$4.80	34-29-23-21-0062
St Paul MN 55104-1919		Citywide Street Lighting		0.59	40.00	\$23.60	
*1350 BLAIR AVE		,				\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			ψ11.00	
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
		,	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		•	Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Reside	ential Stree	0.41		<u>\$16.40</u>	<u> </u>
Sonja M Ramos	BLK 11	Alley Sweeping	indai Succ	0.12	40.00	\$4.80	34-29-23-21-0064
1358 Blair Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-1919					_	\$44.80	
*1358 BLAIR AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		;	Total Assessmer	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	-		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 350
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Aaron Barbeau	SYNDICATE NO. 5 ADDITION LOT 8	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-21-0067
11199 Stonemill Farms Curv	BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
Woodbury MN 55129-5203		Citywide Street Lighting		0.59	40.00	\$23.60	
*1368 BLAIR AVE *Ward: 4		*** Owner and Taxpayer	· ***			\$44.80	
*Pending as of: 8/21/2020		<u>-</u>	Total Assessmen	nt:	<del></del>	\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pri	ncipal:		\$0.00	
		(	Current Year Int	erest:		\$0.00	
		1	Payoff Amount:	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 9	Street Sweeping - Residen	ential Stree	0.41			<u> </u>
1374 Blair Ave	BLK 11	Alley Sweeping	indui Su Ci	0.12	40.00	\$4.80	34-29-23-21-0008
St Paul MN 55104-1919		Citywide Street Lighting		0.59	40.00	\$23.60	
*1374 BLAIR AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			,	
*Pending as of: 8/21/2020		- -	Total Assessmen	ıt:		\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pri	ncipal:		\$0.00	
		(	Current Year Int	erest:		\$0.00	
		]	Payoff Amount:	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 10	Street Sweeping - Resider	ential Stree	0.41		<u>\$16.40</u>	34-29-23-21-0069
Jennifer Dorsey	BLK 11	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0007
1378 Blair Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-1919						\$44.80	
*1378 BLAIR AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		- -	Total Assessmen	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount:	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 35
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> :	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Christian A Salter	SYNDICATE NO. 5 ADDITION LOT 17	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	
Karen L Salter	BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
1395 Lafond Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2437					<del></del>	\$44.80	
*1395 LAFOND AVE		*** Owner and Taxpayer	r ***				
*Ward: 4 *Pending as of: 8/21/2020		•	Total Assessmen	ıt:		\$44.80	
			This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
			Current Year Inte	erest:		\$0.00	
			Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
Paul Dickinson	BLK 11	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0077
1391 Lafond Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2437					_	\$44.80	
*1391 LAFOND AVE		*** Owner and Taxpayer	r ***			4	
*Ward: 4		Total Assessment:				\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	ncipal:		\$0.00	
			erest:		\$0.00		
			Payoff Amount:				
	SYNDICATE NO. 5 ADDITION LOT 19	Street Sweeping - Reside	untial Street				
John C Kraning	BLK 11	Alley Sweeping - Reside	muai Stree	0.41 0.12	40.00	\$4.80	34-29-23-21-0078
Sharon A Sinclair		Citywide Street Lighting		0.12	40.00	\$23.60	
1387 Lafond Ave		City wide Street Eighting		0.57	==	\$44.80	
St Paul MN 55104-2437 *1387 LAFOND AVE		*** Owner and Taxpayer	r ***			\$44.80	
*Ward: 4		· · ·	Total Assessmen	ıt.	<del>.</del>	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	ncinal·		\$0.00	
			Current Year Inte	-		\$0.00	
			Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 352
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Matthew T Barrett	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0088
1347 Lafond Ave	BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2437		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1347 LAFOND AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	er *** 				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Reside	– – – – ential Stree			<u>\$16.40</u>	<u> </u>
1346 Lafond Ave	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0071
St Paul MN 55104-2436		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1346 LAFOND AVE					===	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Michael L Reynolds	SYNDICATE NO. 5 ADDITION LOT 13	Street Sweeping - Reside	 ential Stre∈				<u> </u>
Kristina K Deffenbacher	BLK 14	Alley Sweeping	chilar Birec	0.12	40.00	\$4.80	34-29-23-21-0102
1388 Lafond Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-2436					_	\$44.80	
*1388 LAFOND AVE		*** Owner and Taxpaye	er ***			φσ	
*Ward: 4			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 353
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Frank P Weistroffer	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Reside	ential Stree	0.41	82.50	\$33.83	34-29-23-21-0105
Thelma J Weistroffer	BLK 14	Alley Sweeping		0.12	41.00	\$4.92	
1399 Thomas Ave		Citywide Street Lighting	5	0.59	82.50	\$48.68	
St Paul MN 55104-2448						\$87.43	
*1399 THOMAS AVE		*** Owner and Taxpayer	r *** 				
*Ward: 4			Total Assessn	nent:		\$87.43	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$87.43	
	SYNDICATE NO. 5 ADDITION LOT 17	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
C/O C And T Properties	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	012920210100
Po Box 17122		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55117-0075						\$44.80	
*1395 THOMAS AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		•	Total Assessment:			\$44.80	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 19	Street Sweeping - Reside	ential Stree	0.41		<u> </u>	<u> </u>
1387 Thomas Ave	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0100
St Paul MN 55107-2448		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1387 THOMAS AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 35
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Anthony Strouth	SYNDICATE NO. 5 ADDITION LOT 22	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-21-0111
2304 Marshbrook Dr	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	
Mckinney TX 75071-2586		Citywide Street Lighting		0.59	40.00	\$23.60	
*1375 THOMAS AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessmer	nt:		\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pri	incipal:	\$0.00		
			Current Year Int			\$0.00	
		1	Payoff Amount	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Resider	ntial Stree	0.41			
1371 Thomas Ave	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	0 1 21 20 20 0002
St Paul MN 55104-2448		Citywide Street Lighting		0.59	40.00	\$23.60	
*1371 THOMAS AVE					<del>==</del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
		5	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	
Leonard I Miller	SYNDICATE NO. 5 ADDITION LOT 25	Street Sweeping - Resider	ntial Stree	0.41			
Katherine E Miller	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0114
1363 Thomas Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2448						\$44.80	
*1363 THOMAS AVE		*** Owner and Taxpayer	***				
*Ward: 4		- -	Total Assessmer	nt:	•	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 355
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
William J Connell Jr	SYNDICATE NO. 5 ADDITION LOT 28	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0117
1349 Thomas Ave	BLK 14	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2448		Citywide Street Lighting		0.59	40.00	\$23.60	
*1349 THOMAS AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		;	Total Assessn	nent:	-	\$44.80	
		•	This Payment	:		\$0.00	
		•	Current Year	Principal:		\$0.00	
		•	Current Year Interest:				
		1	Payoff Amou	int:		\$44.80	
			- <del></del> -	<del></del>			
Elvis Mykerezi	SYNDICATE NO. 5 ADDITION LOT 30 BLK 14	Street Sweeping - Comm		1.07	62.00	\$66.34	34-29-23-21-0119
1343 Thomas Ave	DER 14	Street Sweeping - Reside	ential Stree	0.41	20.00	\$8.20	
St Paul MN 55104-2448		Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 82.00	\$4.80 \$48.38	
*1343 THOMAS AVE		Citywide Street Lighting		0.39	82.00		
*Ward: 4 *Pending as of: 8/21/2020		*** Owner and Taxpayer	r ***	\$127.72			
Fending as of: 6/21/2020		-		\$127.72			
		Total Assessment: This Payment:				\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amount:			\$127.72	
			Tayon Amou	ш.		\$127.72	
Chad Wojtowick	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Comm	ercial/Art	1.07		\$42.80	34-29-23-21-0121
1925 East River Pky	BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
Minneapolis MN 55414-3675		Citywide Street Lighting		0.59	40.00	\$23.60	
*1406 MINNEHAHA AVE W					_	\$71.20	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		-	Total Assessn	nent:	-	\$71.20	
		•	This Payment	:		\$0.00	
		•	Current Year	Principal:		\$0.00	
		•	Current Year	Interest:		\$0.00	
		]	Payoff Amou	int:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 358
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Stanley A Lukas	SYNDICATE NO. 5 ADDITION LOT 22	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0139
Sheri A Lukas	BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
1435 Van Buren Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55104-1929 *1435 VAN BUREN AVE		*** Owner and Taxpaye	er ***			\$44.80	
*Ward: 4			Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 25	Street Sweeping - Reside	– — — — ential Stree	0.41			
1423 Van Buren Ave	BLK 4	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-21-0142
St Paul MN 55104-1929		Citywide Street Lighting	ţ	0.59	40.00	\$23.60	
*1423 VAN BUREN AVE					=	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 26	Street Sweeping - Reside	ential Stree	0.41			34-29-23-21-0143
1419 Van Buren Ave	BLK 4	Alley Sweeping		0.12	40.00	\$4.80	5 1 2 5 2 5 2 1 VI IS
St Paul MN 55104-1929		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1419 VAN BUREN AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 360
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Paul M Snyder	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0152
Jennifer A Snyder	BLK 5	Alley Sweeping		0.12	40.00	\$4.80	
1418 Van Buren Ave		Citywide Street Lighting	3	0.59	40.00	\$23.60	
St Paul MN 55104-1928 *1418 VAN BUREN AVE		*** Owner and Taxpaye	er ***		_	\$44.80	
*Ward: 4 *Pending as of: 8/21/2020		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$44.80		
						\$0.00	
					\$0.00		
					\$0.00		
						\$44.80	
Symposhin I Is	SYNDICATE NO. 5 ADDITION LOT 6	Street Sweeping - Reside	ential Stree	0.41			
Suposhin Llc 1663 Van Buren Ave	BLK 5	Alley Sweeping	ciitiai Sticc	0.12	40.00	\$4.80	34-29-23-21-0153
St Paul MN 55104-1822		Citywide Street Lighting	<u>r</u>	0.59	40.00	\$23.60	
*1422 VAN BUREN AVE		, ,	,		_	\$44.80	
*Ward: 4		*** Owner and Taxpayer ***				ψ44.00	
*Pending as of: 8/21/2020			Total Assessment:			\$44.80	
			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
		Current Year Interest:  Payoff Amount:			\$0.00		
						\$44.80	
George T Welisevich	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Reside	ential Stree				
Mary A Ward-Welisevich	BLK 5	Alley Sweeping	ciitiai Sticc	0.12	40.00	\$4.80	34-29-23-21-0154
1426 Van Buren Ave		Citywide Street Lighting	7	0.59	40.00	\$23.60	
St Paul MN 55104-1928		, ,			_	\$44.80	
*1426 VAN BUREN AVE *Ward: 4 *Pending as of: 8/21/2020	*** Owner and Taxpayer ***						
		Total Assessment:			\$44.80		
			This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
						\$0.00	
						\$0.00	
						\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 36
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Geoffrey G Hankerson	SYNDICATE NO. 5 ADDITION LOT 10	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0157
Georgina Hankerson	BLK 5	Alley Sweeping		0.12	40.00	\$4.80	
1436 Van Buren Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55104-1928						\$44.80	
*1436 VAN BUREN AVE		*** Owner and Taxpaye	r ***				
*Ward: 4 *Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:	:		\$0.00	
			Current Year I	Principal:	\$0.00		
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Anne Francoise Lamblin	SYNDICATE NO. 5 ADDITION LOT 12	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1444 Van Buren Ave	BLK 5	Alley Sweeping		0.12	40.00	\$4.80	J <del>1</del> -2 <i>)</i> -2 <i>J</i> -21-013 <i>)</i>
St Paul MN 55104-1928		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1444 VAN BUREN AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$44.80	
		This Payment: Current Year Principal:				\$0.00	
						\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Neil D Hendrickson	SYNDICATE NO. 5 ADDITION EX S 36	Street Sweeping - Reside					
Mary T Hendrickson	FT LOT 15 AND EX W 26 47/100 FT OF	Alley Sweeping	illiai Sirce	0.12	14.00	\$1.68	34-29-23-21-0161
1452 Van Buren Ave	S 36 FT LOT 14 BLK 5	Citywide Street Lighting		0.59	85.00	\$50.15	
St Paul MN 55104-1928		, ,	,		_	\$86.68	
*1452 VAN BUREN AVE		*** Owner and Taxpaye	r ***			φου.υσ	
*Ward: 4			Total Assessm	nent:	<del></del>	\$86.68	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I			\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$86.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 36
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Jason Dombeck	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Residen	ntial Stree	0.41	82.50	\$33.83	34-29-23-21-0163
Emily Dombeck	BLK 5	Alley Sweeping		0.12	41.00	\$4.92	
1457 Blair Ave		Citywide Street Lighting		0.59	82.50	\$48.68	
St Paul MN 55104-1937					<del>==</del>	\$87.43	
*1457 BLAIR AVE		*** Owner and Taxpayer	***				
*Ward: 4		T	Total Assessment	t:		\$87.43	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Prir	ncipal:	\$0.00		
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$87.43	
 Michael P Mccarthy	SYNDICATE NO. 5 ADDITION LOT 17	Street Sweeping - Residen	ntial Stree	0.41			<u> </u>
Martha J Benda	BLK 5	Alley Sweeping		0.12	40.00	\$4.80	3 <del>1-2</del> )-23-21-010 <del>1</del>
Po Box 4022		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-0022						\$44.80	
*1453 BLAIR AVE		*** Owner and Taxpayer	***			*******	
*Ward: 4			Total Assessment	t:	-	\$44.80	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Prir	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:				
			<del></del>				
Kaitlin Campbell	SYNDICATE NO. 5 ADDITION LOT 20 BLK 5	Street Sweeping - Residen	itial Stree	0.41	40.00	\$16.40	34-29-23-21-0167
1443 Blair Ave	BER 3	Alley Sweeping Citywide Street Lighting		0.12	40.00	\$4.80	
St Paul MN 55104-1937		Citywide Street Lighting		0.59	40.00	\$23.60	
*1443 BLAIR AVE		***	also also also			\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Total Assessment	t:		\$44.80	
			This Payment:			\$0.00	
			Current Year Prir			\$0.00	
			Current Year Inte			\$0.00	
		P	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 36
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Denise R Starr	SYNDICATE NO. 5 ADDITION LOT 30	Street Sweeping - Residen	ntial Stree	0.41	82.00	\$33.62	34-29-23-21-0176
Jason E Starr	BLK 5	Alley Sweeping		0.12	40.00	\$4.80	
1401 Blair Ave		Citywide Street Lighting		0.59	82.00	\$48.38	
St Paul MN 55104-1937						\$86.80	
*1401 BLAIR AVE		*** Owner and Taxpayer	***				
*Ward: 4		Т	Total Assessmen	nt:		\$86.80	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:	\$0.00		
		(	Current Year In	terest:		\$0.00	
		P	Payoff Amount	t:		\$86.80	
	SYNDICATE NO. 5 ADDITION LOT 13	Street Sweeping - Residen	ntial Stree	0.41	40.00		34-29-23-21-0190
Mary N Hedenstrom	BLK 13	Alley Sweeping		0.12	40.00	\$4.80	0.2,202101,0
1448 Lafond Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2438						\$44.80	
*1448 LAFOND AVE		*** Owner and Taxpayer	***				
*Ward: 4		T	Total Assessmen	nt:	-	\$44.80	
*Pending as of: 8/21/2020		This Payment:				\$0.00	
		(	Current Year Principal:			\$0.00	
		(	Current Year Interest:		\$0.00	\$0.00	
		P	Payoff Amount	t:		\$44.80	
Ann M Carlson Trustee	SYNDICATE NO. 5 ADDITION LOT 19	Street Sweeping - Residen	ntial Stree			<u>\$16.40</u>	<u> </u>
1447 Thomas Ave	BLK 13	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-21-0170
St Paul MN 55104-2450		Citywide Street Lighting		0.59	40.00	\$23.60	
*1447 THOMAS AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		<del>-</del> Т	Total Assessmen	nt:	-	\$44.80	
		Т	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
		C	Current Year In	terest:		\$0.00	
		P	Payoff Amount	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 364
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Brian T Kimmes	SYNDICATE NO. 5 ADDITION LOT 21	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0198
1439 Thomas Ave	BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2450		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1439 THOMAS AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	
Cole Adkinson	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Reside					
1431 Thomas Ave	BLK 13	Alley Sweeping	chilai Silec	0.12	40.00	\$4.80	34-29-23-21-0200
St Paul MN 55104-2450		Citywide Street Lighting	Ţ	0.59	40.00	\$23.60	
*1431 THOMAS AVE		, ,	,			\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***			ψ11.00	
*Pending as of: 8/21/2020			Total Assessi	ment:	-	\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 27	Street Syspania Decid					
Paul V Brown	BLK 13	Street Sweeping - Reside Alley Sweeping	ennai Stree	0.41	40.00	\$16.40 \$4.80	34-29-23-21-0204
Triesta M Brown 1491 Blair Ave		Citywide Street Lighting	,	0.12	40.00	\$23.60	
St Paul MN 55104-1939		eny wide buleet Eighting	,	0.57	=	\$44.80	
*1415 THOMAS AVE		*** Owner and Taxpaye	r ***			\$44.80	
*Ward: 4			Total Assessi	mant:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 365
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
James K Tinsley	SYNDICATE NO. 5 ADDITION LOT 28	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-21-0205
1411 Thomas Ave	BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2450		Citywide Street Lighting		0.59	40.00	\$23.60	
*1411 THOMAS AVE *Ward: 4		*** Owner and Taxpayer	r ***		\$44.80		
*Pending as of: 8/21/2020		-	Total Assessm	ent:	-	\$44.80	
		,	This Payment:			\$0.00	
			Current Year P			\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amour	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Reside	ential Stree	0.41			
Ann M Malecha 1407 Thomas Ave	BLK 13	Alley Sweeping	illiai Silcc	0.12	40.00	\$4.80	34-29-23-21-0206
St Paul MN 55104-2450		Citywide Street Lighting		0.59	40.00	\$23.60	
*1407 THOMAS AVE		, 6 6			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			φττ.ου	
*Pending as of: 8/21/2020		-	Total Assessm	ent:	-	\$44.80	
		This Payment:				\$0.00	
		(	Current Year Principal:			\$0.00	
		(	Current Year Interest:				
		1	Payoff Amour	ıt:		\$44.80	
Catherine A Darling	SYNDICATE NO. 5 ADDITION LOT 30	Street Sweeping - Reside	ential Stree	0.41			
1403 Thomas Ave	BLK 13	Alley Sweeping	illiai Stice	0.12	40.00	\$4.80	34-29-23-21-0207
St Paul MN 55104-2450		Citywide Street Lighting		0.59	82.00	\$48.38	
*1403 THOMAS AVE					_	\$86.80	
*Ward: 4		*** Owner and Taxpayer	r ***			φοσιου	
*Pending as of: 8/21/2020			Total Assessm		-	\$86.80	
			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
		]	Payoff Amour	ıt:		\$86.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		oject: 2020SMSP solution #:	Assmt: 200025	5 Manager: LM	Page 366
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Ryan Kempenich	MCCASKEY'S REARRANGEMENT OF	Street Sweeping - Commerci	al/Art 1.07	40.00	\$42.80	34-29-23-22-0001
1464 Minnehaha Ave W	BLOCK 1 OF THE HAMLIN SYNDICATE NO. 1 LOTS 1 AND LOT 2	Street Sweeping - Residentia		61.00	\$25.01	
St Paul MN 55104-1950	BLK 1	Alley Sweeping	0.12	80.00	\$9.60	
*1464 MINNEHAHA AVE W		Citywide Street Lighting	0.59	101.00	\$59.59	
*Ward: 4					\$137.00	
*Pending as of: 8/21/2020		*** Owner and Taxpayer **	*			
		Tota	al Assessment:		\$137.00	
		Thi	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$137.00	
	MCCASKEY'S REARRANGEMENT OF	Street Sweeping - Commerci	al/Art 1.07			<u> </u>
Mara L Martinson	BLOCK 1 OF THE HAMLIN	Alley Sweeping	0.12	40.00	\$4.80	34-29-23-22-0002
1468 Minnehaha Ave W	SYNDICATE NO. 1 LOT 3 BLK 1	Citywide Street Lighting	0.59	40.00	\$23.60	
St Paul MN 55104-1911				_	\$71.20	
*1468 MINNEHAHA AVE W		*** Owner and Taxpayer **	*		Ψ/1.20	
*Ward: 4		Tota	al Assessment:	-	\$71.20	
*Pending as of: 8/21/2020		Thi	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	Current Year Interest:			
		Pay	off Amount:		\$71.20	
Christine M Huff	MCCASKEY'S REARRANGEMENT OF	Street Sweeping - Commerci	al/Art 1.07			24 20 22 22 0002
1472 Minnehaha Ave W	BLOCK 1 OF THE HAMLIN	Alley Sweeping	0.12	40.00	\$4.80	34-29-23-22-0003
St Paul MN 55104-1911	SYNDICATE NO. 1 LOT 4 BLK 1	Citywide Street Lighting	0.59	40.00	\$23.60	
*1472 MINNEHAHA AVE W		, , ,		_	\$71.20	
*Ward: 4		*** Owner and Taxpayer **	*		\$/1.20	
*Pending as of: 8/21/2020		Tota	al Assessment:	<del></del>	\$71.20	
			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 367
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Mary F Conway	MCCASKEY'S REARRANGEMENT OF	Street Sweeping - Comr	mercial/Art	1.07	40.00	\$42.80	34-29-23-22-0005
1478 Minnehaha Ave W	BLOCK 1 OF THE HAMLIN	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1911	SYNDICATE NO. 1 LOT 6 BLK 1	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1478 MINNEHAHA AVE W		*** Owner and Taxpayo	ou ***		<del></del>	\$71.20	
*Ward: 4		Owner and Taxpayo	<u></u>				
*Pending as of: 8/21/2020			Total Assessn	nent:	\$71.20		
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
	MCCASKEY'S REARRANGEMENT OF	Street Sweeping - Resid	lential Stree				<u> </u>
999 Smith Ave	BLOCK 1 OF THE HAMLIN	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-22-0012
St Paul MN 55118-1129	SYNDICATE NO. 1 LOT 13 BLK 1	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1485 VAN BUREN AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayo	er ***			4	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
		· — — — — — — — — — — — — — — — — — — —					
Kevin Pranis	MCCASKEY'S REARRANGEMENT OF BLOCK 1 OF THE HAMLIN	Street Sweeping - Resid	iential Stree	0.41 0.12	40.00	\$16.40 \$4.80	34-29-23-22-0017
Laura Jones	SYNDICATE NO. 1 LOT 18 BLK 1	Alley Sweeping Citywide Street Lighting	~	0.12	40.00 40.00	\$4.80 \$23.60	
1469 Van Buren Ave		Citywide Street Lighting	g	0.39	40.00		
St Paul MN 55104-1931 *1469 VAN BUREN AVE		*** Owner and Taxpayo	er ***			\$44.80	
*Ward: 4		und rumpuy				044.00	
*Pending as of: 8/21/2020			Total Assessm			\$44.80 \$0.00	
3			This Payment:				
			Current Year Current Year	_		\$0.00	
						\$0.00 <b>\$44.80</b>	
			Payoff Amou	int:		544.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 368
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Lisa Hoh	MCCASKEY'S REARRANGEMENT OF	Street Sweeping - Reside	ential Stree	0.41	81.00	\$33.21	34-29-23-22-0019
Peter Hoh	BLOCK 1 OF THE HAMLIN SYNDICATE NO. 1 LOT 20 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
1463 Van Buren Ave	SINDICATE NO. 1 EOT 20 BER 1	Citywide Street Lighting	3	0.59	81.00	\$47.79	
St Paul MN 55104-1931						\$85.80	
*1463 VAN BUREN AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessr	nent:		\$85.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Interest:				
			Payoff Amou	int:		\$85.80	
	HAMLINE VILLA LOT 2	Street Sweeping - Reside				\$16.40	
Ellen K Cales	HAMILINE VILLA EUT 2	Alley Sweeping - Reside	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-22-0021
1466 Van Buren Ave		Citywide Street Lighting	)	0.12	40.00	\$23.60	
St Paul MN 55104-1930		Only wide Street Eighting	•	0.57	=	\$44.80	
*1466 VAN BUREN AVE *Ward: 4		*** Owner and Taxpaye	<sub>2r</sub> ***			\$44.80	
*Pending as of: 8/21/2020		1 7			-		
1 chang as 01. 6/21/2020			Total Assessr			\$44.80 \$0.00	
			This Payment:				
			Current Year	_		\$0.00	
			Current Year Interest:		\$0.00		
			Payoff Amou	int:		\$44.80	
Douglas A Byrnes	HAMLINE VILLA LOT 4	Street Sweeping - Reside	ential Stree	0.41		<u>\$16.40</u>	34-29-23-22-0023
1553 Van Buren Ave		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1808		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1472 VAN BUREN AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:	-	\$44.80	
			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 369
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
P & C Holdings Llc	HAMLINE VILLA LOT 6	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-22-0025
280 Duke St		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3116		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1478 VAN BUREN AVE *Ward: 4		*** Owner and Taxpay	naver ***			\$44.80	
*Pending as of: 8/21/2020		- · · · · · · · · · · · · · · · · · · ·	Total Assessn	4-	-	\$44.80	
S			This Payment			\$44.80 \$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	
Richard J Franco	HAMLINE VILLA LOT 7	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-22-0026
1480 Van Buren Ave		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1930		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*1480 VAN BUREN AVE						\$44.80	
*Ward: 4		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessment:				
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
		Current Year Interest:				\$0.00	
			Payoff Amou	nt:		\$44.80	
	HAMLINE VILLA LOT 10						
Eric T Forstrom	HAMLINE VILLA LOT 10	Street Sweeping - Resid	lential Stree	0.41 0.12	82.00 40.00	\$33.62 \$4.80	34-29-23-22-0029
Lara T Forstrom		Citywide Street Lightin	Œ	0.12	82.00	\$48.38	
1490 Van Buren Ave		City wide Street Lightin	B	0.57	==	· · · · · · · · · · · · · · · · · · ·	
St Paul MN 55104-1930 *1490 VAN BUREN AVE		*** Owner and Taxpay	er ***			\$86.80	
*Ward: 4						<b>*</b> 0.6.00	
*Pending as of: 8/21/2020			Total Assessn			\$86.80 \$0.00	
ž			This Payment Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou			\$86.80	
			i ayon Amou	111.		\$60.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 370
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Anne Esme Lewine	HAMLINE VILLA LOT 14	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	34-29-23-22-0033
1481 Blair Ave		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1939		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1481 BLAIR AVE		*** Owner and Taxpayo	ar ***			\$44.80	
*Ward: 4 *Pending as of: 8/21/2020		Owner and Taxpayo					
Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
	HAMLINE VILLA LOT 15	Street Sweeping - Resid	ential Stree			<u>\$16.40</u>	34-29-23-22-0034
1479 Blair Ave		Alley Sweeping		0.12	40.00	\$4.80	0. 2/ 20 22 000 1
St Paul MN 55104-1939		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1479 BLAIR AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:				
		Current Year Principal:				\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	HAMLINE VILLA LOT 16	Street Sweeping - Resid	ontiol Strac				
Joshua R Oneill	THINDING VIEDA EST TO	Alley Sweeping	ennai Suet	0.41	40.00	\$4.80	34-29-23-22-0035
Kenneth O Doyle 3717 W Fuller St		Citywide Street Lighting	or .	0.59	40.00	\$23.60	
Edina MN 55410-2365		eng mas en set Enghang	5	0.00		\$44.80	
*1477 BLAIR AVE		*** Owner and Taxpayo	er ***			\$44.60	
*Ward: 4		1 7			-	£44.00	
*Pending as of: 8/21/2020			Total Assessm This Payment:			\$44.80 \$0.00	
Ç			Current Year			\$0.00	
			Current Year I			\$0.00	
			Payoff Amou			\$44.80	
			1 ayon Amou	nt.		J44.0U	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 371
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Patricia Kirchgessner	HAMLINE VILLA LOT 18	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-22-0037
1469 Blair Ave		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-1939		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*1469 BLAIR AVE						\$44.80	
*Ward: 4		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$44.80	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	
	LINDEMANN PLACE LOT   BLK   1	Street Sweeping - Resid					24 20 22 22 0040
1460 Blair Av		Alley Sweeping	ichilai Sirce	0.12	40.00	\$4.80	34-29-23-22-0040
St Paul MN 55104-1938		Citywide Street Lightin	g	0.59	81.00	\$47.79	
*1460 BLAIR AVE					_	\$85.80	
*Ward: 4		*** Owner and Taxpay	er ***			φουίου	
*Pending as of: 8/21/2020			Total Assessi	ment:		\$85.80	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$85.80	
Dennis P Greeley	LINDEMANN PLACE LOT 2 BLK 1	Street Sweeping - Resid				<u> </u>	24 20 22 22 0041
Christine Greeley		Alley Sweeping	ichilai Sirce	0.12	40.00	\$4.80	34-29-23-22-0041
1464 Blair Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55104-1938					_	\$44.80	
*1464 BLAIR AVE		*** Owner and Taxpay	er ***			ψ11.00	
*Ward: 4			Total Assessi	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 373
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Bryan C Kennedy	LINDEMANN PLACE N 41 FT OF S 81 FT OF LOTS 11 AND LOT 12 BLK 1	Street Sweeping - Resid		0.41	41.00	\$16.81	34-29-23-22-0051
640 Simpson St	FI OF LOTS IT AND LOT 12 BLK I	Citywide Street Lighting	g	0.59	41.00	\$24.19	
St Paul MN 55104-2457		*** Owner and Taxpaye	a. ***			\$41.00	
*640 SIMPSON ST *Ward: 4		Owner and Taxpayo					
*Pending as of: 8/21/2020			Total Assessn			\$41.00	
1 chang as of. 0/21/2020			This Payment			\$0.00	
			Current Year Current Year	_		\$0.00	
			Payoff Amou			\$0.00 <b>\$41.00</b>	
Lori Ann Reichow 632 Simpson St St Paul MN 55104-2457 *632 SIMPSON ST *Ward: 4 *Pending as of: 8/21/2020	LINDEMANN PLACE S 40 FT OF LOTS 11 AND LOT 12 BLK 1	Street Sweeping - Resid Citywide Street Lighting *** Owner and Taxpayo	g	: Principal: Interest:	60.00	\$24.60 \$35.40 \$60.00 \$60.00 \$0.00 \$0.00 \$0.00 \$60.00	34-29-23-22-0052
John S Reimringer	LINDEMANN PLACE LOT 13 BLK 1	Street Sweeping - Resid		0.41		\$16.40	34-29-23-22-0053
Katrina M Vandenberg		Alley Sweeping	onnai Suot	0.12	40.00	\$4.80	34-29-23-22-0053
1485 Lafond Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-2440					_	\$44.80	
*1485 LAFOND AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 375
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Daniel Paul Newsom	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	69.50	\$28.50	34-29-23-22-0061
Natalie Newsom	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 1 BLK 6	Alley Sweeping		0.12	39.00	\$4.68	
507 Minnehaha Ave E	COUNTY, MINN. LOT TELK 0	Citywide Street Lighting	;	0.59	69.50	\$41.01	
St Paul MN 55130-4103						\$74.19	
*603 PASCAL ST N		*** Owner and Taxpaye	r ***				
*Ward: 4			Total Assessme	ent:	-	\$74.19	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$74.19	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41			
Charlotte Hyatt	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	34-29-23-22-0002
1063 Sherren St W	COUNTY, MINN. LOT 2 BLK 6	Citywide Street Lighting	5	0.59	37.00	\$21.83	
St Paul MN 55113-4430					_	\$41.44	
*607 PASCAL ST N		*** Owner and Taxpaye	r ***			4.2	
*Ward: 4			Total Assessme	ent:	-	\$41.44	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$41.44	
					— — <del>_</del>		
Kevin Marquardt	HAMLINE SYNDICATE ADDITION NO. 2 TO SAINT PAUL, RAMSEY	Street Sweeping - Reside	ential Stree	0.41	37.00	\$15.17	34-29-23-22-0063
611 Pascal St N	COUNTY, MINN. LOT 3 BLK 6	Alley Sweeping Citywide Street Lighting	_	0.12 0.59	37.00 37.00	\$4.44 \$21.83	
St Paul MN 55104-2443		Citywide Street Lighting	<b>,</b>	0.39	37.00		
*611 PASCAL ST N		*** Owner and Taxpaye	***			\$41.44	
*Ward: 4		Owner and Taxpayer			-		
*Pending as of: 8/21/2020			Total Assessme			\$41.44	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$41.44	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 376
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Alex J Vessey	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41	37.00	\$15.17	34-29-23-22-0066
625 Pascal St N	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 6 BLK 6	Alley Sweeping		0.12	37.00	\$4.44	
St Paul MN 55104-2443		Citywide Street Lighting		0.59	37.00	\$21.83	
*625 PASCAL ST N *Ward: 4		*** Owner and Taxpayer	. ***			\$41.44	
Pending as of: 8/21/2020		- 1	Total Assessment	:	<u> </u>	\$41.44	
		7	This Payment:			\$0.00	
		(	Current Year Prin	cipal:		\$0.00	
		(	Current Year Inter	rest:		\$0.00	
		1	Payoff Amount:			\$41.44	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41	37.00		34-29-23-22-0077
608 Simpson St	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	012920220077
St Paul MN 55104-2444	COUNTY, MINN. LOT 17 BLK 6	Citywide Street Lighting		0.59	37.00	\$21.83	
*608 SIMPSON ST						\$41.44	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		7	Total Assessment	:		\$41.44	
			This Payment:			\$0.00	
		(	Current Year Prin	cipal:		\$0.00	
		(	Current Year Inter	rest:		\$0.00	
		1	Payoff Amount:			\$41.44	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41	39.00		<u> </u>
1481 Thomas Ave	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	80.50	\$9.66	34-27-23-22-0077
St Paul MN 55104-2452	COUNTY, MINN. LOT 19 BLK 6	Citywide Street Lighting		0.59	39.00	\$23.01	
*1481 THOMAS AVE					=	\$48.66	
*Ward: 4		*** Owner and Taxpayer	. ***			•	
*Pending as of: 8/21/2020			Total Assessment	:	-	\$48.66	
			This Payment:			\$0.00	
		(	Current Year Prin	cipal:		\$0.00	
			Current Year Inter	rest:		\$0.00	
		I	Payoff Amount:			\$48.66	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 377
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Timothy S Wick	DOBNER'S REARRANGEMENT OF	Street Sweeping - Comm	nercial/Art	1.07	46.00	<del></del>	34-29-23-22-0087
Patricia C Wick	BLOCK 2 THE HAMLINE SYNDICATE ADD. NO. 1 ST. PAUL, MINN. LOT 5	Alley Sweeping		0.12	46.00	\$5.52	
1516 Minnehaha Ave W	ADD. NO. 131. 1 AOL, MINN. LOT 3	Citywide Street Lighting	5	0.59	46.00	\$27.14	
St Paul MN 55104-1207 *1516 MINNEHAHA AVE W		*** Owner and Taxpayer	r ***			\$81.88	
*Ward: 4			Total Assessm	nent·	\$81.88		
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun	nt:		\$81.88	
1522 Minnehaha Ave Llc	DOBNER'S REARRANGEMENT OF	Street Sweeping - Comm	nercial/Art	1.07	46.00	\$49.22	34-29-23-22-0088
1522 Minnehaha Ave W St Paul MN 55104-1207 *1522 MINNEHAHA AVE W	BLOCK 2 THE HAMLINE SYNDICATE ADD. NO. 1 ST. PAUL, MINN. LOT 6	Alley Sweeping		0.12	46.00	\$5.52	
	ADD. NO. 1 S1. PAOL, MINN. LOT 6	Citywide Street Lighting	5	0.59	46.00	\$27.14	
						\$81.88	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$81.88	
		,	This Payment:			\$0.00	
		1	Current Year Principal:				
		1	Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$81.88	
	DODUSTIC DE L'ASSAULTE S				46.00	010.00	
Ethan C Sutton	DOBNER'S REARRANGEMENT OF BLOCK 2 THE HAMLINE SYNDICATE	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	46.00 46.00	\$18.86 \$5.52	34-29-23-22-0092
Erin M Sutton	ADD. NO. 1 ST. PAUL, MINN. LOT 10	Citywide Street Lighting		0.12	46.00	\$3.32 \$27.14	
1529 Van Buren Ave St Paul MN 55104-1933		City wide Street Eighting	,	0.57	==	\$51.52	
*1529 VAN BUREN AVE		*** Owner and Taxpayer	r ***			\$51.52	
*Ward: 4		• •			-	051.52	
*Pending as of: 8/21/2020			Total Assessm			\$51.52 \$0.00	
			This Payment:				
			Current Year Principal: Current Year Interest:			\$0.00 \$0.00	
			Payoff Amoun			\$51.52	
			i ayon Amou			Φ31.34	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 378
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Christine L Gronewald	DOBNER'S REARRANGEMENT OF	Street Sweeping - Residen	ntial Stree	0.41	46.00	\$18.86	34-29-23-22-0094
1517 Van Buren Ave	BLOCK 2 THE HAMLINE SYNDICATE ADD. NO. 1 ST. PAUL, MINN. LOT 12	Alley Sweeping		0.12	46.00	\$5.52	
St Paul MN 55104-1933		Citywide Street Lighting		0.59	46.00	\$27.14	
*1517 VAN BUREN AVE						\$51.52	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$51.52	
			This Payment:			\$0.00	
		(	Current Year I	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amoui	nt:		\$51.52	
Galvin Home Renovations Inc	DOBNER'S REARRANGEMENT OF	Street Sweeping - Resider	ntial Stree	0.41			<u> </u>
420 Wedgewood Cir	BLOCK 2 THE HAMLINE SYNDICATE	Alley Sweeping		0.12	46.00	\$5.52	34-29-23-22-0097
Hudson WI 54016-7752	ADD. NO. 1 ST. PAUL, MINN. LOT 15	Citywide Street Lighting		0.59	46.00	\$27.14	
*1503 VAN BUREN AVE						\$51.52	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessm	ent:	-	\$51.52	
			This Payment:			\$0.00	
		(	Current Year F	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amoui	nt:		\$51.52	
Stephen W Vadnais	HAMLINE SYNDICATE ADDITION	Street Sweeping - Residen	ntial Stree	0.41	37.00		<u> </u>
Kathryn M Vadnais	NO. 1 TO SAINT PAUL, RAMSEY	Citywide Street Lighting		0.59	37.00	\$21.83	34-23-23-22-0100
667 Simpson St	COUNTY, MINN. LOT 2 BLK 5				_	\$37.00	
St Paul MN 55104-1942		*** Owner and Taxpayer	***			42,133	
*667 SIMPSON ST		-	Total Assessm	ent:	-	\$37.00	
*Ward: 4		-	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(	Current Year F	Principal:		\$0.00	
		(	Current Year I	nterest:		\$0.00	
		1	Payoff Amour	nt:		\$37.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 379
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Traci L Laliberte	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resi	dential Stree	0.41	37.00	\$15.17	34-29-23-22-0102
677 Simpson St	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 4 BLK 5	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
St Paul MN 55104-1942	eee.v.1,.m.v.v.2e1 1221 9				_	\$37.00	
*677 SIMPSON ST		*** Owner and Taxpay	yer ***				
*Ward: 4			Total Assess	ment:		\$37.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	unt:		\$37.00	
Kristina M King	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resi	dential Stree				<u> </u>
681 Simpson St	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 5 BLK 5	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
St Paul MN 55104-1942	COOM 1, MINN. EOT 3 BEK 3				<del></del>	\$37.00	
*681 SIMPSON ST		*** Owner and Taxpay	yer ***				
*Ward: 4			Total Assess	ment:	-	\$37.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	\$0.00			
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$37.00	
Julie Ludowese	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resi	idential Stree				<u> </u>
683 Simpson St	NO. 1 TO SAINT PAUL, RAMSEY	Citywide Street Lightin		0.59	37.00	\$21.83	012920220101
St Paul MN 55104-1942	COUNTY, MINN. LOT 6 BLK 5				_	\$37.00	
*683 SIMPSON ST		*** Owner and Taxpay	yer ***				
*Ward: 4			Total Assess	ment:		\$37.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Yea			\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	unt:		\$37.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 380
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dick A Zonneveld	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid		0.41	69.50	\$28.50	34-29-23-22-0105
689 Simpson St	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 7 BLK 5	Citywide Street Lightin	ng	0.59	69.50	\$41.01	
St Paul MN 55104-1942						\$69.51	
*689 SIMPSON ST		*** Owner and Taxpay	/er ***		_		
*Ward: 4			Total Assessm	ent:		\$69.51	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$69.51	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree	0.41		\$17.63	34-29-23-22-0106
1508 Van Buren Ave Unit 1	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 8 BLK 5	Citywide Street Lightin	ng	0.59	43.00	\$25.37	2 2 _ 2 _ 2 _ 2 _ 2 _ 2 _ 2 _ 2 _ 2
St Paul MN 55104-2049	COUNTY, MINN, EOT & BEK 3				<del></del>	\$43.00	
*1508 VAN BUREN AVE		*** Owner and Taxpay	er ***				
*Ward: 4			Total Assessm	ent:		\$43.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$43.00	
	HAMLINE SYNDICATE ADDITION		— — — — dential Stree				<u> </u>
909 35th St E	NO. 1 TO SAINT PAUL, RAMSEY	Citywide Street Lightin		0.59	43.00	\$25.37	34-27-23-22-0107
Sioux Falls SD 57105-5038	COUNTY, MINN. LOT 9 BLK 5				<del></del>	\$43.00	
*1514 VAN BUREN AVE		*** Owner and Taxpay	/er ***				
*Ward: 4			Total Assessm	ent:		\$43.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	ıt:		\$43.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 381
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Scott L Link	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid		0.41	43.00	\$17.63	34-29-23-22-0108
Aurora F Chapman	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 10 BLK 5	Citywide Street Lighting	g	0.59	43.00	\$25.37	
650 17th Ave Ne Apt 1						\$43.00	
Minneapolis MN 55413-1410		*** Owner and Taxpaye	er ***				
*1518 VAN BUREN AVE			Total Assessm	nent:		\$43.00	
*Ward: 4			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$43.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	 lential Streε	0.41			34-29-23-22-0110
684 Asbury St	NO. 1 TO SAINT PAUL, RAMSEY	Citywide Street Lighting		0.59	37.00	\$21.83	012/2022 0110
St Paul MN 55104-1826	COUNTY, MINN. LOT 12 BLK 5					\$37.00	
*684 ASBURY ST		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	ent:		\$37.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$37.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	ential Stree	0.41			<u> </u>
680 Asbury St	NO. 1 TO SAINT PAUL, RAMSEY	Citywide Street Lighting		0.59	37.00	\$21.83	34-2)-23-22-0111
St Paul MN 55104-1826	COUNTY, MINN. LOT 13 BLK 5				<del></del>	\$37.00	
*680 ASBURY ST		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	nent:		\$37.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$37.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 382
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Daniel Walsh	HAMLINE SYNDICATE ADDITION	Street Sweeping - Res		0.41	37.00	\$15.17	34-29-23-22-0112
Kathleen Walsh	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 14 BLK 5	Citywide Street Lighti	ng	0.59	37.00	\$21.83	
676 Asbury St						\$37.00	
St Paul MN 55104-1826		*** Owner and Taxpa	yer ***				
*676 ASBURY ST			Total Assessn	nent:		\$37.00	
*Ward: 4			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$37.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Res	idential Stree	0.41			34-29-23-22-0114
Sylvia Harris	NO. 1 TO SAINT PAUL, RAMSEY	Citywide Street Lighti		0.59	37.00	\$21.83	012/2022 0111
668 Asbury St	COUNTY, MINN. LOT 16 BLK 5				<del></del>	\$37.00	
St Paul MN 55104-1826		*** Owner and Taxpa	yer ***				
*668 ASBURY ST			Total Assessn	nent:		\$37.00	
*Ward: 4			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$37.00	
Steven J Ohair	HAMLINE SYNDICATE ADDITION						
Mary T Ohair	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lighti		0.59	37.00	\$21.83	34-29-23-22-0121
641 Simpson St	COUNTY, MINN. LOT 3 BLK 2	, ,			=	\$37.00	
St Paul MN 55104-2446		*** Owner and Taxpa	yer ***			\$37.00	
*641 SIMPSON ST					-	£27.00	
*Ward: 4			Total Assessn			\$37.00 \$0.00	
*Pending as of: 8/21/2020			This Payment Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$37.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 383
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u> 1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Christine H Smeby	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside		0.41	70.00	\$28.70	34-29-23-22-0125
657 Simpson St	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 7 BLK 2	Citywide Street Lighting	g	0.59	70.00	\$41.30	
St Paul MN 55104-2446	,					\$70.00	
*657 SIMPSON ST		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessme	ent:		\$70.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	iterest:		\$0.00	
			Payoff Amoun	t:		\$70.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
Julie K Klecker	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lighting	g	0.59	43.00	\$25.37	01292022 0127
1512 Blair Ave	COUNTY, MINN. LOT 9 BLK 2				=	\$43.00	
St Paul MN 55104-1940		*** Owner and Taxpaye	er ***				
*1512 BLAIR AVE			Total Assessme	ent:	-	\$43.00	
*Ward: 4			This Payment:	ait.		\$0.00	
*Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$43.00	
Edward D Coggins	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	 ential Stree	0.41			
648 Asbury St	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lighting		0.59	37.00	\$21.83	34-29-23-22-0132
St Paul MN 55104-1825	COUNTY, MINN. LOT 14 BLK 2	, , ,	9		_	\$37.00	
*648 ASBURY ST		*** Owner and Taxpaye	er ***			\$37.00	
*Ward: 4			Total Assessme	ent:		\$37.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	iterest:		\$0.00	
			Payoff Amoun	t:		\$37.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20: Resolution #		Assmt: 200025	Manager: LM	Page 384
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Ritamaureen H Carlyle	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree	0.41	37.00	\$15.17	34-29-23-22-0133
644 Asbury St	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 15 BLK 2	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
St Paul MN 55104-1825	COUNTY, MINNY, BOT 13 BER 2				_	\$37.00	
*644 ASBURY ST		*** Owner and Taxpay	/er ***				
*Ward: 4			Total Assessr	nent:	-	\$37.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$37.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	— — — — dential Stree				34-29-23-22-0134
535 Sandhurst Dr W Unit 201	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lightin	ng	0.59	37.00	\$21.83	0.12, 20.22 010.
St Paul MN 55113-4667	COUNTY, MINN. LOT 16 BLK 2				_	\$37.00	
*638 ASBURY ST		*** Owner and Taxpay	/er ***				
*Ward: 4			Total Assessr	nent:	•	\$37.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$37.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	— — — — dential Stree				
Nancy J Johnson	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lightin		0.59	69.50	\$41.01	34-27-23-22-0133
632 Asbury St	COUNTY, MINN. LOT 17 BLK 2				_	\$69.51	
St Paul MN 55104-1825		*** Owner and Taxpay	/er ***			407.00	
*632 ASBURY ST			Total Assessr	ment:	-	\$69.51	
*Ward: 4			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	ınt:		\$69.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 385
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Juliann Rohn 1511 Lafond Ave	HAMLINE SYNDICATE ADDITION NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 19 BLK 2	Street Sweeping - Reside		0.41	43.00 43.00	\$17.63 \$25.37	34-29-23-22-0137
St Paul MN 55104-2442	COUNTY, WINN. EOT 19 BER 2					\$43.00	
*1511 LAFOND AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessme	ent:		\$43.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	-		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$43.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Streε	0.41			34-29-23-22-0138
1509 Lafond Ave	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lighting		0.59	42.00	\$24.78	5. 25 25 22 0150
St Paul MN 55104-2442	COUNTY, MINN. LOT 20 BLK 2				<del></del>	\$42.00	
*1509 LAFOND AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessme	ent:		\$42.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	t:		\$42.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	37.00		<u> </u>
Karen A Casale	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	0.25 20 22 01.0
607 Simpson St	COUNTY, MINN. LOT 2 BLK 5	Citywide Street Lighting	g	0.59	37.00	\$21.83	
St Paul MN 55104-2445					<del></del>	\$41.44	
*607 SIMPSON ST		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessme	ent:		\$41.44	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$41.44	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	oy PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 386
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Robert G Style	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree	0.41	37.00	<u>\$15.17</u>	34-29-23-22-0141
609 Simpson St	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	
St Paul MN 55104-2445	COUNTY, MINN. LOT 3 BLK 5	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
*609 SIMPSON ST					_	\$41.44	
*Ward: 4		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:		\$41.44	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$41.44	
Marjorie P Weide	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree	0.41	37.00	\$15.17	34-29-23-22-0142
615 Simpson St	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	0 1 - 1 - 1 - 1 - 1
St Paul MN 55104-2445	COUNTY, MINN. LOT 4 BLK 5	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
*615 SIMPSON ST					===	\$41.44	
*Ward: 4		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessi	ment:	\$41.44		
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amount:				
Elisabeth J Marlow	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree	0.41	37.00	\$15.17	34-29-23-22-0144
623 Simpson St	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 6 BLK 5	Alley Sweeping		0.12	37.00	\$4.44	
St Paul MN 55104-2445	COOKIT, MINN. EOT OBER 3	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
*623 SIMPSON ST		*** Owner and Taxpay	.or ***			\$41.44	
*Ward: 4 *Pending as of: 8/21/2020		Owner and Taxpay					
Fending as 61: 8/21/2020			Total Assessi			\$41.44	
			This Payment:			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$41.44	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	oy PID (Fee to Asmt)  Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3		
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>		
Brent Geoffrey Lehman	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	69.50	\$28.50	34-29-23-22-0145		
Rosemary Dawn Kimball	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 7 BLK 5	Alley Sweeping		0.12	39.00	\$4.68			
627 Simpson St		Citywide Street Lighting		0.59	69.50	\$41.01			
St Paul MN 55104-2445 * <b>627 SIMPSON ST</b>		*** Owner and Taxpayer	r ***			\$74.19			
*Ward: 4		;	Total Assessme	ent:	-	\$74.19			
Pending as of: 8/21/2020			This Payment:			\$0.00			
			Current Year Pr	rincipal:		\$0.00			
			Current Year In			\$0.00			
		1	Payoff Amount	t:		\$74.19			
	— — — — — — — — — — HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	<u> </u>		34-29-23-22-0149		
Linda T Carlson	lson NO. 2 TO SAINT PAUL, RAMSEY		Ancy Sweepii	Alley Sweeping		0.12	39.00	\$4.68	012920220119
528 Asbury St	COUNTY, MINN. LOT 11 BLK 5	Citywide Street Lighting		0.59	69.50	\$41.01			
St Paul MN 55104-1803						\$74.19			
628 ASBURY ST		*** Owner and Taxpayer	r ***						
*Ward: 4		,	Total Assessment: \$74.						
Pending as of: 8/21/2020			This Payment:			\$0.00			
			Current Year Principal: Current Year Interest:			\$0.00			
						\$0.00			
		1	Payoff Amount	t:		\$74.19			
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	37.00		34-29-23-22-0153		
Joseph Briggs	NO. 2 TO SAINT PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	012920220130		
514 Asbury St	COUNTY, MINN. LOT 15 BLK 5	Citywide Street Lighting		0.59	37.00	\$21.83			
St Paul MN 55104-1803						\$41.44			
*614 ASBURY ST		*** Owner and Taxpayer	r ***						
*Ward: 4			Total Assessment: This Payment:			\$41.44			
Pending as of: 8/21/2020		•				\$0.00			
			Current Year Pr			\$0.00			
			Current Year In			\$0.00			
		1	Payoff Amount	t:		\$41.44			

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 388
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jordan Peters	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41	43.00	\$17.63	34-29-23-22-0157
1513 Thomas Ave	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 19 BLK 5	Alley Sweeping		0.12	43.00	\$5.16	
St Paul MN 55104-2454	COUNTY, MINNY, LOT 17 BER 3	Citywide Street Lighting		0.59	43.00	\$25.37	
*1513 THOMAS AVE						\$48.16	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		7	Total Assessmen	nt:		\$48.16	
		7	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
		(	Current Year Interest:				
		I	Payoff Amount	:		\$48.16	
	HAMI NIE CYNING ATE ADDITION	Street Sweeping - Resider	ntial Strac	————— 0.41			
Nan Niemeyer Fergen Trustee	HAMLINE SYNDICATE ADDITION NO. 1 TO SAINT PAUL, RAMSEY	Alley Sweeping - Resider	illiai Stice	0.41	59.00	\$7.08	34-29-23-22-0159
693 Asbury St	COUNTY, MINN. S 20 FT OF LOT 2	Citywide Street Lighting		0.12	79.50	\$46.91	
St Paul MN 55104-1846 *693 ASBURY ST	AND ALL OF LOT 1 BLK 3	eng mae en eer Eignung		0.00		\$86.59	
*Ward: 4		*** Owner and Taxpayer	***	\$80.39			
*Pending as of: 8/21/2020		- 1	Total Assessmen	\$86.59			
		This Payment:				\$0.00	
		(	Current Year Pr	incipal:	\$0.00		
		(	Current Year In	terest:		\$0.00	
		Payoff Amount:				\$86.59	
			<del></del>				
Jc Stage Properties Llc	HAMLINE SYNDICATE ADDITION NO. 1 TO SAINT PAUL, RAMSEY	Street Sweeping - Comme Alley Sweeping	erciai/Art	1.07 0.12	176.00 76.00	\$188.32 \$9.12	34-29-23-22-0162
Co James Stage	COUNTY, MINN. LOTS 11 AND LOT 12	Citywide Street Lighting		0.12	176.00	\$103.84	
720 Snelling Ave N St Paul MN 55104-1844	BLK 3	Snelling/Hague to Taylor	ASL	1.19	76.00	\$90.44	
		8 8 7			_	\$391.72	
*720 SNELLING AVE N *Ward: 4		*** Owner and Taxpayer	***			\$391.72	
*Pending as of: 8/21/2020		7	Total Assessmen	nt:	-	\$391.72	
		Т	This Payment:			\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
			Current Year In			\$0.00	
		I	Payoff Amount	:		\$391.72	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	oy PID (Fee to Asmt)  Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>.</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Thomas F Ivory 1563 Van Buren Ave	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-22-0168
	NO. 1 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 18 BLK 3	Alley Sweeping		0.12	81.00	\$9.72	
St Paul MN 55104-1808	COONTI, MINN. EOT 10 BER 3	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1563 VAN BUREN AVE *Ward: 4		*** Owner and Taxpaye	er ***		_	\$49.72	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$49.72	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	t:		\$49.72	
Rachael E Weber	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree				
1555 Van Buren Ave	NO. 1 TO SAINT PAUL, RAMSEY	Alley Sweeping Alley Sweeping	ential Stree	0.12	39.00	\$4.68	34-29-23-22-0169
St Paul MN 55104-1808	COUNTY, MINN. LOT 19 BLK 3	Citywide Street Lighting	ting	0.59	39.00	\$23.01	
*1555 VAN BUREN AVE		, ,			=	\$43.68	
*Ward: 4		*** Owner and Taxpaye	yer ***			<b>ў</b> +3.00	
*Pending as of: 8/21/2020		Total Assessment:				\$43.68	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	iterest:		\$0.00	
			Payoff Amount:			\$43.68	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside		0.41	39.00		
Douglas A Byrnes 1553 Van Buren Ave	NO. 1 TO SAINT PAUL, RAMSEY	Alley Sweeping	ciitiai Stree	0.41	80.50	\$9.66	34-29-23-22-0170
St Paul MN 55104-1808	COUNTY, MINN. LOT 20 BLK 3	Citywide Street Lighting	<u> </u>	0.59	39.00	\$23.01	
*1553 VAN BUREN AVE		, ,			_	\$48.66	
*Ward: 4		*** Owner and Taxpaye	er ***			φ+σ.σσ	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$48.66	
			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$48.66	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	oy PID (Fee to Asmt)  Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 392
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Isabel J Bethke	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resi		0.41	37.00	\$15.17	34-29-23-22-0190
Neil Bethke	NO. 2 TO SAINT PAUL, RAMSEY COUNTY, MINN. LOT 4 BLK 3	Citywide Street Lightin	ng	0.59	37.00	\$21.83	
654 Asbury St						\$37.00	
St Paul MN 55104-1824		*** Owner and Taxpay	yer ***		_		
*645 ASBURY ST			Total Assessn	nent:		\$37.00	
*Ward: 4			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$37.00	
	— — — — — — — — — HAMLINE SYNDICATE ADDITION	Street Sweeping - Resi	idential Stree				34-29-23-22-0192
653 Asbury St	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lightin		0.59	37.00	\$21.83	012) 20 22 01)2
St Paul MN 55104-1824	COUNTY, MINN. LOT 6 BLK 3					\$37.00	
*653 ASBURY ST		*** Owner and Taxpay	yer ***				
*Ward: 4			Total Assessn	nent:		\$37.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$37.00	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resi					34-29-23-22-0194
Elvis Mykerezi	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lightin		0.59	39.00	\$23.01	34-27-23-22-0174
1343 Thomas Ave	COUNTY, MINN. LOT 8 BLK 3					\$39.00	
St Paul MN 55104-2448		*** Owner and Taxpay	yer ***			***	
*1552 BLAIR AVE			Total Assessn	nent:		\$39.00	
*Ward: 4			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou			\$39.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 39	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	Quantity C	Charge Amts	Property ID	
Neil E Hultgren 1563 Lafond Ave	HAMLINE SYNDICATE ADDITION NO. 2 TO SAINT PAUL, RAMSEY	Street Sweeping - Resid Citywide Street Lighting		0.41	39.00 39.00	\$15.99 \$23.01	34-29-23-22-0201	
St Paul MN 55104-1815	COUNTY, MINN. LOT 18 BLK 3	,	9		_	\$39.00		
*1563 LAFOND AVE		*** Owner and Taxpaye	er ***			ψ39.00		
*Ward: 4			Total Assessr	nent:	_	\$39.00		
*Pending as of: 8/21/2020			This Payment	:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$39.00		
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	 ential Stree					
1553 Lafond Ave	NO. 2 TO SAINT PAUL, RAMSEY	Citywide Street Lighting		0.59	39.00	\$23.01	34-29-23-22-0203	
St Paul MN 55104-1815	COUNTY, MINN. LOT 20 BLK 3	, , , , , , , , , , , , , , , , , , , ,			=	\$39.00		
*1553 LAFOND AVE		*** Owner and Taxpaye	er ***			\$39.00		
*Ward: 4		Total Assessment:				\$39.00		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year			\$0.00		
			Payoff Amou	int:		\$39.00		
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Comr	— — — — mercial/Art				<u> </u>	
25 4th St W Rm 1000	NO. 2 TO SAINT PAUL, RAMSEY	Street Sweeping - Resid		0.41	980.00	\$401.80	***EXEMPT***	
St Paul MN 55102-1692	COUNTY, MINN. ALLEY IN BLK AND LOTS 1 THRU LOT 20 BLK 4	Citywide Street Lighting	g	0.59	1,243.00	\$733.37	EZEM I	
*1564 LAFOND AVE	zoro i inite zor zo zon	Snelling/Hague to Taylo	or ASL	1.19	264.00	\$314.16		
*Ward: 4			=					
*Pending as of: 8/21/2020		*** Owner and Taxpayo	er *** 					
			Total Assessr			\$1,730.74		
			This Payment:			\$0.00		
		Current Year Principal:				\$0.00		
			Current Year			\$0.00		
			Payoff Amou	int:		\$1,730.74		

10:02:50 11/16/2020	Public Improvement Assessment Roll b	• '	Project: 2020Si Resolution #:	MSP	Assmt: 200025	Manager: LM	Page (
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Theola E Mcneill	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41	37.00	\$15.17	34-29-23-23-0002
577 Pascal St N	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	
St Paul MN 55104-2412	COUNTY, MINN. LOT 2 BLK 1	Citywide Street Lighting		0.59	37.00	\$21.83	
*577 PASCAL ST N *Ward: 4		*** Owner and Taxpayer	. ***		_	\$41.44	
*Pending as of: 8/21/2020			Total Assessment	t:	-	\$41.44	
		7	This Payment:			\$0.00	
		(	Current Year Prin	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$41.44	
— — — — — — — — — Heidi Clyne Farnham	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41	39.00		<u> </u>
1470 Thomas Ave	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	80.50	\$9.66	34-27-23-23-0000
St Paul MN 55104-2451	COUNTY, MINN. LOT 8 BLK 1	Citywide Street Lighting		0.59	39.00	\$23.01	
*1470 THOMAS AVE						\$48.66	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		7	Total Assessment:			\$48.66	
			This Payment:			\$0.00	
			Current Year Prin	_		\$0.00	
			Current Year Inte			\$0.00	
		1	Payoff Amount:			\$48.66	
Benjamin P Haarsager	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resider	ntial Stree	0.41			
1480 Thomas Ave	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	80.50	\$9.66	012) 20 20 0011
St Paul MN 55104-2451	COUNTY, MINN. LOT 11 BLK 1	Citywide Street Lighting		0.59	39.00	\$23.01	
*1480 THOMAS AVE						\$48.66	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020			Total Assessment	t:		\$48.66	
			This Payment:			\$0.00	
			Current Year Prin	_		\$0.00	
			Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$48.66	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ntial Stree	0.41	37.00	\$15.17	34-29-23-23-0013
594 Simpson St	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 13 BLK 1	Alley Sweeping		0.12	37.00	\$4.44	
St Paul MN 55104-2423	COUNTY, MINNY. LOT 13 BLK 1	Citywide Street Lighting		0.59	37.00	\$21.83	
*594 SIMPSON ST *Ward: 4		*** Owner and Taxpayer	r ***		_	\$41.44	
*Pending as of: 8/21/2020		•	Total Assessmer	nt:	-	\$41.44	
		,	This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
		•	Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$41.44	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
Janessa Cervantes	ntes NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 14 BLK 1	Alley Sweeping		0.12	37.00	\$4.44	34-27-23-23-0014
590 Simpson St		COUNTY, MINN. LOT 14 BLK 1 Citywide Street L	Citywide Street Lighting		0.59	37.00	\$21.83
St Paul MN 55104-2423						\$41.44	
*590 SIMPSON ST		*** Owner and Taxpayer	r ***				
*Ward: 4		;	Total Assessmer	nt:		\$41.44	
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
			Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$41.44	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	——————————————————————————————————————			— — — — — — — — — — — — — — — — — — —
211 South Shore Crest Dr	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping	iniai Sirce	0.12	76.00	\$9.12	34-29-23-23-0023
Tampa FL 33609-2532	COUNTY, MINN. LOTS 1 & LOT 2 BLK	Citywide Street Lighting		0.59	88.00	\$51.92	
*543 PASCAL ST N	ō	,			<del></del>	\$97.12	
*Ward: 4		*** Owner and Taxpayer	***			ψ>7.112	
*Pending as of: 8/21/2020		;	Total Assessment:			\$97.12	
		•	This Payment:			\$0.00	
		•	Current Year Principal:				
			Current Year Int			\$0.00	
		]	Payoff Amount	:		\$97.12	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Shannon M Whaley 1478 Edmund Ave	HAMLINE SYNDICATE ADDITION NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 10 BLK 6	Street Sweeping - Reside Alley Sweeping		0.41 0.12	39.00 39.00	\$15.99 \$4.68	34-29-23-23-0031
St Paul MN 55104-2409	COONTI, MINN. EOT TO BEK	Citywide Street Lighting		0.59	39.00	\$23.01	
*1478 EDMUND AVE *Ward: 4		*** Owner and Taxpayer	xpayer ***			\$43.68	
*Pending as of: 8/21/2020		;	Total Assessmen	nt:		\$43.68	
			This Payment:			\$0.00	
		(	Current Year Pri	ncipal:		\$0.00	
			Current Year Int			\$0.00	
		1	Payoff Amount:	:		\$43.68	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	69.50	\$28.50	34-29-23-23-0033
568 Simpson St	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	39.00	\$4.68	0.129 20 20 0000
St Paul MN 55104-2420	COUNTY, MINN. LOT 12 BLK 6	Citywide Street Lighting		0.59	69.50	\$41.01	
*568 SIMPSON ST						\$74.19	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		,	Total Assessment:			\$74.19	
			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount:	:		\$74.19	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	37.00		34-29-23-23-0035
Shirley M Janssen	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	37.00	\$4.44	0.129 20 20 0000
560 Simpson St	COUNTY, MINN. LOT 14 BLK 6	Citywide Street Lighting		0.59	37.00	\$21.83	
St Paul MN 55104-2420						\$41.44	
*560 SIMPSON ST		*** Owner and Taxpayer	r ***				
*Ward: 4			Total Assessmer	nt:		\$41.44	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount	:		\$41.44	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 398
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
David A Stauffacher	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	37.00	\$15.17	34-29-23-23-0036
556 Simpson St	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 15 BLK 6	Alley Sweeping		0.12	37.00	\$4.44	
St Paul MN 55104-2420	COUNTY, MINN. LOT 13 BLK 0	Citywide Street Lighting	5	0.59	37.00	\$21.83	
*556 SIMPSON ST		*** Owner and Taxpaye	***		<del></del>	\$41.44	
*Ward: 4		Owner and Taxpayer					
*Pending as of: 8/21/2020			Total Assessm	nent:		\$41.44	
			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$41.44	
J T Enterprises Llc	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree				34-29-23-23-0038
1772 Lafayette Ln	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	36.00	\$4.32	0.129 20 20 0000
Mound MN 55364-1123	COUNTY, MINN. EX N 1 5/10 FT LOT 17 BLK 6	Citywide Street Lighting	<u>,</u>	0.59	36.00	\$21.24	
*548 SIMPSON ST						\$40.32	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$40.32	
			This Payment:			\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$40.32	
Antronette Jacobs	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree				
Forest L Clardy Jr	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping	ciitiai Sticc	0.12	39.00	\$4.68	34-29-23-23-0041
1479 Charles Ave	COUNTY, MINN. LOT 20 BLK 6	Citywide Street Lighting	ŗ	0.59	39.00	\$23.01	
St Paul MN 55104-2404		,	,		_	\$43.68	
*1479 CHARLES AVE		*** Owner and Taxpaye	r ***			\$43.06	
*Ward: 4			Total Assessm	nent:		\$43.68	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year l			\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Tjk Properties Inc	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41	39.00	\$15.99	34-29-23-23-0042
Po Box 8101	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 21 BLK 6	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55108-0101	COONTI, MINN. EOT 21 BEK 0	Citywide Street Lighting	5	0.59	39.00	\$23.01	
*1473 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	er ***			\$43.68	
*Pending as of: 8/21/2020		· · ·	Total Assessme	ent:	-	\$43.68	
			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$43.68	
Tjk Properties Inc	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	ential Stree	0.41			
NO. 3 T	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	80.50	\$9.66	34-27-23-23-0043
	COUNTY, MINN. LOT 22 BLK 6	Citywide Street Lighting	Ţ	0.59	40.00	\$23.60	
*1471 CHARLES AVE					_	\$49.66	
*Ward: 4		*** Owner and Taxpayer	r ***			· 	
*Pending as of: 8/21/2020			Total Assessment:			\$49.66	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$49.66	
Guinevere F Winans-Jerik	LYMAN D. BAIRDS ADDITION LOT 2	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
Andrea L Zuel	BLK 1	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-23-0043
1464 Charles Ave		Citywide Street Lighting	Ţ	0.59	40.00	\$23.60	
St Paul MN 55104-2403					=	\$44.80	
*1464 CHARLES AVE		*** Owner and Taxpayer	r ***				
*Ward: 4			Total Assessme	ent:	=	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	_		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 40
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Matias Celis	LYMAN D. BAIRDS ADDITION LOT 6	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-23-0049
1478 Charles Ave	BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2403		Citywide Street Lighting		0.59	40.00	\$23.60	
*1478 CHARLES AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r *** 				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 8	Street Sweeping - Reside	ential Stree	0.41	40.00	<u> </u>	<u> </u>
Yong Gang Dong	BLK 1	Alley Sweeping		0.12	40.00	\$4.80	012/2020 0031
4136 Cashell Gln		Citywide Street Lighting		0.59	40.00	\$23.60	
Eagan MN 55122-2807						\$44.80	
*1484 CHARLES AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		•	Total Assessme	ent:	•	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
		Current Year Interest:				\$0.00	
			Payoff Amoun	ıt:		\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 12	Street Sweeping - Reside	mtial Stras	0.41			
Kari Mykerezi	BLK 1	Alley Sweeping	muai Succ	0.41	40.00	\$4.80	34-29-23-23-0055
Elton Mykerezi 1343 Thomas Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104		,g			_	\$44.80	
*1487 SHERBURNE AVE		*** Owner and Taxpayer	r ***			\$44.80	
*Ward: 4		•	Total Assessme	ent:	<u>-</u>	\$44.80	
*Pending as of: 8/21/2020			This Payment:	••		\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 401
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Thomas V Mathison Astrid E Mathison 1477 Sherburne Ave	LYMAN D. BAIRDS ADDITION LOT 15 BLK 1	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-23-0058
St Paul MN 55104-2416 *1477 SHERBURNE AVE		*** Owner and Taxpayer	r ***			\$44.80	
*Ward: 4 *Pending as of: 8/21/2020			Total Assessm			\$44.80	
rending as of. 0/21/2020			This Payment:			\$0.00	
			Current Year I Current Year I	_		\$0.00 \$0.00	
			Payoff Amoun			\$44.80	
Motthan Dady	LYMAN D. BAIRDS ADDITION LOT 18	Street Sweeping - Reside	ential Stree				
Matthew Rody Brooke Rody	BLK 1	Alley Sweeping	illiai Siicc	0.41	40.00	\$4.80	34-29-23-23-0061
4313 Arthur St Ne		Citywide Street Lighting	5	0.59	40.00	\$23.60	
Columbia Heights MN 55421-3238						\$44.80	
*1469 SHERBURNE AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		·	Total Assessm	ent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year Interest:			\$0.00	
			Payoff Amou	nt:		\$44.80	
— — — — — — — Hung Tu Inc	LYMAN D. BAIRDS ADDITION LOT 1	Street Sweeping - Reside	ential Stree	0.41	68.50	\$28.09	34-29-23-23-0064
Dba Peking Garden Restaurant	BLK 6	Alley Sweeping		0.12	37.00	\$4.44	
19175 Iteri Ave		Citywide Street Lighting	;	0.59	68.50	\$40.42	
Lakeville MN 55044-7922						\$72.95	
*1460 SHERBURNE AVE		*** Owner and Taxpayer	r ***		_		
*Ward: 4			Total Assessm	ent:		\$72.95	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$72.95	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 402
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Blackstone 1 Llc	LYMAN D. BAIRDS ADDITION LOT 4	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-23-0067
3033 Excelsior Blvd Suite 100	BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
Minneapolis MN 55416-4431		Citywide Street Lighting		0.59	40.00	\$23.60	
*1470 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayer	***		_	\$44.80	
*Pending as of: 8/21/2020		<u>-</u>	Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
		1	Payoff Amoun	t:		\$44.80	
Chamie E Bakinan Vanna	LYMAN D. BAIRDS ADDITION LOT 5	Street Sweeping - Resider		0.41			
Sherwin E Robinson Young 1472 Sherburne Ave	BLK 6	Alley Sweeping	ilitai Sticc	0.12	40.00	\$4.80	34-29-23-23-0068
St Paul MN 55104-2415		Citywide Street Lighting		0.59	40.00	\$23.60	
*1472 SHERBURNE AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			ψ-1.00	
*Pending as of: 8/21/2020		_	Total Assessme	ent:		\$44.80	
		7	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
		(	Current Year In	nterest:		\$0.00	
		1	Payoff Amoun	t:		\$44.80	
Ma Dalacation Couries a Incom-	LYMAN D. BAIRDS ADDITION LOT 6	Street Sweeping - Resider	ntial Stree			<u>\$16.40</u>	
Ms Relocation Services Incorporated 2108 43rd St E	BLK 6	Alley Sweeping - Resider	illiai Suet	0.41	40.00	\$4.80	34-29-23-23-0069
Minneapolis MN 55407-3050		Citywide Street Lighting		0.59	40.00	\$23.60	
*1478 SHERBURNE AVE		, , ,			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			ψ-1.00	
*Pending as of: 8/21/2020		7	Total Assessme	ent:	•	\$44.80	
		7	This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
		1	Payoff Amoun	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	J	Page 403
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	Rate Quantity	Charge Amts	Property ID
John W Taylor	LYMAN D. BAIRDS ADDITION LOT 4	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-23-0103
3625 47th St East	BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
Minneapolis MN 55406-3866		Citywide Street Lighting		0.59	40.00	\$23.60	
*1510 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020		_ 1	Total Assessment:			\$44.80	
		7	This Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
		(	Current Year Inter	est:		\$0.00	
		I	Payoff Amount:			\$44.80	
Nicholas R Flood	LYMAN D. BAIRDS ADDITION LOT 5	Street Sweeping - Resider	ntial Stree	0.41			
1514 Charles Ave	BLK 2	Alley Sweeping	ariai Stree	0.12	40.00	\$4.80	34-29-23-23-0104
St Paul MN 55104-2405		Citywide Street Lighting		0.59	40.00	\$23.60	
*1514 CHARLES AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			<b>4</b>	
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
		7	This Payment:			\$0.00	
		(	Current Year Princ	cipal:		\$0.00	
		(	Current Year Inter	est:		\$0.00	
		I	Payoff Amount:			\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 7	Street Sweeping - Resider	ntial Stree	0.41		<u>\$16.40</u>	24 20 22 22 0106
3800 Xerxes Ave S	BLK 2	Alley Sweeping	ntial Stree	0.12	40.00	\$4.80	34-29-23-23-0106
Minneapolis MN 55410-1133		Citywide Street Lighting		0.59	40.00	\$23.60	
*1524 CHARLES AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			<b>4</b>	
*Pending as of: 8/21/2020		7	Total Assessment:			\$44.80	
			This Payment:			\$0.00	
			Current Year Princ	-		\$0.00	
			Current Year Inter	est:		\$0.00	
		I	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 40
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>1</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Maxwell Holdhusen	LYMAN D. BAIRDS ADDITION LOT 8	Street Sweeping - Reside	ntial Stree	0.41	40.00	\$16.40	
665 Fairmount Ave	BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-3518		Citywide Street Lighting		0.59	40.00	\$23.60	
*1530 CHARLES AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
		•	This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
		(	Current Year In	iterest:		\$0.00	
		1	Payoff Amoun	t:		\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 9	Street Sweeping - Reside	ntial Stree	0.41	<u> </u>		<u> </u>
351 Kellogg Blvd E	BLK 2	Alley Sweeping		0.12	40.00	\$4.80	0.2,20200100
St Paul MN 55101-1411		Citywide Street Lighting		0.59	76.50	\$45.14	
*1534 CHARLES AVE					_	\$81.31	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Total Assessment:				\$81.31	
			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
		Current Year Interest:				\$0.00	
		1	Payoff Amoun	t:		\$81.31	
Elton Mykerezi	LYMAN D. BAIRDS ADDITION LOT 10	Street Sweeping - Reside	ntial Stree	0.41	82.00		<u> </u>
1343 Thomas Ave	BLK 2	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-23-0107
St Paul MN 55104-2448		Citywide Street Lighting		0.59	82.00	\$48.38	
*1535 SHERBURNE AVE						\$86.80	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		-	Total Assessme	ent:	=	\$86.80	
		,	This Payment:			\$0.00	
		•	Current Year Pi	rincipal:		\$0.00	
		(	Current Year In	iterest:		\$0.00	
		1	Payoff Amoun	t:		\$86.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 40
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	Property ID
Fyr Sfr Borrower Llc	LYMAN D. BAIRDS ADDITION LOT 17	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-23-0116
Co Havenbrook Homes	BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
3505 Koger Blvd Ste 400		Citywide Street Lighting		0.59	40.00	\$23.60	
Duluth GA 30096-7672 *1 <b>501 SHERBURNE AVE</b>		*** Owner and Taxpayer	***			\$44.80	
*Ward: 4			Γotal Assessmer	nt:	-	\$44.80	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount	: <b>:</b>		\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 1	Street Sweeping - Residen		0.41	74.00	\$30.34	34-29-23-23-0118
1492 Sherburne Ave	BLK 5	Alley Sweeping		0.12	48.00	\$5.76	0.2,20200110
St Paul MN 55104-2418		Citywide Street Lighting		0.59	74.00	\$43.66	
*1492 SHERBURNE AVE					<del></del>	\$79.76	
*Ward: 4		*** Owner and Taxpayer ***  Total Assessment:					
*Pending as of: 8/21/2020						\$79.76	
		Т	Γhis Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	: <b>:</b>		\$79.76	
	LYMAN D. BAIRDS ADDITION LOT 3	Street Sweeping - Residen	 ntial Stree		40.00	<u>\$16.40</u>	<u> </u>
20503 Cypress Dr	BLK 5	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-23-0120
Farmington MN 55024-2730		Citywide Street Lighting		0.59	40.00	\$23.60	
*1504 SHERBURNE AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Γotal Assessmer	nt:	-	\$44.80	
		Т	Γhis Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount	<b>:</b>		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt)  Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Maria Rose Mclemore 1524 Sherburne Ave	LYMAN D. BAIRDS ADDITION LOT 7 BLK 5	Street Sweeping - Reside		0.41	40.00	\$16.40 \$4.80	34-29-23-23-0124
St Paul MN 55104-2418		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1524 SHERBURNE AVE *Ward: 4		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm		-	\$44.80	
			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	
Snelling Station Apartments Llc	LYMAN D. BAIRDS ADDITION LOTS 8	Street Sweeping - Reside	ential Stree	0.41		<del></del>	34-29-23-23-0125
C/O Equimax Real Estate Llc	AND LOT 9 BLK 5	Alley Sweeping		0.12	80.00	\$9.60	
3685 Watertown Rd		Citywide Street Lighting	5	0.59	180.00	\$106.20	
Orono MN 55359-9354						\$189.60	
*502 ASBURY ST		*** Owner and Taxpaye	r ***		_		
*Ward: 4			Total Assessm	ent:	-	\$189.60	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:	\$0.00		
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$189.60	
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Reside	– — — — ential Stree	0.41		<u>\$16.40</u>	<u> </u>
1300 Furlong Ave	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-23-0133
Mendota Heights MN 55120-1202	COUNTY, MINN. VAC ALLEY ADJ AND EX E 80 FT THE FOL LOTS 1 2 3	Citywide Street Lighting	<b>,</b>	0.59	40.00	\$23.60	
*1549 EDMUND AVE	AND S 8 5/10 FT OF LOT 4 BLK 3				_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	· · · · · · · · · · · · · · · · · · ·	oject: 2020SMSP solution #:	Assmt: 200025	Manager: LM	Page 40°	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Unaltered Augsburg Conf	HAMLINE SYNDICATE ADDITION	Street Sweeping - Commercia	al/Art 1.07	150.00	\$160.50	34-29-23-23-0137	
1566 Thomas Ave	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. ALLEY AS VAC IN	Street Sweeping - Residentia	l Streε 0.41	238.00	\$97.58		
St Paul MN 55104-1823	DOC 1475742 AND FOL LOTS 8 THRU	Alley Sweeping	0.12	166.00	\$19.92		
*1566 THOMAS AVE	LOT 14 BLK 3	Citywide Street Lighting	0.59	388.00	\$228.92		
*Ward: 4		Snelling/Hague to Taylor AS	L 1.19	150.00	\$178.50		
*Pending as of: 8/21/2020		*** Over on and Toverovon **	*		\$685.42		
		*** Owner and Taxpayer ***			<u> </u>		
			al Assessment:		\$685.42		
			s Payment:		\$0.00		
			rent Year Principal:		\$0.00		
			rent Year Interest:		\$0.00		
		Pay	off Amount:		\$685.42		
	-	-					
Paul F Fleege	HAMLINE SYNDICATE ADDITION	Street Sweeping - Residentia		39.00	\$15.99	34-29-23-23-0140	
1559 Edmund Ave	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 19 BLK 3	Alley Sweeping	0.12	39.00	\$4.68		
St Paul MN 55104-2323	COOKIT, MINK. EOT 17 BEK 3	Citywide Street Lighting	0.59	39.00	\$23.01		
*1559 EDMUND AVE					\$43.68		
*Ward: 4		*** Owner and Taxpayer ***	*	_			
*Pending as of: 8/21/2020		Tota	al Assessment:		\$43.68		
		This	s Payment:		\$0.00		
		Curr	rent Year Principal:		\$0.00		
		Curi	rent Year Interest:		\$0.00		
		Pay	off Amount:		\$43.68		
Mary E Brown	HAMLINE SYNDICATE ADDITION	Street Sweeping - Residentia		39.00	\$15.99	34-29-23-23-0141	
1555 Edmund Ave	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 20 BLK 3	Alley Sweeping	0.12	39.00	\$4.68		
St Paul MN 55104-2323	,	Citywide Street Lighting	0.59	39.00	\$23.01		
*1555 EDMUND AVE *Ward: 4		*** Owner and Taxpayer ***	*		\$43.68		
*Pending as of: 8/21/2020		Tota	al Assessment:		\$43.68		
		This	s Payment:		\$0.00		
		Curi	rent Year Principal:		\$0.00		
		Curr	rent Year Interest:		\$0.00		
		Pay	off Amount:		\$43.68		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 408	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Northern Oak Investments Llc	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid		0.41	63.00	\$25.83	34-29-23-23-0142	
8010 Victoria Ln	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. E 1/2 OF LOTS 1 AND	Citywide Street Lighting	g	0.59	63.00	\$37.17		
Minneapolis MN 55426-3076 *1541 CHARLES AVE	LOT 2 BLK 4	*** Owner and Taxpave	*** Owner and Taxpayer ***			\$63.00		
*Ward: 4		1 7	Total Assessm		<u>-</u>	\$63.00		
*Pending as of: 8/21/2020			This Payment			\$0.00		
			Current Year			\$0.00		
			Current Year	-		\$0.00		
			Payoff Amou	nt:		\$63.00		
Antonio D Gambino	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	lential Stree	0.41	50.00	\$20.50	34-29-23-23-0143	
1545 Charles Ave	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. W 1/2 OF LOTS 1	Alley Sweeping		0.12	75.00	\$9.00		
St Paul MN 55104-2319	AND LOT 2 BLK 4	Citywide Street Lighting	g	0.59	50.00	\$29.50		
*1545 CHARLES AVE						\$59.00		
*Ward: 4		*** Owner and Taxpayer ***						
*Pending as of: 8/21/2020			Total Assessm	nent:		\$59.00		
			This Payment	:	\$0.00			
		Current Year Principal:				\$0.00		
			Current Year			\$0.00		
			Payoff Amou	nt:		\$59.00		
Stanley Anderson	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	lential Stree				34-29-23-23-0146	
559 Asbury St	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping	onium suoi	0.12	37.00	\$4.44	34-29-23-23-0140	
St Paul MN 55104-2318	COUNTY, MINN. LOT 5 BLK 4	Citywide Street Lighting	g	0.59	37.00	\$21.83		
*559 ASBURY ST						\$41.44		
*Ward: 4		*** Owner and Taxpaye	er ***					
*Pending as of: 8/21/2020			Total Assessm	nent:		\$41.44		
			This Payment: Current Year Principal:			\$0.00		
						\$0.00		
			Current Year			\$0.00		
			Payoff Amou	nt:		\$41.44		

10:02:50 11/16/2020	Public Improvement Assessment Roll b	oy PID (Fee to Asmt)  Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	5 Manager: LM	Page 409	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Sarah Pawlitschek	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree	0.41	37.00	\$15.17	34-29-23-23-0147	
Allen Pawlitschek	NO. 3 TO ST. PAUL, RAMSEY COUNTY, MINN. LOT 6 BLK 4	Alley Sweeping		0.12	37.00	\$4.44		
563 Asbury St	,	Citywide Street Lightin	ng	0.59	37.00	\$21.83		
St Paul MN 55104-2318						\$41.44		
*563 ASBURY ST		*** Owner and Taxpay	ver ***					
*Ward: 4			Total Assess	sment:		\$41.44		
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00		
			Current Year	r Principal:		\$0.00		
			Current Year	r Interest:		\$0.00		
			Payoff Amo	unt:		\$41.44		
	HAMLINE SYNDICATE ADDITION	Street Sweeping - Resid	dential Stree			\$28.50		
Filsan Ibrahim	NO. 3 TO ST. PAUL, RAMSEY	Alley Sweeping		0.12	39.00	\$4.68	34-29-23-23-0146	
567 Asbury St	COUNTY, MINN. LOT 7 BLK 4	Citywide Street Lightin	ng	0.59	69.50	\$41.01		
St Paul MN 55104-2318					===	\$74.19		
*567 ASBURY ST		*** Owner and Taxpay	/er ***					
*Ward: 4			Total Assess	ment.	-	\$74.19		
*Pending as of: 8/21/2020			This Paymer			\$0.00		
			Current Year			\$0.00		
			Current Year			\$0.00		
			Payoff Amo	ount:		\$74.19		
Jun Xiao	HAMLINE SYNDICATE ADDITION NO. 3 TO ST. PAUL, RAMSEY	Street Sweeping - Com Street Sweeping - Resid		1.07 0.41	39.00 100.00	\$41.73 \$41.00	34-29-23-23-0151	
Ru Zhao Cheng	COUNTY, MINN. LOT 11 BLK 4	Alley Sweeping	dential Street	0.12	39.00	\$4.68		
566 N Snelling Ave St Paul MN 55104-2334		Citywide Street Lightin	ng	0.59	139.00	\$82.01		
*568 SNELLING AVE N		Snelling/Hague to Tayl	_	1.19	39.00	\$46.41		
*Ward: 4						\$215.83		
*Pending as of: 8/21/2020		*** Owner and Taxpay	/er ***					
			Total Assess	sment:		\$215.83		
			This Paymer			\$0.00		
			Current Year			\$0.00		
			Current Year			\$0.00		
			Payoff Amo	unt:		\$215.83		

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 410
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	1	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Dadders Estate Llc	LYMAN D. BAIRDS ADDITION LOT 1	Street Sweeping - Reside	ential Stree	0.41	146.00	\$59.86	34-29-23-23-0157
351 Kellogg Blvd E	BLK 3	Alley Sweeping		0.12	33.00	\$3.96	
St Paul MN 55101-1411		Citywide Street Lighting	5	0.59	146.00	\$86.14	
*535 ASBURY ST *Ward: 4		*** Owner and Taxpaye	er ***			\$149.96	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$149.96	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$149.96	
	LYMAN D. BAIRDS ADDITION LOT 2		ential Stree	0.41		<u>\$16.40</u>	34-29-23-23-0158
1540 Charles Ave	BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-23-0130
St Paul MN 55104-2342		Citywide Street Lighting	ţ	0.59	40.00	\$23.60	
*1540 CHARLES AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 3	Street Sweeping - Reside	ential Stree	0.41			34-29-23-23-0159
36a Norwood Rd	BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-23-0137
Port Washington NY 11050-1424		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1548 CHARLES AVE						\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
			Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 411
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rat	te Quantity	Charge Amts	Property ID
Sium Enterprises Llc 520 Snelling Ave N St Paul MN 55104-2585 *524 SNELLING AVE N	LYMAN D. BAIRDS ADDITION LOT 10 BLK 3	Street Sweeping - Commercial Alley Sweeping Citywide Street Lighting Snelling/Hague to Taylor	0.1 0.5	2 120.00 9 40.00	\$42.80 \$14.40 \$23.60 \$47.60	34-29-23-23-0164
*Ward: 4				_	\$128.40	
*Pending as of: 8/21/2020		*** Owner and Taxpayer '	***	_		
		T C C	otal Assessment: his Payment: urrent Year Principal: urrent Year Interest: ayoff Amount:		\$128.40 \$0.00 \$0.00 \$0.00 \$128.40	
Sium Enterprises Llc 520 Snelling Ave N St Paul MN 55104-2585 *520 SNELLING AVE N	LYMAN D. BAIRDS ADDITION EX S 2 FT LOT 11 BLK 3	Street Sweeping - Commer Citywide Street Lighting Snelling/Hague to Taylor	0.5	9 42.00	\$44.94 \$24.78 \$49.98	34-29-23-23-0165
*Ward: 4		*** Owner and Taxpayer '	***		Ψ117.70	
*Pending as of: 8/21/2020		T C C	otal Assessment: his Payment: urrent Year Principal: urrent Year Interest: ayoff Amount:		\$119.70 \$0.00 \$0.00 \$0.00 \$119.70	
Sium Enterprises Llc 520 Snelling Ave N St Paul MN 55104-2585 *512 SNELLING AVE N	LYMAN D. BAIRDS ADDITION S 2 FT OF LOT 11 AND ALL OF LOT 12 BLK 3	Street Sweeping - Comments Street Sweeping - Residen Citywide Street Lighting Snelling/Hague to Taylor	tial Stree 0.4 0.5	1 120.00 9 162.00	\$44.94 \$49.20 \$95.58 \$49.98	34-29-23-23-0166
*Ward: 4 *Pending as of: 8/21/2020		*** Owner and Taxpayer '	***		\$239.70	
. S. G. G. 2.1.2.2.2		T C C	otal Assessment: his Payment: urrent Year Principal: urrent Year Interest: ayoff Amount:		\$239.70 \$0.00 \$0.00 \$0.00 \$239.70	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 412
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Eliana Properties Llc 1561 Sherburne Ave St Paul MN 55104-2327	LYMAN D. BAIRDS ADDITION LOT 13 BLK 3	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-23-0167
*1561 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayo	er ***		<del></del>	\$44.80	
*Pending as of: 8/21/2020		1 7	Total Assess	ment:		\$44.80	
			This Paymen	nt:		\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
	LYMAN D. BAIRDS ADDITION LOTS	Street Sweeping - Resid	lential Streε				34-29-23-23-0170
C/o Troy C Dewitt	17 AND LOT 18 BLK 3	Alley Sweeping		0.12	72.00	\$8.64	0.12/20/20/01/0
825 Midwest Trail Ct N		Citywide Street Lighting	g	0.59	196.00	\$115.64	
Lake Elmo MN 55042-9612						\$204.64	
*517 ASBURY ST		*** Owner and Taxpayo	er ***				
*Ward: 4			Total Assess	ment:		\$204.64	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$204.64	
	LYMAN D. BAIRDS ADDITION LOTS I		lential Streε			<del></del>	<u> </u>
2485 Como Ave	AND LOT 2 BLK 4	Alley Sweeping		0.12	72.00	\$8.64	21 27 20 20 01/1
St Paul MN 55108-1445		Citywide Street Lighting	g	0.59	172.00	\$101.48	
*503 ASBURY ST						\$180.64	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$180.64	
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$180.64	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 413
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
2752 Lyndale Llc Attn David Tolchiner 2395 Cox Trl	LYMAN D. BAIRDS ADDITION LOTS 3 & LOT 4 BLK 4	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	80.00 80.00 80.00	\$32.80 \$9.60 \$47.20	34-29-23-23-0172
Long Lake MN 55356-8909 *1556 SHERBURNE AVE		*** Owner and Taxpaye	er ***		_	\$89.60	
*Ward: 4			Total Assessm	nent:	-	\$89.60	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$89.60	
	LYMAN D. BAIRDS ADDITION LOT 5	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-23-0173
David Tolchiner	BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
1549 W University Ave		Citywide Street Lighting	3	0.59	40.00	\$23.60	
St Paul MN 55104-3907 *1558 SHERBURNE AVE		*** Owner and Taxpaye	er ***			\$44.80	
*Ward: 4			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year 1			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$44.80	
	LYMAN D. BAIRDS ADDITION LOT 6	Street Sweeping - Reside	– – – – ential Stree	0.41			
David Tolchiner	BLK 4	Alley Sweeping		0.12	40.00	\$4.80	34-23-23-0174
1549 W University Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55104-3907						\$44.80	
*1560 SHERBURNE AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	

**Payoff Amount:** 

\$707.60

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 417
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dawn C Hayes	SYNDICATE NO. 5 ADDITION LOT 4	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0003
1399 Burke Ave W	BLK 19	Alley Sweeping		0.12	40.00	\$4.80	
Roseville MN 55113-5803		Citywide Street Lighting		0.59	40.00	\$23.60	
*1354 THOMAS AVE *Ward: 4		*** Owner and Taxpayer	r ***		_	\$44.80	
*Pending as of: 8/21/2020		•	Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Reside		0.41			
Alexandra Zerzan 1358 Thomas Ave	BLK 19	Alley Sweeping - Reside	muai Succ	0.41	40.00	\$4.80	34-29-23-24-0004
St Paul MN 55104-2447		Citywide Street Lighting		0.59	40.00	\$23.60	
*1358 THOMAS AVE		,			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			<del>р11</del> .00	
*Pending as of: 8/21/2020		•	Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
	ONDING TEND CARDITION OF C	Street Coursing Parish					
Erin Bartos	SYNDICATE NO. 5 ADDITION LOT 6 BLK 19	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-24-0005
1362 Thomas Ave St Paul MN 55104-2447		Citywide Street Lighting		0.12	40.00	\$23.60	
*1362 THOMAS AVE		,			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020		•	Total Assessme	ent:	<u> </u>	\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 41
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Sheigh Freeberg	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0006
Laura Hundt	BLK 19	Alley Sweeping		0.12	40.00	\$4.80	
1366 Thomas Ave		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55104-2447					<del></del>	\$44.80	
*1366 THOMAS AVE		*** Owner and Taxpayer	r ***				
*Ward: 4		•	Total Assessm	ent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	nterest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
9353 Central Valley Rd Ne	BLK 19	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0010
Bremerton WA 98311-9159		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1380 THOMAS AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		•	Total Assessm	nent:	<u>.</u>	\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	nterest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Annie B Rogers	SYNDICATE NO. 5 ADDITION LOT 12	Street Sweeping - Reside	ntial Stree	0.41			
Terry L Rogers	BLK 19	Alley Sweeping	innai Succ	0.12	40.00	\$4.80	34-29-23-24-0011
1384 Thomas Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2447		,			_	\$44.80	
*1384 THOMAS AVE		*** Owner and Taxpayer	r ***			Ψ-100	
*Ward: 4		•	Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year l	_		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 419
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Robin D Lorenzen	SYNDICATE NO. 5 ADDITION LOT 14	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0013
1394 Thomas Ave	BLK 19	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2447		Citywide Street Lighting	ţ	0.59	40.00	\$23.60	
*1394 THOMAS AVE *Ward: 4		*** Owner and Taxpayer	r ***		_	\$44.80	
*Pending as of: 8/21/2020		- :	Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Reside	antial Strac	0.41			
Cheryl Gfrener 1389 Edmund Ave	BLK 19	Alley Sweeping	Jillai Silcc	0.12	40.00	\$4.80	34-29-23-24-0017
St Paul MN 55104-2427		Citywide Street Lighting		0.59	40.00	\$23.60	
*1389 EDMUND AVE		,	,			\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			φττ.ου	
*Pending as of: 8/21/2020		;	Total Assessme	ent:	-	\$44.80	
		1	This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Reside	ential Stree	0.41			
1371 Edmund Ave	BLK 19	Alley Sweeping	iniai Sirce	0.12	40.00	\$4.80	34-29-23-24-0022
St Paul MN 55104-2427		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*1371 EDMUND AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		·	Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	ıt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 420
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Jennifer Gunn	SYNDICATE NO. 5 ADDITION LOT 24	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0023
1367 Edmund Ave	BLK 19	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2427		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1367 EDMUND AVE *Ward: 4		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 28	Street Sweeping - Reside	ential Stree	0.41			
Kevin J Amdahl Kathryn C Amdahl	BLK 19	Alley Sweeping	illiai Succ	0.41	40.00	\$4.80	34-29-23-24-0027
1351 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2427		, ,	,		_	\$44.80	
*1351 EDMUND AVE		*** Owner and Taxpayer	r ***			<del>р11</del> .00	
*Ward: 4			Total Assessm	ent:	=	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Reside		0.41			
Janayah Bagurusi	BLK 22	Alley Sweeping - Reside	ential Street	0.41	40.00	\$4.80	34-29-23-24-0031
1344 Edmund Ave St Paul MN 55104-2426		Citywide Street Lighting	r	0.59	40.00	\$23.60	
*1344 EDMUND AVE		,	,		_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ent:	<u> </u>	\$44.80	
			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 42
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Timothy J Anderson	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Reside	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0034
Sally J Jacobs	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	
20516 Dyers Pass		Citywide Street Lighting		0.59	40.00	\$23.60	
Farmington MN 55024-1036					<del></del>	\$44.80	
*1358 EDMUND AVE		*** Owner and Taxpayer	***				
*Ward: 4		,	Total Assessmen	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	
Christopher A Robinson	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Reside	ential Stree	0.41	40.00	<u> </u>	<u> </u>
1382 Edmund Ave	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	21 25 26 21 0010
St Paul MN 55104-2426		Citywide Street Lighting		0.59	40.00	\$23.60	
*1382 EDMUND AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessmen	nt:	-	\$44.80	
		•	This Payment:			\$0.00	
		•	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$44.80	
Gholamreza Ashrafzadehkian	SYNDICATE NO. 5 ADDITION LOT 12	Street Sweeping - Reside	ntial Stree	0.41		<u> </u>	
3817 Beard Ave S	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	34-23-23-24-0041
Minneapolis MN 55410-1040		Citywide Street Lighting		0.59	40.00	\$23.60	
*1386 EDMUND AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			,	
*Pending as of: 8/21/2020		-	Total Assessmen	nt:	-	\$44.80	
		•	This Payment:			\$0.00	
			Current Year Pr	incipal:		\$0.00	
		•	Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020S Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uı</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Ruth Ann Laine	SYNDICATE NO. 5 ADDITION LOT 14	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0043
1394 Edmund Ave	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2426		Citywide Street Lighting		0.59	40.00	\$23.60	
*1394 EDMUND AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
Pending as of: 8/21/2020			Γotal Assessment	t:	-	\$44.80	
			Γhis Payment:			\$0.00	
		C	Current Year Prir	ncipal:		\$0.00	
			Current Year Inte			\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Residen	ntial Stree	0.41	82.00		34-29-23-24-0045
Rebecca G Smith	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	0.129 20 21 00 10
399 Charles Ave		Citywide Street Lighting		0.59	82.00	\$48.38	
t Paul MN 55104-2425						\$86.80	
41399 CHARLES AVE		*** Owner and Taxpayer	***		_		
Ward: 4		Т	Γotal Assessment	t:		\$86.80	
Pending as of: 8/21/2020			Γhis Payment:			\$0.00	
		C	Current Year Principal:				
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$86.80	
	SYNDICATE NO. 5 ADDITION LOT 18	Street Sweeping - Residen	ntial Stree	0.41	40.00		<u> </u>
1391 Charles Ave	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0047
St Paul MN 55104-2425		Citywide Street Lighting		0.59	40.00	\$23.60	
1391 CHARLES AVE					_	\$44.80	
Ward: 4		*** Owner and Taxpayer	***				
Pending as of: 8/21/2020			Γotal Assessment	t:		\$44.80	
			This Payment:			\$0.00	
			Current Year Prin			\$0.00	
			Current Year Inte			\$0.00	
		P	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Robert D Phillips	SYNDICATE NO. 5 ADDITION LOT 20	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0049
Emily Phillips	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	
1383 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2425		*** Owner and Taxpayer	. ***			\$44.80	
*1383 CHARLES AVE *Ward: 4		· -					
*Pending as of: 8/21/2020			Total Assessmen	nt:		\$44.80	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year Int			\$0.00	
		I	Payoff Amount	: <b>:</b>		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 21	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0050
1379 Charles Ave	BLK 22	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2425		Citywide Street Lighting		0.59	40.00	\$23.60	
*1379 CHARLES AVE					<del></del>	\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		7	Total Assessmen	nt:	-	\$44.80	
		7	This Payment:				
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		I	Payoff Amount	: <b>:</b>		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Resider	ntial Stree		40.00	<u>\$16.40</u>	<u> </u>
1380 Charles Ave	BLK 27	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0070
St Paul MN 55104-2424		Citywide Street Lighting		0.59	40.00	\$23.60	
*1380 CHARLES AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		- 1	Total Assessmen	nt:		\$44.80	
		1	This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
			Current Year Int	_		\$0.00	
		I	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 424
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	Quantity Cha	Charge Amts	<b>Property ID</b>
Shpresa Mykerezi	SYNDICATE NO. 5 ADDITION LOT 13	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0072
Corridor Properties Llc	BLK 27	Alley Sweeping		0.12	40.00	\$4.80	
1343 Thomas Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2448 *1390 CHARLES AVE		*** Owner and Taxpayer	r ***			\$44.80	
*Ward: 4		•	Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year l	_		\$0.00	
			Payoff Amou	nt:		\$44.80	
Deal: Malarasi	SYNDICATE NO. 5 ADDITION LOT 14	Street Sweeping - Reside		0.41			
Pavli Mykerezi	BLK 27	Alley Sweeping	illiai Succ	0.41	40.00	\$4.80	34-29-23-24-0073
Shpresa Mykerezi 1343 Thomas Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2448		,			_	\$44.80	
*1394 CHARLES AVE		*** Owner and Taxpayer	r ***			ψ11.00	
*Ward: 4		•	Total Assessm	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment: Current Year Principal: Current Year Interest:				
			Payoff Amount:			\$44.80	
Thomas Goldstein	SYNDICATE NO. 5 ADDITION LOT 16	Street Sweeping - Reside	ential Stree	0.41			24 20 22 24 0075
1399 Sherburne Ave	BLK 27	Alley Sweeping	illiai Succ	0.41	40.00	\$4.80	34-29-23-24-0075
St Paul MN 55104-2431		Citywide Street Lighting		0.59	82.00	\$48.38	
*1399 SHERBURNE AVE		,				\$86.80	
*Ward: 4		*** Owner and Taxpayer	r ***			φου.ου	
*Pending as of: 8/21/2020		•	Total Assessm	nent:		\$86.80	
			This Payment:			\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$86.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	* *	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 4	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID	
Michael Brian Johnson	SYNDICATE NO. 5 ADDITION LOT 18 BLK 27	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0077	
10731 Upton Ave S	BLK 2/	Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60		
Minneapolis MN 55431-3727 *1389 SHERBURNE AVE		,g			_	\$44.80		
*Ward: 4		*** Owner and Taxpayer	***			ψ11.00		
*Pending as of: 8/21/2020			Total Assessmen	nt:	-	\$44.80		
		Γ	This Payment:			\$0.00		
		(	Current Year Pri	incipal:		\$0.00		
			Current Year Int			\$0.00		
		F	Payoff Amount:	:		\$44.80		
 Donald William Raleigh	SYNDICATE NO. 5 ADDITION LOT 20	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0079	
Marnie J Ochs Raleigh	BLK 27	Alley Sweeping		0.12	40.00	\$4.80		
1383 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60		
St Paul MN 55104-2431						\$44.80		
*1383 SHERBURNE AVE		*** Owner and Taxpayer	***					
*Ward: 4		Γ	Total Assessmer	nt:		\$44.80		
*Pending as of: 8/21/2020			This Payment:					
			Current Year Principal:			\$0.00		
		Current Year Interest:				\$0.00		
		F	Payoff Amount	:		\$44.80		
Chalmers I Vasquez	SYNDICATE NO. 5 ADDITION LOT 22	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0081	
Rosamaria Gomez	BLK 27	Alley Sweeping		0.12	40.00	\$4.80		
3410 Sw 16th Pl		Citywide Street Lighting		0.59	40.00	\$23.60		
Miami FL 33145-1713						\$44.80		
*1375 SHERBURNE AVE		*** Owner and Taxpayer	***					
*Ward: 4		T	Total Assessmer	nt:		\$44.80		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year Pri	-		\$0.00		
			Current Year Int			\$0.00		
		F	Payoff Amount:	:		\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Margaret L Crenshaw	SYNDICATE NO. 5 ADDITION LOT 26 BLK 27	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0085
1359 Sherburne Ave	BLK 27	Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60	
St Paul MN 55104-2431		Citywide Street Lighting		0.39	40.00		
*1359 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayer	. ***			\$44.80	
*Pending as of: 8/21/2020		_ 1	Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		1	Payoff Amount	t:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 28	Street Sweeping - Resider	ntial Stree	0.41	40.00	<del>\$16.40</del> —	34-29-23-24-0087
Roland D Buck Ii	BLK 27	Alley Sweeping		0.12	40.00	\$4.80	0.2,202.000
1351 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2431					<del>==</del>	\$44.80	
*1351 SHERBURNE AVE		*** Owner and Taxpayer	. ***				
*Ward: 4		7	Total Assessme	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:				
			Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
						\$0.00	
		I				\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Resider	ntial Stree	<u></u>	40.00		34-29-23-24-0088
Lorita L Cox	BLK 27	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0000
1345 Sherburne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2431						\$44.80	
*1345 SHERBURNE AVE		*** Owner and Taxpayer	. ***				
*Ward: 4			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	_		\$0.00	
			Current Year In			\$0.00	
		I	Payoff Amount	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 428
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b> Cha	Charge Amts	<b>Property ID</b>
Herbert Graves	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0094
Belva J Graves	BLK 30	Alley Sweeping		0.12	40.00	\$4.80	
1358 Sherburne Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-2430					<del></del>	\$44.80	
*1358 SHERBURNE AVE		*** Owner and Taxpaye	er *** 				
*Ward: 4			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 6	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1364 Arden View Dr	BLK 30	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0073
Arden Hills MN 55112-1942		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1362 SHERBURNE AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80	
			This Payment	::		\$0.00	
			Current Year Principal: Current Year Interest:				
		Payoff Amount:				\$44.80	
George M Pearson	SYNDICATE NO. 5 ADDITION LOT 8 BLK 30	Street Sweeping - Reside	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-24-0097
1370 Sherburne Ave		Alley Sweeping Citywide Street Lighting	*	0.12	40.00	\$23.60	
St Paul MN 55104-2430		City wide Street Lighting	5	0.57	<del></del>		
*1370 SHERBURNE AVE  *Ward: 4		*** Owner and Taxpaye	-r ***			\$44.80	
*Pending as of: 8/21/2020		1 7					
			Total Assessm			\$44.80	
			This Payment			\$0.00	
			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amou			\$0.00 <b>\$44.80</b>	
			1 ayun Amou	int:		J44.0U	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 42
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Carrine Bett Walker	SYNDICATE NO. 5 ADDITION LOT 9	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0098
1374 Sherburne Ave	BLK 30	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2430		Citywide Street Lighting	,	0.59	40.00	\$23.60	
*1374 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	•		\$0.00	
			Payoff Amoun	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 1	Street Sweeping - Reside					
David E Sprangers 1859 Grand Ave	BLK 20	Alley Sweeping	illiai Siicc	0.41	40.00	\$4.80	34-29-23-24-0110
St Paul MN 55105-1404		Citywide Street Lighting		0.59	82.00	\$48.38	
*1402 THOMAS AVE		, ,	,		_	\$86.80	
*Ward: 4		*** Owner and Taxpayer	r ***			\$60.60	
*Pending as of: 8/21/2020		,	Total Assessment: This Payment: Current Year Principal:			\$86.80	
						\$0.00	
						\$0.00 \$0.00	
			Current Year Interest:				
			Payoff Amoun	nt:		\$86.80	
	SYNDICATE NO. 5 ADDITION LOT 2	Street Sweeping - Reside	– — — —	0.41			
13570 Grove Dr # 224	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	34-29-23-24-0111
Maple Grove MN 55311-4400		Citywide Street Lighting	Ţ	0.59	40.00	\$23.60	
*1406 THOMAS AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			ψσ	
*Pending as of: 8/21/2020		•	Total Assessm	ient:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year I	•		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 43
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Anthony E Davitch	SYNDICATE NO. 5 ADDITION LOT 3	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0112
Elizabeth A Davitch	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	
1410 Thomas Ave		Citywide Street Lighting	<u>;</u>	0.59	40.00	\$23.60	
St Paul MN 55104-2449					<del></del>	\$44.80	
*1410 THOMAS AVE		*** Owner and Taxpaye	r ***				
*Ward: 4			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
David D Olson	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Reside		0.41	40.00		
1424 Thomas Ave	BLK 20	Alley Sweeping	ontial Stree	0.12	40.00	\$4.80	34-29-23-24-0116
St Paul MN 55104-2449		Citywide Street Lighting	ŗ	0.59	40.00	\$23.60	
		enj mae su ee zigimig	,	0.00		\$44.80	
*1424 THOMAS AVE *Ward: 4		*** Owner and Taxpaye	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:	<del>-</del>	\$44.80	
		This Payment:				\$0.00	
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
			nt:		\$44.80		
						•	
	SYNDICATE NO. 5 ADDITION LOT 8	Street Sweeping - Reside	ential Stree	0.41	40.00		
1428 Thomas Ave	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	0.12, 20 2.1 011,
St Paul MN 55104-2449		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1428 THOMAS AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	<u>-</u>	\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	OSMSP	Assmt: 200025	Manager: LM	Page 43
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Heide Kirch Erickson	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0120
1442 Thomas Ave	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2449		Citywide Street Lighting		0.59	40.00	\$23.60	
*1442 THOMAS AVE		this o	also also also			\$44.80	
*Ward: 4		*** Owner and Taxpayer	r *** 				
*Pending as of: 8/21/2020		,	Total Assessme	ent:		\$44.80	
		,	This Payment:			\$0.00	
		(	Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
		1	Payoff Amoun	t:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 12	Street Sweeping - Reside	ential Stree	0.41	40.00	<u> </u>	<u> </u>
1446 Thomas Ave	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	J4-2)-2J-24-0121
St Paul MN 55104-2449		Citywide Street Lighting		0.59	40.00	\$23.60	
*1446 THOMAS AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
		•	This Payment: Current Year Principal:				
		•					
		Current Year Interest:				\$0.00	
		]	Payoff Amount:			\$44.80	
Cindy Doubles	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Reside	ential Stree			<u>\$16.40</u>	
Cindy Reuther	BLK 20	Alley Sweeping	illiai Silec	0.41	40.00	\$4.80	34-29-23-24-0132
431 N State St Apt 2 Bellingham WA 98225-5342		Citywide Street Lighting		0.59	40.00	\$23.60	
*1431 EDMUND AVE		,			_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	r ***			Ψ-1.00	
*Pending as of: 8/21/2020		<del>,</del>	Total Assessme	ent:	<del>.</del>	\$44.80	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020Si Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Lana M Kieffer	SYNDICATE NO. 5 ADDITION LOT 24	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0133
1427 Edmund Ave	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2408		Citywide Street Lighting		0.59	40.00	\$23.60	
*1427 EDMUND AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020			Γotal Assessment	t:		\$44.80	
		T	Γhis Payment:			\$0.00	
		C	Current Year Prir	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 27	Street Sweeping - Residen	ntial Stree	0.41	40.00		34-29-23-24-0136
1413 Edmund Ave	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	012920210100
St Paul MN 55104-2408		Citywide Street Lighting		0.59	40.00	\$23.60	
*1413 EDMUND AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessment:				
			Γhis Payment:			\$0.00	
		C	Current Year Principal:				
		Current Year Interest:				\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Residen	ntial Stree	0.41	40.00		<u>34-29-23-24-0138</u>
55 Sw 5th Terr # 2371	BLK 20	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0130
Gainesville FL 32601-6219		Citywide Street Lighting		0.59	40.00	\$23.60	
*1405 EDMUND AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Γotal Assessment	t:		\$44.80	
			Γhis Payment:			\$0.00	
		C	Current Year Prir	ncipal:		\$0.00	
			Current Year Inte			\$0.00	
		P	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 433
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Judith Levy	SYNDICATE NO. 5 ADDITION LOT 1	Street Sweeping - Resid	ential Stree	0.41	82.00	\$33.62	34-29-23-24-0140
Noah Levy	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	
1402 Edmund Ave		Citywide Street Lighting	g	0.59	82.00	\$48.38	
St Paul MN 55104-2407					_	\$86.80	
*1402 EDMUND AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessn	nent:		\$86.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$86.80	
Capper E Nichols	SYNDICATE NO. 5 ADDITION LOT 4 BLK 21	Street Sweeping - Resid	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-24-0143
1412 Edmund Ave		Alley Sweeping Citywide Street Lighting	or.	0.12	40.00	\$23.60	
St Paul MN 55104-2407		City wide Street Lighting	5	0.57	+0.00 <u>—</u>		
*1412 EDMUND AVE		*** Owner and Taxpaye	ar ***			\$44.80	
*Ward: 4		Owner and Taxpaye			=		
*Pending as of: 8/21/2020			Total Assessn			\$44.80	
			This Payment			\$0.00	
			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Resid	ontial Street	0.41	40.00		
Rochelle K Grau	BLK 21	Alley Sweeping - Resid	ennai Suec	0.41	40.00	\$4.80	34-29-23-24-0144
Joseph A Kubista 1418 Edmund Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-2407		,	5			\$44.80	
*1418 EDMUND AVE		*** Owner and Taxpaye	er ***			\$44.80	
*Ward: 4			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	` '	Project: 2020SM Resolution #:	SP	Assmt: 200025	Manager: LM	Page 434
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	Property ID
Arthur W Steinbeck	SYNDICATE NO. 5 ADDITION LOT 7	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0146
1426 Edmund Ave	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2407		Citywide Street Lighting		0.59	40.00	\$23.60	
*1426 EDMUND AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020		- 1	Total Assessment:		-	\$44.80	
		7	This Payment:			\$0.00	
			Current Year Princi	ipal:		\$0.00	
		(	Current Year Intere	st:		\$0.00	
		I	Payoff Amount:			\$44.80	
Comple Dath Manally	SYNDICATE NO. 5 ADDITION LOT 8	Street Sweeping - Resider	ntial Stree	0.41		<u>\$16.40</u>	
Sarah Beth Mcnally Ryan D Mcnally	BLK 21	Alley Sweeping	nuai Succ	0.12	40.00	\$4.80	34-29-23-24-0147
1430 Edmund Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2407		, , ,			_	\$44.80	
*1430 EDMUND AVE		*** Owner and Taxpayer	***			\$44.00	
*Ward: 4		- 1	Total Assessment:		-	\$44.80	
*Pending as of: 8/21/2020		7	This Payment:			\$0.00	
		(	Current Year Principal:				
		(	Current Year Intere	est:		\$0.00	
		I	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Resider	ntial Stree	0.41			24 20 22 24 0150
1440 Edmund Ave	BLK 21	Alley Sweeping	nuai Succ	0.12	40.00	\$4.80	34-29-23-24-0150
St Paul MN 55104-2407		Citywide Street Lighting		0.59	40.00	\$23.60	
*1440 EDMUND AVE		, , ,				\$44.80	
*Ward: 4		*** Owner and Taxpayer	***			Ψ11.00	
*Pending as of: 8/21/2020		- 1	Total Assessment:			\$44.80	
		П	This Payment:			\$0.00	
		(	Current Year Princi	ipal:		\$0.00	
			Current Year Intere	est:		\$0.00	
		I	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	· · · · · · · · · · · · · · · · · · ·	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 435
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Jnit Rate	<b>Quantity</b>	Charge Amts	Property ID
Margaret Singer	SYNDICATE NO. 5 ADDITION LOT 21	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0160
1437 Charles Ave	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2402		Citywide Street Lighting		0.59	40.00	\$23.60	
*1437 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	. ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assessmer	nt:	-	\$44.80	
		Т	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		F	Payoff Amount	:		\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 22	Street Sweeping - Resider	ntial Stree	0.41			<u> </u>
1435 Charles Ave	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0101
St Paul MN 55104-2402		Citywide Street Lighting		0.59	40.00	\$23.60	
*1435 CHARLES AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020			Total Assessmer	nt:		\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		F	Payoff Amount	:		\$44.80	
Andrew Korsberg	SYNDICATE NO. 5 ADDITION LOT 24	Street Sweeping - Resider	ntial Stree	0.41		<u>\$16.40</u>	<u> </u>
Adria Fernandez	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0103
1427 Charles Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55104-2402						\$44.80	
*1427 CHARLES AVE		*** Owner and Taxpayer	. ***				
*Ward: 4			Total Assessmer	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
			Current Year Int			\$0.00	
		F	Payoff Amount	:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020S Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u> 1	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Ronald L Hoelscher	SYNDICATE NO. 5 ADDITION LOT 29	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0168
1407 Charles Ave	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2402		Citywide Street Lighting		0.59	40.00	\$23.60	
*1407 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020		T	Total Assessmen	ıt:		\$44.80	
		T	This Payment:			\$0.00	
		C	Current Year Prin	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 30	Street Sweeping - Residen	 ntial Stree	0.41	82.00		34-29-23-24-0169
1403 Charles Ave	BLK 21	Alley Sweeping		0.12	40.00	\$4.80	012920210109
St Paul MN 55104-2402		Citywide Street Lighting		0.59	82.00	\$48.38	
*1403 CHARLES AVE						\$86.80	
*Ward: 4		*** Owner and Taxpayer ***  Total Assessment:					
*Pending as of: 8/21/2020						\$86.80	
			This Payment:			\$0.00	
		C	Current Year Principal:				
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:			\$86.80	
	SYNDICATE NO. 5 ADDITION LOT 1	Street Sweeping - Residen		0.41	82.00		34-29-23-24-0170
1400 Charles Ave	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0170
St Paul MN 55104-2401		Citywide Street Lighting		0.59	82.00	\$48.38	
*1400 CHARLES AVE					=	\$86.80	
*Ward: 4		*** Owner and Taxpayer	***			*****	
*Pending as of: 8/21/2020		T	Total Assessmen	ıt:		\$86.80	
			This Payment:			\$0.00	
		C	Current Year Prin	ncipal:		\$0.00	
			Current Year Inte			\$0.00	
		P	Payoff Amount:			\$86.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SM Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Frederick Melo	SYNDICATE NO. 5 ADDITION LOT 6	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0175
1420 Charles Ave	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2401		Citywide Street Lighting	nting 0.59	0.59	0.59 40.00	\$23.60	
*1420 CHARLES AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020		T	Total Assessment	:		\$44.80	
		T	This Payment:			\$0.00	
		C	Current Year Prin	cipal:		\$0.00	
		C	Current Year Inter	rest:		\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 9	Street Sweeping - Residen	 ntial Stree	0.41	40.00		34-29-23-24-0178
1434 Charles Ave	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	012920210170
St Paul MN 55104-2401		Citywide Street Lighting		0.59	40.00	\$23.60	
*1434 CHARLES AVE						\$44.80	
*Ward: 4		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessment	:	-	\$44.80	
			This Payment:				
			Current Year Prin	-		\$0.00	
		C	Current Year Inter	rest:		\$0.00	
		P	Payoff Amount:			\$44.80	
	SYNDICATE NO. 5 ADDITION LOT 11	Street Sweeping - Residen		0.41	40.00		34-29-23-24-0180
Amy S Ames	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-24-0100
816 Glenbrook Ave N		Citywide Street Lighting		0.59	40.00	\$23.60	
Oakdale MN 55128-7405					_	\$44.80	
*1442 CHARLES AVE		*** Owner and Taxpayer	***				
*Ward: 4			Total Assessment	:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	-		\$0.00	
			Current Year Inter	rest:		\$0.00	
		P	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 438
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Matthew Olson	SYNDICATE NO. 5 ADDITION LOT 14	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0183
Kari Olson	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	
1454 Charles Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55104-2401						\$44.80	
*1454 CHARLES AVE		*** Owner and Taxpaye	er ***				
*Ward: 4			Total Assessm	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
Manny N Hall	SYNDICATE NO. 5 ADDITION LOT 20	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0189
1441 Sherburne Ave	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2414		Citywide Street Lighting	ŗ	0.59	40.00	\$23.60	
*1441 SHERBURNE AVE					_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
Nneka S Morgan	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0192
1441 University Ave	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-4003		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1431 SHERBURNE AVE		*** 0 1.7	ale ale		_	\$44.80	
*Ward: 4		*** Owner and Taxpaye					
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 439
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Joanne M Hodgeman	SYNDICATE NO. 5 ADDITION LOT 28	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-24-0197
1411 Sherburne Ave	BLK 28	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2414		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1411 SHERBURNE AVE *Ward: 4		*** Owner and Taxpay	er ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	int:		\$44.80	
	CVAIDIGATE NO 5 A DOUTION LOT 1	Stuart Syraming David					
Becky Ann Johnson	SYNDICATE NO. 5 ADDITION LOT 1 BLK 29	Street Sweeping - Resid Alley Sweeping	ienuai Stret	0.41 0.12	40.00	\$4.80	34-29-23-24-0200
1402 Sherburne Ave St Paul MN 55104-2413		Citywide Street Lighting	σ	0.12	70.00	\$41.30	
*1402 SHERBURNE AVE		eny wide sures Eighan,	ь	0.00		\$74.80	
*Ward: 4		*** Owner and Taxpay	er ***			\$74.60	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$74.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$74.80	
Gholamreza Ashrafzadehkian	SYNDICATE NO. 5 ADDITION LOT 2 BLK 29	Street Sweeping - Resid Alley Sweeping	lential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	34-29-23-24-0201
3817 Beard Ave S		Citywide Street Lighting	α	0.12	40.00	\$23.60	
Minneapolis MN 55410-1040		City wide Street Eighting	5	0.57	==	\$44.80	
*1406 SHERBURNE AVE *Ward: 4		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 440
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Mara Solis	SYNDICATE NO. 5 ADDITION LOT 3	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-24-0202
1410 Sherburne Ave	BLK 29	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2413		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1410 SHERBURNE AVE *Ward: 4		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$44.80	
			This Payment:	:		\$0.00	
			Current Year 1			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Drian Canada	SYNDICATE NO. 5 ADDITION LOT 4	Street Sweeping - Reside	ential Stree	0.41			
Ryan Senensky 1414 Sherburne Ave	BLK 29	Alley Sweeping	ciitiai Sticc	0.41	40.00	\$4.80	34-29-23-24-0203
St Paul MN 55104-2413		Citywide Street Lighting	<u>r</u>	0.59	40.00	\$23.60	
*1414 SHERBURNE AVE		, , ,	2		=	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***			ψ11.00	
*Pending as of: 8/21/2020			Total Assessm	nent:	-	\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Luann K Schowalter	SYNDICATE NO. 5 ADDITION LOT 5	Street Sweeping - Reside	ential Stree	0.41		<u>\$16.40</u>	
1418 Sherburne Ave	BLK 29	Alley Sweeping	chilai Stree	0.12	40.00	\$4.80	34-29-23-24-0204
St Paul MN 55104-2413		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1418 SHERBURNE AVE		,			_	\$44.80	
*Ward: 4		*** Owner and Taxpaye	er ***			ψσ	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by				Assmt: 200025	Manager: LM	Page 441
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Asad Al-Ghalith	SYNDICATE NO. 5 ADDITION LOT 6	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0205
1424 Sherburne Ave	BLK 29	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-2413		Citywide Street Lighting		0.59	40.00	\$23.60	
*1422 SHERBURNE AVE *Ward: 4		*** Owner and Taxpayer	***			\$44.80	
*Pending as of: 8/21/2020			Γotal Assessmen	nt:	-	\$44.80	
		Т	Γhis Payment:			\$0.00	
		C	Current Year Pri	ncipal:		\$0.00	
		C	Current Year Inte	erest:		\$0.00	
		P	Payoff Amount:	:		\$44.80	
Ashley Rae Lynn Peterson	SYNDICATE NO. 5 ADDITION LOT 9 BLK 29	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	34-29-23-24-0208
Bradley Taylor Burnett	BLK 27	Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60	
1434 Sherburne Ave		Citywide Street Lighting		0.39	40.00		
St Paul MN 55104-2413		*** Owner and Taxpayer	***			\$44.80	
*1434 SHERBURNE AVE		- Owner and Taxpayer					
*Ward: 4			Γotal Assessmen	nt:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pri	-		\$0.00	
			Current Year Into			\$0.00 <b>\$44.80</b>	
		P	Payoff Amount:				
	SYNDICATE NO. 5 ADDITION EX	Street Sweeping - Comme	ercial/Art	—— <sub>1.07</sub>	80.00		34-29-23-24-0216
2331 Copperfield Dr	PART LYING W OF FOL DESC L; BEG	Alley Sweeping		0.12	78.00	\$9.36	34-29-23-24-0210
St Paul MN 55120-1907	ON N L OF & 2.57 FT E OF NW COR TH RUN SLY TO PT ON S L OF & 2.65 FT E	Citywide Street Lighting		0.59	80.00	\$47.20	
*1449 UNIVERSITY AVE W	OF SW COR & THERE TERM; LOT 17 &	University/Emerald to Ric	ee ASL	1.22	80.00	\$97.60	
*Ward: 4	ALL OF LOT 18 & BEG AT SW COR OF					\$239.76	
*Pending as of: 8/21/2020		*** Owner and Taxpayer	***		_		
			Γotal Assessmen	nt:		\$239.76 \$0.00	
			This Payment:				
			Current Year Principal:			\$0.00	
			Current Year Into			\$0.00	
		P	Payoff Amount:	:		\$239.76	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		oject: 2020SMSP solution #:	Assmt: 200025	Manager: LM	Page 44
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Thomas Ultan Duggan	SYNDICATE NO. 5 ADDITION EX BEG	Street Sweeping - Commercia		37.00	\$39.59	34-29-23-24-0217
2331 Copperfield Dr	AT SW COR OF LOT 19 TH N ON W L TO PT 26 18/100 FT S FROM NW COR	Alley Sweeping	0.12	37.00	\$4.44	
Mendota Heights MN 55120-1907	THEREOF THE 2 47/100 FT TH SLY	Citywide Street Lighting	0.59	37.00	\$21.83	
*1445 UNIVERSITY AVE W	TO PT ON S L OF AND 2 69/100 FT FROM SW COR OF SD LOT TH W TO	University/Emerald to Rice A	ASL 1.22	37.00	\$45.14	
*Ward: 4	FROM SW COR OF SD LOT TH W TO	*** Owner and Taxpayer ***	•		\$111.00	
*Pending as of: 8/21/2020					0111.00	
			1 Assessment:		\$111.00	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$111.00	
Housing And Redev Auth St Paul	SYNDICATE NO. 5 ADDITION LOT 23	Street Sweeping - Commercia	al/Art 1.07			34-29-23-24-0221
25 4th St W Ste 1100	BLK 29	Alley Sweeping	0.12	40.00	\$4.80	312, 20 21 0221
St Paul MN 55102-1634		Citywide Street Lighting	0.59	40.00	\$23.60	
*1433 UNIVERSITY AVE W		University/Emerald to Rice A	SL 1.22	40.00	\$48.80	
*Ward: 4					\$120.00	
*Pending as of: 8/21/2020		*** Owner and Taxpayer ***	•		<b>4-2-0.00</b>	
		Tota	l Assessment:	\$120.00		
		This	Payment:	\$0.00		
		Curr	ent Year Principal:	\$0.00		
		Curi		\$0.00		
		Pay	off Amount:	\$120.00		
	GVAIDICATE NO. 5 ADDITION BY W.20	Street Sweeping Commonic				
1668 Selby Llc	SYNDICATE NO. 5 ADDITION EX W 20 FT; LOT 2 & ALL OF LOT 1 BLK 19	Street Sweeping - Commercial Street Sweeping - Residential		59.00	\$24.19	34-29-23-24-0227
1564 Selby Ave Ste 9 St Paul MN 55104-6337		Alley Sweeping	0.12	59.00	\$7.08	
		Citywide Street Lighting	0.59	182.00	\$107.38	
*1340 THOMAS AVE *Ward: 4		,		=	\$270.26	
*Pending as of: 8/21/2020		*** Owner and Taxpayer ***	•		Ψ270.20	
		Tota	l Assessment:		\$270.26	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Pay	off Amount:		\$270.26	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 444
Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Krebsbach Properties 5353 Wayzata Blvd Ste 650 Minneapolis MN 55416-1349 *1389 UNIVERSITY AVE W *Ward: 4 *Pending as of: 8/21/2020	Vac Ave Accruing And Fol; Ex E 24 Ft; Lot 26 & All Of Lots 16 Thru 25 Blk 30	Street Sweeping - Communication Street Sweeping - Residual Street Sweeping Citywide Street Lightin University/Emerald to I	lential Stree	1.07 0.41 0.12 0.59 1.22	416.00 125.00 416.00 541.00 416.00	\$445.12 \$51.25 \$49.92 \$319.19 \$507.52	34-29-23-24-0236
reliding as of. 8/21/2020		*** Owner and Taxpay	er ***			ψ1,5 / 5.00°	
			Total Assess This Paymer Current Year Current Year Payoff Amo	it: Principal: Interest:		\$1,373.00 \$0.00 \$0.00 \$0.00 \$1,373.00	
Kraus Anderson Incorporated 501 S 8th St Minneapolis MN 55404-1050 *1450 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	SUBJ TO ST & ESMTS; PART OF LOTS 9,10,18 & 19 DESC AS COM AT INT OF EL OF W 30 FT OF NE 1/4 OF SW 1/4 OF SEC 34 TN 29 RN 23 & NL OF HWY 94 TH N ON SD EL 616.09 FT TO PT OF BEG TH E 125.11 FT TH N 72 DEG 08	Street Sweeping - Comm Citywide Street Lightin University/Emerald to I	g Rice ASL	it: Principal: Interest:	1,257.00 1,257.00 686.00	\$1,344.99 \$741.63 \$836.92 \$2,923.54 \$2,923.54 \$0.00 \$0.00 \$0.00 \$2,923.54	34-29-23-31-0016

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 44
Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Kraus Anderson Incorporated 501 S 8th St	SUBJ TO ST & ESMT; THE FOL PART OF VAC J F EISENMENGERS 2ND ADD & IN SD KITTSONDALE BEING AUD	Street Sweeping - Cor Citywide Street Light		1.07	1,017.00 1,017.00	\$1,088.19 \$600.03	34-29-23-31-0021
Minneapolis MN 55404-1050 *1440 UNIVERSITY AVE W	SUB NO.27 PART OF LOTS 17,18 & 19 DESC AS BEG AT INT OF EL OF W 30	*** Owner ***			<del>-</del>	\$1,688.22	
*Ward: 1	FT OF NE 1/4 OF SW 1/4 OF SEC 34 TN		Total Assessi	ment:	-	\$1,688.22	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$1,688.22	
Super Valu	SUBJ TO ST & ESMT; THE FOL PART	*** Taxpayer and 3rd	Party ***				34-29-23-31-0021
Co Real Estate Tax	OF VAC J F EISENMENGERS 2ND ADD & IN SD KITTSONDALE BEING AUD		Total Assessi	ment:	-	\$1,688.22	
11840 Valley View Rd	SUB NO.27 PART OF LOTS 17,18 & 19		This Paymen	t:		\$0.00	
Eden Prairie MN 55344-3643	DESC AS BEG AT INT OF EL OF W 30 FT OF NE 1/4 OF SW 1/4 OF SEC 34 TN		Current Year			\$0.00	
*1440 UNIVERSITY AVE W	THO INE DATOR SWITT OF SEC 34 IN		Current Year	Interest:		\$0.00	
*Ward: 1 *Pending as of: 8/21/2020			Payoff Amou	ınt:		\$1,688.22	
Bonstores Realty One Llc 2801 Market St E	BOHN'S REARRANGEMENT SUBJ TO RD; PART OF LOT 5 DESC AS BEG AT NE COR SD LOT TH S ON EL OF LOT 5	Street Sweeping - Cor Citywide Street Light		1.07 0.59	13.00 13.00	\$13.91 \$7.67	— <u>— — — — — — — — — — — — — — — — — — </u>
York PA 17402-2406 *1400 UNIVERSITY AVE W	13.16 FT TH W 26.46 FT TO NWLY LINE SD LOT TH NELY ON SD NWLY LINE	*** Owner and Taxpayer ***				\$21.58	
*Ward: 1	TO BEG		Total Assessi	ment:		\$21.58	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amou			\$21.58	
Bt Realty Acquisition Llc	BOHN'S REARRANGEMENT EX PT OF	Street Sweeping - Cor	— — — – mmercial/Art	1.07	165.00		
C/O Rd Management Llc	LOTS 9 & 10 DESC AS COM AT THE	Citywide Street Light	ing	0.59	165.00	\$97.35	
310 7th Ave Flr 10	INTER OF W 31 FT AND THE S L OF THE N 60 FT OF THE NE 1/4 OF THE				_	\$273.90	
New York NY 10019-5887	SW 1/4 OF SEC 34 TN 29 RN 23 THEN S	*** Owner and Taxpa	ayer ***				
*1400 UNIVERSITY AVE W	19 FT THEN S 444 DEG 43 MIN 30 SEC		Total Assessi	ment:		\$273.90	
Ward: 1			This Paymen			\$273.90	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amou			\$273.90	
			i ayon Amot	ant.		<b>\$473.70</b>	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 446
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
City Of St Paul	FLANNERY ADDITION LOT 1 BLK 1	Street Sweeping - Con		1.07	340.00	\$363.80	34-29-23-31-0028
25 4th St W Rm 1000		Citywide Street Lighti	ng	0.59	340.00	\$200.60	***EXEMPT***
St Paul MN 55102-1692		444.0 177	ale ale ale			\$564.40	
*389 HAMLINE AVE N		*** Owner and Taxpa	yer ***				
*Ward: 1			Total Assess	ment:		\$564.40	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$564.40	
Ga And J Properties Llc	FLANNERY ADDITION THAT PART	Street Sweeping - Con	mmercial/Art				34-29-23-31-0030
1375 St Anthony Ave	OF LOT 2 BLK 1 IN T.I.135 0	Citywide Street Lighti	ng	0.59	183.00	\$107.97	0.27 20 01 0000
St Paul MN 55104-4022						\$303.78	
*1375 ST ANTHONY AVE		*** Owner and Taxpa	yer ***				
*Ward: 1			Total Assess	ment:	-	\$303.78	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$303.78	
Rd Parent Investors Llc	Subj To Aves And Esmts The W 270 Ft Of	Street Sweeping - Con					
Co Rd Management Llc	N 260 Ft Of Sw 1/4 Of Sec 34 Tn 29 Rn 23	Citywide Street Lighti		0.59	420.00	\$247.80	34-29-23-32-0001
810 7th Ave Fl 10		University/Emerald to	-	1.22	220.00	\$268.40	
New York NY 10019-5818		Snelling/Hague to Tay	lor ASL	1.19	200.00	\$238.00	
*1578 UNIVERSITY AVE W						\$1,203.60	
*Ward: 1		*** Owner and Taxpa	yer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$1,203.60	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$1,203.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	Quantity	Charge Amts	Property ID
Rk Midway Shopping Center Llc	MIDWAY SHOPPING CENTER LOT 2	Street Sweeping - Comm	nercial/Art	1.07	75.00	\$80.25	34-29-23-32-0005
Co Rd Management Corp	BLK 1	Citywide Street Lighting		0.59	75.00	\$44.25	
810 7th Ave		University/Emerald to R	Rice ASL	1.22	75.00	\$91.50	
New York NY 10019-5876					<del></del>	\$216.00	
*1544 UNIVERSITY AVE W		*** Owner and Taxpaye	er *** 				
*Ward: 1			Total Assessm	nent:		\$216.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$216.00	
Rk Midway Shopping Center Llc	MIDWAY SHOPPING CENTER LOT 3	Street Sweeping - Comm	mercial/Art		<del></del>		<u> </u>
Co Rd Management Corp	BLK 1	Citywide Street Lighting		0.59	78.00	\$46.02	34-27-23-32-0000
810 7th Ave		University/Emerald to R		1.22	78.00	\$95.16	
New York NY 10019-5876						\$224.64	
*1532 UNIVERSITY AVE W		*** Owner and Taxpaye	er ***			<del></del>	
*Ward: 1		Total Assessment:				\$224.64	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amount:				
					— — — -		
Rk Midway Shopping Center Llc	Subj To Rd; Lot 1 Blk 1	Street Sweeping - Comm		1.07	242.00	\$258.94	34-29-23-32-0009
Co Rd Management Corp		Citywide Street Lighting		0.59	242.00	\$142.78	
810 7th Ave		University/Emerald to R	tice ASL	1.22	242.00	\$295.24	
New York NY 10019-5876		*** 0 17	4.4.4			\$696.96	
*1570 UNIVERSITY AVE W		*** Owner and Taxpaye	er *** 				
*Ward: 1			Total Assessm			\$696.96	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$696.96	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 44	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	Quantity	Charge Amts	<b>Property ID</b>	
Rd Management Corporation Attn Virginia Ausburn 810 Seventh Ave 10th Fl New York NY 10019-5876	Lot 1 Block 1 of MLS SOCCER REDEVELOPMENT LOT 1 BLK 1	Street Sweeping - Co Street Sweeping - Re Citywide Street Ligh Snelling/Hague to Ta	esidential Stree ting	1.07 0.41 0.59 1.19	130.00 358.00 488.00 130.00	\$139.10 \$146.78 \$287.92 \$154.70	34-29-23-32-0013	
*0 UNIVERSITY AVE W *Ward: 1		*** Taxpayer and 3rd	d Party ***		<del></del>	\$728.50		
*Pending as of: 8/21/2020			Total Assess This Payme: Current Yea Current Yea Payoff Amo	nt: r Principal: r Interest:		\$728.50 \$0.00 \$0.00 \$0.00 \$728.50		
Rk University Midway Llc	Lot 1 Block 1 of MLS SOCCER		— — —	ount: 				
Co Rd Management Llc 810 7th Ave New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	t Llc REDEVELOPMENT LOT 1 BLK 1  19-5876  TY AVE W		Total Assess This Payme: Current Yea Current Yea Payoff Amo	nt: r Principal: r Interest:	\$728.50 \$0.00 \$0.00 \$0.00 \$728.50			
Rd Management Corporation Attn Virginia Ausburn 810 Seventh Ave 10th Fl New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1	Lot 1 Block 2 of MLS SOCCER REDEVELOPMENT LOT 1 BLK 2	Street Sweeping - Co Street Sweeping - Re Citywide Street Ligh Snelling/Hague to Ta	sidential Stree ting aylor ASL	1.07 0.41 0.59 1.19	239.00 255.00 494.00 200.00	\$255.73 \$104.55 \$291.46 \$238.00 \$889.74	34-29-23-32-0014	
*Pending as of: 8/21/2020		. ,	Total Assess This Paymer Current Yea Current Yea Payoff Amo	nt: or Principal: or Interest:		\$889.74 \$0.00 \$0.00 \$0.00 \$889.74		
Rk University Midway Llc Co Rd Management Llc	Lot 1 Block 2 of MLS SOCCER REDEVELOPMENT	*** Owner ***				#000 74	34-29-23-32-0014	
810 7th Ave New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	LOT 1 BLK 2		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$889.74 \$0.00 \$0.00 \$0.00 \$889.74		

10:02:50 11/16/2020	Public Improvement Assessment Rol	ll by PID (Fee to Asmt) Ratification Date:	Project: 2 Resolution		Assmt: 200025	Manager: LM	Page 44
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Rd Management Corporation Attn Virginia Ausburn 810 Seventh Ave 10th Fl New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	Lot 2 Block 2 of MLS SOCCER REDEVELOPMENT LOT 2 BLK 2	Street Sweeping - Cor Street Sweeping - Res Citywide Street Lighti University/Emerald to	idential Stree ing Party ***  Total Assess This Payme Current Yea Current Yea	1.07 0.41 0.59 1.22 sment: nt: r Principal: r Interest:	581.00 691.00 1,272.00 581.00	\$621.67 \$283.31 \$750.48 \$708.82 \$2,364.28 \$2,364.28 \$0.00 \$0.00 \$0.00 \$2,364.28	34-29-23-32-0015
Rk Midway Shopping Center Llc Co Rd Management Corp 810 7th Ave New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	Lot 2 Block 2 of MLS SOCCER REDEVELOPMENT LOT 2 BLK 2	*** Owner ***	Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$2,364.28 \$0.00 \$0.00 \$0.00 \$2,364.28	34-29-23-32-0015
Midway Lot 5 Llc Co Rd Management Llc 810 7th Ave New York NY 10019-5876	Lot 3 Block 2 of MLS SOCCER REDEVELOPMENT LOT 3 BLK 2	Street Sweeping - Cor Citywide Street Lighti	ing	1.07 0.59	138.00 138.00	\$147.66 \$81.42 \$229.08	34-29-23-32-0016
*0 PASCAL ST N *Ward: 1 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:		,	\$229.08 \$0.00 \$0.00 \$0.00 \$229.08	

10:02:50 11/16/2020	Public Improvement Assessment Rol	l by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Midway Lot 5 Llc Co Rd Management Llc	Lot 1 Block 3 of MLS SOCCER REDEVELOPMENT	Street Sweeping - Cor Citywide Street Light		1.07	141.00 141.00	\$150.87 \$83.19	34-29-23-32-0017
310 7th Ave	LOT 1 BLK 3					\$234.06	
New York NY 10019-5876		*** Owner and Taxpa					
0 PASCAL ST N			Total Assessment:			\$234.06	
Ward: 1			This Payment	:		\$0.00	
ding as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$234.06	
	Lot 2 Block 3 of MLS SOCCER	Street Sweeping - Co					
Midway Lot 5 Llc	REDEVELOPMENT	Citywide Street Light		0.59	506.00	\$341.42 \$298.54	34-29-23-32-0018
Co Rd Management Llc	LOT 2 BLK 3	City wide Street Eight	5	0.57			
New York NY 10019-5876		*** Owner and Taxpa	aver ***			\$839.96	
O PASCAL ST N		owner and range	·		-		
Ward: 1			Total Assessm	\$839.96			
Pending as of: 8/21/2020			This Payment	\$0.00			
1 mang as on 6,21,2020			Current Year	\$0.00			
			Current Year Payoff Amou			\$0.00	
			nt:		\$839.96		
Rd Management Corporation	Lot 1 Block 4 of MLS SOCCER	Street Sweeping - Res	sidential Stree	0.41	491.00	\$201.31	
Attn Virginia Ausburn	REDEVELOPMENT LOT 1 BLK 4	Citywide Street Light	ing	0.59	491.00	\$289.69	
10 Seventh Ave 10th Fl	2011224					\$491.00	
Iew York NY 10019-5876		*** Taxpayer and 3rd	l Party ***				
0 UNIVERSITY AVE W			Total Assessm	nent:		\$491.00	
Ward: 1			This Payment	:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$491.00	
Rk Midway Shopping Center Llc	Lot 1 Block 4 of MLS SOCCER REDEVELOPMENT	*** Owner ***					34-29-23-32-0019
310 7th Ave	LOT 1 BLK 4		Total Assessn			\$491.00	
lew York NY 10019-5876			This Payment			\$0.00	
0 UNIVERSITY AVE W			Current Year	_		\$0.00	
Ward: 1			Current Year			\$0.00	
* Waru. 1 *Pending as of: 8/21/2020			Payoff Amou	nt:		\$491.00	

\*Pending as of: 8/21/2020

10:02:50 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt) Ratification Date:	Project: 2 Resolution		Assmt: 200025	Manager: LM	Page 451
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Rd Management Corporation Attn Virginia Ausburn	Lot OUTLOT A of MLS SOCCER REDEVELOPMENT OUTLOT A	Street Sweeping - Resi Citywide Street Lightin		0.41 0.59	746.00 746.00	\$305.86 \$440.14	34-29-23-32-0020
810 Seventh Ave 10th Fl New York NY 10019-5876	00.201.1	*** Taxpayer and 3rd	Party ***		_	\$746.00	
* <b>0 UNIVERSITY AVE W</b> *Ward: 1 *Pending as of: 8/21/2020			Total Assess This Paymer Current Yea Current Yea Payoff Amo	nt: r Principal: r Interest:		\$746.00 \$0.00 \$0.00 \$0.00 \$746.00	
Rk Midway Shopping Center Llc Co Rd Management Corp 810 7th Ave New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	Lot OUTLOT A of MLS SOCCER REDEVELOPMENT OUTLOT A	*** Owner ***	Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$746.00 \$0.00 \$0.00 \$0.00 \$746.00	34-29-23-32-0020
Midway Lot 5 Llc Co Rd Management Llc 810 7th Ave New York NY 10019-5876	Lot OUTLOT B of MLS SOCCER REDEVELOPMENT OUTLOT B	Street Sweeping - Resi Citywide Street Lightin	ng	0.41 0.59	100.00	\$41.00 \$59.00 \$100.00	34-29-23-32-0021
*0 PASCAL ST N *Ward: 1 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:		,	\$100.00 \$0.00 \$0.00 \$0.00 \$100.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 452
Owner or Taxpayer	<b>Property Description</b>	Item Description		Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Rd Management Corporation Attn Virginia Ausburn	Lot OUTLOT C of MLS SOCCER REDEVELOPMENT OUTLOT C	Street Sweeping - Res Citywide Street Light		0.41 0.59	521.00 521.00	\$213.61 \$307.39	34-29-23-32-0022
810 Seventh Ave 10th Fl New York NY 10019-5876	ocilore	*** Taxpayer and 3rd	*** Taxpayer and 3rd Party ***				
*0 UNIVERSITY AVE W  *Ward: 1  *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$521.00 \$0.00 \$0.00 \$0.00 \$521.00	
Rk Midway Shopping Center Llc Co Rd Management Corp 810 7th Ave New York NY 10019-5876 *0 UNIVERSITY AVE W *Ward: 1 *Pending as of: 8/21/2020	Lot OUTLOT C of MLS SOCCER REDEVELOPMENT OUTLOT C	*** Owner ***	Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$521.00 \$0.00 \$0.00 \$0.00 \$521.00	34-29-23-32-0022
Richard T Himebaugh 1470 Concordia Ave St Paul MN 55104-5310 *1470 CONCORDIA AVE *Ward: 1	MACALESTER VIEW ADDITION TO THE CITY OF ST. PAUL E 1 5/10 FT OF LOT 3 AND ALL OF LOT 2 BLK 2	Street Sweeping - Con Alley Sweeping Citywide Street Light	ing	1.07 0.12 0.59	42.00 42.00 42.00 42.00	\$44.94 \$5.04 \$24.78 \$74.76	34-29-23-33-0002
*Pending as of: 8/21/2020		·	Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$74.76 \$0.00 \$0.00 \$0.00 \$74.76	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Daniel O Sorensen 1482 Concordia Ave	MACALESTER VIEW ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 2	Street Sweeping - Comm		1.07	40.00 40.00	\$42.80 \$4.80	34-29-23-33-0006
St Paul MN 55104-5310		Citywide Street Lighting		0.59	40.00	\$23.60	
*1482 CONCORDIA AVE *Ward: 1		*** Owner and Taxpayer	xpayer ***			\$71.20	
*Pending as of: 8/21/2020		;	Total Assessment:			\$71.20	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
		]	Payoff Amoun	it:		\$71.20	
Karen E Ritz	MACALESTER VIEW ADDITION TO	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	34-29-23-33-0010
1500 Concordia Ave	THE CITY OF ST. PAUL LOT 10 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-5310		Citywide Street Lighting		0.59	40.00	\$23.60	
*1500 CONCORDIA AVE					<del></del>	\$71.20	
*Ward: 1		*** Owner and Taxpayer ***  Total Assessment:					
*Pending as of: 8/21/2020						\$71.20	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
		•	Current Year Ir	nterest:		\$0.00	
		1	Payoff Amoun	t:		\$71.20	
Anthony Strouth	MACALESTER VIEW ADDITION TO	Street Sweeping - Comm	ercial/Art	1.07	33.00		34-29-23-33-0013
2304 Marshbrook Dr	THE CITY OF ST. PAUL W 4 63/100 FT	Alley Sweeping		0.12	33.00	\$3.96	34-27-23-33-0013
Mckinney TX 75071-2586	OF LOT 12 AND E 28 37/100 FT OF LOT 13 BLK 2	Citywide Street Lighting		0.59	33.00	\$19.47	
*1510 CONCORDIA AVE						\$58.74	
*Ward: 1		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$58.74	
			This Payment:			\$0.00	
		(	Current Year P	rincipal:		\$0.00	
			Current Year Ir			\$0.00	
		]	Payoff Amoun	it:		\$58.74	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 45
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Zachary Bailey	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	34-29-23-33-0015
515 6th St Ne	ST. PAUL, RAMSEY COUNTY, MINN. LOT 6 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
Staples MN 56479-2359	LOI OBLK I	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1518 CONCORDIA AVE					_	\$71.20	
*Ward: 1		*** Owner and Taxpaye	er ***		_		
*Pending as of: 8/21/2020			Total Assessm	nent:		\$71.20	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$71.20	
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Comn	nercial/Art			<del>\$42.80</del> —	<u> </u>
1520 Concordia Ave	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping		0.12	40.00	\$4.80	51 25 25 0010
St Paul MN 55104-5310	LOT 5 BLK 1	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1520 CONCORDIA AVE					_	\$71.20	
*Ward: 1		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$71.20	
			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$71.20	
Fair Housing Llc	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Comn	 nercial/Art			<del></del>	
351 Kellogg Blvd E	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping	iiciciaii i iic	0.12	40.00	\$4.80	34-29-23-33-0018
St Paul MN 55101-1411	LOT 3 BLK 1	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1530 CONCORDIA AVE						\$71.20	
*Ward: 1		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:	=	\$71.20	
			This Payment:	:		\$0.00	
			Current Year Principal: Current Year Interest:				
			Payoff Amou	nt:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	Quantity	Charge Amts	Property ID
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Comm	nercial/Art	1.07	33.00	\$35.31	34-29-23-33-0020
2038 Ford Pkwy Ste 333	ST. PAUL, RAMSEY COUNTY, MINN. E 1/2 OF LOT 1 BLK 1	Alley Sweeping		0.12	33.00	\$3.96	
St Paul MN 55116-1931	1/2 OF EOT I BEK I	Citywide Street Lighting	5	0.59	9 33.00	\$19.47	
*1536 CONCORDIA AVE *Ward: 1		*** Owner and Taxpaye	d Taxnaver ***			\$58.74	
*Pending as of: 8/21/2020			Total Assessm	ent:		\$58.74	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$58.74	
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			
1541 Carroll Ave	ST. PAUL, RAMSEY COUNTY, MINN. E	Alley Sweeping		0.12	38.00	\$4.56	34-27-23-33-0022
St Paul MN 55104-5303	5 FT OF ASBURY AVE VAC ADJ AND W 1/2 OF LOT 12 BLK 1	Citywide Street Lighting	<u> </u>	0.59	86.50	\$51.04	
*1541 CARROLL AVE	W 1/2 OF EOT 12 BER 1				_	\$91.07	
*Ward: 1		*** Owner and Taxpaye	er ***			42 - 147	
*Pending as of: 8/21/2020			Total Assessment:				
					\$0.00		
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$91.07	
Michael B Johnson	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41		<u>\$13.53</u>	<u> </u>
1539 Carroll Ave	ST. PAUL, RAMSEY COUNTY, MINN. E	Alley Sweeping	21.C.	0.12	33.00	\$3.96	34-29-23-33-0023
St Paul MN 55104-5303	1/2 OF LOT 12 BLK 1	Citywide Street Lighting	7	0.59	33.00	\$19.47	
*1539 CARROLL AVE					_	\$36.96	
*Ward: 1		*** Owner and Taxpaye	er ***			45.00	
*Pending as of: 8/21/2020			Total Assessm		=	\$36.96	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	ıt:		\$36.96	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 456
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Brian L Hasenmueller	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	34-29-23-33-0026
1525 Carroll Ave	ST. PAUL, RAMSEY COUNTY, MINN. LOT 9 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-5303	2017 2211	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1525 CARROLL AVE						\$44.80	
*Ward: 1		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	sment:		\$44.80	
			This Paymer	nt:		\$0.00	
			Current Yea	-		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$44.80	
Wal Holdings Llc	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Streε	0.41	40.00	\$16.40	34-29-23-33-0027
Co Andrew Lohman	ST. PAUL, RAMSEY COUNTY, MINN. LOT 8 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
4900 Heritage Hill Dr	Lot o BLA	Citywide Street Lighting	g	0.59	40.00	\$23.60	
Minneapolis MN 55437-2811						\$44.80	
*1523 CARROLL AVE		*** Taxpayer and 3rd P	arty ***		_		
*Ward: 1			Total Assess	sment:		\$44.80	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$44.80	
William A Lohman	ADAMS ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN.	*** Owner ***					34-29-23-33-0027
1523 Carroll Ave	LOT 8 BLK 1		Total Assess	sment:		\$44.80	
St Paul MN 55104-5303			This Paymer	nt:		\$0.00	
*1523 CARROLL AVE			Current Yea	r Principal:		\$0.00	
*Ward: 1			Current Yea	r Interest:		\$0.00	
*Pending as of: 8/21/2020			Payoff Amo	ount:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020Si Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	61.00	\$25.01	34-29-23-33-0029
20 Ne 157th Ave	THE CITY OF ST. PAUL LOTS C AND	Alley Sweeping		0.12	61.00	\$7.32	
Portland OR 97230-4823	LOT 14 BLK 2	Citywide Street Lighting		0.59	59 61.00	\$35.99	
*1515 CARROLL AVE *Ward: 1		*** Owner and Taxpayer	and Taxpaver ***			\$68.32	
*Pending as of: 8/21/2020			Total Assessment	t:		\$68.32	
		7	This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		I	Payoff Amount:			\$68.32	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41		\$20.50	
Melanie Mueller	THE CITY OF ST. PAUL W 10 FT OF	Alley Sweeping		0.12	50.00	\$6.00	34-27-23-33-0030
1469 Carroll Ave	LOT 26 AND ALL OF LOT 25 BLK 2	Citywide Street Lighting		0.59	50.00	\$29.50	
St Paul MN 55104-5303					=	\$56.00	
*1467 CARROLL AVE		*** Owner and Taxpayer	. ***				
*Ward: 1		7	Total Assessment	t:		\$56.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
		(	Current Year Inte	erest:		\$0.00	
		1	Payoff Amount:			\$56.00	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	40.00		<u> </u>
1468 Carroll Ave	THE CITY OF ST. PAUL LOT 2 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-33-0041
St Paul MN 55104-5304		Citywide Street Lighting		0.59	40.00	\$23.60	
*1468 CARROLL AVE					_	\$44.80	
*Ward: 1		*** Owner and Taxpayer	. ***				
Pending as of: 8/21/2020			Total Assessment	t:		\$44.80	
			This Payment:			\$0.00	
			Current Year Prir			\$0.00	
			Current Year Inte			\$0.00	
		I	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 45
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>!</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Sean M Mulyck	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	80.00	\$32.80	34-29-23-33-0046
1494 Carroll Ave	THE CITY OF ST. PAUL LOTS 8 & LOT 9 BLK 3	Alley Sweeping		0.12	80.00	\$9.60	
St Paul MN 55104-5304	9 BLK 3	Citywide Street Lighting		0.59	80.00	\$47.20	
*1494 CARROLL AVE					_	\$89.60	
*Ward: 1		*** Owner and Taxpayer	r *** 				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$89.60	
		,	This Payment:			\$0.00	
		1	Current Year Pa	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$89.60	
Pac Investments Properties Inc	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ential Stree	0.41			<u> </u>
1924 Biscayne Blvd	THE CITY OF ST. PAUL LOT 12 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	0.125 20 00 00.5
Navarre FL 32566-2925		Citywide Street Lighting		0.59	40.00	\$23.60	
*1510 CARROLL AVE						\$44.80	
*Ward: 1		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:			\$0.00	
			Current Year Pa	rincipal:		\$0.00	
		1	Current Year Interest:				
			Payoff Amount:			\$44.80	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ential Stree	0.41		<u> </u>	<u>34-29-23-33-0050</u>
1514 Carroll Ave	THE CITY OF ST. PAUL LOT 13 BLK 3	Alley Sweeping		0.12	55.00	\$6.60	5 1 25 25 0030
St Paul MN 55104-5304		Citywide Street Lighting		0.59	55.00	\$32.45	
*1514 CARROLL AVE						\$61.60	
*Ward: 1		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		·	Total Assessme	ent:		\$61.60	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$61.60	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 45	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>]</u>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Timothy P Mangan	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	6.00	\$2.46	34-29-23-33-0051	
1511 Iglehart Ave 2nd Flr	THE CITY OF ST. PAUL LOT D BLK 3	Alley Sweeping		0.12	2 6.00	\$0.72		
St Paul MN 55104-5315		Citywide Street Lighting	5	0.59	6.00	\$3.54		
*1516 CARROLL AVE *Ward: 1		*** Owner and Taxpaye	xpayer ***			\$6.72		
*Pending as of: 8/21/2020			Total Assessment:			\$6.72		
			This Payment:			\$0.00		
			Current Year Pr	rincipal:	\$0.00			
			Current Year In	nterest:		\$0.00		
			Payoff Amoun	t:		\$6.72		
Nettie C Vinsonhaler	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree				<u> </u>	
1520 Carroll Ave	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping	211 <b>21</b>	0.12	40.00	\$4.80	34-29-23-33-0032	
St Paul MN 55104-5304	LOT 6 BLK 2	Citywide Street Lighting	ţ	0.59	40.00	\$23.60		
*1520 CARROLL AVE		, ,				\$44.80		
*Ward: 1		*** Owner and Taxpaye	r ***	ψ11.00				
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$44.80		
			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
		Current Year Interest:				\$0.00		
			Payoff Amount:			\$44.80		
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			<u> </u>	
Hailey E Potter	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping		0.12	40.00	\$4.80	3 <del>1-2</del> /-23-33-003 <del>1</del>	
1528 Carroll Ave	LOT 4 BLK 2	Citywide Street Lighting	5	0.59	40.00	\$23.60		
St Paul MN 55104-5304					<u> </u>	\$44.80		
*1528 CARROLL AVE		*** Owner and Taxpayer	r ***					
*Ward: 1			Total Assessment:			\$44.80		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year Pr	•		\$0.00		
			Current Year In			\$0.00 <b>\$44.80</b>		
			Payoff Amount:					

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 460	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	1	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Louis Elmer Grittner	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	81.00	\$33.21	34-29-23-33-0059	
1539 Iglehart Ave	ST. PAUL, RAMSEY COUNTY, MINN. E 5 FT OF ASBURY AVE VAC ADJ AND	Alley Sweeping		0.12	38.00	\$4.56		
St Paul MN 55104-5315	W 1/2 OF LOT 12 BLK 2	Citywide Street Lighting	5	0.59	81.00	\$47.79		
*1539 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer ***				\$85.56		
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$85.56		
			This Payment:			\$0.00		
			Current Year P	rincipal:		\$0.00		
			Current Year Interest:			\$0.00		
			Payoff Amoun	it:		\$85.56		
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41			34-29-23-33-0060	
1535 Iglehart Ave	ST. PAUL, RAMSEY COUNTY, MINN. E	Alley Sweeping		0.12	33.00	\$3.96	2. 23 26 66 0000	
St Paul MN 55104-5315	1/2 OF LOT 12 BLK 2	Citywide Street Lighting	<u> </u>	0.59	33.00	\$19.47		
*1535 IGLEHART AVE						\$36.96		
*Ward: 1		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessment:			\$36.96		
			This Payment:			\$0.00		
			Current Year P	_		\$0.00		
		Current Year Interest: Payoff Amount:				\$0.00		
						\$36.96		
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41		<u>\$16.40</u>	34-29-23-33-0061	
1533 Iglehart Ave	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping		0.12	40.00	\$4.80	0. 23 20 00 0001	
St Paul MN 55104-5315	LOT 11 BLK 2	Citywide Street Lighting	5	0.59	40.00	\$23.60		
*1533 IGLEHART AVE						\$44.80		
*Ward: 1		*** Owner and Taxpaye	r ***					
*Pending as of: 8/21/2020			Total Assessment:			\$44.80		
			This Payment:			\$0.00		
			Current Year Principal:			\$0.00		
		Current Year Interest:				\$0.00		
		Payoff Amount:				\$44.80		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 461	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U1</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Meredith Marie Peterson 3809 71st St E Inver Grove Heights MN 55076-2614	ADAMS ADDITION TO THE CITY OF Street Sweeping - ST. PAUL, RAMSEY COUNTY, MINN. LOT 10 BLK 2  Citywide Street L			0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-33-0062	
*1529 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer	***		<u> </u>	\$44.80		
*Pending as of: 8/21/2020		- 1	Total Assessmen	t:		\$44.80		
			This Payment:			\$0.00		
			Current Year Prin	•		\$0.00		
			Current Year Inte			\$0.00		
		1	Payoff Amount:			\$44.80		
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-33-0064	
C/O Saran Kellener	ST. PAUL, RAMSEY COUNTY, MINN. LOT 8 BLK 2	Alley Sweeping		0.12	40.00	\$4.80		
3 Dairy Farm Ln		Citywide Street Lighting		0.59	40.00	\$23.60		
Lambertville NJ 08530-3526						\$44.80		
*1521 IGLEHART AVE		*** Owner and Taxpayer	***		_			
*Ward: 1			Total Assessmen	\$44.80				
*Pending as of: 8/21/2020		7	Γhis Payment:			\$0.00		
		(	Current Year Principal:					
			Current Year Interest:			\$0.00		
		1	Payoff Amount:			\$44.80		
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	<u> </u>		34-29-23-33-0066	
Ana New York	THE CITY OF ST. PAUL LOTS E AND	Alley Sweeping		0.12	61.00	\$7.32		
1511 Iglehart Ave	LOT 14 BLK 3	Citywide Street Lighting		0.59	61.00	\$35.99		
St Paul MN 55104-5315					<del></del>	\$68.32		
*1511 IGLEHART AVE		*** Owner and Taxpayer	***					
*Ward: 1			Total Assessmen	t:		\$68.32		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year Principal:			\$0.00		
			Current Year Inte			\$0.00		
		]	Payoff Amount:			\$68.32		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 46
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Linda K Lingen 1507 Iglehart Ave St Paul MN 55104-5315	MACALESTER VIEW ADDITION TO THE CITY OF ST. PAUL LOT 15 BLK 3	Street Sweeping - Resider Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-33-0067
*1507 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer	and Taxpayer ***		_	\$44.80	
*Pending as of: 8/21/2020		-	Total Assessme	nt:	-	\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
		1	Payoff Amount	t:		\$44.80	
Paul Joseph Fuller	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	34-29-23-33-0070
1495 Iglehart Ave	THE CITY OF ST. PAUL LOT 18 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-5315		Citywide Street Lighting		0.59	40.00	\$23.60	
*1495 IGLEHART AVE					<del></del>	\$44.80	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment:			\$0.00	
		(	Current Year Pr	rincipal:		\$0.00	
		(	Current Year In	terest:		\$0.00	
		1	Payoff Amount:			\$44.80	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Residen	ntial Stree	0.41	40.00		34-29-23-33-0074
1479 Iglehart Ave	THE CITY OF ST. PAUL LOT 22 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	01292000071
St Paul MN 55104-5315		Citywide Street Lighting		0.59	40.00	\$23.60	
*1479 IGLEHART AVE						\$44.80	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		-	Total Assessment: This Payment:		<u>.</u>	\$44.80	
		5				\$0.00	
		(	Current Year Pr	incipal:		\$0.00	
		(	Current Year In	terest:		\$0.00	
		1	Payoff Amount	t:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Philip F Martinson 1471 Iglehart Ave St Paul MN 55104-5315	MACALESTER VIEW ADDITION TO THE CITY OF ST. PAUL SUBJ TO ESMTS; LOT 24 BLK 3	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-33-0076
*1471 IGLEHART AVE *Ward: 1		*** Owner and Taxpaye	ayer ***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:	\$0.00		
			Current Year I	nterest:		\$0.00	
			Payoff Amour	ıt:		\$44.80	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	87.00	\$35.67	<u> </u>
461 Iglehart Ave THE CITY OF ST. PAUL E 50 FT OF LOT 26 BLK 3  t Paul MN 55104-5315	Alley Sweeping		0.12	50.00	\$6.00		
	LOT 20 BLK 3	Citywide Street Lighting	;	0.59	87.00	\$51.33	
*1461 IGLEHART AVE					<del></del>	\$93.00	
*Ward: 1		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$93.00	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year Interest:				
			Payoff Amount:			\$93.00	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	83.00		34-29-23-33-0079
1462 Iglehart Ave	THE CITY OF ST. PAUL E 50 FT OF	Alley Sweeping		0.12	50.00	\$6.00	0.29 20 00 0079
St Paul MN 55104-5316	LOT 1 BLK 4	Citywide Street Lighting	5	0.59	83.00	\$48.97	
*1462 IGLEHART AVE					_	\$89.00	
*Ward: 1		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessment:			\$89.00	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year Interest:				
			Payoff Amour	ıt:		\$89.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020Si Resolution #:	MSP	Assmt: 200025	Manager: LM	Page 46
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U1</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
Richard W Gulbronson	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ntial Stree	0.41	40.00	\$16.40	34-29-23-33-0086
1490 Iglehart Ave	THE CITY OF ST. PAUL LOT 8 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-5316		Citywide Street Lighting		0.59	40.00	\$23.60	
*1490 IGLEHART AVE						\$44.80	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		•	Total Assessment	t:		\$44.80	
		,	This Payment:			\$0.00	
		(	Current Year Prir	ncipal:		\$0.00	
			Current Year Inte			\$0.00	
		1	Payoff Amount:			\$44.80	
Jay S Franklin	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ntial Stree	0.41			
1492 Iglehart Ave	THE CITY OF ST. PAUL LOT 9 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	0.23 20 00 000.
St Paul MN 55104-5316		Citywide Street Lighting		0.59	40.00	\$23.60	
*1492 IGLEHART AVE						\$44.80	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
		•	This Payment:			\$0.00	
		•	Current Year Prir	ncipal:		\$0.00	
		(	Current Year Interest:				
		]	Payoff Amount:			\$44.80	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Reside	ntial Stree	0.41			
1502 Iglehart Ave	THE CITY OF ST. PAUL LOT 11 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-33-0007
St Paul MN 55104-5316		Citywide Street Lighting		0.59	40.00	\$23.60	
*1502 IGLEHART AVE						\$44.80	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		;	Total Assessment	t:		\$44.80	
		,	This Payment:			\$0.00	
		•	Current Year Prir	ncipal:		\$0.00	
			Current Year Inte			\$0.00	
		]	Payoff Amount:			\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 46	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	ntial Stree	0.41	45.00	\$18.45	34-29-23-33-0090	
1506 Iglehart Ave	THE CITY OF ST. PAUL E 5 023/1000 FT OF LOT 13 AND ALL OF LOT 12	Alley Sweeping		0.12	45.00	\$5.40		
St Paul MN 55104-5316	BLK 4	Citywide Street Lighting		0.59	45.00	\$26.55		
*1506 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer	. ***		_	\$50.40		
*Pending as of: 8/21/2020		· · -	Total Assessment:			\$50.40		
		7	This Payment:			\$0.00		
			Current Year Princ	cipal:		\$0.00		
			Current Year Inter	_		\$0.00		
		I	Payoff Amount:			\$50.40		
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resider	 ntial Stree	0.41		\$20.50		
Michael J Scott  Macalester View addition to  The city of St. Paul ex e 5  O23/1000 FT LOT 13 BLK 4		Alley Sweeping	nuai Succ	0.12	50.00	\$6.00	34-29-23-33-0091	
	Citywide Street Lighting		0.59	50.00	\$29.50			
St Paul MN 55104-5316		, ,			=	\$56.00		
*1514 IGLEHART AVE		*** Owner and Taxpayer	. ***			\$30.00		
*Ward: 1		7	Total Assessment:			\$56.00		
*Pending as of: 8/21/2020		7	This Payment:			\$0.00		
		(	Current Year Princ	cipal:		\$0.00		
		(	Current Year Inter	est:		\$0.00		
		I	Payoff Amount:			\$56.00		
	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Resider	 ntial Stree	0.41	46.00			
Ryan Donnelly 1516 Iglehart Ave	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping	illiai Silce	0.12	46.00	\$5.52	34-29-23-33-0092	
St Paul MN 55104-2025	LOT F BLK 4 MACALESTER VIEW	Citywide Street Lighting		0.59	46.00	\$27.14		
*1516 IGLEHART AVE	ADD AND IN SD ADAMS ADD LOT 6 BLK 3	, ,			=	\$51.52		
*Ward: 1		*** Owner and Taxpayer	. ***			ψ31.32		
*Pending as of: 8/21/2020		- 1	Total Assessment:		-	\$51.52		
		7	This Payment:			\$0.00		
		(	Current Year Princ	cipal:		\$0.00		
			Current Year Interest:					
		I	Payoff Amount:			\$51.52		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 460	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Un	nit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Mary Oconnor 1524 Iglehart Ave St Paul MN 55104-5316	ADAMS ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. LOT 4 BLK 3	Street Sweeping - Residen Alley Sweeping Citywide Street Lighting	ntial Stree	0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	34-29-23-33-0094	
*1524 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer	***		\$44.80			
*Pending as of: 8/21/2020			Total Assessment	t:	-	\$44.80		
			Γhis Payment: Current Year Prin	ncipal:		\$0.00 \$0.00		
			Current Year Inte Payoff Amount:			\$0.00 <b>\$44.80</b>		
Matthew Wunderlich	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Residen		0.41			34-29-23-33-0095	
1528 Iglehart Ave St Paul MN 55104-5317	ST. PAUL, RAMSEY COUNTY, MINN. LOT 3 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-23-23-0033	
	EOT 3 BER 3	Citywide Street Lighting		0.59	40.00	\$23.60		
*1528 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer	***	\$44.80				
*Pending as of: 8/21/2020		T	Total Assessment	t:		\$44.80		
			This Payment:		\$0.00			
			Current Year Prin	•	\$0.00 \$0.00			
			Current Year Interest:  Payoff Amount:			\$44.80		
Timothy F Kelleher	ADAMS ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. E	Street Sweeping - Residen	ntial Stree	0.41	83.00	\$34.03	34-29-23-33-0098	
1540 Iglehart Ave	17 FT OF ASBURY ST VAC ADJ AND W	Alley Sweeping Citywide Street Lighting		0.12 0.59	50.00 83.00	\$6.00 \$48.97		
St Paul MN 55104-5316 *1540 IGLEHART AVE	1/2 OF LOT 1 BLK 3	City wide bucct Eighting		0.57	==	\$89.00		
*Ward: 1		*** Owner and Taxpayer	***	ψ67.00				
*Pending as of: 8/21/2020			Total Assessment	t:		\$89.00		
		This Payment:				\$0.00		
		Current Year Principal:				\$0.00 \$0.00		
			Current Year Interest:  Payoff Amount:			\$0.00 \$89.00		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 467
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Thomas J Lieberman Po Box 40130 St Paul MN 55104-8130	ADAMS ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. LOT 9 BLK 3	Street Sweeping - Comm Alley Sweeping Citywide Street Lighting		1.07 0.12 0.59	40.00 40.00 40.00	\$42.80 \$4.80 \$23.60	34-29-23-33-0100
*1525 MARSHALL AVE *Ward: 1		*** Owner and Taxpaye	Taxpayer ***		<u> </u>	\$71.20	
*Pending as of: 8/21/2020			Total Assessment:			\$71.20	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$71.20	
Thomas J Lieberman Po Box 40130 St Paul MN 55104-8130	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Comm	nercial/Art	1.07	40.00	<del></del>	
	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping		0.12	40.00	\$4.80	01292000101
	LOT 8 BLK 3	Citywide Street Lighting	5	0.59	40.00	\$23.60	
*1519 MARSHALL AVE						\$71.20	
*Ward: 1		*** Owner and Taxpaye	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal:			\$71.20	
						\$0.00	
						\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$71.20	
Thomas J Lieberman	ADAMS ADDITION TO THE CITY OF	Street Sweeping - Comm	 nercial/Art	1.07			<u> </u>
Po Box 40130	ST. PAUL, RAMSEY COUNTY, MINN.	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-8130	LOT 7 BLK 3	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*1515 MARSHALL AVE						\$71.20	
*Ward: 1		*** Owner and Taxpaye	er *** 				
*Pending as of: 8/21/2020			Total Assessm			\$71.20	
			This Payment:			\$0.00	
			Current Year I	_		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$71.20	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 468
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Eleni Kyndberg 1479 Marshall Ave St Paul MN 55104-6316	MACALESTER VIEW ADDITION TO THE CITY OF ST. PAUL LOTS 22 & LOT 23 BLK 4	Street Sweeping - Comme Alley Sweeping Citywide Street Lighting	ercial/Art	1.07 0.12 0.59	80.00 80.00 80.00	\$85.60 \$9.60 \$47.20	34-29-23-33-0106
*1479 MARSHALL AVE *Ward: 1		*** Owner and Taxpayer	***		<del></del>	\$142.40	
*Pending as of: 8/21/2020			Γotal Assessmer	nt:	-	\$142.40	
		T	Γhis Payment:			\$0.00	
		C	Current Year Pri	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	:		\$142.40	
Timothy D Brown	SNELLING PARK TO ST. PAUL, MN.	Street Sweeping - Residen				<u>\$16.40</u>	
1551 Carroll Ave	LOT 15 BLK 2	Citywide Street Lighting	mar Siret	0.59	40.00	\$23.60	34-29-23-35-0118
St Paul MN 55104-5305 *1551 CARROLL AVE		*** Owner and Taxpayer	***			\$40.00	
*Ward: 1			Γotal Assessmer	nt:		\$40.00	
*Pending as of: 8/21/2020		This Payment:				\$0.00	
		C	Current Year Pri	\$0.00			
		Current Year Interest:				\$0.00	
		P	Payoff Amount	:		\$40.00	
	SNELLING PARK TO ST. PAUL, MN.	Street Sweeping - Residen	 ntial Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
1560 Carroll Ave	LOT 5 BLK 3	Alley Sweeping		0.12	81.50	\$9.78	34-27-23-33-0123
St Paul MN 55104-5306		Citywide Street Lighting		0.59	40.00	\$23.60	
*1560 CARROLL AVE						\$49.78	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020			Γotal Assessmer	nt:		\$49.78	
			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		P	Payoff Amount	:		\$49.78	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	,	Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	<b>Quantity</b>	Charge Amts	Property ID
	SNELLING PARK TO ST. PAUL, MN.	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	34-29-23-33-0130
2089 Marshall Ave	LOT 12 BLK 3	Alley Sweeping		0.12	81.50	\$9.78	
St Paul MN 55104-5748		Citywide Street Lighting		0.59	40.00	\$23.60	
*1559 IGLEHART AVE *Ward: 1		*** Owner and Taxpayer	aver ***			\$49.78	
*Pending as of: 8/21/2020		-	Total Assessmen	nt:	-	\$49.78	
		•	This Payment:			\$0.00	
		•	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount:	:		\$49.78	
	SNELLING PARK TO ST. PAUL, MN.	Street Sweeping - Reside	ential Stree	——————————————————————————————————————		<u> </u>	
1555 Iglehart Ave	LOT 13 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-33-0131
St Paul MN 55104-5318		Citywide Street Lighting		0.59	40.00	\$23.60	
*1555 IGLEHART AVE					=	\$44.80	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		,	Total Assessmen	nt:	-	\$44.80	
		•	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		•	Current Year Int	terest:		\$0.00	
		]	Payoff Amount	:		\$44.80	
	SNELLING PARK TO ST. PAUL, MN. W	Street Sweeping - Reside	ential Stree	——————————————————————————————————————			<u> </u>
1551 Iglehart Ave	38 5/10 FT OF LOT 14 BLK 3	Alley Sweeping	iniai Sirot	0.12	39.00	\$4.68	34-29-23-33-0132
St Paul MN 55104-5318		Citywide Street Lighting		0.59	39.00	\$23.01	
*1551 IGLEHART AVE					=	\$43.68	
*Ward: 1		*** Owner and Taxpayer	***			Ψ151.00	
*Pending as of: 8/21/2020			Total Assessmer	nt:	=	\$43.68	
			This Payment:			\$0.00	
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount	:		\$43.68	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Reid J Peifer	SNELLING PARK TO ST. PAUL, MN.	Street Sweeping - Resid	ential Stree	0.41	81.50	\$33.42	34-29-23-33-0134
Darcie Wade Ferrell	LOT 16 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
2065 Carroll Ave		Citywide Street Lighting	g	0.59	81.50	\$48.09	
St Paul MN 55104-5041						\$86.31	
*1543 IGLEHART AVE		*** Owner and Taxpaye	er ***				
Ward: 1			Total Assessn	nent:	-	\$86.31	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$86.31	
Northern States Power Co	SNELLING PARK TO ST. PAUL, MN.	Street Sweeping - Comn	nercial/Art		385.00		
Attention Tax Department	SUBJ TO ST; VAC PEPIN ST & ALLEY	Street Sweeping - Resid		0.41	470.00	\$192.70	34-29-23-33-0135
414 Nicollet Ave	ACCRUING & FOL; LOTS 1 THRU LOT	Citywide Street Lighting		0.59	855.00	\$504.45	
Mpls MN 55401-1927	16 BLK 4	Snelling/Hague to Taylo	-	1.19	181.00	\$215.39	
*1560 IGLEHART AVE					_	\$1,324.49	
*Ward: 1		*** Owner and Taxpaye	er ***			\$1,324.47	
*Pending as of: 8/21/2020			Total Assessn	nent:	•	\$1,324.49	
			:		\$0.00		
			Current Year	Principal:		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amou	nt:		\$1,324.49	
	MACALESTER VIEW ADDITION TO	Street Sweeping - Resid		0.41	92.00		
Virginia W Lea Michael W Lea	THE CITY OF ST. PAUL LOT 1 BLK 3	Alley Sweeping	ciitiai Sticc	0.12	60.00	\$7.20	34-29-23-33-0138
82 Emerson Ave W		Citywide Street Lighting	2	0.12	92.00	\$54.28	
St Paul MN 55118-2130		,	-	****		\$99.20	
*1462 CARROLL AVE		*** Owner and Taxpaye	er ***			\$99.20	
*Ward: 1			Total Assessn	nent:	<del></del>	\$99.20	
Pending as of: 8/21/2020			This Payment			\$99.20 \$0.00	
			Current Year			\$0.00	
			Current Year	•		\$0.00	
			Payoff Amou			Ψ0.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 471
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Aibal Management Services Llc 14910 18th Ave N Minneapolis MN 55447-2621	MACALESTER VIEW ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 3	Street Sweeping - Resider Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00	\$16.40 \$4.80 \$23.60	34-29-23-33-0144
*1486 CARROLL AVE *Ward: 1	*** Owner and T		***		_	\$44.80	
*Pending as of: 8/21/2020			Total Assessmer	nt:		\$44.80	
			This Payment:		\$0.00		
			Current Year Pri	_		\$0.00	
			Current Year Int			\$0.00	
		]	Payoff Amount	:		\$44.80	
North American Qof Llc	Lot 14 Block 4 of MACALESTER VIEW	Street Sweeping - Commo	ercial/Art	1.07	201.00	\$215.07	34-29-23-33-0151
2400 Blaisdell Ave Suite 100	ADDITION,TO TH LOT G & LOTS 14 THRU 17 & W 1/2	Alley Sweeping		0.12	201.00	\$24.12	
Minneapolis MN 55404-3394	LOT 18 BLK 4	Citywide Street Lighting		0.59	201.00	\$118.59	
*1509 MARSHALL AVE						\$357.78	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		7	Total Assessmer	nt:	-	\$357.78	
		7	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount:			\$357.78	
	EX AVE & SUBJ TO ALLEY; VAC	Street Sweeping - Commo	ercial/Art				34-29-23-33-0152
56 E Broadway Suite 200	ALLEY ACCRUING AND LOTS 10	Street Sweeping - Resider		0.41	186.00	\$76.26	34-27-23-33-0132
Forest Lake MN 55025-1660	THRU 13 BLK 2	Citywide Street Lighting		0.59	309.00	\$182.31	
*304 SNELLING AVE N						\$390.18	
*Ward: 1		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		_	Total Assessmer	nt:	-	\$390.18	
		7	This Payment:			\$0.00	
		(	Current Year Pri	incipal:		\$0.00	
		(	Current Year Int	terest:		\$0.00	
		1	Payoff Amount	:		\$390.18	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 472
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	U <b>nit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
B J W Inc	AUDITOR'S SUBDIVISION NO. 27	Street Sweeping - Comm		1.07	32.00	\$34.24	34-29-23-34-0003
C/O 3902 Ids Center	BEING KITTSONDALE SUBJ TO SEWER AND HWY THE W 35 FT OF E	Citywide Street Lighting	;	0.59	32.00	\$18.88	
80 S 8th St	63 FT OF LOT 16					\$53.12	
Minneapolis MN 55402-2100		*** Owner and Taxpayer	r ***		_		
*0 CONCORDIA AVE		•	Total Assessme	nt:		\$53.12	
*Ward: 1		•	This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amount	t:		\$53.12	
Frederick W Thorne Iii	AUDITOR'S SUBDIVISION NO. 27	Street Sweeping - Comm		1.07		\$121.98	34-29-23-34-0006
Diana E Thorne Lund	BEING KITTSONDALE WITH ESMT BEG AT SW COR OF LOT 15 TH E 114	Citywide Street Lighting	;	0.59	114.00	\$67.26	
3 Griggs St N	FT TH N AT RA 220 FT TH W AT RA 55					\$189.24	
St Paul MN 55104-6913	25/100 FT TH NELY ON L PAR WITH AND 4 35/100 FT NWLY AT RA FROM	*** Owner and Taxpayer	r *** 				
*1410 CARROLL AVE		•	Total Assessme	nt:		\$189.24	
*Ward: 1 *Pending as of: 8/21/2020			This Payment:			\$0.00	
Fending as 01: 8/21/2020			Current Year Pr	•		\$0.00	
			Current Year In			\$0.00	
			Payoff Amount	t:		\$189.24	
Frederick W Thorne Iii	J. F. EISENMENGER'S SECOND	Street Sweeping - Reside	ential Stree	0.41	85.50	\$35.06	34-29-23-34-0028
3 Griggs St N	ADDITION SUBJ TO ESMTS; LOTS 6 & LOT 7 BLK 5	Citywide Street Lighting	;	0.59	85.50	\$50.45	
St Paul MN 55104-6913	EOT / BEK 3				<u>==</u>	\$85.51	
*1454 ROBLYN AVE		*** Owner and Taxpayer	r ***				
*Ward: 1		;	Total Assessme	nt:		\$85.51	
*Pending as of: 8/21/2020		•	This Payment:			\$0.00	
		•	Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
		]	Payoff Amount	t:		\$85.51	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Frederick W Thorne Iii	J. F. EISENMENGER'S SECOND	Street Sweeping - Res		0.41	36.00	\$14.76	34-29-23-34-0032
Diana E Thorne Lund	ADDITION LOT 11 BLK 5	Citywide Street Lighti	ing	0.59	36.00	\$21.24	
3 Griggs St N						\$36.00	
St Paul MN 55104-6913		*** Owner and Taxpa	yer ***				
*1449 CARROLL AVE			Total Assess	ment:		\$36.00	
*Ward: 1			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	_		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$36.00	
Frederick W Thorne Iii	J. F. EISENMENGER'S SECOND	Street Sweeping - Res	idential Streε				34-29-23-34-0033
Diana E Thorne Lund	ADDITION LOT 12 BLK 5	Citywide Street Lighti	ing	0.59	36.00	\$21.24	0.12/200.000
3 Griggs St N						\$36.00	
St Paul MN 55104-6913		*** Owner and Taxpa	yer ***				
41445 CARROLL AVE			Total Assessi	ment:		\$36.00	
Ward: 1			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Principal:		\$0.00		
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$36.00	
	GRIEBIE AND BREWSTERS'	Street Sweeping - Res	idential Streε				
Diana E Thorne Lund	ADDITION TO THE CITY OF ST. PAUL	Citywide Street Lighti		0.59	164.00	\$96.76	34-29-23-34-0034
3 Griggs St N	LOTS 1 THRU LOT 4 BLK 1					\$164.00	
St Paul MN 55104-6913		*** Owner and Taxpa	yer ***			ψ104.00	
41450 CARROLL AVE			Total Assessi	··· out.		\$164.00	
Ward: 1			This Paymen			\$164.00 \$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	_		\$0.00	
			Payoff Amor			\$164.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 47
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Frederick W Thorne Iii	Lots 3, 4 and 5 Blk 5	Street Sweeping - Resi		0.41	107.00	\$43.87	34-29-23-34-0049
3 Griggs St N		Citywide Street Lightin	ng	0.59	107.00	\$63.13	
St Paul MN 55104-6913						\$107.00	
*1440 ROBLYN AVE		*** Owner and Taxpay	/er ***				
*Ward: 1			Total Assessn	nent:		\$107.00	
*Pending as of: 8/21/2020			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$107.00	
Realty Income Properties 3 Llc	F. W. HOYTS REARRANGEMENT OF	Street Sweeping - Com	mercial/Art				<u> </u>
Attn Portfolio Management	LOTS 25, 26 AND 27, HALL AND	Street Sweeping - Resi		0.41	153.00	\$62.73	34-27-23-41-0012
11995 El Camino Real Ste 101	BROWN'S ADDITION TO HYDE PARK SUBJ TO PKWY LOTS 1 THRU LOT 6	Alley Sweeping		0.12	153.00	\$18.36	
San Diego CA 92130-2565	BLK 3	Citywide Street Lightin	ng	0.59	274.00	\$161.66	
*395 LEXINGTON PKWY N						\$372.22	
*Ward: 1		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:		\$372.22	
			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$372.22	
	F. W. HOYTS REARRANGEMENT OF	Street Sweeping - Resi	dential Stree				<u> </u>
1845 Stinson Pkwy 102	LOTS 25, 26 AND 27, HALL AND	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-41-0013
Minneapolis MN 55418-4897	BROWN'S ADDITION TO HYDE PARK LOT 7 BLK 3	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*1121 CENTRAL AVE W						\$44.80	
*Ward: 1		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80	
			This Payment	::		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 475
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Todd P Blohm	F. W. HOYTS REARRANGEMENT OF	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	34-29-23-41-0014
Lorelei A Blohm	LOTS 25, 26 AND 27, HALL AND BROWN'S ADDITION TO HYDE PARK	Alley Sweeping		0.12	40.00	\$4.80	
1125 Central Ave	LOT 8 BLK 3	Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-4613		*** Owner and Taxpaye	***			\$44.80	
*1125 CENTRAL AVE W		Owner and Taxpaye	er ****				
*Ward: 1			Total Assessr	ment:		\$44.80	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	
	F. W. HOYTS REARRANGEMENT OF	Street Sweeping - Resid	ential Stree				34-29-23-41-0020
Deborah D Rogers	LOTS 25, 26 AND 27, HALL AND	Alley Sweeping		0.12	40.00	\$4.80	34-27-23-41-0020
1151 Central Ave W	BROWN'S ADDITION TO HYDE PARK LOT 14 BLK 3	Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55104-4613	201 11221 3					\$44.80	
*1151 CENTRAL AVE W		*** Owner and Taxpaye	er ***				
*Ward: 1			Total Assessr	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	E W HOVE DE ADDANGEMENT OF	Street Sweeping - Resid					
Hung Tu Inc	F. W. HOYTS REARRANGEMENT OF LOTS 25, 26 AND 27, HALL AND	Alley Sweeping - Resid	ential Stree	0.41	40.00	\$4.80	34-29-23-41-0021
1153 Central Ave St Paul MN 55104-4629	BROWN'S ADDITION TO HYDE PARK	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1153 CENTRAL AVE W	LOT 15 BLK 3				_	\$44.80	
*Ward: 1		*** Owner and Taxpaye	er ***			ψσ	
*Pending as of: 8/21/2020			Total Assessr	nent:	-	\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

Gregory K Miller 1159 Central Ave W St Paul MN 55104-4613 *1159 CENTRAL AVE W *Ward: 1 *Pending as of: 8/21/2020  Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360	F. W. HOYTS REARRANGEMENT OF LOTS 25, 26 AND 27, HALL AND BROWN'S ADDITION TO HYDE PARK LOT 16 BLK 3	Thi	0.12 0.59	Ouantity 80.50 40.00 80.50	\$33.01 \$4.80 \$47.50	Property ID 34-29-23-41-0022
1159 Central Ave W St Paul MN 55104-4613 *1159 CENTRAL AVE W *Ward: 1 *Pending as of: 8/21/2020  Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360	LOTS 25, 26 AND 27, HALL AND BROWN'S ADDITION TO HYDE PARK	Alley Sweeping Citywide Street Lighting  *** Owner and Taxpayer **  Tot Thi	0.12 0.59	40.00	\$4.80 \$47.50	34-29-23-41-0022
St Paul MN 55104-4613  *1159 CENTRAL AVE W  *Ward: 1  *Pending as of: 8/21/2020  Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360	BROWN'S ADDITION TO HYDE PARK	Citywide Street Lighting  *** Owner and Taxpayer **  Tot Thi	0.59		\$47.50	
**1159 CENTRAL AVE W  *Ward: 1  *Pending as of: 8/21/2020  Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360		*** Owner and Taxpayer **  Tol	**	80.50		
*Ward: 1  *Pending as of: 8/21/2020  Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360		Tot			\$85.31	
*Pending as of: 8/21/2020  Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360		Tot				
Reem Enterprises Inc C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360		Thi	tai Assessinent.		\$85.31	
C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360			is Payment:		\$0.00	
C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360		('11s	rrent Year Principal:		\$0.00	
C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360			rrent Year Interest:		\$0.00	
C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360			yoff Amount:		\$85.31	
C/O Matthew Reem 7816 Somerset Rd Woodbury MN 55125-3360						
7816 Somerset Rd Woodbury MN 55125-3360	F. W. HOYTS REARRANGEMENT OF	Street Sweeping - Residentia	al Stree 0.41	83.00	\$34.03	34-29-23-41-0023
Woodbury MN 55125-3360	LOTS 25, 26 AND 27, HALL AND BROWN'S ADDITION TO HYDE PARK	Alley Sweeping	0.12	40.00	\$4.80	
-	LOT 17 BLK 3	Citywide Street Lighting	0.59	83.00	\$48.97	
					\$87.80	
*1158 CENTRAL AVE W		*** Owner and Taxpayer **	**			
*Ward: 1		Tot	tal Assessment:		\$87.80	
*Pending as of: 8/21/2020		Thi	is Payment:		\$0.00	
		Cui	rrent Year Principal:		\$0.00	
		Cur	rrent Year Interest:		\$0.00	
		Pay	yoff Amount:		\$87.80	
Joann Kelly Shegog	F. W. HOYTS REARRANGEMENT OF LOTS 25, 26 AND 27, HALL AND	Street Sweeping - Residentia	al Stree 0.41 0.12	40.00	\$16.40 \$4.80	34-29-23-41-0029
1130 Central Ave W	BROWN'S ADDITION TO HYDE PARK	Alley Sweeping Citywide Street Lighting	0.12	40.00 40.00	\$4.80 \$23.60	
St Paul MN 55104-4612	LOT 24 BLK 3	Citywide Street Lighting	0.39	40.00		
*1130 CENTRAL AVE W		*** Owner and Taxpayer **	**		\$44.80	
*Ward: 1 *Pending as of: 8/21/2020					04400	
Tolland as off Orbitales			tal Assessment:		\$44.80	
			is Payment:		\$0.00 \$0.00	
			Current Year Principal: Current Year Interest:			
		Cui			\$0.00	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Open Cities Health Center Inc	MIDWAY INDUSTRIAL DIVISION S 1/2	Street Sweeping - Resid	dential Stree	0.41	120.00	\$49.20	34-29-23-41-0043
409 Dunlap St N	OF VAC DONOHUE AVE ADJ & FOL; N 105 FT OF E 20 FT OF LOT 3 & N 105 FT	Citywide Street Lightin	ng	0.59	120.00	\$70.80	
St Paul MN 55104-4201	OF LOTS 1 & LOT 2 BLK 6					\$120.00	
*409 DUNLAP ST N		*** Owner and Taxpay	/er ***		_		
*Ward: 1			Total Assessme	ent:		\$120.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$120.00	
		Street Sweeping - Com	mercial/Art	1.07			34-29-23-41-0050
25 4th St W Rm 1000	PART OF N 1/2 OF VAC ST ADJ AND	Citywide Street Lightin	ng	0.59	215.00	\$126.85	***EXEMPT***
St Paul MN 55102-1692 * <b>0 GRIGGS ST N</b>	FOL S 200 FT OF BLK 2 LYING WLY OF A LINE RUN SLY FROM A PT ON					\$356.90	
	NL OF SD S 200 FT OF BLK 2 DIST 339.3 FT WLY FROM EL OF SD BLK 2	*** Owner and Taxpay	/er ***				
*Ward: 1			Total Assessme	ent:		\$356.90	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$356.90	
	F. W. HOYTS REARRANGEMENT OF	Street Sweeping - Com	mercial/Art	1.07			34-29-23-41-0053
1080 Montreal Ave	LOTS 25, 26 AND 27, HALL AND	Citywide Street Lightin		0.59	163.00	\$96.17	012) 20 11 0030
St Paul MN 55116-2311	BROWN'S ADDITION TO HYDE PARK SUBJ TO PKWY; VAC ALLEY ADJ &					\$270.58	
*375 LEXINGTON PKWY N	LOTS 1 & 2BLK 1	*** Owner and Taxpay	/er ***				
*Ward: 1			Total Assessme	ent:		\$270.58	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P			\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	ıt:		\$270.58	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 478
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
City Of St Paul	MIDWAY INDUSTRIAL DIVISION VAC	Street Sweeping - Resi		0.41	741.00	\$303.81	34-29-23-41-0058
25 4th St W Rm 1000	ST ADJ AND EX THE E 20 FT OF LOTS 3 & 10; LOTS 3 THRU 10 BLK 6	Citywide Street Lightin	ng	0.59	741.00	\$437.19	***EXEMPT***
St Paul MN 55102-1692	C 10, 2013 5 TIME 10 BENTO				_	\$741.00	
*410 GRIGGS ST N		*** Owner and Taxpay	yer ***				
*Ward: 1			Total Assess	ment:	-	\$741.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$741.00	
	LEXINGTON & UNIVERSITY LOT 3	Street Sweeping - Com	mercial/Art				34-29-23-41-0066
C/O M/C:Pcc-00-Pd	BLK 1	Citywide Street Lightin		0.59	178.00	\$105.02	34-27-23-41-0000
1405 Xenium Ln N					_	\$295.48	
Plymouth MN 55441-4429		*** Owner and Taxpay	yer ***				
*459 LEXINGTON PKWY N			Total Assess	ment:		\$295.48	
*Ward: 1			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$295.48	
Lexington Apartments Lp	F. W. HOYTS REARRANGEMENT SUBJ	Street Sweeping - Com	mercial/Art				34-29-23-41-0072
1080 Montreal Ave	TO ALLEY AS OPENED PER DOC	Citywide Street Lightin		0.59	305.00	\$179.95	34-29-23-41-00/2
St Paul MN 55116-2311	#1709106 ALL OF ALLEY AND STREET AS VAC IN DOC #179106 &	,			=	\$506.30	
*375 LEXINGTON PKWY N	VAC ALLEY ADJ PER DOC #3310106 AND DOC #4208302 & LOTS 10 AND	*** Owner and Taxpay	yer ***			Ψ500.50	
*Ward: 1			Total Assess	ment:		\$506.30	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$506.30	

**Payoff Amount:** 

\$371.80

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	g	Page 48	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
City Of St Paul 25 4th St W Rm 1000	Those Pts Of Lots 4,5 And 6 Blk 2 And Vac Foster St Desc As Com At The Sw Cor Of Sd Blk 2 Th N Along The W L Of Sd	Street Sweeping - Resid		0.41 0.59	140.00 140.00	\$57.40 \$82.60	34-29-23-41-0077 ***EXEMPT***	
St Paul MN 55102-1692 *0 UNIVERSITY AVE W	Blk 2 A Dist Of 200 Ft Being The Pob Th E A Dist Of 264 Ft Th N A Dist Of 145.85 Ft To The Cl Of Vacated Foster St Th W	*** Owner and Taxpayo	er ***		_	\$140.00		
*Ward: 1			Total Assessi	ment:		\$140.00		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year			\$0.00		
			Current Year			\$0.00		
			Payoff Amou	unt:		\$140.00		
	Th Pt Of Lots A,2,3,4,9,10 And 11 Blk 1	Street Sweeping - Com	mercial/Art				<u> </u>	
5353 Wayzata Blvd Ste 650	Andvac Foster St Desc As Com At Sw Cor	Citywide Street Lighting	g	0.59	170.00	\$100.30	34-27-23-41-0070	
Minneapolis MN 55416-1349	Of Blk 2 Th N 200 Ft The E 264 Ft Th N 145.85 Ft To Cl Of Foster St And The Pob	University/Emerald to F	Rice ASL	1.22	170.00	\$207.40		
*1190 UNIVERSITY AVE W	Of Parcel To Be Desc Th Con N 62.15 Ft					\$489.60		
*Ward: 1	Th E 137.22 Ft Th N 44 Deg 54 Min 52	*** Owner and Taxpayo	er ***					
*Pending as of: 8/21/2020			Total Assessi	ment:		\$489.60		
			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	unt:		\$489.60		
Twelve Stars Llc	MIDWAY INDUSTRIAL DIVISION W	Street Sweeping - Com	— — — – mercial/Art				<u> </u>	
Attn: Burhan Ahmed Hussein	104 FT OF S 156.35 FT OF LOT 9 AS	Citywide Street Lighting		0.59	29.00	\$17.11	34-29-23-42-0010	
571 Aldine St Apt 30	MEASURED FROM W & S LINES OF BLK 3 & EX E 375 FT MOL LOT C BLK	,			=	\$48.14		
St Paul MN 55104-2208	3	*** Owner and Taxpayo	er ***			\$40.14		
*0 GRIGGS ST S			Total Assessi	ment:	-	\$48.14		
*Ward: 1			This Paymen	t:		\$0.00		
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	unt:		\$48.14		

10:02:50 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20208 Resolution #:	SMSP	Assmt: 200025	5 Manager: LM	Page 48
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>U</u>	Init Rate	<b>Quantity</b>	Charge Amts	Property ID
Twelve Stars Llc	MIDWAY INDUSTRIAL DIVISION	Street Sweeping - Comme	ercial/Art	1.07	128.00	\$136.96	34-29-23-42-0011
571 Aldine St Apt 30	LOTS 10 & LOT 11 BLK 3	Street Sweeping - Residen	ntial Stree	0.41	224.00	\$91.84	
St Paul MN 55104-2208		Citywide Street Lighting		0.59	352.00	\$207.68	
*410 SYNDICATE ST N *Ward: 1		*** Owner and Taxpayer	xpayer ***			\$436.48	
*Pending as of: 8/21/2020			Total Assessmen	nt:	-	\$436.48	
		T	This Payment:			\$0.00	
		C	Current Year Pr	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	:		\$436.48	
Skyline Tower Of St Paul Lp	MIDWAY INDUSTRIAL DIVISION	Street Sweeping - Comme	 ercial/Art				
C/O Glaser Financial Group	SUBJ TO AVE VAC AVE ADJ AND FOL	Street Sweeping - Residen		0.41	91.00	\$37.31	34-27-23-42-0012
2177 Youngman Ave 3rd Fl	LOTS 12 13 AND LOT 14 BLK 3	Citywide Street Lighting		0.59	245.00	\$144.55	
St Paul MN 55116-3042						\$346.64	
*415 GRIGGS ST N		*** Owner and Taxpayer	***			40.000	
*Ward: 1		T	Total Assessmen	nt:		\$346.64	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Pr	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	:		\$346.64	
Skyline Tower Of St Paul Lp	MIDWAY INDUSTRIAL DIVISION	Street Sweeping - Comme		——————————————————————————————————————			
C/O Glaser Financial Group	SUBJ TO AVE VAC AVE ADJ AND FOL	Street Sweeping - Residen		0.41	169.00	\$69.29	34-29-23-42-0013
2177 Youngman Ave 3rd Fl	LOTS 1 AND LOT 2 BLK 5	Citywide Street Lighting		0.59	347.00	\$204.73	
St Paul MN 55116-3042					_	\$464.48	
*1258 DONOHUE AVE		*** Owner and Taxpayer	***			<b>\$10.11.0</b>	
*Ward: 1			Γotal Assessmen	nt:	-	\$464.48	
*Pending as of: 8/21/2020		T	This Payment:			\$0.00	
		C	Current Year Pr	incipal:		\$0.00	
		C	Current Year Int	terest:		\$0.00	
		P	Payoff Amount	:		\$464.48	

10:02:50 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 48	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Skyline Tower Of St Paul Lp C/O Glaser Financial Group 2177 Youngman Ave 3rd Fl St Paul MN 55116-3042 *1247 ST ANTHONY AVE *Ward: 1 *Pending as of: 8/21/2020	MIDWAY INDUSTRIAL DIVISION LOT A BLK 5	Street Sweeping - Comm Street Sweeping - Reside Citywide Street Lighting	ential Stree	1.07 0.41 0.59	23.00 17.00 40.00	\$24.61 \$6.97 \$23.60	34-29-23-42-0016	
		*** Owner and Taxpayer ***			_	\$55.18		
		Total Assessment:				\$55.18		
		,	This Payment:					
			Current Year Principal:			\$0.00		
		Cı				\$0.00		
		1	Payoff Amoun	nt:		\$55.18		
Skyline Tower Of St Paul Lp C/O Glaser Financial Group 2177 Youngman Ave 3rd Fl	MIDWAY INDUSTRIAL DIVISION ALL	Street Sweeping - Comm	ercial/Art	1.07	802.00		<u> </u>	
	OF BIGELOW AVE AS VAC IN DOC	Street Sweeping - Reside	ential Stree	0.41	206.00	\$84.46		
	1773250 ADJ AND LOTS 5 THRU LOT 10 BLK 5	Citywide Street Lighting	ing	0.59	1,008.00	\$594.72		
St Paul MN 55116-3042						\$1,537.32		
*1247 ST ANTHONY AVE  *Ward: 1  *Pending as of: 8/21/2020		*** Owner and Taxpayer ***						
		;	Total Assessment:			\$1,537.32		
		This Payment:				\$0.00		
		Current Year Principal: Current Year Interest:				\$0.00		
						\$0.00		
		]	Payoff Amount:			\$1,537.32		
Target Corporation C/O Property Tax Dept Po Box 9456	MIDWAY INDUSTRIAL DIVISION SUBJ TO ESMTS; PART NLY OF HWY & SLY OF N 717.08 FT AS MEAS FROM NL OF LOT 8 OF AUD SUB NO 27 OF	Street Sweeping - Comm	ercial/Art	1.07			<u> </u>	
		Street Sweeping - Reside		0.41	420.00	\$172.20	012/2012 0020	
		Citywide Street Lighting		0.59	1,519.00	\$896.21		
Minneapolis MN 55440-9456	FOL; LOTS 2, B, 3 & LOT 4 BLK 4					\$2,244.34		
*1300 UNIVERSITY AVE W		*** Owner and Taxpayer ***			. ,			
*Ward: 1 *Pending as of: 8/21/2020		Total Assessment: This Payment: Current Year Principal: Current Year Interest:				\$2,244.34		
						\$0.00		
						\$0.00		
						\$0.00		
			Payoff Amount:			\$2,244.34		

10:02:50 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SMSP Resolution #:	Assmt: 200025	Manager: LM	Page 48
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692 *300 SYNDICATE ST *Ward: 1 *Pending as of: 8/21/2020	Vac St & Alley Accruing & Fol, Ex E 4 Ft; Bik 7 D.w. Ingersoll Rea. & In Sd D.w. Ingersoll Add Vac Sts & Alleys Accruing & Fol, Ex E 4 Ft Lying N Of A Line 469.4 Ft S Of Rondo Ave; Blk 6 & All Of Blks 5,9 And Blk 10	Т С С	tial Stree 0.41 0.59	1,887.00 1,487.00 3,374.00	\$2,019.09 \$609.67 \$1,990.66 \$4,619.42 \$0.00 \$0.00 \$0.00 \$4,619.42	34-29-23-43-0004 ***EXEMPT***
Report Totals:						
1,441 Parcel(s) 23 Cert. Exempt Parcel(s)			Total Assessment: This Payment:		\$154,367.59 \$0.00	

**Current Year Principal:** 

Current Year Interest: Payoff Amount:

\$0.00 \$0.00

\$154,367.59